Automotive spare parts supplier since 1936

BOINT FUN 2 BARPPAN..

STEERING & SWSRENSION PARTS FOR:
JAPANESE VEHICLES.




ABBREVIATION OF PRODUCT NAME

NAME OF CAR MAKER

BJ — BALL JOINT

CA — CONTROL ARM

CB — CENTER BEARING

DM — DAMPER MOUNTING
DR — DRAG LINK, CROSS ROD
1A —IDLER ARM

IS — INNER SHAFT
PA— PITMAN ARM
RE — RACK END

SB — STABILIZER LINK
SR — SIDE ROD

TE — TIE RCD END

lTorA—2o0r A 5 o0r G—SUZUKI
2 or B—NISSAN 6 or J —DAIHATSU
3 or C—MAZDA 6 or K —SUBARU

4 or E—MITSUBISHI 7 or P —ISUZU
5 or F—HONDA

/ TIE ROD END




s S et PO

INNER SHAFT UP |

[

BALL JOINT UP




INDEX

TOYOTA

BALL JOINT

TIE ROD END
RACK END
CONTROL ARM
SIDE ROD
PITMAN ARM
IDLER ARM

INNER SHAFT
STABILIZER LINK
CENTER BEARING

G%0G %0G %0G %0G %60G 960G %60G Y00
G%0G %0G %0G %0G %0G %0G %60G %0
G%0G %0G %0G %0G %60G 960G %60G Y00
G%0G %0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G 960G %60G Y00
G%0G %0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G %0G %0G %0G %0G %0G %60G %0
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %60

G%0G%0G %0G %0G G I0GI%0GA2 GG %0 G %
G%0G%0G%0G%0GCHFS%0G%0GRBE G%oG%oG%
G%0G%0G %0G %0G BES%0G 0GB G%0G %0 G %
G%0G%0G%0G%0GCB2G%0G%0GCBE G %G %0G%
G%0G%0G %0G %0 G BES%0GI0GCBE G I0G %60G %%
G%0G%0G %0G %0 G BTG %0G%0GCBT G %0G%0G %
G%0G%0G %0G %0 G BES 100G I%0GBB G %G %60 %%
G%0G%0G %0G%0GBES%0G%0GCBB G%0G%0G %
G%0G%0G %0G %0 G BEG %0GI0G A G0 G %60 G %%
G%0G%0G %0G %0 GHES%0G %0 GUE G %0 G %0G %

NISSAN

BALL JOINT

TIE ROD END
RACK END
CONTROL ARM
SIDE ROD

IDLER ARM
CROSS ROD
STABILIZER LINK
CENTER BEARING

G%0G %0G %0G %0G %0G %0G %60G %0
G%0G %0G %0G %0G %60G 960G %60G Y00
G%0G %0G %0G %0G %0G %0G %60G Y60
G%0G %0G %0G %0G %60G 960G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %0
G%0G %0G %0G %0G %60G 960G %60G Y00
G%0G %0G %0G %0G %0G %0G %60G %60

G%0G%0G %0G %0 GHTG %0G %0 GBHO G %0 G %0G %
G%0G%0G %0G %0GBAG%0G%0GCBE G I%0G %60G %%
G%0G%0G%0G %0 GBIG %0G%0GBO G %0 G %0G %
G%0G%0G %0G %0GBHG %00G%0GB2 G %G %60 %%
G%0G%0G%0G %0 GBI %0G%0GBB G %0 G %0G %
G%0G%0G %0G %0 GBS %00G%0GBB G %0G 960G %%
G%0G%0G%0G%0GBIS%0G%0GBB G %0G%0G %
G%0G%0G %0G %0GBIG %00G%0GBE G %0G %60G %%
G%0G%0G %0G %0 GBIG %0G %0 GBI G%0G%0G %

G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G

G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G

ISUZU

BALL JOINT

TIE ROD END
CONTROL ARM
RACK END

IDLER ARM
STABILIZER LINK
CENTER BEARING

G%0G %0G %0G %0G %0G %0G %60G %0
G%0G %0G %0G %0G %60G 960G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %0
G%0G %0G %0G %0G %60G %60G Y%60G Y00
G%0G %0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %0

G%0G%0G%0G %0 GBES%0G%0GBO G %0 G %0G %
G%0G%0G %0G %0GBHG %00G 0GR G0 G %60 G %%
G%0G%0G%0G%0GR2G %0G%0GR2 G %0 G %0G %
G%0G%0G %0G %0GBIS%00G%0GHB G 0G0 G %%
G%0G%0G%0G%0GRFS%0G%0GRB G %0 G %0G %
G%0G%0G %0G %0GBIS%0G%0GHB G 0G0 G %%
G%0G%0G %0G %0 GRIG %0G %0 Gl G%0G%0G %

G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G

MITSUBISHI

BALL JOINT

TIE ROD END
RACK END
CONTROL ARM
PITMAN ARM
IDLER ARM

INNER SHAFT
STABILIZER LINK
CENTER BEARING

G%0G 9%0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %0
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G %0G %0G %0G %0G %0G %60G %60

G%0G%0G %0G %0 GRBS%0G%0GRE G %0 G %0G %
G%0G%0G %0G %0G BTG %0GI0GCBO GG %60 G %%
G%0G%0G%0G%0GBIG%0G %GB G %G %oG%
G%0G%0G %0G %0GBIS%00G 0GB GG %60 %%
G%0G%0G %0G %0 GBES%0G %0 GBS G%0G%0G %
G%0G%0G %0G %0GBES 100G %0GCBE GG %60G %%
G%0G%0G %0G %0 GBES%0G %0 GBS G%0G%0G %
G%0G%0G %0G %0GBES 100G %0GCBY  GI%0G %60 G %%
G%0G%0G%0G %0 GBES%0G%0GCBB G %0G%0G %

G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G %0G %0G
G%0G %0G %0G
G%0G %0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G

MAZDA

BALL JOINT

TIE ROD END
RACK END
CONTROL ARM
IDLER ARM
PITMAN ARM
INNER SHAFT
STABILIZER LINK
CENTER BEARING

G%0G 9%0G %0G %0G %0G %0G %60G %0
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G %60G %60G %00
G%0G %0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %0
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %60

G%0G%0G %0G %0 GBEG%0G%0GBO G %G %0G%
G%0G%0G %0G %0GBAG%0G 0GB GI%0G %60 %%
G%0G%0G %0G %0 GBES%0G%0GBE G %0G%0G%
G%0G%0G %0G %0 G BTG %0GI%0GBB G %0G %60 G %%
G%0G%0G%0G%0GBEG %0G%0GBO G %G %0G%
G%0G%0G %0G %0GBEG 100G I%0GRBY GG %60G %%
G%0G%0G%0G%0GBEG %0G%0GBO G %G %G %
G%0G%0G %0G %60 GRHIEB %60G Jo0 GUIL G0 G 960G %%
G9%0G %0G %0 G %60 GERLS %0 G %60 GI2 G %0 G %60 G %

G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G

SUZUKI

BALL JOINT

TIE ROD END
RACK END
CONTROL ARM
STABILIZER LINK

G%0G 9%0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G Y60
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %60

G9%0G %0G %0 G %0 GRS %60 G %60 GID3 G %0 G %0 G %
G%0G%0G %0 G %60 GRHE %60 G Y00 GHUI5 G %60 G 960G %%
G9%0G %0G %0 G %60 GRS %60 G %00 GIDT G %0 G %0G %
G%0G%0G %0G %0 GRRE %60 G Y00 GHUI G %60 G 960G %%
G9%0G %0G %0 G 960 GRAE %60 G %60 GI0 G %0 G %0G %

G%0G %0G %0G
G%0G %0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G

SUBARU

BALL JOINT / TIE ROD END
RACK END / STABILIZER LINK

G%0G 9%0G %0G %0G %0G %0G %0G %0 G %0G b GPbo G %0 G Ich GPo0G %0G %o (4
G%0G%0G %0G %0G %0G %0G%0G %0 G%0G bGP0 G %0 G Iib G0 G Y0 G %o (

b%0G %0G %60 G %
b%0G %0G %60 G %

DAIHATSU

BALL JOINT / TIE ROD END
RACK END / CENTER BEARING

G%0G%0G %0G %0G %0G %0G%0G %0 GI%0G b ES60G %0 G Iib G300 G %0G %o (
G%0G 9%0G %0G %0G %0G %0G %0G %0 G %0 G b G0 G %0 G 9ch B0 G %0G %0 (4

b%0G %0G %60 G %
b%0G %0G %60 G %

HONDA

BALL JOINT

TIE ROD END
RACK END
CONTROL ARM
STABILIZER LINK

G%0G 9%0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G 9%0G %0G %0G %0G %0G %60G %60
G%0G %0G %0G %0G %60G %60G %60G Y00
G%0G %0G %0G %0G %0G %0G %60G %60

G9%0G %0G %0 G 960 GRAES %60 G %60 GIb6 G %60 G %60 G %
G%0G%0G %0G %60 GRHT %60G 960G G0 G 960G %%
G9%0G %0G %0 G 960 GRIE %60 G %60 G¥ad 2 G %0 G %0 G %
G%0G%0G %0G %0 GRBE %60G 600G a5 G %0 G 960G %%
G9%0G %0G %0 G %60 GRS %60 G %60 G¥a28 G %60 G %60 G %

G%0G %0G %0G
G%0G %0G %0G
G%0G %0G %0G
G%0G%0G %0G
G%0G %0G %0G




BALL JOINT

TOYOTA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
BJ-1100 43308-12020 LOWERR/L |[COROLLA,SPRINTER KE2#,TE2# 70-74
STARLET KP4#,KP5# 73-78
BJ-1110 43308-12030 LOWERR/L |[CAMRY, VISTA RAA4#,RAS#, TA4#,TASH 80-82
43308-19035 CORONA RT13#,TT13# 78-82
AT140,ST140,TT142,CT140....exc/STD 82-87
KT147V,TT147V,CT147V
YT140,CT140......STD 82-87
CARINA, CELICA TAL1# TA2#, TA3#H, TA4H TASH RAL# 70-81
RA2#,RA3#,RA4# RAS# MA4# MAS#
TA6#,AA63,SA63.RA63,CA60,SA60 81-86
AAGB0,SAGO0G 81-
KAG7V,CA67V, TAGTV 81-
COROLLA, SPRINTER KE3#,KE4#,KES#,KEG#,TE3#, TEA# 74-79
TES#,TE6#
KE7# AET#,CET# TET# 79-87
COROLLALEVIN & TE71,AE85,AE86 81-87
SPRINTER TRUENO
BJ-1120 43308-16010 LOWERR/L [TERCEL, CORSA AL1# 78-82
43308-16020
BJ-1130 43330-19025 LOWERR/L [MR2 AW10,AW11 84-95
SPRINTER CARIB 4WD AL25G 82-
TERCEL, CORSA AL2# 82-86
& COROLLA I
TRUCK KM5#.YM55,CM5# 86-
LITEACE VAN-WAGON KM21V,YM2#,CM20 82-85
KM3#,YM3#,CM30 85-
BJ-1140 43330-29139 LOWERR/L |CORONA AT15#,ST15#,CT15# 83-87
43330-29138 CARINA,CELICA AT15#,ST15#,CT15# 84-88
43330-29137 COROLLA, SPRINTER AES80,AE81,AE82,CE8#,EE8# 83-87
43330-29136
43330-29135
43330-29205
BJ-1150 43330-29145 LOWERR/L |CORONA AT16#,ST16# 85-89
43330-29146 AT170,AT17#,CT170,ET176V,CT176V 87-92
43330-29185 CARINA,CELICA AT16#,ST16# 85-89
BJ-1166 43330-19065 LOWERR COROLLA, SPRINTER EE9# AE9%#,CE9¥# 87-
43330-19066
BJ-1167 43340-19065 LOWER L COROLLA, SPRINTER EE9#,AE9%#,CE9¥# 87-
43340-19066
BJ-1170 43330-19045 LOWERR/L [TERCEL, CORSA & EL3#,NL3# 86-90
43330-19075 COROLLAII
STARLET EP7#NP7# 84-89
BJ-1186 43330-19085 LOWERR STARLET EP8#,NP80 89-
TERCEL, CORSA & EL41,EL43,NL40 90-94
COROLLAII
BJ-1187 43340-19025 LOWER L STARLET EP8#,NP80 89-
TERCEL, CORSA & EL41,EL43,NL40 90-94
COROLLAII
BJ-1189 43330-19055 LOWERR/L [SUPRA GA70,JZA70,MA70 88-93
43330-19056 SOARER GZ20,MZ2# 88-91
43330-19057
BJ-1201 43310-29015 UPPER R/L CORONA RT4#,RT5#,RT8#RTO# 64-73
43307-20011 KIJANG, TANARAW KF10 -80
43307-20010 (BUV) KF20 81-86
04435-20011 LITEACE KM1# 70-79

04435-20010




BJ-1205 43330-29035 LOWERR/L |CORONA RT4#,RT5#,RT8#RTO# 64-73
43330-29026 KIJANG, TANARAW KF10 -80
43330-29025 (BUV) KF20 81-86
43340-29015 LITEACE KM1# 70-79
43308-20030
43308-20010
04436-20031
04436-20030
BJ-1210 43330-39135 LOWERR/L |[CAMRY,VISTA SV1#,SV2#,CV1#,CV2# 82-91
43330-39275 MR2 CV30,SV3#,VZV3# 87-94
43330-39345 LEXUS ES 250 CV40,CVva# 90-91
BJ-1225 43330-19095 LOWERR/L |[COROLLA AE10#,CE10#,EE10#,AE104,CE104 91-
43330-02020 NOVA/HOLDEN LG SERIES 95-
43330-29265 CORONA ST19#,CT19#,AT190 92-96
43330-29315 CORONA EXIV ST200,ST202 93-
43330-29375 AVENSIS AT220(4A-FE),AT221(7A-FE),ST220(3S-FE) (98.1-01
43330-02040 CARINA 4WD ST215,CT215,CT216 96-
43330-19115 LOWERR/L |[COROLLA NZE120,121 00-
43330-02097 COROLLA USA ZZE122 03-08
43330-09090 COROLLA HB/LB AE111,EE111,WZE110,ZZE11# 98-01
43330-09230 COROLLA HB CDE120,ZZE12# 01-
43330-09070 COROLLA SED/WG CE121 02-
43330-19185 ALTIS, PRIUS CEl121 01-03
43330-09200 WISH ANE10,ZNE10,ZNE14 03-
43330-09220 RAV-4 ACA2#,CLA2#,ZCA2# 00-03
43330-19095 CELICA 00-05
BJ-1230 43330-29225 LOWERR/L [CELICA ST18# 89-
43330-29325 CORONA EXIV
43330-29326 CARINA ED
43330-49025 RAV-4 SXA10 94-99
BJ-1235 43330-39285 LOWERR/L [CAMRY SXV10..../USA MADE 91-96
43330-06020 WINDOM VCV10, VCV11 91-96
43330-06021 CAMRY AUS SXV20 97-02
43330-09140 VISTA SCV10,vCV10 94-97
43330-39435 SIENNA 98-00
43330-09051 HARRIEER ACU1#,MCU1#,SXU1# 97-
LEXUS RX300 99-03
PRONARD,AVALON MCX20 00-03
BJ-1301 43360-29035 UPPER R/L MARK I RX1#,RX2#,MX1#,MX2# 72-76
43360-29045 CORONA RT10#,RT11#,RT12#, TT10#,TT11# 73-78
43360-29015 TT12#
43350-29015
BJ-1305 43330-29095 LOWERR/L [MARKII RX1#,RX2#,MX1#,MX2# 72-76
43330-29066 CORONA RT10#,RT11#,RT12#, TT10#,TT11# 73-78
43330-29056 TT12#
43330-29055 LITEACE KM20,TM20 79-82
43330-29046
43330-29045
43340-29075
43340-29045
43340-29036
43340-29035
43340-29026
43340-29025
BJ-1310 43308-29115 LOWERR/L [SOARER GZ1# MZ1# 81-86
43308-29015 MARK II (CRESSIDA) RX3#,RX4#,MX3#,MX4#,TX3#,TX4# 76-84
RX6#,MX6#,LX6#,GX6#,TX6#,SX6#
SX70,LX70,GX71,MX71 84-88
CRESTA TX5#,GX5#,MX5#,SX6#,GX6#,MX6# 80-84
SX70,LX70,GX71,MX71 84-92




CHASER RX3#,RX4#,MX3#,MXA4#,TX3#,TX4# 77-84
RX6#,MX6#,LX6#,GX6#,TX6#,SX6#
SX70,LX70,GX71,MX71 84-92
CARINA,CELICA GAG61,MAG# 81-86
BJ-1311 43360-29056 UPPER R/L KIJANG (BUV) KF40,KF50 86-
43360-29055 KF60,KF70,KF80,LF60,LF70,LF80 96-
43350-29036 TOWNACE,MASTERACE |KP26,YR2#,CR2# 82-
43350-29035 VAN-WAGON
43350-29076 TOWNACE,LITEACE KM21,YM25,CM2+# 82-86
43350-29085 TRUCK KM5#,YM55,CM5# 86-
LITEACE VAN-WAGON KM20, TM20 79-82
KM21V,YM2#,CM20 82-85
KM3#,CM3#,YM30 85-
BJ-1315 43330-29175 LOWERR/L [KIJANG (BUV) KF40,KF50 86-
43330-0B020 KF60,KF70,KF80,LF60,LF70,LF80
43330-29115 TOWNACE,MASTERACE |KP26,YR2#,CR2# 82-
43330-29245 VAN-WAGON KF60,KF70,KF80,LF60,LF70,LF80
43340-29095 TOWNACE, LITEACE KM21,YM25,CM2# 82-86
43330-29545 TRUCK KM5#.YM55,CM5# 86-
LITEACE VAN-WAGON KM21V,YM2#,CM20 82-85
KM3#,YM3#,CM30 85-
BJ-1336 43330-29275 LOWERR MARK II (CRESSIDA) GX90, LX90, SX90, JZX9# 92-00
43330-59105 & CRESTA, CHASER
43330-29355 JEX100,JEX101,GX100,GX101,LX100,SX100|96-00
43330-29356 PROGRES JCG10,JCG11 98-00
43330-29385
43330-29415 02-
43330-59085 BREVIS JCG10,JCG11 01-
BJ-1337 43340-29085 LOWER L MARK Il (CRESSIDA) GX90, LX90, SX90, JZX9# 92-00
43340-29145 & CRESTA, CHASER
43340-29355 JEX100,JEX101,GX100,GX101,LX100,SX100|96-00
43340-29146 PROGRES JCG10,JCG11 98-00
43340-29165
43340-29185 02-
43340-59085 BREVIS JCG10,JCG11 01-
BJ-1340 43308-59035 LOWERR/L [YARIS (VITZ) ECHO NCP 1# 99-
43308-59065 FUN CARGO NCP20,NCP21, NCP25 99-
43308-59095 PLATZ NCP12,NCP16,SCP11 99-
43308-09010 ECHO 00-
43308-09070 VIOS NCP4# 02-
43308-09071 NCP93 07-
43308-09080 AYGO KGB10,WGB10 05-
43308-09081 BELTA KSP92,NCP96,SCP92 05-
43308-0H010 For 48068-0H010/48069-0H010
43308-19176 For 48068-59095/48069-59095
For 48068-09080/48069-09070
For 48068-09081/48069-09071
For 48068-19176/48069-59065
PRIUS C For 48068-59145/48069-59135 12-
BJ-1342 43330-29565 LOWERR/L [HIACE KDH200, KDH220, KDH222, TRH200 04-
TRH214, TRH221, TRH223, TRH224
BJ-1343 43330-39415 LOWERR HILUX KZN185, KDN185, RZN18#, VZN18#, KZJ185(01-
43330-39585 4RUNNER RZN18#, VZN18# 96-02
43330-39466 LAND CRUISER PRADO KZJ90,RZJ9# VZI9%# 96-
TUNDRA 00-02
BJ-1344 43340-39325 LOWER L HILUX KZN185, KDN185, RZN18#, VZN18#, KZJ185(01-
43340-39465 4RUNNER RZN18#, VZN18# 96-02
43340-39356 LAND CRUISER PRADO KZJ90,RZJ9# VZI9%# 96-
TUNDRA 00-02
BJ-1345 43330-39605 UPPER R TUNDRA UCK30,UCK40,VCK30,VCK40 03-




SEQUIA

BJ-1346 43340-39485 UPPER L TUNDRA UCK30,UCK40,VCK30,VCK40 03-
SEQUIA
BJ-1347 43330-39655 LOWERR  |TUNDRA UCK30,UCK40,VCK30,VCK40 04-
43330-39805 SEQUIA 05-
43330-39825
BJ-1348 43340-39515 LOWER L TUNDRA UCK30,UCK40,VCK30,VCK40 04-
43340-39575 SEQUIA 05-
43340-39595
BJ-1352 43360-39095 UPPER L TACOMA 2WD VZN150,RZN140,RZN150 95-04
(W/O PRERUNNER)
BJ-1410 43330-29405 LOWERR |CAMRY ACV30,ACV35 01-
43330-09160 CAMRY USA 02-
43330-29615 SIENNA 04-10
43330-09560 HIGH LANDER 01-07
HARRIER ACU3# MCU3# 03-
LEXUS RX330 04-06
ESTIMA ACR30, CLR30 00-
BJ-1411 43340-29175 LOWER L CAMRY ACV30,ACV35 01-
43340-09010 CAMRY USA 02-
43340-29215 SIENNA 04-10
HIGH LANDER 01-07
HARRIER ACU3# MCU3# 03-
LEXUS RX330 04-06
ESTIMA ACR30, CLR30 00-
BJ-1415 43330-39235 LOWERR/IL |CROWN RS8# RS10#,MS8# MS9# MS10# 74-87
43330-39225 LS10#,RS11#,MS11#,LS11#,GS11#
43330-39155 YS12# MS12#,GS12#,L.S12#
43330-39145 YS130,GS13#,MS13#,L.S130 87-99
43330-39105
43330-39095
43330-39065
43330-39055
43330-39115
43340-39215
43340-39205
43340-39135
43340-39125
43340-39095
43340-39085
43340-39045
43340-39035
BJ-1501 43360-39065 UPPERR/IL |CROWN RS5# MS5#,RS6#,MS6#,MS7#,RS8# 67-87
43360-39055 RS10#,MS8#,MS9# MS10#, LS10#
43360-39045 RS11#,MS11#,LS11#,GS11#,YS12#
43360-39025 MS12#,LS12#,GS12#
43350-39065 CROWN YS130,GS13#,MS13#,L.S130 87-
43350-3905 | | |.. exc/GS131.SPC,MS135,MS137
43360-39016 HILUX RN1#,RN2# RN30#,RN33,RN35,RN40 68-83
43360-39015 RN43,RN45,LN30,LN40
43350-39025 KIJANG, TAMARAW RF30,LF30 81-86
43350-39016 (BUV)
43350-39015
BJ-1515 43330-39045 LOWERRI/L |HILUX RN2#,RN30,RN33,RN35 RN40,RN43 72-83
43340-39075 RN45,LN30,LN40
HIACE PH1#, RH1#, RH2#, RH3#, RHA#, LH2#,LH3#|72-82
HIACE TRUCK RH11, RH24, LH24 77-85
KIJANG TAMARAW(BUV)  |RF30, LF30 81-86
BJ-1521 43350-39035 UPPERR/L  |HILUX LN5#,YN5#,LN8#,YN8# 83-95

43350-39075




43350-39115 T100 93-97
43350-39125 UPPER R/L HILUX LN147 97-
BJ-1525 43330-39165 LOWER R/L  [HILUX LN5#,YN5# 83-89
43340-39145
BJ-1531 43350-29065 UPPER R/L HIACE VAN-WAGON LH10#,LH11#,LH12#,LH140 89-95
43350-29095 & COMMUTER RZH10#,RZH11#,RZH12#
BJ-1545 43330-39265 LOWERR/L [HILUX 4WD RN101,RN106,RN110,RN126,RN130 88-
43330-39315 PICK UP LN107,LN111,LN130,LN135 89-
43330-39835 LN16#,LN17#RZN16#RZN174 97-
43340-39245 YN130,YN135,VZN10#,VZN110,VZN13# 88-
BJ-1555 43340-39225 LOWERR/L  [HILUX LN8#,YN8# 88-
43330-39245 PICK UP 89-95
43330-39295
43330-39445 LN147,RZN147,RZN152 97-
BJ-1601 43360-29025 UPPER R/L HIACE PH1# RH1# RH2# RH3# RHA#,LH2#,LH3# |67-82
43360-39035
43350-29025 HIACE TRUCK RH11,RH24,LH24 77-85
43350-39026
BJ-1611 43310-29025 UPPERR/L [TOWNACE VAN.WAGON |KR1# TR1# 76-82
TOWNACE TRUCK RR1#,RR2# 78-82
BJ-1615 43330-29085 LOWERR/L [TOWNACE VAN.WAGON |KR1# TR1# 76-82
43340-29065 TOWNACE TRUCK RR1#,RR2# 78-82
BJ-1621 43360-29076 UPPER R/L HIACE VAN-WAGON YHS5#,YH6#, YH7#,LH5#,LHG6#,LH7# 82-85
43360-29075 & COMMUTER
43360-29065 HIACE TRUCK YH80,LH80 85-89
43350-29056
43350-29055
43350-29045
BJ-1625 43330-29125 LOWERR/L [HIACE VAN-WAGON YHS5#,YH6#,YH7#,LH50,LH60,LH70 82-85
43340-29105 & COMMUTER LH51,LH61,LH71,LH10#,LH11#,LH12# 85-89
43330-29155 LH140,RZH10# RZH11# RZH12#
43330-29295 HIACE TRUCK, VAN YH80.LH80 85-89
43330-29515 GRANVIA VCH22 04-05
BJ-1631 43360-39075 UPPER R/L HILUX 4WD YN61,LN61 85-
43350-39045 RN101 88-
43360-39085 LN16#,LN17#RZN16#RZN174 97-
43350-39085 4 RUNNER 84-89
BJ-1635 43330-39195 LOWERR/L [HILUX 4WD YN61, LN61 85-88
43340-39175 RN101 88-89
43330-39255 HIACE VAN 4WD LH56V, LH66V 86-89
43340-39235
BJ-1645 43330-29235 LOWERR/L [ESTIMA TCR1#, TCR2#, CXR1#, CXR2# 90-
PREVIA 91-97
BJ-1646 48620-60010BJ [LOWERR/L [LAND CRUISER HDJ101,HZJ100 98-
48640-60010BJ FZJ100 05-
48620-60020BJ
48640-60020BJ
43340-60010
43340-60020
43350-60010
BJ-1647 43310-09015 UPPER R/L HILUX VIGO KUN1#, KUN2# 04-
43310-0K010 HILUX KUN2# 05-
43310-0K040 FORTUNER KUNS51, TGN51 05-
43310-09030 KIJANG INNOVA exc/GL KUN40, TGN4# 04-
TACOMA PRE-RUNNER 2/4WD FOR 48610-04010 / 48630-04020 05-07
BJ-1648 43330-09295 LOWERR/L [HILUX VIGO KUN1#, KUN2# 04-
43330-09490 HILUX KUN2# 05-
43330-09510 FORTUNER KUNS51, TGN51 05-
KIJANG INNOVA exc/GL KUN40, TGN4# 04-
TACOMA PRE-RUNNER 2/4WD FOR 48068-04030 / 46069-04040 05-07

9




BJ-1649 43310-39016 UPPERR/L |LAND CRUISER PRADO  |KZJ90,RZJ9#,VZJI9# 96-
43310-34030 HILUX, 4RUNNER KZN185,RZN18#,VZN18# 95-
43310-35061 TUNDRA 00-04
43310-35071 TACOMA VZN150,RZN140,RZN150 95-04
43310-35081 (W/PRERUNNER)
43310-39085 TUNDRA KZJ90 04-
SEQUOIA
BJ-1650 43330-39775 LOWER R CAMRY ACV4# 06-11
43330-09330 CAMRY 12-
43330-09590 LEXUS ES350 07-
43330-09580 AVALON GSX30 05-12
43330-09810 AVALON 13-
BJ-1651 43340-39545 LOWER L CAMRY ACVa# 06-11
43340-09040 CAMRY 12-
43340-09110 LEXUS ES350 07-
43340-09100 AVALON GSX30 05-12
43340-09170 AVALON 13-
BJ-1652 48610-60030BJ |UPPERR/IL |LAND CRUISER PRADO  |RZJ120,KDJ12#,TRJ123,VZJ12# 02-
48610-60050BJ GRJ12#
48610-60060BJ 4ARUNNER GRN21#,VZN21# 03-05
48630-60010BJ N280 10-
48630-60020BJ LAND CRUISER HDJ101,UZJ100 98-
48630-60030BJ FZJ100 05-
43310-60010 UZJ200 07-
43310-60020 HILUX SURF KDN215, TRN21#,VZN21# 02-
43310-60030 FJ CRUISER GSJ15 10-
43310-60040
43310-60050
43310-60060
43310-60070
BJ-1653 43330-09210 LOWERR/L |AVENSIS AZT, CDT, ZZT 01-03
43330-09190 MATRIX ZZE136 03-08
43330-09670 COROLLA AZE141, ZRE142 08-
43330-49055 VOLTZ ZZE136, ZZE137, ZZE138 02-
43330-29425 PRIUS NHW20 03-09
SCION TC ANT10 05-10
BJ-A001 43330-29345 LOWERR/L |HIACE LH110, KZH106, KZH116, KZH126, KZH138 |95-
43330-29215 LH109,LH119,LH129,LH168
43330-29105 HIACE VAN, WAGON LH178,LH186,LH188
COMMUTER 4WD YH57, LH56, LH66 88-95
HIACE TRUCK LH85, LHI5 89-93
HIACE LH107, LH109, LH117, LH119, LH129 01-
DYNA 150 2500 RWD
BJ-A003 43330-39355 LOWERR |TACOMA 2WD VZN150,RZN140,RZN150 95-04
43330-39565 (W/O PRERUNNER)
BJ-A004 43340-39275 LOWER L TACOMA 2WD VZN150,RZN140,RZN150 95-04
43340-39445 (W/O PRERUNNER)
BJ-A005 43330-39815 LOWERR |TACOMA 4WD VZN195, RZN19# 01-
43330-39556 VZN170, VZN171, RZN160, RZN161 95-98
43330-39366
43330-39367
BJ-A006 43340-39585 LOWER L TACOMA 4WD VZN195, RZN19# 01-
43340-39436 VZN170, VZN171, RZN160, RZN161 95-98
43340-39286
43340-39287
BJ-A007 43330-29165 LOWERR  |TOWNACE VAN 4WD YR3#, CR3# 88-92
43330-29166 TOWNACE TRUCK 4WD  |CM6#, YM6# 92-96
LITEACE VAN 4WD CM4#, YM40 88-92
LITEACE TRUCK 4WD CM6#, YM6# 92-96
BJ-A008 43340-29115 LOWER L TOWNACE VAN 4WD YR3#, CR3# 88-92

10




43340-29116 TOWNACE TRUCK 4WD  |CM6#, YM6# 92-96
LITEACE VAN 4WD CM4#, YM40 88-92
LITEACE TRUCK 4WD CM6#, YM6# 92-96
BJ-A009 43330-39506 LOWERR  |[MARK é 4WD JZX93 93-96
43330-29285 & CRESTA, CHASER JZX105 96-00
43330-29365 GX105 98-00
43330-29366
43330-39505
BJ-A010 43340-39396 LOWER L MARK & 4WD JZX93 93-96
43340-29135 & CRESTA, CHASER JZX105 96-00
43340-29155 GX105 98-00
43340-29156
43340-39395
BJ-A011 43330-59066 LOWERR |MARK é GX110, JZX110 00-06
43330-59135 ALTEZZA GXE10, JCE10, SXE10 00-
VEROSSA 01-04
LEXUS 1S300 01-05
BJ-A012 43340-59066 LOWER L MARK € GX110, JZX110 00-06
43340-59135 ALTEZZA GXE10, JCE10, SXE10 00-
VEROSSA 01-04
LEXUS 1S300 01-05
BJ-A013 43330-59016 LOWERR  |CELSIOR UCF1# 89-94
43330-59015 LEXUS LS400 90-92
BJ-A014 43340-59016 LOWER L CELSIOR UCF1# 89-94
43340-59015 LEXUS LS400 90-92
BJ-A015 43330-29395 LOWERR/L |TOWN ACE 4WD CR50, SR50 96-
BJ-A017 43330-49095 LOWERR/L |RAV4 ACA30 06-
43330-09630 CORROLLA ADE150, ZRE15# 07-
43330-19245 AURIS ZZE150 07-
43330-09720 SCION XB 08-
43330-49195 ESTIMA ACR30, CLR30 00-
PRIUS V 12-
LEXUS HS 250h 10-12
BJ-A019 43330-39535 LOWERR  |LEXUS GS300 JZS160 98-05
LEXUS GS400
LEXUS GS430
LEXUS SC430 Uzz40 01-10
CROWN,CROWN JZS177,UZS171,UZS175 99-04
ARISTO JzS16# 99-
SOARER uzz40 01-05
BJ-A020 43340-39415 LOWER L LEXUS GS300 JZS160 98-05
LEXUS GS400
LEXUS GS430
LEXUS SC430 uzz40 01-05
CROWN,CROWN JZS177,UZS171,UZS175 99-04
ARISTO JZS16# 99-
SOARER Uzz40 01-05
BJ-A021 43330-29575 LOWERR/L |HIACE 4WD KDH205,225,227 04-
TRH219,226,228,229
BJ-A023 43310-39045 UPPERRIL |MARK é GX100, JZX90, JZX100, LX90, LX100 96-
43310-39025 GX90, SX90, JZX90, LX90 92-95
43310-29065 GX110, JZX110, GDGT, GD, GDG, GDS, 00-05
43310-59025 PROGRES JCG10, JCG11 98-01
PROGRES JCG10, JCG11 01-05
ALTEZZA GXE10, JCE10, SXE10 98-03
03-
VEROSSA GX110, JZX110 01-04
CROWN, CROWN GS171, JZS171, JKS175, JZS175 99-05
BJ-A025 43330-49165 LOWERR  |HIGHLANDER GSU40 08-
43330-49125 KLUGER 08-

11




43330-09780 VENZA 09-
SIENNA 11-
LEXUS RX350/RX450h 10-
BJ-A026 43340-49035 LOWER L HIGHLANDER GSU40 08-
43340-49015 KLUGER 08-
43340-09140 VENZA 09-
SIENNA 11-
LEXUS RX350/RX450h 10-
BJ-A027 43330-BZ010 LOWERR/L [AVANZA FOR 48068-BZ010/48069-BZ010 03-
BJ-A029 43330-49185 LOWERR/L [PRIUS 10-
LEXUS CT200h 11-13
BJ-A031 43350-39105 UPPER R TACOMA 2WD VZN150,RZN140,RZN150 95-04

(W/O PRERUNNER)

12




TIE ROD END

TOYOTA
FUJINO OEM NO POSITION CAR NAME MODEL YEARS
TE-1002 45046-29456 OUTERRI/L |HIACE KDH200, KDH20#, KDH22# 04-
M15 X 1.5 TRH200, TRH21#, TRH22#
TE-1003 45046-39275 OUTERR/L |COASTER BB4#,HDB5#,HZB4#,HZB5# 93-03
MALE LHT
M21 X 1.5
TE-1004 45046-39285 OUTERRIL |TACOMA 2WD VZN150,RZN140,RZN150 95-03
FEMALE RHT (W/O PRERUNNER)
M15 X 1.5
TE-1005 45046-39295 OUTERR TACOMA 4WD VZN170,VZN171,RZN160,RZN161 95-03
MALE RHT
M20 X 1.5
TE-1007 45046-59195 OUTERR VITZ NCP91... exc/RS 05-
45046-59225 M12X 1.25 [YARIS SCP90 ... for/ILL, U, X 06-12
45046-59255 BELTA NCP96, SCP92
PRIUS C 15" Wheels 12-
YARIS 15" Wheels 12-
TE-1009 45046-29416 OUTERR DYNA 150 PICK UP 3000 |Ly225 98-
MALE RHT  [DYNA 250 PICK UP 3000 01-
M22 X 1.5
TE-1010 45047-29146 OUTERL DYNA 150 PICK UP 3000  |Ly225 98-
MALE LHT  [DYNA 250 PICK UP 3000 01-
M22 X 1.5
TE-1011 45047-39095 INNERR/L  |COASTER RB2#,BB2#,BB3#,HB3# 82-
45047-39165 MALE RHT BB40,HDB5#,HZB4#,HZB5# 93-
M21 X 1.5
TE-1012 45047-39175 OUTER L TACOMA 4WD VZN170,VZN171,RZN160,RZN161 95-03
MALE RHT
M20 X 1.5
TE-1013 45047-59135 OUTER L VITZ NCP91... exc/RS 05-
45047-59155 M12X 1.25 [YARIS SCP90 ... for/ILL, U, X 06-12
45047-59165 BELTA NCP96, SCP92
PRIUS C 15" Wheels 12-
YARIS 15" Wheels 12-
TE-1015 45046-39335 OUTERR LAND CRUISER PRADO  |KZJ9#,RZJ9#,VZJ9# 96-
45046-39355 MALE RHT  [HILUX KZN185,RZN18#,VZN18# 95-
M20 X 1.5  [4RUNNER 96-02
TE-1016 45047-39215 OUTER L LAND CRUISER PRADO  |KZJ9#,RZJ9%#,VZJ9% 96-
MALE RHT  [HILUX KZN185,RZN18#,VZN18# 95-
M20 X 1.5  [4RUNNER 96-02
TE-1110 45046-19165 OUTERRIL |STARLET EP7#NP7# 84-89
FEMALE RHT
M12 X 1.25
TE-1120 45046-19206 OUTERRIL |STARLET EP8#,NP80 89-95
45046-19205 FEMALE RHT [SOLUNA AL50 96-00
45046-19216 M12X1.25 [MR2 00-05
TE-1121 45046-59025 OUTERR YARIS(VITZ)ECHO NCP1# 99-05
45046-59026 FEMALE RHT SCP13 02-
45046-59045 M12 X 1.25  [FUN CARGO, PLATZ NCP20,NCP21,NCP25 99-05
45046-09120 PLATZ NCP12,NCP16,SCP11 99-05
ECHO 00-02
VIOS NCP4# 02-

13




TE-1122 45047-59026 OUTER L YARIS(VITZ)ECHO NCP1# 99-05
45047-59025 FEMALE RHT SCP13 02-
45047-59035 M12 X 1.25 FUN CARGO, PLATZ NCP20,NCP21,NCP25 99-05
45047-09040 PLATZ NCP12,NCP16,SCP11 99-05
ECHO 00-05
VIOS NCP4# 02-
TE-1220 45046-19175 OUTER R/L |CAMRY,VISTA SV2#,CV2# 86-
45046-29305 FEMALE RHT |CORONA AT15#,ST15#,CT15# 84-87
45046-8Y001 M14 X 1.5 AT16#,ST16# 85-89
45046-09090 CARINA,CELICA AT15#,ST15#,CT15#,ST16# AT16# 84-
45046-29265 CARINA 4WD ST215,CT215,CT216 96-
COROLLA,SPRINTER AE80,AE81,AE82,CE8#,EE8# 84-87
AE9#,CE9#,EE9# 87-
AE110,AE111 95-00
COROLLA HB/LB AE111,EE111,WZE110 98-01
VITZ NCP13 00-
TERCEL,CORSA,COROLLA |EL3#,NL3# 86-
RAV-4 SXA10 94-
ECHO 03-
WISH ZNE14 03-
SCION XA NCP6#,AEROF,AEROS 02-
KIJANG KF60,KF7#,KF8#,LF6#,LF7#,LF80,LF81,LF82(96-
RZF71,RZF80,RZF81,YF60,YF80
TE-1225 45406-19045 INNER R/L CARINA,CELICA TAL1#, TA2#,RAL# RA2# 70-75
45406-19025 MALE RHT COROLLA,SPRINTER KE3#, KE4#,KES#,KEG#, TE3#, TEA#, TES#,TEG 74-79
45406-19015 M14 X 1.5
45406-19075 CAMRY RAA4#,RAS#, TA4#,TASH 80-82
45406-19065 CORONA RT13#,TT13# 78-82
45406-19055 YT140,CT140...STD 82-
45406-19016 TT147V,CT147V,KT147V 82-87
45406-19048 CARINA,CELICA TAL1#, TA2#, TA3#, TAA#H TASH# RAL# 75-81
RA2#,RA3#,RA4#,RASH,MA4# MAS#
COROLLA,SPRINTER TA67V,CAG7V,KAGTV 81-
AE70,TE70 70-81
CE70 82-83
KE71V,KE72V,KE74V, TE71V,TE73V 79-87
TE74V,CE71V,CE72G
TOWNACE VAN-WAGON  [TE71(LEVIN,TRUENO) 81-83
TOWNACE TRUCK KR1#,TR1# 76-82
LITEACE RP1#,RR2# 78-82
KM20,TM20 79-81
TE-1230 45046-29185 OUTER R/L  |LITEACE CM3#, KM3#, YM3# 88-
45046-29186 FEMALE RHT |LITEACE TRUCK CM5#, KM5#, YM5# 88-
M14 X 1.5 KIJANG KF40, KF50 91-
TE-1241 45046-29165 OUTER R CORONA AT170, ST17#, CT170, ET176V, CT176V 87-92
FEMALE RHT
M15 X 1.5
TE-1242 45047-29045 OUTER L CORONA AT170, ST17#, CT170, ET176V, CT176V 87-92
FEMALE RHT
M15 X 1.5
TE-1251 45046-29335 OUTER R CORONA, CELICA ST19#, AT19#, CT19# 92-96
45046-29275 FEMALE RHT |CARINA AT2#,CT210,CT211 96-01
M15 X 1.5
TE-1252 45047-29075 OUTER L CORONA, CELICA ST19#, AT19#, CT19# 92-96
45047-29105 FEMALE RHT |CARINA AT2#,CT210,CT211 96-01
M15 X 1.5

14




TE-1261 45046-29365 OUTERR AVENSIS AT220(4A-FE),AT221(7A-FE), 98-03
FEMALE RHT ST220(3S-FE)
M14 X 1.5
TE-1262 45047-29125 OUTER L AVENSIS AT220(4A-FE),AT221(7A-FE), 98-03
FEMALE RHT ST220(3S-FE)
M14 X 1.5
TE-1270 45046-29195 OUTERR/L |TOWNACE 4WD YR3#, CR3#,YR30 88-96
M14 X 1.5 LITEACE 4WD CM4#,YMA4#, CM6#,YM6# 88-96
45046-39265 T100 TRUCK 2WD 93-98
TE-1331 45046-29075 OUTERR/L |MARK Il (CRESSIDA) RX3#, RX4#, TX3#, TX4#,MX3#,MX4# 76-84
45046-19135 MALE LHT RX6#,MX6#, LX6#,GX6#,TX6#,SX6#
45046-19095 M14 X 1.5 CRESTA MX5#,GX5#, TX5#,MX6#,GX6#,SX6# 80-84
45046-19085 CHASER RX3#,RX4#, TX3#,TXA4#,MX3#, MX4# 77-84
45046-19075 RX6# MX6#,LX6#,GX6#,TX6#,SX6#
45046-19065 CAMRY RA4# RAS#, TAA# TAS# 80-82
45046-19015 CORONA RT10#,RT11# RT12# TT10# TT11# 73-82
45046-29155 TT12#RT13#,TT13#
45046-19145 YT140,CT140...STD 82-
TT147V,CT147V,KT147V 82-87
CARINA,CELICA TAL# TA2#, TA3# TAL#, TASH# RAL# 70-81
RA2# RA3#, RA4#, RASH, MA4#, MASH#
TAB7V,CA67V,KA67V 81-
COROLLA,SPRINTER KE3#,KE4#,KES#, KE6#, TE3#, TEA# 74-79
TES#,TE6#,
AE70,TE70 79-81
CE70 82-83
COROLLA,SPRINTER KE71V,KE72V,KE74V, TE71V,TE73V 79-87
TE74V,CE71V,CE72G
TE71 (LEVIN,TRUENO) 81-83
STARLET KP4#, KP5# 74-78
KIJANG, TAMARAW KF10 80-
(BUV) KF20 81-86
KF40,KF50 86-
TOWNACE,MASTERACE  |KR1#,TR1#,KR26,YR2# CR2# 76-85
TOWNACE TRUCK RR1#,RR2# 78-82
LITEACE TRUCK KM21,YM25,CM2# 82-86
LITEACE VAN-WAGON KM21V,YM2#,CM20 82-85
TE-1336 45406-29055 INNER R CORONA RT10# RT11# RT12# TT104 TT11#TT12# |73-78
45406-29056 MALE RHT
45406-29065 M14 X 1.5 KIJANG, TAMARAW KF10 73-80
(BUV) KF20 81-86
TE-1337 45407-29016 INNER L CORONA RT10# RT11# RT12# TT104 TT11#TT12# |73-78
45407-29015 MALE RHT
M14 X 1.5
TE-1341 45046-29135 OUTERR/L |CORONA AT15#,ST15#,CT15# 83-84
FEMALE RHT |CARINA,CELICA AT15#,ST15#,CT15# 84-
M12X1.25 |MR2 AW10,AW11 84-89
COROLLA,SPRINTER AEB0,AE81,AE82,CES#,EES# 83-84
TE-1350 45046-29255 OUTERR/L |CAMRY SXV10......... JUSA MADE 91-01
45046-09190 FEMALE RHT |WINDOM VCV1# 91-96
45046-09230 M15 X 1.5 SIENNA 98-03
45046-59115 HARRIER ACU1# MCU1#,SXU1# 97-
45046-09540 LEXUS RX300 99-03
MATRIX ZZE132,7ZE133,ZZE134 03-08
VOLZ ZZE136,ZZE137 02-04
SCION XD 08-
AVENSIS ZZT25# 03-
YARIS NCP91 06-

15




TE-1365 45406-29105 INNER R/L MARK Il (CRESSIDA) RX6#,MX6#,LX6#,GX6#,TX6#,SX6# 80-84
MALE RHT CRESTA TX5#,GX5#,MX5#,MX6#,GX6#,SX6# 80-84
M14 X 1.5 CHASER RX6#,MX6#,LX6#,GX6#,TX6#,SX6# 80-84
TE-1370 45046-29145 OUTER R/L  |MARK II[(CRESSIDA) SX70,LX70,GX71,MX71 84-88
45046-29205 FEMALE RHT |& CRESTA,CHASER GX81,JZ2X81,LX80,RX8#,SX80,YX80 88-92
45046-29555 M14 X 1.5 93-96
TE-1373 45046-29285 OUTER R/L  |MARK II[(CRESSIDA), GX90, LX90, SX90,JZX9# 92-00
FEMALE RHT |CRESTA,CHASER
M14 X 1.5
TE-1421 45046-39415 OUTERR DYNA 200 4100 XZU301 99-
45046-39416 MALE RHT DYNA 200 4600 00-
M22 X 1.5
TE-1422 45047-39255 OUTERL DYNA 200 4100 XzZU301 99-
45047-39256 MALE LHT DYNA 200 4600 00-
M22 X 1.5
TE-1431 45046-29056 OUTERR/L  |MARKII RX1#,RX2#,MX1#,MX2# 72-76
45046-29055 MALE LHT CROWN YS12#,MS12#,GS12#,LS12# 83-87
45046-39155 M17 X 1.5 YS130,GS13#,MS13#,LS130. exc/P.S. 87-91
TE-1435 45406-39105 INNER R/L CROWN YS12#,MS12#,GS12#,LS12# 83-87
45406-39145 MALE RHT YS130,GS13#,MS13#,L.S130...for/P.S 87-
M17 X 1.5
TE-1441 45046-39195 OUTERR/L |CROWN YS130,GS13#,MS13#,L.S130...for/P.S 87-
MALE LHT
M17 X 1.5
TE-1500 45046-29215 OUTER R/L  |HIACE VAN-WAGON LH10#,LH11#,LH12#,LH140 89-
FEMALE RHT |& COMMUTER RZH10#,RZH11#,RZH12#
M17 X 1.5
TE-1522 45046-39085 OUTERR HILUX RN2# 72-78
MALE LHT
M17 X 1.5
TE-1523 45047-39055 OUTER L HILUX RN2# 72-78
MALE LHT
M17 X 1.5
TE-1524 45406-39065 INNER R/L HILUX RN2# 72-78
MALE RHT
M17 X 1.5
TE-1531 45046-39175 OUTER R/L  |HILUX RN30,RN33,RN35,RN40,RN43,RN45 78-
45046-39165 MALE LHT LN30,LN40,LN5#,YN5#,LN8#,RN8#
45046-39375 M17 X 1.5 LN147,LN145,LN15# RZN147,RZN152 97-
45046-39125 HILUX 4WD RN36,RN37,RN38,RN39,RN47,RN48 79-83
45046-39106 LN36,LN46
45046-39105 YN61,LN61 85-
45046-29125 RN101,RN-106,RN-110 89-
45046-29115 HIACE VAN-WAGON YHS5#,YH6#, YH7#,LH5#,LHG6#,LH7#, 82-
45046-39235 &COMMUTER
45046-39215 HIACE VAN 4WD LH56V,LH66V 86-
HIACE TRUCK YH80,LH80 85-
KIJANG, TAMARAW(BUV)  |RF30,LF30 81-86
45046-39385 HILUX 4WD LN165, LN170, RZN167 97-99
RZN174, RZN169 97-03
LN172, LN167 97-04
TE-1535 45406-39125 INNER R/L HILUX RN30,RN33,RN35,RN40,RN43,RN45 78-95
45406-39115 MALE RHT LN30,LN40,LN5#,YN5#,LN8#,YN8#,
45406-39095 M17 X 1.5 LN147,LN145,LN15#,RZN147,RZN152 97-01
45406-39086 KIJANG, TAMARAW (BUV) |RF30,LF30 81-86

45406-39085
45406-39155
45406-29115

16




TE-1550 45046-29325 OUTER R/L  |HIACE LH110,11#,12#,16#,17#,18#,KZH10#,11#,13#(95-
45046-29385 FEMALE RHT RZH10#,11#,12#,133,K2H120,....2WD
45046-29375 M15 X 1.5 HIACE REGIUS LH11#, KZH10# ,KCH4#, LXH4#, RCH4# 97-99
TE-1551 45044-29035 OUTERR TOYOACE PY10,RY10,RY12,RY14,JY16...exc/2t 71-73
MALE RHT STOUT RK101,RK101-K,RK101P-K,RK110,RK111 72-73
M17 X 1.5 HIACE PH1#,RH10 71-72
TE-1552 45045-29035 OUTERR/L |TOYOACE PY10,RY10,RY12,RY14,JY16...exc/2t 71-73
45046-29105 MALE LHT STOUT RK101,RK101-K,RK101P-K,RK110,RK111 72-73
M17 X 1.5 HIACE PH1#,RH10 71-72
PH1# RH1# RH2# RH3#,RHA#,LH2#,LH3#  [72-82
HIACE TRUCK RH11,RH24,LH24 77-85
TE-1561 45046-29065 R TOYOACE PY10,RY10,RY12,RY14,JY15\6...exc/2T 73-79
MALE RHT STOUT RK101,RK101-K,RK101P-K,RK110,RK111 73-
M20 X 1.5
TE-1562 45047-29025 L TOYOACE PY10,RY10,RY12,RY14,JY15\6...exc/2T 73-79
MALE LHT STOUT RK101,RK101-K,RK101P-K,RK110,RK111 73-
M20 X 1.5
TE-1565 45406-39135 INNER R/L HILUX 4WD YN61, LN61 85-
45406-39165 MALE RHT RN101, RN106, RN110, RN126, RN130 89-
45406-39175 M17 X 1.5 LN107, LN111, RN135, YN130, YN135
45406-39185 VZN100, VZN105, VZN110, VZN130, VZN131
RN120, RN121, VZN120....USA
LN165, LN167, LN170, LN172 97-04
RZN167, RZN169, RZN174 97-03
TE-1571 45046-35080 OUTER R HILUX 4WD YNG60,YNG5,LN60,LNG5,LN10#,YN10# 83-90
45046-35H00 MALE LHT 4RUNNER 84-89
45046-35H01 M21 X 1.5
TE-1575 45047-35050 OUTER L HILUX 4WD YN60,YN6G5,LN60,LN65,LN10#,YN10# 83-90
45047-35H00 MALE RHT 4RUNNER 84-89
45047-35H01 M21 X 1.5
TE-1625 45406-29095 INNER R/L HIACE PH1# RH1# RH2# RH3# RHA#,LH2#,LH3#  |72-82
45406-29085 MALE RHT
45406-29035 M17 X 1.5 HIACE TRUCK RH11,RH24,LH24 77-85
TE-1635 45406-29145 INNER R/L HIACE VAN-WAGON YH5#,YH6#, YH7#,LH5#,LH6#,LH7# 82-85
MALE RHT & COMMUTER YH80,LH80 85-89
45406-29175 M17 X 1.5 HIACE TRUCK LY10#,LY11#,YY101 95-
TE-1651 45046-29235 OUTER R ESTIMA TCR1#,TCR2#,CXR1#,CXR2# 90-00
FEMALE RHT |PREVIA 91-97
M14 X 1.5
TE-1652 45047-29065 OUTER L ESTIMA TCR1#,TCR2#,CXR1#,CXR2# 90-00
FEMALE RHT |PREVIA 91-97
M14 X 1.5
TE-1653 45046-49145 OUTER R PRIUS NHW?20 03-09
M14 X 1.5
TE-1654 45047-49075 OUTER L PRIUS NHW20 03-09
M14 X 1.5
TE-1711 45046-39095 OUTER R COASTER RU1#,JU1#,BU1#,BB1# RB1# 72-82
45046-39037 MALE RHT DYNA RK150,RK170,JK170,JK175 69
45046-39035 M21 X 1.5 RU1#,JU1#,BU1# HU1# 72-77
45046-36010 RU2#,RU3#,JU20,BU2#,BU3#,HU30 77-84
45046-29085 BU77,BU85,BU93,BU98 84-
45046-29086 YY5#,YY6#,LY50,LY60 85-
TOYOACE JY16(for/2t),JY30,BY30 72-84
RY2#,RY3#,LY20,LY30 79-85
BU77,BU85,BU93,BU98 84-
YY5#,YY6#,LY50,LY60 85-

17




TE-1712 45047-39065 OUTER L COASTER RU1#,JU1#,BU1#,BB1# RB1# 72-82
45047-39027 MALE LHT DYNA RK150,RK170,JK170,JK175 69
45047-39025 M21 X 1.5 RU1#,JU1#,BU1# HU1# 72-77
45047-29035 RU2#,RU3#,JU20,BU2#,BU3#,HU30 77-84
45047-29036 BU77,BU85,BU93,BU98 84-
YY5#,YY6#,LY50,LY60 85-
TOYOACE JY16(for/2t),JY30,BY30 72-84
RY2#,RY3#,LY20,LY30 79-85
BU77,BU85,BU93,BU98 84-
YY5#,YY6#,LY50,LY60 85-
TE-1731 45046-39185 R DYNA,TOYOACE BU6#,BU70,BU81,BU82,YUG# 84-
MALE RHT YU70V,YU80
M21 X 1.5
TE-1732 45046-39135 L COASTER RB2#,BB2#,BB3#,HB3# 82-
45047-39115 MALE LHT DYNA,TOYOACE BU6#,BU70,BU81,BU82,YUG# 84-
M21 X 1.5 YU70V,YU80
TE-1741 45046-39256 R HILUX 4WD RN105,LN105,LN106,YN106 90-
45046-39255 MALE LHT
M21 X 1.5
TE-1745 45047-39156 L HILUX 4WD RN105 90-
45047-39155 MALE RHT
M21 X 1.5
TE-1800 45046-39505 OUTER R/L  |4RUNNER GRN21#,VZN21# 03-09
M15 X 1.5 LAND CRUISER PRADO RZJ120,KDJ12#VZJ12#,TRJI12# 02-
HILUX SURF RZN21#,KDN215,VZN21#,TRN21# 02-
LEXUS GX470 GRJ#12, KDJ12# 03-09
TE-1801 45046-19265 OUTER R COROLLA NZE120,121 00-04
45046-49115 FEMALE RHT (ALTIS CE121
45046-02040 M14 X 1.5 WISH ANE10,ZNE10 03-
45046-09160 BELTA KSP92, NCP96, SCP92 05-
TE-1802 45047-19115 OUTERL COROLLA NZE120,121 00-04
45047-49045 FEMALE RHT (ALTIS CE121
45047-02010 M14 X 1.5 WISH ANE10,ZNE10 03-
45047-09050 BELTA KSP92, NCP96, SCP92 05-
TE-1901 45045-69015 MALE LHT LAND CRUISER FJ4#.......... RHD/LHD 64-75
45045-60013 M17 X 1.5 FJ5#.......... RHD/LHD 69-80
45045-60010 BJ4#.......... RHD/LHD 74-84
45045-60011
45045-60012
TE-1902 45046-69025 MALE RHT LAND CRUISER FJ4#.......... RHD/LHD 64-75
45046-60033 M17 X 1.5 FJ5#.......... RHD/LHD 69-80
45046-60030 NO.2 BJ4#.......... RHD/LHD 74-84
45046-60031
45046-60032
TE-1903 45047-69025 MALE LHT LAND CRUISER FJ4#.......... for/DRAG LINK 64-75
45047-60013 M17 X 1.5 BJ4#.......... for/DRAG LINK 74-84
45047-60010 NO.3
45047-60011
45047-60012
TE-1904 45046-69045 MALE LHT LAND CRUISER FJ4#.......... RHD 64-75
45046-60071 M21 X 1.5 69-80
45046-60013 NO.7 74-84

45046-60011
45046-60010
45046-60012
45046-60051
45046-60050
45046-60052

18




TE-1905 45046-69055 MALE LHT LAND CRUISER FJ4#.......... LHD 64-75
45046-60081 M21 X 1.5 FJ5#.......... LHD 69-80
45046-60023 NO.8 BJ4#.......... LHD 74-84
45046-60021
45046-60020
45046-60022
45046-60060
45046-60061
45046-60062
TE-1906 45046-69035 MALE RHT LAND CRUISER FJ4#.......... RHD/LHD 64-75
45046-60042 M21 X 1.5 FJ5#.........RHD/LHD 69-80
45046-60040 NO. 4 BJ4#.......... RHD/LHD 74-84
45046-60H00
TE-1907 45460-39635 OUTERR CAMRY ACV3# 03-04
M15 X 1.5 SOLARA
45460-09050 OUTERR CAMRY ACV4a# 04-11
45460-09110 M15 X 1.5 SOLARA
AVALON GSX30 05-12
LEXUS ES350 07-12
TE-1908 45470-39225 OUTER L CAMRY ACV3# 03-04
M15 X 1.5 SOLARA
45470-09040 OUTER L CAMRY ACVAa# 04-11
45470-09080 M15 X 1.5 SOLARA
AVALON GSX30 05-
LEXUS ES350 07-12
TE-1909 45460-39615 OUTERR CAMRY ACV30 01-03
45460-09010 FEMALE RHT |CAMRY USA 02-03
45460-29425 M15 X 1.5 HIGHLANDER 01-03
ESTIMA ACR3# 00-03
PREVIA ACR30, CLR30 00-03
TE-1910 45470-39215 OUTER L CAMRY ACV30 01-03
45470-09010 FEMALE RHT |CAMRY USA 02-03
45470-29185 M15 X 1.5 HIGHLANDER 01-03
ESTIMA ACR3# 00-03
PREVIA ACR30, CLR30 00-03
TE-1912 45045-69045 RHD/LHD LAND CRUISER BJ6#,FJ6#,HI6#.......... RHD/LHD 80-
45045-69035 MALE RHT BJ7#,HI7#,FIT#.......... RHD/LHD 84-
45045-69025 M21 X 1.5
45045-69046 FJI75,HZI7#,PZI7#,KZJI7# 90-
45045-69075 FZJI7#HZI7# 99-
TE-1913 45046-69105 L LAND CRUISER BJ6#,FJ6#,HI6#.......... RHD 80-
MALE LHT BJ7#,FJ7#,HJ75.......... RHD 84-
M23 X1.5
TE-1914 45047-69065 RHD/LHD LAND CRUISER BJ6#,FJ6#,HI6#.......... RHD/LHD 80-
45047-69035 MALE RHT BJ7#,FJ7#,HUT7S......... RHD/LHD 84-
45047-60H01 M23 X 1.5 RJ70,LJ70,LJ71.......... RHD/LHD 84-
TE-1916 45046-69115 R LAND CRUISER BJ6#,FJ6#,HI6#.......... LHD 80-90
45046-69116 MALE LHT BJ7#,FJ7#,HJ75.......... LHD 84-
45046-69075 M23 X 1.5 FJ75,HZI7#,PZI7#,KZJI7# 90-
45046-69155
45046-60H05
TE-1917 45046-69195 OUTERR LAND CRUISER HDJ101 98-02
M20 X 1.5 LEXUS LX470 uzJ100 99-02
FZJ105,HZJ105 98-
TE-1918 45047-69100 OUTER L LAND CRUISER HDJ101 98-02
M20 X 1.5 LEXUS LX470 uzJ100 99-02
FZJ105,HZJ105 98-




TE-1919 45046-69205 OUTER R LAND CRUISER HDJ101,UZJ100,HZJ105,FZJ105 03-07
M20 X 1.5 LEXUS LX470 03-07
FZJ100 05-07
TE-1920 45047-69115 OUTER L LAND CRUISER HDJ101,UZJ100,HZJ105,FZJ105 03-07
M20 X 1.5 LEXUS LX470 03-07
FZJ100 05-07
TE-1921 45044-69075 R LAND CRUISER BJ7#,FJ7#,HJ75.......... RHD 84-
45044-69076 MALE LHT FJ75,HZI7#,PZIT#KZJIT#.......... RHD 90-
45044-69135 M21 X 1.5 FZJ7# HZI7# 99-
TE-1922 45044-69085 LHD LAND CRUISER BJ7#,FJ7#,HJ75.......... LHD 84-
45044-69086 MALE LHT FI75,HZI7#,PZIT#,KZJIT#.......... LHD 90-
45044-69145 M21 X 1.5 FZJ79,HZJ79 99-
TE-1923 45046-69125 RHD/LHD LAND CRUISER RJ70,LJ70,LJ71.......... RHD/LHD 84-
MALE LHT
M23 X 1.5
TE-1925 45045-69055 RHD/LHD LAND CRUISER RJ70,LJ70,LJ71.......... RHD/LHD 84-
MALE RHT
M21 X 1.5
TE-1928 45047-69085 OUTER L LAND CRUISER FJ80, HDJ81, HZJ81 90-97
45047-69066 MALE RHT RJ79 96-97
45047-69067 M23 X 1.5 LEXUS LX 450 96-97
TE-1929 45044-69125 OUTER L LAND CRUISER FJ80,HDJ81,HZJ81.....LHD 90-
45044-69105 MALE LHT RJ70,LJ70,LJ71....LHD 84-
45044-60H05 M21 X 1.5
TE-1930 45044-69115 OUTER R LAND CRUISER FJ80,HDJ81,HZJ81.....RHD 90-
45044-69095 MALE LHT RJ70,LJ70,LJ71.....RHD 84-
45044-60H04 M21 X 1.5
TE-1931 45046-69135 OUTERR LAND CRUISER FJ80, HDJ81, HZJ81 90-97
45046-69126 MALE LHT RJ79 96-97
M23 X 1.5 LEXUS LX 450 96-97
TE-1932 45046-69127 L LAND CRUISER LI7#,KZJ7#.....RHD 90-
MALE LHT
M23 X 1.5
TE-1935 45044-69097 L LAND CRUISER LI7#,KZJ7#.....RHD 90-
MALE LHT
M21 X 1.5
TE-1939 45045-69065 R/L LAND CRUISER LI7#,KZJ7# 90-
MALE RHT FJ80,HDJ81,HZJ81.....RHD/LHD
M21 X 1.5
TE-1940 45046-09610 OUTERR/L  |ALTIS ZZE140 08-
45046-19425 M15 X 1.5 COROLLA 09-13
USA COROLLA AZE141,7RE142 08-13
TE-1951 45046-69235 OUTER R LAND CRUISER uzJ200 07-
45046-69236 M16 X 1.5 LEXUS LX570 08-
TE-1952 45047-69145 OUTER L LAND CRUISER uzJ200 07-
45047-69146 M16 X 1.5 LEXUS LX570 08-
TE-1958 45046-09200 OUTERR COROLLA USA ZZE130 03-
45046-02070 FEMALE RHT ZZE122 02-
M15 X 1.5
TE-1959 45047-09080 OUTER L COROLLA USA ZZE130 03-
45047-02030 FEMALE RHT ZZE122 02-
M15 X 1.5
TE-1993 45046-09251 OUTER R/L  |HILUX VIGO KUN15,KUN1# 04-
45046-09250 M15 X 1.5
45046-09261 KIJANG INNOVA KUN40,TGN4# 04-
45046-09260
45046-09330 TACOMA X-RUNNER 05-

20




TE-1994 45046-09281 OUTER R/L  |HILUX VIGO 4WD KUN2#,KUN3#,TGN26,TGN36 04-
45046-09280 M14 X 1.5 FORTUNER KUNS51,TGN51 05-
45046-09310 FORTUNER WAGON 4WD |KUN61,TGN61 06-
TE-A001 45046-06080 OUTER R/L  |APOLLO,CAMRY V6. AUSTRALIA 93-
FEMALE RHT |CAMRY SXV10..../USA MADE 94-97
M16 X 1.5 WINDOM VCV#1 91-
TE-A003 45046-19195 OUTER R MR2 SW20 90-00
FEMALE RHT
M14 X 1.5
TE-A004 45047-19075 OUTER L MR2 SW20 90-00
FEMALE RHT
M14 X 1.5
TE-A005 45046-49095 OUTER R RAV 4 ACA2#,ZCA2#,CLA2# 00-
FEMALE RHT |ISIS ANM10 04-
M15 X 1.5 NOAH AZR65 01-
OUTER L SCIONTC AZT241,ST241 02-10
WISH ANE11 03-05
CALDINA AZT241,77T241 02-05
NOAH AZR60 01-
TE-A006 45047-49025 OUTER L RAV 4 ACA2#,ZCA2#,CLA2# 00-
FEMALE RHT |ISIS ANM10 04-
M15 X 1.5 NOAH AZR65 01-
OUTER R SCIONTC AZT241,ST241 02-10
WISH ANE11 03-05
CALDINA AZT241,727T241 02-05
NOAH AZR60 01-
TE-A007 45460-29435 OUTER R/L  |HIGHLANDER 01-
45460-09060 M15 X 1.5 KLUGER ACU2#, MCU2# 03-
45460-49075 HARRIER MCU3#,ACU3#,GSU3# 03-06
ACU3#,GSU3# 06-
LEXUS RX330 04-
LEXUS RX350 08-
LEXUS RX400H 08-
TE-A009 45460-09040 OUTERR SIENNA MCL2# 04-
45460-59115 M16 X 1.5 ESTIMA,PREVIA ACR30,CLR30 03-
45460-59055 ALPHARD(HV) ATH10 03-
ALPHARD(G/V) ANH1# MNH1# 02-
TE-A010 45470-09030 OUTER L SIENNA MCL2# 04-
45470-59135 M16 X 1.5 ESTIMA,PREVIA ACR30,CLR30 03-
45470-59055 ALPHARD(HV) ATH10 03-
ALPHARD(G/V) ANH1# MNH1# 02-
TE-A011 45460-59015 OUTERR CELSIOR UCF1# 89-94
M14 X 1.5 LEXUS GS300/400/430 98-05
LEXUS SC430 02-10
LEXUS LS400 90-94
TE-A012 45470-59015 OUTER L CELSIOR UCF1# 89-94
M14 X 1.5 LEXUS GS300/400/430 98-05
LEXUS SC430 02-10
LEXUS LS400 90-94
TE-A013 45046-39465 OUTERR TUNDRA UCK30, UCK40, VCK30, VCK40 00-02
M18 X 1.5 SEQUOIA 01-02
TE-A014 45047-39295 OUTER L TUNDRA UCK30, UCK40, VCK30, VCK40 00-02
M18 X 1.5 SEQUOIA 01-02
TE-A015 45460-39395 OUTERR LEXUS GS300 93-97
45460-39455 M14 X 1.5 MARK é 4WD JZX93 92-96
45460-39365 MARK é GX105,JZX105 96-00
CRESTA 4WD 92-96
CHASER 4WD 92-96
ARISTO JZS5147 91-
TE-A016 45470-39145 OUTER L LEXUS GS300 93-97

21




45470-39165 M14 X 1.5 MARK é 4WD JZX93 92-96
45470-39125 MARK é GX105,JZX105 96-00
CRESTA 4WD 92-96
CHASER 4WD 92-96
ARISTO JZS5147 91-
TE-A017 45046-49195 OUTERR RAV4 LIMITED, SPORT 06-14
45046-09650 M16 X 1.5 SCIONTC 11-
LEXUS HS 200H 10-12
TE-A018 45047-49135 OUTER L RAV4 LIMITED, SPORT 06-14
45047-09310 M16 X 1.5 SCIONTC 11-
LEXUS HS 200H 10-12
TE-A019 45046-09210 OUTERR TUNDRA UCK30, UCK40, VCK30, VCK40 03-06
M18 X 1.5 SEQUOIA 03-07
TE-A020 45047-09090 OUTER L TUNDRA UCK30, UCK40, VCK30, VCK40 03-06
M18 X 1.5 SEQUOIA 03-07
TE-A021 45046-09340 OUTER R/L  |TACOMA 4WD PRE RUNNER 05-
45046-69245 M16 X 1.5 LAND CRUISER PRADO GRJ150 09-
4RUNNER N280 10-
LEXUS GX460 GRJ150, TRJ150 10-
TE-A023 45046-29425 OUTER R/L  |AVENSIS AZT,CDT,ZZT 03-
45046-0F010 M16 X 1.5 COROLLA VERSO CUR10, AUR10, ZNR1# 04-
45046-09430
TE-A025 45460-39575 OUTER R MARK é GX110, JZX110 00-05
45460-59035 M14 X 1.5 CROWN MAJESTA GS171, JZS171, JZS175 99-03
VEROSSA GX110, JZX110 01-04
BREVIS JCG10, JCG11 01-
ALTEZZA GXE10 98-05
LEXUS 1S300 01-05
TE-A026 45470-39205 OUTERL MARK é GX110, JZX110 00-05
45470-59035 M14 X 1.5 CROWN MAJESTA GS171, JZS171, JZS175 99-03
VEROSSA GX110, JZX110 01-04
BREVIS JCG10, JCG11 01-
ALTEZZA GXE10 98-05
LEXUS 1S300 01-05
TE-A027 45046-29405 OUTER R/L  |DYNA 150 2500 RWD KDY220 01-
M18 X 1.5
TE-A029 45460-39715 OUTER R LEXUS GS300 AWD 06-11
M14 X 1.5 LEXUS GS350 GRS196 07-11
LEXUS GS430, GS460 06-11
LEXUS 15250, 1S350 06-
TE-A030 45470-39255 OUTER L LEXUS GS300 AWD 06-11
M14 X 1.5 LEXUS GS350 GRS196 07-11
LEXUS GS430 06-11
LEXUS 15250, 1S350 06-
TE-A031 45046-09295 OUTER R AYGO KGB10, WNB10 05-
M12 X'1.25
TE-A032 45047-09125 OUTER L AYGO KGB10, WNB10 05-
M12 X 1.25
TE-A033
45460-59085 OUTERR LEXUS LS460 USF40 06-
M15 X 1.5 LEXUS LS460L UCF4#, 40, 41
TE-A034 45470-59095 OUTER L LEXUS LS460 USF40 06-
M15 X 1.5 LEXUS LS460L UCF4#, 40, 41

22




TE-A035 45046-19415 OUTER R AURIS ADE150 07-
45046-09570 M15 X 1.5 COROLLA RUMION NZE151, ZRE15# 07-
SCION XB AZE151 08-
PRIUS V 12-
TE-A036 45047-19215 OUTER L AURIS ADE150 07-
45047-09270 M15 X 1.5 COROLLA RUMION NZE151, ZRE15# 07-
SCION XB AZE151 08-
PRIUS V 12-
TE-A037 45046-09560 OUTER R TUNDRA UCK50 07-
M22 X 1.5 SEQUOIA UCK60 08-
TE-A038 45047-09260 OUTER L TUNDRA UCK50 07-
M22 X 1.5 SEQUOIA UCK60 08-
TE-A039 45046-29355 OUTER R LITE ACE 4WD CM75,KM75.CM8#,KM8# 99-07
M14 X 1.5
TE-A040 45047-29115 OUTER L LITE ACE 4WD CM75,KM75.CM8#,KM8# 99-07
M14 X 1.5
TE-A041 45046-39426 R DYNA XZU334 99-11
M22 X 1.5
TE-A042 45047-39266 L DYNA XZU334 99-11
M22 X 1.5
TE-A043 45460-49055 OUTER R KLUGER GSuU40 08-
45460-09180 M16 X 1.5 VENZA AGV1#, GGV1# 09-
HIGHLANDER GSuU40 08-
TE-A044 45470-49025 OUTER L KLUGER GSU40 08-
45470-09020 M16 X 1.5 VENZA AGV1#, GGV1# 09-
HIGHLANDER GSU40 08-
TE-A045 45046-09600 OUTERR/L |COROLLA AZE141, ZRE142 08-
M16 X 1.5 MATRIX 09-
TE-A047 45046-29515 OUTER R ESTIMA ACR50 06-
M16 X 1.5 PREVIA ACR50, GSR50 06-
ALPHARD 08-
TE-A048 45047-29195 OUTER L ESTIMA ACR50 06-
M16 X 1.5 PREVIA ACR50, GSR50 06-
ALPHARD 08-
TE-A049 45046-B9280 OUTER R GRAN MAX S40# 07-
45046-B9290 M12 X'1.25 LITEACE S402, S412 08-
TOWNACE S402, S412 08-
TE-A050 45047-B9230 OUTER L GRAN MAX S40# 07-
45047-B9240 M12 X 1.25 LITEACE S402, S412 08-
TOWNACE S402, S412 08-
TE-A051 45046-49225 OUTER R PRIUS ZVW30 09-
M14 X 1.5 LEXUS CT200H ZWA10 11-13
TE-A052 45047-49165 OUTER L PRIUS ZVW30 09-
M14 X 1.5 LEXUS CT200H ZWA10 11-13
TE-A053 45046-05070 OUTER R COROLLA VERSO AUR20 09-
45046-09660 M16 X 1.5 AVENSIS ADT27#, ZRT27# 08-
TE-A054 45047-05060 OUTER L COROLLA VERSO AUR20 09-
45047-09320 M16 X 1.5 AVENSIS ADT27#, ZRT27# 08-

23




TOYOTA LAND CRUISER (TIE ROD END)

TOYOTA
FUJI SET NO OEM NO FUJI NO. REMARKS MODEL YEARS
TE-1953 45046-69035 TE-1906 45040-69040X FJ4# 64-75
5PCS/SET 45045-69015 TE-1901 BJ4# 74-84

45046-69025 TE-1902 RHD

45047-69025 TE-1903

45046-69045 TE-1904
TE-1954 45046-69035 TE-1906 45040-69045X FJ4# 64-75
5PCS/SET 45045-69015 TE-1901 BJ4# 74-84

45046-69025 TE-1902 LHD

45047-69025 TE-1903

45046-69055 TE-1905
TE-1961 45046-69035 TE-1906 45040-69050X FJ5# 69-80
4PCS/SET 45045-69015 TE-1901 RHD

45046-69025 TE-1902

45046-69045 TE-1904
TE-1962 45046-69035 TE-1906 45040-69055X FJ5# 69-80
4PCS/SET 45045-69015 TE-1901 LHD

45046-69025 TE-1902

45046-69055 TE-1905
TE-1971 45044-69015 TE-1911 45040-69060X FJ60 80-87
4PCS/SET 45045-69025 TE-1912 HJ60

45046-69065 TE-1913 RHD

45047-69035 TE-1914
TE-1972 45044-69025 TE-1915 45040-69065X FJ60 80-87
4PCS/SET 45045-69025 TE-1912 HJ60

45046-69075 TE-1916 LHD

45047-69035 TE-1914
TE-1981 45044-69075 TE-1921 45040-69070X BJ7# 84-90
4PCS/SET 45045-69025/45 |TE-1912 FJ7#

45046-69065/105 |TE-1913 HJ75

45047-69035/65 |TE-1914 RHD
TE-1982 45044-69085 TE-1922 45040-69075X BJ7# 84-90
4PCS/SET 45045-69025/45 |TE-1912 FJ7#

45047-69035/65 |TE-1914 HJ75

45046-69075115 |TE-1916 LHD
TE-1991 45044-69095 TE-1927 45040-69080X R70 84-90
4PCS/SET 45045-69055 TE-1925 LJ70

45047-69035/65 |TE-1914 LJ71

45046-69125 TE-1923 RHD
TE-1992 45044-69105 TE-1926 45040-69085X R70 84-90
4PCS/SET 45045-69055 TE-1925 LJ70

45047-69035/65 |TE-1914 LJ71

45046-69125 TE-1923 LHD
TE-1956 45046-69135 TE-1931 45040-69090X FJ80 90-98
4PCS/SET 45047-69085 TE-1928 HDJ81

45045-69065 TE-1939 FZJ80

45044-69115 TE-1930 FZJ81

RHD

TE-1957 45046-69135 TE-1931 45040-69095X FJ80 90-98
4PCS/SET 45047-69085 TE-1928 HDJ81

45045-69065 TE-1939 FZJ80

45044-69125 TE-1929 FzJ81

LHD

24




TE-1941 45047-69085 TE-1928 45040-69100X HZJ7# 90-04
4PCS/SET 45046-69145 TE-1933 PZJ7#

45044-69076 TE-1937 FJ75

45045-69046 TE-1938
TE-1942 45046-69155 TE-1934 45040-69105X HZJ7# 90-04
4PCS/SET 45047-69085 TE-1928 PZJ7#

45045-69046 TE-1938 FJ75

45044-69086 TE-1936
TE-1945 45046-69135 TE-1931 45040-69102X FZJ7# 99-
4PCS/SET 45047-69085 TE-1928 RHD

45044-69076/135 |TE-1937

45045-69046/75 |TE-1938
TE-1946 45046-69135 TE-1931 45040-69107X FZJ7# 99-
4PCS/SET 45047-69085 TE-1928 LHD

45044-69086/145 | TE-1936

45045-69046/75 |TE-1938

25




RACK END

TOYOTA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
RE-1101 45503-06080 R/L CAMRY SXV10,VCV10 94-97
45503-8Y001 M16 X 1.5 CAMRY AUS SXV20 97-
M16 X 1.5
RE-1102 45503-29565 R/L HIACE LH110,103,113,123,125,162,172,182,184, 89-04
M14 X 1.5 KZH100,110,120,132
M15X 1.5 RZH10#,11#,12#,133,18#..2WD
RE-1104 45503-52070 R/L VITZ NCP91,SCP90,KSP90 05-
45503-0D080 M14 X 1.5 YARIS NCP91, NCP93 05-
45503-52140 M14 X 1.5 BELTA KSP92,NCP96,SCP92 05-
VIiOoZ NCP93 07-
RE-1110 45503-19015 R/L COROLLA,SPRINTER KE70 79-83
45503-10020 M14 X 1.5 AE70,KE73E 81-83
45503-19045 M14 X 1.5 KE73G 82-87
COROLLA LEVIN AE85,AE86 83-87
& SPRINTER TRUENO
TERCEL,CORSA AL1# 78-82
STARLET KP61,KP62 78-84
CHARMANT(DAIHATSU) A35,A55,A60 81-
RE-1120 45503-29125 R/L SOARER GZ1#,MZ1# 81-86
45503-29016 M14 X 1.5 MARK Il (CRESSIDA) RX6X....forfEUROPE 80-84
45503-29015 M14 X 1.5 CORONA AT140,ST140,TT142,CT140..exc/STD 82-87
45503-22010 CARINA,CELICA TA61,TA63,TA64,AA63,SA60,SA63 81-86
CA60,RA63,GA61,MA6#,AA60,SA60G
TOWNACE,MASTERACE [KR26,YR2#,CR2#...for/P.S. 85-
VAN-WAGON
TOWNACE,LITEACE KM5#,YM55,CM5#...for/P.S. 86-
LITEACE VAN-WAGON KM3#,CM3#,YM30...for/P.S. 85-
DELTA WIDE KB26,YB2#,CB2#...for/P.S 85-92
(DAIHATSU)
RE-1130 45503-19035 R/L CORONA AT15#,ST15#,CT15# 83-84
M14 X 1.5 CARONA,CELICA AT15#,ST15#,CT15# 84-
M12 X 1.25 COROLLA,SPRINTER AE80,AE81,AE82,CES8#,EE8# 83-84
RE-1150 45503-39015 R/L CAMRY VISTA SV1#,CV1#...exc/SV10-JEMDS-LH 82-86
M14 X 1.5
M14 X 1.5
RE-1160 45503-29075 R/L CORONA AT16#,ST16#...for/sedan 85-
M14 X 1.5 CARINA AT16#,ST16#...for/sedan 85-
45503-29605 M14 X 1.5 CARINA AT175...SG,SGEXT 88-92
CORONA AT175...SG,SGEXT 88-92
45503-29105 CAMRY,VISTA SV2#,CV2# 86-
45503-39025 CORONA AT16#,ST16#...for/Coupe 85-
CARINA ST160,ST162...for/Hard Top 85-
CELICA-LB AT16#,ST16#...for/P.S.(exc/SV) 85-
RE-1170 45503-19036 R/L CORONA AT15#,ST15#,CT15# 84-87
M14 X 1.5 CARINA,CELICA AT15#,ST15#,CT15# 84-
M14 X 1.5 COROLLA,SPRINTER AE80,AE81,AE82,CES8#,EE8# 84-87
45503-19125 COROLLA,SPRINTER AE9#,CE9#,EE9%# 87-
45503-19135 COROLLA,SPRINTER AE9#,CE9#,EE9#...for/P.S. 87-
RE-1180 45503-19056 R/L CORONA AT15#,ST15#,CT154#...for/P.S. 84-87
M14 X 1.5 CARINA,CELICA AT15#,ST15#,CT15#...for/P.S. 84-
M14 X 1.5 COROLLA,SPRINTER AEB80,AE81,AE82,CE8#,EE8#..for/P.S. 84-87

26




RE-1220 45503-19075 R/L STARLET EP7#NP7# 84-89
M12 X 1.25
M12 X 1.25
RE-1230 45503-29135 R/L TOWMACE, MASTERACE |KR26, YR2#, CR2# 85-
45503-29095 M14 X 1.5 VAN-WAGON 86-88
M14 X 1.5 TOWNACE, LITEACE KM5#, YM55, CM5# 86-
LITEACE VAN-WAGON KM3#, CM3#, YM30 85-88
DELTA WIDE KB26, YB2#, CB2# 85-92
RE-1240 45503-29065 R/L MARK II(CRESSIDA) SX70,LX70,GX71,MX71 84-88
M14 X 1.5 & CRESTA,CHASER ...exc/Twin cam, Twin turbo
M14 X 1.5
RE-1280 45503-19155 R/L STARLET EP8#,NP80...exc/P.S. 89-98
45503-19195 M12 X 1.25 TERCEL 91-99
M12 X 1.25 PASEO 91-99
RE-1300 45503-19116 R/L TERCEL,CORSA EL3#,NL3# 86-90
M12 X 1.25 & COROLLA I
M14 X 1.5
RE-1310 45503-29155 R/L CORONA AT170,ST17#,CT170,ET176V,CT176V 87-92
M14 X 1.5 CARINA é 88-92
M15 X 1.5
RE-1320 45503-29215 R/L LITEACE CM3#, KM3#, YM33.....exc/P.S. 88-98
M14 X 1.5 LITEACE TRUCK CM5#, KM5#, YM5#.....exc/P.S. 88-98
M14 X 1.5
RE-1340 45503-29365 R/L COROLLA AE10#,CE10#,EE10#,AE104,CE104 91-
45503-19215 M14 X 1.5 AE110,.....for/P.S. 95-
M14 X 1.5 AE111 95-00
RAV-4 SXA10 94-03
RE-1350 45503-29265 R/L HIACE VAN-WAGON LH10#,LH11#,LH12#,LH140 89-06
M14 X 1.5 & COMMUTER RZH10#,RZH11#,RZH12#.....for/DRAM
M17 X 1.5
RE-1351 45503-29045 R MARK II(CRESSIDA) GX71...for/Twin cam,Twin turbo 84-88
M14 X 1.5 & CRESTA,CHASER
M14 X 1.5 MARK II(CRESSIDA) SX70,LX70,GX71,MX71...for/P.S. 84-88
45503-29035 R/L & CRESTA,CHASER ...exc/Twin cam, Twin turbo
RE-1360 45503-29245 R/L CELICA ST18# 89-93
M14 X 1.5 CORONA EXIV 89-93
M14 X 1.5 CARINA ED 89-93
RE-1370 45503-29385 R/L COROLLA AE10#,CE10#,EE10#,AE104,CE104 91-
45503-19205 M14 X 1.5 AE110,.....exc/P.S. 95-
M14 X 1.5 AE111 95-00
RE-1390 45503-29235 R/L TOWNACE VAN 4WD YR3#, CR3#,YR30 88-96
M14 X 1.5 LITEACE 4WD CM4#,YMA#,CM6#,YM6# 88-96
M14 X 1.5
RE-1400 45503-29485 R/L MARK Il (CRESSIDA) GX90, LX90, SX90, JZX9# 92-00
M14 X 1.5 CRESTA, CHASER 92-01
M14 X 1.5
RE-1420 45503-29165 R/L CORONA AT170,ST17#,CT170,ET176V,CT176V 87-92
M14 X 1.5 CARINA é ....for/P.S. 88-92
M15 X 1.5
RE-1430 45503-29475 R/L CORONA,CELICA ST190,CT190,ST191 92-96
M14 X 1.5 CARINA ... for/XL NORMAL
M15 X 1.5
RE-1440 45503-29615 R/L CORONA ST19#, AT19#, CT19# 92-98
45503-29435 M14 X 1.5 CARINA 92-97
M15 X 1.5

27




RE-1450 45503-29305 RIL MARK Il (CRESSIDA) SX80, GX81, JZX81, LX80, RX8#, YX80 88-95
45503-29185 M14 X 1.5 CRESTA, CHASER 88-92
M14 X 1.5
RE-1500 45503-29255 RIL HIACE VAN-WAGON LH10#,LH11#,LH12#,LH140 89-06
M14 X 1.5 & COMMUTER RZH10#,RZH11#,RZH12#.....for/DISK
M17 X 1.5
RE-1510 45503-29335 RIL KIJANG KF40, KF50 91-
45503-59025 M14 X 1.5
45503-59035 M14 X 1.5
RE-1520 45503-29355 RIL CAMRY SXV10.../USA MADE 91-01
45503-39055 M14 X 1.5 WINDOM MCV2# 96-
45503-39135 M15 X 1.5 MARK I MCV2#,SXV2# 97-
SIENNA 98-03
AVALON MCX20 00-02
RE-1530 45503-29295 RIL ESTIMA TCR#,TCR2#,CXR1#,CXR2# 90-00
45503-29285 M14 X 1.5 PREVIA 90-97
M14 X 1.5
RE-1570 45503-12130 RIL COROLLA NZE120,121 00-04
45503-19255 M14 X 1.5 COROLLA HB CDE120, ZZE12# 01-02
45503-02050 M14 X 1.5 COROLLA SED/WG CDE120, ZZE12# 02-
45503-09220 ALTIS CE121,7ZE122,123 01-03
WISH ANE10,ZNE10 03-
RE-1580 45503-59045 RIL YARIS(VITZ)ECHO NCP1# 99-05
45503-52010 M14 X 1.5 FUN CARGO NCP20,NCP21,NCP25 99-04
M12X1.25 |PLATZ NCP12,NCP16,SCP11 99-04
RE-1590 45503-09321 RIL HILUX VIGO KUN15, KUN1#, KUN2# 04-12
45503-09320 M14 X 1.5 FORTUNER KUNS51, TGN51 05-12
45503-09340 M15 X 1.5 HILUX KUN2# 05-12
45503-09331 KIJANG INNOVA KUNA40, TGN4# 04-
45503-09330
RE-1610 45503-39265 RIL LAND CRUISER RZJ12#,KDJ12# VZJ12# TRI12# 02-10
45503-39235 M22 X 1.5 HILUX SURF RZN21#KDN215,VZN21# TRN21# 02-09
M15 X 1.5 4ARUNNER GRN21#,VZN21# 03-09
LEXUS GX470 GRJ12#, KDJ12# 03-09
RE-1620 45503-02060 RIL COROLLA ZZE130 03-08
45503-09400 M14 X 1.5
45503-02070 M15 X 1.5 COROLLA ZZE122 02-08
RE-1630 45503-39075 R/L (FEMALE) [LAND CRUISER PRADO  |KZJ9#,RZJ9#,VZJ9# 96-02
M18 X 1.5 HILUX KZN185,RZN18#,VZN18# 95-02
M20 X 1.5 4RUNNER RZN18#, VZN18# 96-02
TACOMA VZN150,RZN140,RZN150.....for P.S. 95-03
RE-1640 45503-09420 RIL AVALON XL, XLS, TOURING, LIMITED 05-12
45503-39275 M14 X 1.5 CAMRY GSX30 05-07
M15 X 1.5 LEXUS ES350 07-12
RE-1660 45503-05020 RIL AVENSIS AT220(4A-FE),AT221(7A-FE),ST220(3S-FE) |98-02
M16 X 1.5 CORONA AT220, CT220, ST220 97-03
M14 X 1.5
RE-1680 45503-39095 R CELSIOR UCF1# 89-94
45503-59015 M14 X 1.5 SUPRA 93-98
M14 X 1.5 CROWN JZS149, UzS141 91-98
ARISTO Jzs147 91-96
LEXUS LS400 95-00
LEXUS GS300 93-97
RE-1690 45503-49035 RIL CELICA Z77T23# 00-05
M14 X 1.5
M14 X 1.5

28




RE-1720 45503-47030 R/L PRIUS NHW20 04-09
M14 X 1.5
M14 X 1.5
RE-6160 45503-BZ010 R/L AVANZA F601 03-11
M14 X 1.5 XENIA
M12 X 1.25
RE-A001 45503-29625 R/L CARINA ST215,CT215,CT216 96-01
45503-29445 M14 X 1.5 ST195 92-96
M14 X 1.5
RE-A003 45503-29395 R/L LITE ACE CM7#KM7# 99-04
45503-29665 M14 X 1.5 TOWNACE CR4#,CR41,KR4#,KR42,SR40...for P.S. 96-
45503-0B020 M14 X 1.5 KIJANG KF60,KF70,KF80,KF82,LF60,LF61,LF7#,LF8 [96-
45503-09100 LF81,LF82,RZF71,RZF80,RZF81...for P.S.
RE-A005 45503-19185 R/L STARLET EP8#, EP9# 89-98
M12 X 1.25 TERCEL EL50 94-99
M12 X 1.25 PASEO 91-99
RE-A007 45503-39065 R/L TACOMA VZN150,RZN140,RZN150 95-03
45503-39066 M14 X 1.5
M15 X 1.5
RE-A009 45503-49055 R/L RAV 4 ACA2#,ZCA2# 00-05
M14 X 1.5
M15X 1.5
RE-A011 45503-09240 R/L TUNDRA UCK30 01-06
45503-09120 M18 X 1.5 SEQUOIA 00-07
M18 X 1.5
RE-A013 45503-39225 R/L CAMRY ACV30 01-06
45503-09230 M14 X 1.5 CAMRY USA 02-06
M15X 1.5 LEXUS ES 300/330 02-06
RE-A015 45503-09250 R/L SIENNA 03-09
M14 X 1.5
M16 X 1.5
RE-A017 45503-49165 R/L RAV4 ACA2#,ZCA2# 00-05
M14 X 1.5 ZCA2#(1ZZFE)
M15X 1.5
RE-A019 45503-29515 R/L CELICA ST200,ST202 94-99
M14 X 1.5 CORONA EXIV 93-98
M14 X 1.5
RE-A021 45503-49025 R/L LEXUS RX300 ACU10,SXU1# MCU1# 99-03
45503-49095 M14 X 1.5 HARRIER 97-03
M15X 1.5
RE-A023 45503-29535 R/L MARK é 4WD JZX93 92-96
M14 X 1.5 MARK é GX105,JZX105 96-00
M14 X 1.5
RE-A025 45503-19235 R/L SOLUNA  (GLI ATM) AL50 P.S. 96-03
M12 X 1.25
M12 X 1.25
RE-A027 45503-49085 R/L KLUGER ACU20,ACU2#,MCU2# 00-03
M14 X 1.5 CAMRY ACV35 01-04
M15 X 1.5 HIGHLANDER 2WD/4WD 01-03
RE-A029 45503-29825 R/L SCION TC ANT10 02-10
M14 X 1.5 WISH ANE11 03-09
M15X 1.5
RE-A031 45503-39155 R/L CROWN/CROWN GS171,J2S171,JZS175 99-04
M14 X 1.5 ARISTO 97-05
M14 X 1.5 LEXUS GS300 JZS160 98-05
LEXUS GS400
LEXUS GS430
45503-29795 LEXUS SC430 02-

29




RE-A033 45503-29785 R/L MARK é GX110, JZX110 00-05
M14 X 1.5 LEXUS 1S300 01-05
M14 X 1.5
RE-A035 45503-09480 R/L TACOMA X-RUNNER 05-
M14 X 1.5 GRN225
M15 X 1.5 RWD
RE-A037 45503-09490 R/L TACOMA 4WD PRE RUNNER 05-11
M14 X 1.5 GRN245
M16 X 1.5
RE-A039 45503-29575 R/L HI-ACE VAN KZH126,KZH138,LH109,LH119,LH1129,LH18(95-99
M14 X 1.5 HIACE REGIUS
M15 X 1.5 HIACE 4WD KZH120, KZH138, LH186 99-04
RE-A041 45503-30070 R/L LEXUS GS300 RWD 06-13
M14 X 1.5 LEXUS GS350 05-13
M15 X 1.5 LEXUS GS430 05-13
LEXUS GS460 07-13
LEXUS 15250, 1S350 06-
RE-A043 45503-30080 R/L LEXUS GS300 AWD 06-13
M14 X 1.5 LEXUS GS350 GRS196 05-13
M14 X 1.5 LEXUS GS430 05-13
LEXUS 1S250, 1S350 06-
RE-A045 45503-49125 R/L KLUGER ACU2#, MUC2# 04-
45503-09270 M14 X 1.5 HIGHLANDER 04-07
M15 X 1.5 HARRIER ACU3#, MCU3# 04-12
LEXUS RX330/RX350 04-09
RE-A047 45503-29846 R/L HIACE 4WD KDH205,225,227 04-13
M14 X 1.5 TRH219, 226, 228, 229
M15 X 1.5
RE-A049 45504-39025 L ARISTO JZ5147 91-96
M18 X 1.5 LEXUS GS300 93-97
M14 X 1.5
RE-A051 45503-39315 R/L CAMRY HYBRID 07-11
M14 X 1.5
M15 X 1.5
RE-A053 45503-39305 R/L FJ CRUISER 07-09
M22 X 1.5
M15 X 1.5
RE-A055 45503-29755 R/L LITE ACE 4WD CM8#,KM8#,CM75,KM75 99-04
M14 X 1.5
M14 X 1.5
RE-A057 45503-0F010 R/L AVENSIS AZT250 03-05
M14 X 1.5 COROLLA VERSO CUR10, AUR10, ZNR1# 04-
M16 X 1.5
RE-A059 45503-0D090 R/L YARIS NCP91TH 06-
45503-52060 M14 X 1.5 NCP91 for DISK 06-
M15 X 1.5
RE-A061 45503-59145 R/L LEXUS LS460 06-
45503-59155 M16 X 1.5
M15 X 1.5
RE-A063 45503-29765 R/L ESTIMA ACR30,ACR40,MCR30,MCR40 00-05
M14 X 1.5 PREVIA ACR30.CLR30 00-05
M15 X 1.5
RE-A065 45503-59075 R/L ESTIMATL ACR30, MCR30 00-05
M14 X 1.5 PREVIA ACR30, CLR30 00-05
M16 X 1.5 ALPHARD ATH10 03-
RE-A067 45503-35070 R/L FJ CRUISER 09-
M24 X 1.5 4RUNNER 10-
M16 X 1.5
RE-A069 45503-09290 R/L VIOS 03-13
M14 X 1.5

30




M12 X 1.25

RE-A071

45504-59015

L
M14 X 1.5
M14 X 1.5

CELSIOR
SUPRA
CROWN

UCF1#

JZS5149, UZS141

89-94
93-98
91-98

31




CONTROL ARM

TOYOTA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CA-1103 48610-60030 UPPER R LAND CRUISER UzZJ100, FZJ100 98-07
CA-1104 48630-60010 UPPER L LAND CRUISER UZJ100, FZJ100 98-07
CA-1105 48620-60010 LOWERR LAND CRUISER UZJ100, FZJ100 98-07
48620-60020
CA-1106 48640-60010 LOWER L LAND CRUISER UzZJ100, FZJ100 98-07
48640-60020
CA-1107 48610-60060 UPPER R LAND CRUISER UZJ200, GRJ200 07-
CA-1108 48630-60030 UPPER L LAND CRUISER UZJ200, GRJ200 07-
CA-1109 48068-60030 LOWERR LAND CRUISER UZJ200, GRJ200 07-
CA-1110 48069-60030 LOWER L LAND CRUISER UZJ200, GRJ200 07-
CA-1111 48068-19035 LOWERR CELICA A20 70-74
CA-1112 48069-19035 LOWER L CELICA A20 70-74
CA-1123 48068-16060 LOWERR TERCEL EP8# 88-94
48068-10060 PASEO 92-94
48068-10070 STARLET 90-98
CA-1124 48069-16060 LOWER L TERCEL EP8# 88-94
48069-10060 PASEO 92-94
48069-10070 STARLET 90-98
CA-1131 48068-12110 LOWERR COROLLA EEQ90 88-92
CA-1132 48069-12110 LOWER L COROLLA EEQ90 88-92
CA-1133 48068-12130 LOWERR COROLLA AE10# 93-95
CA-1134 48069-12130 LOWER L COROLLA AE10# 93-95
CA-1201 48068-19036 LOWERR CELICA A30 75-77
CA-1202 48069-19036 LOWER L CELICA A30 75-77
CA-1239 48770-22010 UPPER R CRESSIDA GX81, MX8#, RX81 88-96
CA-1241 48790-22010 UPPER L CRESSIDA GX81, MX8#, RX81 88-96
CA-1251 48068-29115 LOWERR CRESSIDA GX81, LX80, MX8#, RX8# 88-96
48068-49075
48068-49036
CA-1252 48069-29115 LOWER L CRESSIDA GX81, LX80, MX8#, RX8# 88-96
48069-49075
48069-49036
CA-1253 48730-22020 LOWERR/L [CRESSIDA GX81, MX8#, RX81 88-96
48730-22010 (REAR)
48730-22030
CA-1301 48068-29045 LOWERR CRESSIDA RX60, GX6#, LX60, MX6#, RX62, TX62 80-85
CA-1302 48069-29045 LOWER L CRESSIDA RX60, GX6#, LX60, MX6#, RX62, TX62 80-85
CA-1311 48068-29015 LOWERR CRESSIDA MX3#, RX3#, TX30 76-80
CA-1312 48069-29015 LOWER L CRESSIDA MX3#, RX3#, TX30 76-80
CA-1313 48068-12180 LOWERR COROLLA AE101,102, EE100,101 95-96
48068-12181
48068-12190 AE101, CE100, EE100,105 95
48068-12191
48068-12160 AE101,110,111,112, EE110,111 95-01
CA-1314 48069-12180 LOWER L COROLLA AE101,102, EE100,101 95-96
48069-12181
48069-12190 AE101, CE100, EE100,105 95
48069-12191
48069-12160 AE101,110,111,112, EE110,111 95-01
CA-1321 48068-29095 LOWERR CRESSIDA GX71, LX7#, MXT7#, RX7#, YX70 84-88
CRESSIDA WAGON GX71, MX75, RX7#, YX72 88-93
CA-1322 48069-29095 LOWER L CRESSIDA GX71, LX7#, MXT7#, RX7#, YX70 84-88
CRESSIDA WAGON GX71, MX75, RX7#, YX72 88-93

32




CA-1331 48068-33020 LOWERR CAMRY MCV10, SXV1#, VCV10 92-96
48068-33010 AVALON MCX10 95-96
48068-06010 LEXUS ES300 92-96

CA-1332 48069-33020 LOWER L CAMRY MCV10, SXV1#, VCV10 92-96
48069-33010 AVALON MCX10 95-96
48069-06010 LEXUS ES300 92-96

CA-1341 48068-33031 LOWERR CAMRY MCV10 97-01
48068-33030 AVALON MCX10 95-00

WINDOM 96-01

48068-06040 LEXUS ES300 MCV20 96-01

CA-1342 48069-33031 LOWER L CAMRY MCV10 97-01
48069-33030 AVALON MCX10 95-00

WINDOM 96-01

48069-06040 LEXUS ES300 MCV20 96-01

CA-1501 48066-35030 UPPER R/L HILUX RN30,31,40,41, LN30,40 78-84

CA-1506 48605-35030 LOWERR HILUX RN30,31,40,41 78-80

CA-1507 48606-35030 LOWER L HILUX RN30,31,40,41 78-80

CA-1511 48066-35060 UPPER R HILUX LN5#, RN5#, YN5# 83-98
48066-35050 LN8#, RN8#, YN81,86 88-01
48066-35130 LN140,145,150,155, RZN147,148,149 97-05

CA-1512 48067-35060 UPPER L HILUX LN5#, RN5#, YN5# 83-98
48067-35050 LN8#, RN8#, YN81,86 88-01
48067-35130 LN140,145,150,155, RZN147,148,149 97-05

CA-1516 48605-35060 LOWERR HILUX LN5#, RN5#, YN5# 83-87
48605-35070

CA-1517 48606-35060 LOWER L HILUX LN5#, RN5#, YN5# 83-87
48606-35070

CA-1520 48066-35080 UPPER R/L HILUX LN90, RN90, YN90 88-97
48066-34030 LN152, RZN154 97-05

CA-1526 48605-35120 LOWERR HILUX LN5#, YN5# 88-93
48605-35121
48605-35080 HILUX 2WD LN8#,90, RN8#,90 YN8#,92 88-93
48605-35011

CA-1527 48606-35120 LOWER L HILUX LN5#, YN5# 88-93
48606-35121
48606-35080 HILUX 2WD LN8#,90, RN8#,90 YN8#,92 88-93
48606-35011

CA-1528 48605-35181 LOWERR HILUX RZN142,147,148,149, LN140,145,150,155 97-02
48605-35180

CA-1529 48606-35181 LOWER L HILUX RZN142,147,148,149, LN140,145,150,155 97-02
48606-35180

CA-1533 48068-26132 LOWERR HIACE VAN LH10#,11#,16#,17#, RZN10#,11#,125 04-
48068-26130 YH53,63, LH10#,11#, RZH10#,11# 95-96
48068-26131

CA-1534 48069-26132 LOWER L HIACE VAN LH10#,11#,16#,17#, RZN10#,11#,125 04-
48069-26130 YH53,63, LH10#,11#, RZH10#,11# 95-96
48069-26131

CA-1538 48068-06090 LOWERR CAMRY ACV36, MCV36 02-06
48068-06060 AVALON MCX10,20 02-06
48068-07030 SOLARA ACV20, MCV20, SXV20 98-02

CA-1539 48069-06090 LOWER L CAMRY ACV36, MCV36 02-06
48069-06060 AVALON MCX10,20 02-06
48069-07030 SOLARA ACV20, MCV20, SXV20 98-02

CA-1540 48068-12250 LOWERR COROLLA Z7E130,131,132,133, AZE14#, ZRE142 02-08
48068-12240 MATRIX

48068-02280

33




CA-1541 48069-12250 LOWER L COROLLA ZZE130,131,132,133, AZE14#, ZRE142 02-08
48069-12240 MATRIX
48069-02280
CA-1542 48068-0E010 LOWERR LEXUS RX330 ACV30, MCV30 04-06
48068-33050 LEXUS RX350 07-08
48068-33060 LEXUS RX400H 06-08
48068-33070 HIGHLANDER 04-07
CAMRY 02-06
48068-06070 LEXUS ES300 02-06
48068-06080 LEXUS ES350 07-12
CA-1543 48069-0E010 LOWER L LEXUS RX330 ACV30, MCV30 04-06
48069-33050 LEXUS RX350 07-08
48069-33060 LEXUS RX400H 06-08
48069-33070 HIGHLANDER 04-07
CAMRY 02-06
48069-06070 LEXUS ES300 02-06
48069-06080 LEXUS ES350 07-12
CA-1544 48068-33060 LOWERR CAMRY ACV4#, GSV40, AHV40 06-11
48068-06110
48068-06150
CA-1545 48069-33060 LOWER L CAMRY ACV4#, GSV40, AHV40 06-11
48069-06110
48069-06150
CA-1546 48068-59035 LOWERR YARIS NCP1#, SCP10 99-03
48068-59015 ECHO 00-03
CA-1547 48069-59035 LOWER L YARIS NCP1#, SCP10 99-03
48069-59015 ECHO 00-03
CA-1548 48068-59095 LOWERR YARIS NCP# 05-08
48068-59135 PRIUS C 12-
48068-09040 SCION XD KSP90, NLP90, SCP90 05-
CA-1549 48069-59095 LOWER L YARIS NCP9# 05-08
48069-59135 PRIUS C 12-
48069-09040 SCION XD KSP90, NLP90, SCP90 05-
CA-1550 48068-16100 LOWERR TERCEL EL5# 94-97
48068-16120
48068-16040 STARLET EP7# 86-89
CA-1551 48069-16100 LOWER L TERCEL EL5# 94-97
48069-16120
48069-16040 STARLET EP7# 86-89
CA-1554 48068-13010 LOWERR COROLLA NZE120,121,141, ZZE121,122,14#, 09-13
48068-12260 ZZE122 01-04
48068-05070 AVENSIS AZT250 03-09
48068-02021 03-08
48068-02190 MATRIX AZE14#, ZRE142 08-
CA-1555 48069-13010 LOWER L COROLLA NZE120,121,141, ZZE121,122,14#, 09-13
48069-12260 ZZE122 01-04
48069-05070 AVENSIS AZT250 03-09
48069-02021 03-08
48069-02190 MATRIX AZE14#, ZRE142 08-
CA-1556 48068-59055 LOWERR YARIS NCP1#, SCP10 99-04
CA-1557 48069-59055 LOWER L YARIS NCP1#, SCP10 99-04
CA-1558 48066-29075 UPPER R HIACE VAN LY100, YY100, LH11#,17#, RZH10#,11# 95-06
CA-1559 48067-29075 UPPER L HIACE VAN LY100, YY100, LH11#,17#, RZH10#,11# 95-06
CA-1560 48068-46011 LOWERR TERCEL EL5# 94-99
CA-1561 48069-46011 LOWER L TERCEL EL5# 94-99
CA-1562 48066-29215 UPPER R HIACE TRH213,223, KDH212,22#, LH20# 05-

48066-29225

34




CA-1563 48067-29215 UPPER L HIACE TRH213,223, KDH212,22#, LH20# 05-
48067-29225
CA-1564 48066-29025 UPPER R HIACE LXH28, KLH28, RCH29 97-06
CA-1565 48067-29025 UPPER L HIACE LXH28, KLH28, RCH29 97-06
CA-1569 48068-26160 LOWERR HIACE LH212, KDH20#,212,22#, LH20#, TRH20# 05-
CA-1570 48069-26160 LOWER L HIACE LH212, KDH20#,212,22#, LH20#, TRH20# 05-
CA-1571 48610-0K010 UPPER R HILUX VIGO 2WD KUN15,16,40, GGN15, TGN1#,40 04-15
CA-1572 48630-0K010 UPPER L HILUX VIGO 2WD KUN15,16,40, GGN15, TGN1#,40 04-15
CA-1573 48610-0K040 UPPER R HILUX VIGO 4WD KUN2#,51, GGN25,50, TGN26,51 04-15
CA-1574 48630-0K040 UPPER L HILUX VIGO 4WD KUN2#,51, GGN25,50, TGN26,51 04-15
CA-1575 48068-0K010 LOWERR HILUX VIGO 2WD KUN15,16,40, GGN15, TGN1#,40 04-15
CA-1576 48069-0K010 LOWER L HILUX VIGO 2WD KUN15,16,40, GGN15, TGN1#,40 04-15
CA-1577 48068-35080 LOWERR PRADO KZJ9%#, LI9#, RZJI9#, VZI9# 96-02
48068-35081 4RUNNER KZN185, RZN185, VZN185 95-02
CA-1578 48067-35080 LOWER L PRADO KZJ9%#, LI9#, RZJI9#, VZI9# 96-02
48067-35081 4RUNNER KZN185, RZN185, VZN185 95-02
CA-1579 48068-0K040 LOWERR HILUX VIGO 4WD KUN2#,51, GGN25,50, TGN26,51 04-15
CA-1580 48069-0K040 LOWER L HILUX VIGO 4WD KUN2#,51, GGN25,50, TGN26,51 04-15
CA-1581 48068-28050 LOWERR PREVIA TCR1#,2# 90-99
CA-1582 48069-28050 LOWER L PREVIA TCR1#,2# 90-99
CA-1583 48610-60050 UPPER R FJ CRUISER GSJ15 07-
48610-60070 4RUNNER GRN21#, KZN215 02-09
PRADO GRJ12#, KDJ120, KZJ120, LJ12#, 02-09
CA-1584 48630-60020 UPPER L FJ CRUISER GSJ15 07-
48630-60040 4RUNNER GRN21#, KZN215 02-09
PRADO GRJ12#, KDJ120, KZJ120, LJ12#, 02-09
CA-1585 48068-60010 LOWERR FJ CRUISER GSJ15 07-
4RUNNER GRN21#, KZN215 02-09
PRADO GRJ12#, KDJ120, KZJ120, LJ12#, 02-09
CA-1586 48069-60010 LOWER L FJ CRUISER GSJ15 07-
4RUNNER GRN21#, KZN215 02-09
PRADO GRJ12#, KDJ120, KZJ120, LJ12#, 02-09
CA-1587 48068-09230 LOWERR YARIS KSP13#, NSP13#, NCP13#, NSP15# 13-
CA-1588 48069-09240 LOWER L YARIS KSP13#, NSP13#, NCP13#, NSP15# 13-

35




SIDE ROD

TOYOTA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
SR-1140 45460-19215 OUTER R/L COROLLA LEVIN AES86...for/GTV 83-87
45460-19105 FEMALE RHT |& SPRINTER TRUENO
45046-19105 M14 X 1.5 STARLET LP61,KP62 78-80
45460-19125 COROLLA,SPRINTER KE70 79-83
AE70,KE73E 81-83
KE73G 82-87
COROLLA LEVIN AE85,AE86...exc/AE86...GTV 83-87
& SPRINTER TRUENO
SR-1171 45460-19205 OUTER R SPRINTER CARIB 4WD AL25G 82-
45460-19195 FEMALE RHT |TERCEL,CORSA,COROLLA [AL2#......for/P.S. 82-86
45460-19185 M14 X 1.5 TERCEL,CORSA,COROLLA |AL2# 82-86
SR-1172 45470-19055 OUTER L SPRINTER CARIB 4WD AL25G 82-
45470-19045 FEMALE RHT |TERCEL,CORSA,COROLLA |AL2#......for/P.S. 82-86
45470-19035 M14 X 1.5 TERCEL,CORSA,COROLLA |AL2# 82-86
SR-1230 45460-19145 OUTER R/L STARLET KP61,KP62 80-84
FEMALE RHT
M14 X 1.5
SR-1260 45460-29225 OUTERR/L [SOARER GZ1#,MZ1# 81-86
45460-29205 FEMALE RHT |MARK [I(CRESSIDA) RX6X....for/EUROPE 80-84
45460-19165 M14 X 1.5 CORONA AT140,ST140,TT142,CT140 82-87
..... exc/STD
CARINA,CELICA TA61,TA63,TA64,AA63,SA60,SA63 81-86
CA60,RA63,GA61,MAGH#
AAB0,SA60G 81-
SR-1320 45460-29315 R/L TOWNACE,MASTERACE KR26,YR2#,CR2# 85-
45470-29085 FEMALE RHT |VAN-WAGON
M14 X 1.5 TOWNACE,LITEACE TRUCKHKM5#,YM55,CM5# 86-
LITEACE VAN-WAGON KM3#,CM3#,YM30 85-
SR-1501 45460-39065 R HILUX RN2# 72-78
SR-1502 45470-39035 L HILUX RN2# 72-78
SR-1510 45460-39225 R/L HILUX RN30,RN33,RN35,RN40,RN43,RN45 78-
45460-39215 LN30,LN40,YN5#,LN5#,LN8#,YN8#
45460-39155 KIJANG, TAMARAW RF30,LF30 81-86
45460-39096 (BUV)
45460-39095
45460-39305
45460-29215
45470-39085
SR-1520 45460-39245 R/L HILUX 4WD YN61, LN61 85-
45460-39135 LN16#,LN17#RZN16#,174 97-
45460-39335
45460-39355
45460-39505
45470-39055
SR-1540 45460-39485 R/L HILUX LN147, LN145, LN15# 97-

RZN147, RZN152

36




PITMAN ARM

TOYOTA
FUJINO |OEM NO POSITION|CAR NAME MODEL YEARS
PA-1121 45401-19175 RHD COROLLA,SPIRNTER AE70,TE70 79-81
COROLLA VAN KE71V,KE72V,TE73V,TE74V 79-82
PA-1220 45401-19125 RHD/LHD CAMRY RA4#,RAS#,TA4# TAS#...exc/P.S. 80-82
45401-19066 CORONA RT13#,TT13#...exc/P.S. 78-82
CARINA,CELICA TAL1#, TA2# TA3#,RAL#,RA2#,RA3#H 75-81
TA4#,TAS# RA4# RAS#...exc/P.S.
45401-19135 RHD CELICA TA46B,TA47B,RA46B 79-81
LHD CELICA,SUPRA RAA4# 77-81
PA-1511 45401-39145 RHD/LHD HILUX RN2# 73-78
45401-39135
45401-39126
45401-39116
PA-1522 45401-35190 LHD HILUX 4WD YN61,LN61 85-
45401-35220
PA-1523 45401-35140 RHD HILUX YN60,62,65,67 84-92
4RUNNER(4WD) LN65 85-92
RN105,LN106,YN106 88-97
PA1524 45401-35150 LHD HILUX YN60,62,65,67 84-92
4RUNNER(4WD) LN65 85-92
RN105,LN106,YN106 88-97
PA-1532 45401-35240 LHD HILUX 4WD RN101, LN111, LN130, LN135, RN106 91-

RN130, RN135

37




IDLER ARM

TOYOTA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
IA-1123 45490-39255 RHD HILUX 4WD LN61,YN61 85-
45490-39335
45490-39345
IA-1124 45490-39455 LHD HILUX 4WD LN166 97-
45490-39456
IA-1131 45490-19215 RHD COROLLA,SPRINTER AE70,TE70...exc/P.S. 79-81
CE70...exc/P.S. 82-83
KE71V,KE72V,KE73V,KE74V,TE73V 79-87
TE74V,CE71V,CE72G...exc/P.S.
TE71(LEVIN,TRUENO)...exc/P.S. 81-83
IA-1222 45490-29305 LHD CAMRY RAA4#,RAS#,TA4#,TASH 80-82
45490-29295 CORONA RT13#,TT13# 78-82
45490-19175 CARINA,CELICA TA4#,TAS#,RA4#,RASH 77-81
45490-19165
IA-1511 45490-35100 RHD/LHD HILUX RN30,RN33,RN35,RN40,RN43,RN45 78-83
45490-35110 LN30,LN40
45490-35090 KIJANG(BUV) RF30,LF30 81-86
45490-35080
IA-1513 45490-39115 LHD HILUX RN2# 73-78
45490-39086
IA-1522 45490-35140 LHD HILUX LN5#,YN5# 83-88
IA-1531 45490-39305 RHD HILUX 2WD LN8#,YN8# 88-
LN147,LN145,LN15#,RZN147,RZN152 97-
IA-1532 45490-39315 LHD HILUX 2WD LN8#,YN8# 88-
IA-1552 45490-39245 LHD HILUX4WD LN61,YN61 85-95
45490-39325
45490-39355 4RUNNER 84-91
IA-1562 45490-39365 LHD HILUX 4WD RN101,RN106,RN110,RN126,RN130 88-91
4 RUNNER LN107,LN111,LN130,LN135,YN130,YN135 [92-
VZN100,VZN105,VZN110,VZN130,VZN131
RN120,RN121,VZN120
INNER SHAFT
TOYOTA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
1S-1501 04485-26020 UPPER R/L HILUX RN1#,RN2# 68-78
04485-35010 HIACE PH1# RH1# RH2# RH3# RHA#,LH2#,LH3# |67-82
04485-26010 HIACE TRUCK RH11,RH24,LH24 77-85
04485-30021
1S-1511 04485-35020 UPPER R/L CROWN RS5#,MS5#,RS6#,MS6#,MS7#,RS8# 67-83
04485-30030 RS10#,MS8#,MS9%#,MS10#,LS10#
RS11#,MS11#,LS11#,GS11#...for/STD
HILUX RN30,RN33,RN35,RN40,RN43,RN45 78-
LN30,LN40,LN5#,YN5#
LN147,LN145,LN15# RZN147,RZN152 97-
KIJANG, TAMARAW(BUV) |RF30,LF30 81-86
1S-1506 04486-35020 LOWERR HILUX RN1#,RN2# 68-78
04486-35010
1S-1507 04487-35020 LOWER L HILUX RN1#,RN2# 68-78
04487-35010 TOWNACE TRUCK RR1#,RR2# 78-82

38




STABILIZER LINK

TOYOTA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
SB-1201 48810-20010 FRONT L CORONA ST17# 87-92
M10 X 1.25
SB-1202 48820-20030 FRONT R CORONA ST17# 87-92
M10 X 1.25
SB-1203 48810-0K010 FRONT L HILUX VIGO KUN25, KUN2#, KUN51 04.8-12
48810-60040 M12 X 1.25 FORTUNER TGN51 05-12
HILUX SURF RZN21#, KDN215,VZN21# 02-09
LAND CRUISER PRADO TRN21#, GRN215, RZJ12#,KDJ12#,KDJ25 |02-09
FJ CRUISER 07-
4RUNNER GRN21#, UZN21# 03-
LEXUS GX470 GRJ12#, KDJ12# 03-09
SB-1204 48820-0K010 FRONT HILUX VIGO KUN1# 04-12
M12 X'1.25 KIJANG INNOVA KUN40, TGN4# 04-
M10 X 1.25
SB-1205 48820-0K030 FRONT R HILUX VIGO KUN25, KUN2#, KUN51 04.8-12
48820-60050 M12 X 1.25 FORTUNER TGN51 05-12
48820-0K040 HILUX SURF RZN21#, KDN215,VZN21# 02-09
LAND CRUISER PRADO TRN21#, GRN215, RZJ12#,KDJ12#,KDJ25 |02-09
FJ CRUISER 07-
4RUNNER GRN21#, UZN21# 03-
LEXUS GX470 GRJ12#, KDJ12# 03-09
SB-1207 48820-35010 FRONT R/L  [HILUX KZN130,LN13#,VZN130,YN130 89-95
M12 X 1.25
M10 X 1.25
SB-1208 48820-35021 FRONT TACOMA VZN150,RZN140,RZN150...for/PRERUNNER (01-04
48820-35020 M12 X 1.25 VZN150,RZN140,RZN150... 95-00
VZN170,VZN171,RZN160,RZN161...4WD 95-00
SB-1209 48820-35040 FRONT R TACOMA VZN150,RZN140,RZN150... 01-04
M12 X 1.25 VZN170,VZN171,RZN160,RZN161...4WD 01-04
SB-1210 48820-20010 FRONT COROLLA AE9# 87-91
M10 X 1.25 CELICA 86-93
SB-1213 48810-35020 FRONT L TACOMA VZN150,RZN140,RZN150... 01-04
M12 X 1.25 VZN170,VZN171,RZN160,RZN161...4WD 01-04
SB-1215 48830-33010 REAR CAMRY USA SXV10 USA 91-02
48830-06020 M10 X 1.25 CAMRY MCV10, VCV10, SXV20,MCV20,MCV21 91-01
AVALON MCX10 95-99
HARRIER ACU10,MCU10 97-03
LEXUS RX330 2WD 99-03
SOLARA ACV20,MCV20,SXV20 98-03

39




SB-1220 48820-47010 FRONT COROLLA NZE12#,CEZ121,ZZE12# 00-
48820-02030 M12 X 1.25 COROLLA FIELDER
48820-02040 COROLLA RUNX NZE12#,ZZE12# 01-
48820-02050 COROLLA ALLEX
48820-58010 COROLLA SPACIO NZE121,ZZE12# 01-
COROLLA USA ZZE122 03-
WILL VS NZE127,ZZE12# 01-
WISH ANE1#,ZNE13 03-
PREMIO AZT240,NZT240,2ZT24# 01-
ALLION
CALDINA AZT24#,ST246,22T241 02-
IPSUM ACM26 01-
NOAH AZR65 01-
VOXY
PRIUS NHW1# 97-09
VOLTZ ZZE13# 02-
MATRIX, PONTIAC VIBE ZZE132,7ZE133,ZZE134 03-
ALTIS ZZE12# 02-
SCIONTC ANT10 05-10
SB-1221 48810-20020 FRONT L CORONA ST19#, AT19#, CT19# 92-01
48810-05012 M10 X 1.25 AVENSIS AT220R,AT221R,ST220R,CT220R 98-03
CARINA AT21#,CT210,CT211 96-01
CARINA 4WD ST215,CT215,CT216 96-01
SB-1222 48820-20040 FRONT R CORONA ST19#, AT19#, CT19# 92-01
48820-05012 M10 X 1.25 AVENSIS AT220R,AT221R,ST220R,CT220R 98-03
CARINA AT21#,CT210,CT211 96-01
CARINA 4WD ST215,CT215,CT216 96-01
SB-1223 48810-44010 FRONT L IPSUM SXM10,CXM10 96-01
M10 X 1.25 NADIA ACN1#,SXN1# 98-
GAIA ACM1#,CXM10,SXM15 01-
SB-1224 48820-44010 FRONT R IPSUM SXM10,CXM10 96-01
M10 X 1.25 NADIA ACN1#,SXN1# 98-
GAIA ACM1#,CXM10,SXM15 01-
SB-1225 48830-32050 REAR R/L COROLLA 4WD NZE124, ZZE124 00-12
M10 X 1.25 COROLLA FIELDER 4WD  [NZE124, ZZE124 00-06
COROLLA RUNX 4WD NZE124, ZZE124 01-06
COROLLA ALLEX 4WD NZE124, ZZE124 01-06
COROLLA SPACIO 4WD ZZE124 01-07
SIENTA 4WD NCP85 03-
SB-1226 48820-42030 FRONT R/L  [RAV4 ACA30 06-
48820-02070 M12 X 1.25 AURIS 07-
48820-47020 ESTIMA ACR50, GSR50 06-08
48820-0R010 PREVIA ACR50, GSR50 06-
PRIUS ZVW30 09-
LEXUS CT200H ZWA10 10-
SB-1231 48810-06030 FRONT L CAMRY USA SXV20 USA 97-01
48810-33010 M10 X 1.25 CAMRY MCV2#,SXV2#,CV40
HARRIER ACU1#,MCU1#,SXU1# 97-03
LEXUS RX330 99-03
AVALON MCX20 99-02
SOLARA ACV20,MCV20,SXV20 98-03

40




SB-1232 48820-06030 FRONT R CAMRY USA SXV20 USA 97-01
48820-33020 M10X1.25 |CAMRY MCV2#,SXV2#,CV40
HARRIER ACU1# MCU1#,SXU1# 97-03
LEXUS RX330 99-03
AVALON MCX20 99-02
SOLARA ACV20,MCV20,SXV20 98-03
SB-1250 48830-20010 REAR COROLLA AE9#, AE10# 87-01
48830-12060 M10X1.25 |CARINA AT21#,CT210,CT211 96-
CAMRY 87-91
CELICA 86-98
48830-32010 CORONA ST19#, AT19#, CT19# 92-
SB-1300 48820-33010 FRONT COROLLA AE10# 96-02
(SB-4319) M10X1.25 |CAMRY 92-96
CELICA 94-98
AVALON 95-96
SB-1305 48830-32040 REAR HARRIER 4WD ACU15,MCU15,SXU15 97-03
48830-21010 M10X1.25 |KLUGER ACU25,MCU25 00-03
CARINA 4WD ST215,CT215,CT216 96-01
HIGH LANDER 4WD 01-03
LEXUS RX300 AWD 99-03
SB-1311 48810-22010 FRONT L MARK é (CRESSIDA) RX80,RX81,GX81,MX81,MX83, LX80 88-95
48810-22011 M12X1.25 |PREVIA 91-97
CHASER, CRESTA GX81,MX81,LX80,SX80,JZX81 88-92
SB-1312 48820-22010 FRONT R MARK é (CRESSIDA) RX80,RX81,GX81,MX81,MX83, LX80 88-95
48820-22011 M12X1.25 |PREVIA 91-97
CHASER, CRESTA GX81,MX81,LX80,SX80,JZX81 88-92
SB-1320 48820-42010 FRONT RIL |RAV4 (4 Door) SXAL1, SXAl6 95-00
M12 X 1.25 SXAI10 ... for Wide body 95-00
SB-1325 48830-12050 REAR COROLLA AE114,AE104,CE104 91-02
M10 X 1.25 CE114 95-00
SPRINTER CARIB AE114,AE115 95-00
SB-1330 48820-AD010  |FRONT LAND CRUISER PRADO  |KZJ9#,RZJ9#,VZI9# 96-08
48820-34020 M10 X 1.25 |4RUNNER 98-02
48820-35030 M12X1.25 |TUNDRA 00-06
SB-1335 48820-24010 FRONT SUPRA 93-98
REAR CELICA 00-05
M10 X 1.25  [LEXUS SC300/400 92-00
SB-1340 48820-06040 FRONT CAMRY ACV3# 01-06
48820-28050 M12X1.25 |CAMRY USA XV30 02-06
HIGH LANDER 01-
HARRIER ACU3# MCU3# 03-
LEXUS RX330 04-06
LEXUS RX350 07-
VENZA AGV1#, GGV1# 09-
48820-28060 ESTIMA ACR30,ACR40,CLR30,MCR30,MCR40 00-06
SB-1350 48820-20060 FRONTR/L |CELICA ST202,ST205 ... for GT4,5S2,5SS3 93-98
M10 X 1.25 |CARINA ED ST202,ST205 ... for GLIM,GT,GT4WD,LIM4 |93-98
CORONA EXIV ST202,ST205 ... for 93-98
CURREN ST206 ... for ZS 94-98

41




SB-1355 48830-22041 REAR R/L LEXUS LS400 95-00
M12 X 1.25
SB-1380 48820-22041 FRONT MARK é,CRESTA,CHASER |GX100,JZ2X100,JZX101,LX100,SX100 96-00
M10 X 1.25 GX90,JZ2X90,JZX91,LX90,SX90 95-96
M12 X 1.25 VEROSSA GX110,JZX110 00-04
CROWN GS171,J2S171,JZS175,,JKS175 99-03
LEXUS 1S300 01-05
ALTEZZA GXE10,JCE10,SXE10 98-05
ALTEZZA GITA GXE10,JCE10,SXE10 98-05
PROGRES JCG10,JCG11 98-07
BREVIS JCG10,JCG11 01-07
SB-1470 48810-28020 FRONT L PREVIA TCR1#, TCR2# 91-97
48810-28010 M12 X 1.25 ESTIMA 90-99
SB-1475 48820-28030 FRONT R PREVIA TCR1#, TCR2# 91-97
48820-28010 M12 X 1.25 ESTIMA 90-99
SB-1500 48830-35020 REAR TACOMA / ARUNNER KZJ9#,KDJ9#,RZJ9# VEJIO# 96-02
M12 X 1.25 LANDCRUISER PRADO 97-01
HILUX 96-02
SB-1560 48820-52030 FRONTR/L  |VITZ NCP91,KSP90,SCP90 05-
M12 X 1.25 RACTIS NCP10#,SCP100 05-
48820-52070 BELTA KSP92,NCP96,SCP92 05-
48820-0D020 YARIS NCP91, NCP91TH 06-
48820-0D080 VIOS NCP4# 02-
SCION XD, PRIUS C 08-
SB-1580 48830-33040 REAR R/L CAMRY ACVA4#,ACV40,ACV41,GSV40 07-11
48830-06060 M10 X 1.25 LEXUS ES350 GSV40 07-12
48830-06070 AVALON GSX30 05-12
SB-1590 48820-06050 FRONT R/L |CAMRY 08-
48820-06060 M12 X 1.25 CHINA CAMRY ACV40 07-
48820-06070 ACV4# , ACV40, GSV40 06-
48820-33040 AVALON 13-
48820-33070 LEXUS ES350 13-
SB-A001 48830-60030 REAR LAND CRUISER PRADO RZJ120, KDJ12#, VZJ12#, TRI12#,GRJ12# [02-09
M12 X 1.25 4RUNNER GRN21#, VZN21#, N280 03-
M8 X 1.25 HILUX SURF RZN21#, KDN215, VZN21#, TRN21# 02-09
LEXUS GX470 GRJ12#, KDJ12# 03-09
FJ CRUISER 07-
SB-A003 48830-21020 REAR R SCION TC ANT10 05-10
M10 X 1.25 AVENSIS AZT250, AZT251, AZT-255
CALDINA AZT24#, ST246, ZZT241
SB-A004 48840-21010 REAR L SCION TC ANT10 05-10
M10 X 1.25 AVENSIS AZT250, AZT251, AZT-255
CALDINA AZT24#, ST246, ZZT241
SB-A005 48830-48010 REAR CAMRY ACV3# 01-
48830-06030 M10 X 1.25 CAMRY USA XV30 02-06
48830-06050 HIGH LANDER 01-13
HARRIER ACU3#,MCU3# 03-06
LEXUS RX330 04-06
VENZA AGV10,AVG1#,GGV1# 09-
LEXUS ES350 13-
SB-A007 48820-26020 FRONT R HIACE LH110,11#,12#,16#,17#,18# 95-01
M12 X 1.25 KZH10#,11#,13#,126

RZH10#,11#,12#,133

42




SB-A008 48810-26020 FRONT L HIACE LH110,11#,12#,16#,17#,18# 95-01
M12 X 1.25 KZH10#,11#,13#,126
RZH10#,11#,12#,133
SB-A009 48830-35010 REAR HILUX KZN130,LN13#,VZN130,YN130 89-95
M12 X 1.25 4RUNNER 90-95
SB-A011 48820-50011 FRONT R CELSIOR UCFI# 89-94
48820-50010 M12 X 1.25 LEXUS LS400 UCF10 90-99
SB-A012 48810-50011 FRONT L CELSIOR UCFI# 89-94
48810-50010 M12 X 1.25 LEXUS LS400 UCF10 90-99
SB-A013 48830-50020 REAR CELSIOR UCFI# 89-94
48830-50010 M10 X 1.25 LEXUS LS400 UCF10 90-94
SB-A015 48830-50030 REAR R CELSIOR UCF30 00-06
M10 X 1.25 LEXUS LS430 01-03
SB-A016 48840-50010 REAR L CELSIOR UCF30 00-06
M10 X 1.25 LEXUS LS430 01-03
SB-A017 48830-AF010 REAR TUNDRA,8CYL(2WD) UCK30,UCK40 00-04
M12 X 1.25
SB-A019 48820-42020 FRONT RAV4 ACA20 00-06
M10 X 1.25
SB-A021 48820-26050 FRONT HIACE KDH200, KDH220, KDH222 04-
TRH200, TRH214, TRH221, TRH223,
SB-A023 48820-08020 FRONT SIENNA MCL2# 04-10
SB-A025 48820-30090 FRONT R LEXUS GS300/350/430/460 |RWD 06-11
M12 X'1.25 LEXUS 1S250/350 09-13
CROWN GRS200, 202, 204 08-12
MARK X GRX120, GRX121 04-09
SB-A026 48810-30070 FRONT L LEXUS GS300/350/430/460 |RWD 06-11
M12 X'1.25 LEXUS 1S250/350 09-13
CROWN GRS200, 202, 204 08-12
MARK X GRX120, GRX121 04-09
SB-A027 48820-30100 FRONT R LEXUS GS300/350/430 AWD , GRS196 06-11
M12 X 1.25 LEXUS 1S250/350 06-
LEXUS GS350 13-
SB-A028 48810-30080 FRONT L LEXUS GS300/350/430 AWD , GRS196 06-11
M12 X 1.25 LEXUS 1S250/350 06-
LEXUS GS350 13-
SB-A029 48830-0C010 REAR R/L SEQUOIA UCKS35, UCK45 01-07
M12 X 1.25
SB-A031 48830-17070 REAR R/L MR2 00-04
M10 X 1.25
SB-A033 48830-42010 REAR R RAV4 ACA20 00-05
M10 X 1.25
SB-A034 48840-42010 REAR L RAV4 ACA20 00-05
M10 X 1.25
SB-A035 48820-30050 FRONT R CROWN GS13#, JZS13#, LS13#, MS13# 87-99
48820-30010 M12 X'1.25 CROWN MAJESTA GS141, JZS141, JZS143, JZS145, LS141 91-95
SB-A036 48810-30030 FRONT L CROWN GS13#, JZS13#, LS13#, MS13# 87-99
48810-30020 M12 X 1.25 CROWN MAJESTA GS141, JZS141, JZS143, JZS145, LS141 91-95
48810-30010
48820-30020
SB-A037 48820-53010 FRONT R LEXUS IS F USE 20 08-
M12 X'1.25 LEXUS IS 250 06-08
LEXUS IS 350 06-08

43




SB-A038 48810-53010 FRONT L LEXUSISF USE 20 08-
M12 X 1.25 LEXUS IS 250 06-08
LEXUS IS 350 06-08
SB-A039 48820-50030 FRONT R LEXUS LS460 USF40 07-
M12 X 1.25 LEXUS LS600H UVF4# 08-
SB-A040 48810-50020 FRONT L LEXUS LS460 USF40 07-
M12 X 1.25 LEXUS LS600H UVF4# 08-
SB-A041 48802-52050 REAR R/L SYCCEED NCP59 02-14
M12 X 1.25 PROBOX WAGON NCP59 02-14
SUCCEED VAN NCP55 02-14
PROBOX VAN NCP55 02-14
SB-A043 48820-32010 FRONT R/L  |AVENSIS 97-03
M10 X 1.25 CELICA 00-05
SB-A045 48820-B0010 FRONT R/L  [AVANZA F601 03-11
M12 X 1.25 XENIA
SB-A047 48830-0C020 REAR R SEQUOIA 08-
M12 X 1.25
SB-A048 48840-0C010 REAR L SEQUOIA 08-
M12 X 1.25
SB-A051 48820-44020 FRONT R/L  |[AVENSIS AZT,CDT,ZZT 01-09
M12 X 1.25 IPSUM ACM21 01-09
NOAH, VOXY AZR60, ZRR70 01-13

44




CENTER BEARING

TOYOTA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CB-1310 37230-35050 HILUX YN55, LN55 83-86
37230-35070 YN85, RN85, LN85 86-89
CB-1320 37230-36020 COASTER RB20, BB20 82-92
37230-36021 RB20, BB20 82-92
37230-36H00 DYNA BU30, HU30, RU30 78-81
CB-1321 37230-36060 DYNA BU80, BU90, WU90 84-88
37230-36061 BU8O, BU90, WU90 84-88
37230-36062
37230-36080
37230-36081
37230-36120
CB-1330 37230-22042 MARK 11 MX30/40/60 RX30/40/60 77-87
37230-22070 CHASER SX60Y, MX60, RX30/40/60 80-87
37230-22080 CRESTA SY60Y, MX60, TX50Y, MX51Y 80-87
CRESSIDA GX60/61, RX30/60, LX60 76-85
GX61D, GX61X, GX61Y 82-
RY60X 80-85
G61, MX63X 83-85
CB-1350 37230-35030 HILUX RN40, LN40 78-80
CB-1360 37230-24010 CORONA AT140, CT140, RT141,TT141 82-
37230-24020 CARINA AABOA, TAB1A, RAG3AA 81-
CELICA TA60, SA60B, RB63B, GA61B 81-85
TERCEL AL25 4WD 82-88
SOARER GL10, MZ10 81-85
CRESSIDA LX70, LX71, GX71, MX73 84-88
37230-22130 CRESSIDA RX80/81, LX80 88-90
37230-22140 GX81, RX80V 88-90
37230-22170
CB-1370 37230-22110 CRESSIDA MX80, MX8# 89-93
37230-22120
CB-1380 37230-28010 PREVIA TCR10, TCR20 94-
CB-1390 37230-26020 KIJANG KF60, KF70 95-
HIACE KZH110, KZH120 95-
CB-1400 37230-33030
CB-1410 37230-21020 LEXUS RX300 H H.H 99-
CB-1420 37230-48010 LEXUS RX300 (F) 99-
CB-1430 37230-38010 KIJANG KF60, CF50 91-
37230-27020 KF50 91-
CB-1440 37230-12081 CAROLLA AE95 4WD 87-92
37230-12141
CB-1450 37230-36014 COASTER RB10, BB10 72-77
37230-36040 DYNA RU15, BU15 79-83
37230-36010
CB-1460 37230-12021 CAROLLA
CB-1470 37230-12040 CAROLLA KE70, CE70, AE71 79-83
CB-1480 37230-12050 CAROLLA AE86, CE80 83-87
CB-1490 37230-12091 CAROLLA AE95 4WD 87-92
37230-12150 (Rear)
37230-12151
CB-1500 37230-14031 CELICA TA40, TA42B, TA45B 77-81
CAMLY RA40, RA50, RA55 80-86
CORONA RT130/131, TT130/131/132 78-79
CB-1510 37230-14040 CARINA TA63, MTM 82-85
37230-14050 CRESSIDA LX71 84-86
CB-1520 37230-14070 SOARER GZ20 88-93
CB-1530 37230-20090 CORONA RT130/131, TT130/131/132 79-82

45




CB-1550 37230-20101 CELICA AT180 AWD 88-93
37230-20102 ST184 AWD
37230-20120
37230-20121
37230-20100
37230-20110
CB-1560 37230-22100 MARK I LX70 ATM 84-
CHASER MX80 88-93
CRESTA
CRESSIDA
CB-1570 37230-24070 LEXUS SC400, UCF20 92-93
37230-24090 LS300, UCF10 93-
CB-1580 37230-24100 LEXUS
CB-1590 37230-26010 HIACE LN25, RZH125 89-
CB-1600 37230-30022 CROWN MS80/90, RS80/100, LS100 74-79
CB-1610 37230-30030 CROWN RS110, MS110/112/117 79-83
CB-1620 37230-30040 CROWN MS120, LS120 83-87
CB-1630 37230-30050 CROWN MS123 83-87
37230-30060 CROWN MS122/123/125 87-91
CB-1640 37230-30071 CROWN MS130, YS130 91-
37230-30080 CROWN 91-94
CB-1650 37230-30090 CROWN JZS5133, JZ5135, JZ5145
CB-1660 37230-30900
CB-1670 37230-34010 T100 VCK10, VCK20 2WD 93-
CB-1680 37230-34020 T100 VCK11, VCK21 4WD 94-
CB-1690 37230-35013 HILUX RN15, RN16 69-78
CB-1700 37230-35040 STOUT RK110, YK110 80-
37230-35041
CB-1710 37230-35110 HILUX RN130, RN140 89-93
CB-1720 37230-35120 TACOMA VZN140, VZN150 2WD 95-
CB-1730 37230-36070 DYNA BU40/50, WU40/50, HU40/50 82-
37230-36071
CB-1740 37230-36140 COASTER HZB50L 93-
CB-1750 37230-40031 HILUX RN25, LN25 75-78
CB-1760 37230-42010 RAV4 SXA10 95-
CB-1780 37230-50011 LEXUS GS300, UCF21
CB-1790 37230-55H00 DA110/115
CB-1800 37230-35060 HILUX YNG65, LN65 83-87
37230-35061
37230-35080
37230-35100
CB-1810 37230-35090 HILUX YM85, LN85 90-
CB-1820 37230-35130 TACOMA VZN160, VZN170 4WD 95-
CB-1850 37230-0K010 HILUX VIGO
37230-0K011
37230-0K030
CB-1860 37230-0K020 HILUX VIGO

37230-0K021
37230-0K040

46




BALL JOINT

NISSAN
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
BJ-2110 40160-H7400 LOWER R/L  |SUNNY B210#,B211#.....exc/PB210,GB210 75-77
40160-H7427 200X GB211,B210,(L16)
LB210......exc/EUROPE 75-77
B310#(A12)....exc/HB310(A14) 77-81
SUNNY TRUCK B120#,B121#,B122# 75-
210/510 77-81
BJ-2120 40160-W5000 LOWER R/L |SILVIA,GAZELLE S110#....for/Z18S,Z18E 79-81
AUSTER,STANZA Al0#,A11# 77-81
40161-W5000 VIOLET AL0#,A11# 77-81
SUNNY HB310(A14) 77-81
BJ-2151 40110-G5100 UPPER R/L  |VANETTE C120#,C122# 81-82
40110-¢3vo0 (... for/VAN.TRUCK.....LD20
..... for/COACH.....Z20,LD20
C120#,C1224#.....ALL 82-85
C22# 85-
VANETTE LARGO BHC122,BEC120,WMC120,WEC120 82-86
GC22 86-
BJ-2155 40160-G4010 LOWER R/L |VANETTE C120#,C121#,Cl122# 78-85
40160-G5100 C22# 85-
40160-G2525 VANETTE LARGO BHC122,BEC120,WMC120,WEC120 82-86
40160-G5400 GC22# 86-
40160-G2500
BJ-2160 40160-01A25 LOWER R/L  |SUNNY B11# 81-85
40160-01A00 LAUREL SPIRIT Bl11# 82-86
40160-A03G0 PULSAR,LANGLEY N12# 82-86
40160-A06G0O &LIBERTA VILLA
PRAIRIE M10# 82-
SUNNY,PULSAR VB11# 82-
&DATSUN AD VAN
BJ-2180 40160-9W200 LOWER R/L |TEANA J31 03-
40160-CC40B 03-04
40160-9Y000 04-07
40160-9W20C MURANO Z50 04-07
40160-CA010 07-
40160-CC40A DUARIS J10E 07-
40160-JG000 QUASHQAI
X-TRAIL T31 07-
T31IN 09-
For ARM
54500-9Y000/54501-9Y000
54500-9W20C/54501-9W20C
54500-CA010/54501-CA010
54500-CC40A/54501-CC40A
54500-CC40B/54501-CC40B
54500-CC40E/54501-CC40E
54500-JG000/54501-JG000
54500-JD000/54501-JD000
BJ-2200 40160-S0128 LOWER R/L |FAIRLADY-Z S130# 78-83
40160-S0127 LAUREL C130#,C131#,C230#,C231# 72-80
40160-S0126 SKYLINE C110#,C111#,C210#,C211# 72-81
40160-S0125 BLUEBIRD 810# 76-79
40160-S0106 910#......for/PJ910P(Z18P) 79-83
40160-S0105 280-ZX 810 72-81
40160-S0104 MAXIMA 76-79
40160-P6525
BJ-2230 40160-41L00 LOWER R/L |LEOPARD F31# 86-

47




40160-67L00 LAUREL C32# 84-
SKYLINE R31# 85-
300ZX 85-
BJ-2250 40160-50Y00 LOWERR/L [SUNNY B13# 90-94
40160-50Y0R SENTRA 200SX 92-95
40160-50Y02 ALMERA N15(GA14DE,GA16DE,SR20DE,CD20) 95-00
40160-50Y10 200X 95-97
40160-50Y20 PRIMERA 90-
40160-52Y00
40160-52Y10
40160-52Y20
40160-52Y60
40160-60Y00
40160-60Y10
40160-60Y20
40160-69Y00
40160-69Y10
40160-Y02G0
40160-0M010
40160-0M020
40160-F4200
BJ-2270 40160-VWO000 LOWERR/L [CARAVAN E25 01-
URVAN E25 01-
BJ-2280 40160-2Y411 LOWERR/L  [CEFIRO (MAXIMA) BALL JOINT ONLY 99-02
40160-2Y412 for 54500-2Y412/54501-2Y412
40160-2Y000 A33, CA33
40160-5Y720 PRIMERA P12E 02-
40160-AV606 INFINITI 130 00-01
40160-AV605 INFINITI I35 02-04
40160-AV600
40160-AV60A
40161-2Y411
40161-2Y412
40161-5Y720
BJ-2300 40160-A8625 LOWERR/L [BLUEBIRD 510#,610#......exc/G610 68-76
40160-A8610 SILVIA,GAZELLE S10#,S11# 75-79
40160-A8600 VIOLET 710#,711# 73-77
40160-U7000 SUNNY PB110,PB210,GB210,GB211,B210(L16) 71-77
LB210......for/ EUROPE 75-77
240z B210 71-77
200SX 510,610,710 68-76
BJ-2330 40160-51E00 LOWERR/L [BLUEBIRD Ull# 83-87
40160-01E00 MAXIMA,STANZA ul12# 87-94
40160-85E00 BLUEBIRD 4WD RNU12 87-95
40160-01E25 AUSTER,STANZA T12#,T12Y# 85-92
BJ-2400 40160-01G50 LOWERR/L [CARAVAN,HOMY E24# 86-
40160-01G26 DATSUN PICK UP D21#...for/AD21,CD21,DD21 85-
40160-01N25 GD21,FD21
40160-01G00
40160-01G25 MAXIMA 00-
40160-01G90 CEFIRO 00-
40160-25485 PICK UP D22 97-
40160-3S550 FRONTIER 98-00
40160-27N25
40160-55G90
40160-92G90
BJ-2405 40110-25485 UPPER R/L PICK UP 2WD D22 97-02
40110-25486
40110-2S685 PICK UP 4WD D22 98-04
40110-2S686 FRONTIER 98-00

48




40110-3S600
40110-8B425
40110-8B525
40110-8B550
40110-9Z050
40110-VJ200

BJ-2415 40160-50W25 LOWERR/L [DATSUN PICK UP 720# 83-85
40160-50W01 D21#....for/IMD21,YD21 85-
40160-50W10 PATHFINDER 85-95
40160-50W00 TERRANO wD21,vD21 86-
40160-93G00
40160-93G25 VENETTE LARGO 4WD NGC22,NGJC22 86-
40160-93G26 DATSUN PICK UP 4WD 93-95
40160-0F000 MAVERICK(FORD) FR20 93-96
BJ-2511 40110-01G26 UPPER R/L CEDRIC,GLORIA 331#,332#,430# 77-83
40110-01G25 ATLAS F22#,......for/1t,1,5t 82-
40110-01G00 HOMER,CABSTAR F20#,F21# 78-81
40110-v0100 CARAVAN,HOMY E21#,E22#,E23#,E24# 78-
40110-T3060 CARAVAN,HOMY 4WD ME24,MGE24 87-
40110-T6000 JUNIOR 140#,N140#,N141# 78-84
40110-T6025 DATSUN PICK UP 620#,720# 77-85
40110-B9500 PATHFINDER D21#....for/AD21,CD21,DD21,GD21,FD21 85-
40110-0F000 DATSUN PICK UP 4WD 720# 80-85
D21#....for/IMD21,YD21 85-
TERRANO /TERRANO I WD21,VD21/R20 86-,93-
VANETTE LARGO 4WD NGC22,NGJC22 86-
BJ-2516 40160-48W25 LOWERR CEDRIC,GLORIA 330#,331#,332% 75-79
40160-48W00 ATLAS F22#....for/1t,1.5t 82-
40160-T3060 HOMER,CABSTAR F20#,F21# 78-81
40160-B9500 CARAVAN,HOMY E21#,E22#,E23# 78-86
40160-F1700 JUNIOR 140#,N140#,N141# 78-84
DATSUN PICK UP 6204#,720# 77-85
DATSUN PICK UP 4WD 720# 80-83
310 79-82
BJ-2517 40161-48W25 LOWER L CEDRIC,GLORIA 330#,331#,332# 75-79
40161-48W00 ATLAS F22#....for/1t,1.5t 82-
40161-T3060 HOMER,CABSTAR F20#,F21# 78-81
40161-B9500 CARAVAN,HOMY E21#,E22#,E23# 78-86
40161-F1700 JUNIOR 140#,N140#,N141# 78-84
DATSUN PICK UP 6204#,720# 77-85
DATSUN PICK UP 4WD 720# 80-83
310 79-82
BJ-2540 40160-18Vv00 LOWERR/L |CEDRIC,GLORIA Y31#...for/CA20,RB20P,RD28..R4 87-
40160-18Vv01
BJ-2550 40160-0W025 LOWERR/L [TERRANO R50 95-
40160-0W000 PATHFINDER 96-03
D0160-0W025 INFINITI QX4 97-03
BJ-2721 40160-2S601 LOWERR/L [PICK UP 4WD D22 98-04
40160-97510 FRONTIER 98-00
40160-2S686
40160-2S685
BJ-2725 40160-50A00 LOWERR/L [SUNNY B12# 85-90
40160-4M400 B14# 94-
40160-4M410 B15 99-
40160-4M411 SUNNY 4WD 85-90
40160-4M700 B15 98-
40160-6M000 LAUREL SPIRIT HNB12,FNB12 86-
40160-50J25 LAUREL SPIRIT 4WD B12# 87-
40160-86M00 PULSAR,LANGLEY FNB12 86-
40160-60Y60 LIBERTA VILLA N13#

49




40160-69C00 PULSAR,LANGLEY 4WD 86-
40160-70J00 LIBERTA VILLA 4WD HNN13
40160-J7500 PRIMARA P10o# 90-98
40160-F4600 ALTIMA 90-02
40160-47011 ALMERA N16 99-
SENTRA 00-
BJ-2730 40160-31U00 LOWER R/L  |CEFIRO(MAXIMA) A32 94-98
40160-41U00 BALL JOINT ONLY
For 54500-41U00/54501-41U00
BJ-2740 40160-EDOOA LOWER R/L |TIIDA C11 04-
40160-EL00O VERSA 07-
40160-EE500 GRAND LIVINA L10N 07-
40160-EE530 SERENA C25 06-
40160-ENO0O1 SENTRA B16X 07-09
40160-ET000 JUKE F15 10-
40160-1KA0B For ARM
40160-1KA0A 54500-EDO0A/54501-EDOOA
54500-EL000/54501-ELO0O
54500-EE500/54501-EE500
54500-EE530/54501-EE530
54500-EN001/54501-ENO01
54500-ET000/54501-ET000
54500-1KA0A/54501-1KA0A
54500-1KA0B/54501-1KA0B
BJ-3627 54055-HA001 LOWER R/L |VANETTE(2WD) 99-
BJ-B001 40160-4F100 LOWER R/L |[MICRA K11 92-
40160-4F105 MARCH K11
BJ-B003 40160-5C000 LOWER R SERENA C23 94-
BJ-B004 40161-5C000 LOWER L SERENA Cc23 94-
BJ-B005 40160-AX000 LOWER R/L |[MICRA K12E 02-
For ARM

54500-AX000/54501-AX000

50




TIE ROD END

NISSAN
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
TE-2104 48520-CB025  |OUTERR/L |MURANO S, SE, SL 05-07
D8520-CB025  |M14 X 1.5 Z50 05-07
TE-2106 48520-VW025 |OUTERR/L |CARAVAN E25 01-
M20 X 1.5 URVAN E25 01-
TE-2108 48640-EA025 OUTERR FRONTIER SE, ROAD, LE, XE 05-
48610-EA025 OUTER L PATHFINDER XE, SE, LE, SE OFF-ROAD 05-12
M16 X 1.5 XTERRA 05-
TE-2112 48520-W5025  |OUTER R SILVIA,GAZELLE S110#........ FOR/Z18S,Z18E 79-81
48520-H5025 FEMALE RHT |AUSTER,STANZA ALO# AL1# 77-81
M14 X 1.5 VIOLET ALO#,AL1# 77-81
SUNNY B210#,B211#...exc/PB210,GB210,GB211,  |73-77
B210(L16)
LB210.....exc/EUROPE 73-77
B310# 77-81
SUNNY TRUCK B120#,B121#,B122# 75-
TE-2113 48640-W5025  |OUTER L SILVIA,GAZELLE S110#... for/Z18S,Z18E 79-81
48640-H5025 FEMALE LHT |AUSTER,STANZA ALO# AL1# 77-81
M14 X 1.5 VIOLET ALO#,AL1# 77-81
SUNNY B210#,B211#...exc/PB210,GB210,GB211,  |73-77
B210(L16)
LB210...exc/EUROPE 73-77
B310# 77-81
SUNNY TRUCK B120#,B121#,B122# 75-
TE-2116 48521-H1001 INNER R SUNNY B110#.....exc/PB110 70-73
FEMALE LHT |SUNNY TRUCK B120# 71-75
48521-W5025  |M14 X 1.5 SILVIA,GAZELLE S110#....for/z18S,Z18E 79-81
48521-H5025 AUSTER,STANZA ALO# AL1# 77-81
VIOLET ALO#,AL1# 77-81
SUNNY B210#,B211#...exc/PB210,GB210,GB211,  |73-77
B210(L16)
LB210...exc/EUROPE 73-77
B310# 77-81
SUNNY TRUCK B120#,B121#,B122# 75-
TE-2117 48641-H1001 INNER L SUNNY B110#.....exc/PB110 70-73
FEMALE RHT |SUNNY TRUCK B120# 71-75
48641-W5025  |M14 X 1.5 SILVIA,GAZELLE S110#....for/z18S,Z18E 79-81
48641-H5025 AUSTER,STANZA ALO# AL1# 77-81
VIOLET ALO#AL1# 77-81
SUNNY B210#,B211#...exc/PB210,GB210,GB211,  |73-77
B210(L16)
LB210...exc/EUROPE 73-77
B310# 77-81
SUNNY TRUCK B120#,B121#,B122# 75-
TE-2130 48520-01B25 OUTERR/L |MICRA K10 82-92
48520-17B25 FEMALE RHT
M12 X 1.25
TE-2150 48520-35F25 OUTERR/L |SILVIA S13# 88-
48520-4B000 FEMALE RHT |SUNNY(SENTRA) B14 94-
48520-4B025 M12X1.25 200SX W/PS 95-98
48520-50A26 SUNNY B12# 85-
48520-50A25 LAUREL SPIRIT B12# 86-
48520-50A00 PULSAR,LANGLEY N13# 86-
48520-53M25 & LIBERTA VILLA
48520-01E26 BLUEBIRD U11# 83-87
48520-01E25 AUSTER,STANZA T12#T12Y# 85-

48520-01E00

51




48520-02E25
48520-02E26

48520-02E00 SUNNY 2WD B14 94-
48520-50Y25 B15 99-
48520-0M025 SUNNY 4WD B15 98-
48520-D0126 AUSTER,STANZA T11# 81-85
48520-D0125 SUNNY B11# 81-85
48520-D0100 SUNNY 4WD HNB12,FNB12 85-
LAUREL SPIRIT B11# 82-86
LAUREL SPIRIT 4WD FNB12 87-
PULSAR,LANGLEY N12# 82-86
& LIBERTA VILLA
PULSAR,LANGLEY (4WD) |HNN13 86-
& LIBERTA VILLA 4WD HNN13 87-
SUNNY,PULSAR VB11# 82-
& DATSUN AD VAN
48520-73J25 PRIMERA P10, W10 90-96
48520-4B025 SENTRA,200SX WIPS 95-98
48520-Q5601 SENTRA B13 90-94
TE-2180 48640-3U025 OUTER L TIIDA Ci1 04-12
D8640-EWO00A M12 X 1.25 VERSA 07-11
GRAND LIVINA L10N 07-13
TE-2190 48640-JA00A OUTER L ALTIMA L32 07-12
D8640-JA00A M12 X'1.25 MAXIMA 09-
D8640-1AA0A MURANO Z51 08-
D8640-JA80J INFINITI QX70 14-
D8640-1AA1A INFINITI FX35/FX37/FX50 12-13
TE-2206 48520-0M085 OUTERR/L  |MAXIMA J30# 95-98
FEMALE RHT |CEFIRO A32 94-
48520-0C025 M14 X 1.5 A33 99-
48520-15U25 PULSAR/ALMERA N16 99-
48520-15U26 SUNNY NB13 4WD 90-
48520-60Y25 B14...exc/2WD, GA15DE, GA13DE,GA16DE (94-
48520-8J025 LAUREL C34 93-
D8520-15U26 ALTIMA L31 02-06
MAXIMA A34 04-08
48520-71L25 INFINITI 130 96-01
INFINITI I35 02-04
TE-2211 48520-01L25 OUTER R/L  |LAUREL C31# 80-84
MALE LHT SKYLINE R30# 81-85
M14 X 1.5
TE-2220 48520-41L.27 OUTERR/L  |LEOPARD F31# 86-88
48520-411L.26 FEMALE RHT |LAUREL C32# 84-
48520-41L25 M14 X 1.5 SKYLINE R31# 85-
48520-41L00
TE-2250 48520-53E25 OUTER R/L  |BLUEBIRD Ul12# 87-92
FEMALE RHT |STANZA 90-92
M12 X 1.25 AXXESS 90-95
TE-2260 48520-G5225 OUTERR/L  |VANETTE GC22 88-93
FEMALE RHT
M14 X 1.5
TE-2270 48520-0E025 OUTER R/L  |BLUEBIRD uU13 94-97
48520-72E25 FEMALE RHT
48520-2B000 M14 X 1.5
TE-2302 48520-U0100 OUTERR BLUEBIRD P510#,6104#.....exc/G610 68-76
48520-A0600 FEMALE RHT |SILVIA,GAZELLE S10#,S11# 75-79
48520-U5200 M14 X 1.5 VIOLET 710#,711# 73-77
SUNNY PB110,PB210,GB210,GB211 71-77
LB210.....for/fEUROPE 75-77

52




48640-G2525 OUTER L VANETTE C120#,C121#,C122# 78-85
48640-G2500 VANETTE LARGO BHC122,BEC120,WMC120,WEC120 82-86
48520-N8425 OUTER R SILVIA, GAZELLE S110# 81-83
TE-2303 48640-U0100 OUTER L BLUEBIRD P510#,6104#.....exc/G610 68-76
48640-A0600 FEMALE LHT |SILVIA,GAZELLE S10#,S11# 75-79
48640-U5200 M14 X 1.5 VIOLET 710#,711# 73-77
SUNNY PB110,PB210,GB210,GB211 71-77
LB210.....for/fEUROPE 75-77
48520-G2525 OUTER R VANETTE C120#,C121#,C122# 78-85
48520-G2500 VANETTE LARGO BHC122,BEC120,WMC120,WEC120 82-86
48640-N8425 OUTERL SILVIA, GAZELLE S110# 81-83
TE-2306 48521-U0100 INNER R BLUEBIRD P510#,6104#.....exc/G610 68-76
48521-A0600 FEMALE LHT |SILVIA,GAZELLE S10#,S11# 75-79
48521-U5200 M14 X 1.5 VIOLET 710#,711# 73-77
SUNNY PB110,PB210,GB210,GB211 71-77
LB210.....for/fEUROPE 75-77
48641-G2525 INNER L VANETTE C120#,C121#,C122# 78-85
VANETTE LARGO BHC122,BEC120,WMC120,WEC120 82-82
48521-N8425 INNER R SILVIA, GAZELLE S110# 81-83
TE-2307 48641-U0100 INNER L BLUEBIRD P510#,6104#.....exc/G610 68-76
48641-A0600 FEMALE RHT |SILVIA,GAZELLE S10#,S11# 75-79
48641-U5200 M14 X 1.5 VIOLET 710#,711# 73-77
SUNNY PB110,PB210,GB210,GB211 71-77
LB210.....for/fEUROPE 75-77
48521-G2525 INNER R VANETTE C120#,C121#,C122# 78-85
VANETTE LARGO BHC122,BEC120,WMC120,WEC120 82-86
48641-N8425 INNER L SILVIA, GAZELLE S110# 81-83
TE-2330 48520-88E25 OUTER R/L  |MAXIMA J30# 88-94
48520-88E26 FEMALE RHT
M14 X 1.5
TE-2342 48640-G5125 OUTERL VANETTE C22# 85-94
48640-G5101 FEMALE RHT |VANETTE LARGO GC22# 86-
M14 X 1.5
48520-31C00 OUTERR VANETTE LARGO 4WD NGC22,NGJC22 86-
48520-Y0100 CEDRIC,GLORIA P130,230#,330#,331#,332# 69-79
48520-E0100 DATSUN PICK UP 620# 72-79
48570-B9525
48570-B9500
48570-B5000
TE-2343 48520-G5125 OUTERR VANETTE C22# 85-94
48520-G5101 FEMALE LHT |VANETTE LARGO GC22# 86-
M14 X 1.5
48640-31C00 OUTER L VANETTE LARGO 4WD NGC22,NGJC22 86-
48521-Y0100 CEDRIC,GLORIA P130,230#,330#,331#,332# 69-79
48521-E0100 DATSUN PICK UP 620# 72-79
48580-B9525
48580-B5000
TE-2346 48641-G5125 INNER L VANETTE C22# 85-94
48641-G5101 FEMALE LHT |VANETTE LARGO GC22# 86-
M14 X 1.5
TE-2347 48521-G5125 INNER R VANETTE C22# 85-94
48521-G5101 FEMALE RHT |VANETTE LARGO GC22# 86-
M14 X 1.5
TE-2401 48520-01G25 OUTER R/L  |DATSUN PICK UP D21#...for/AD21,CD21,DD21,GD21,FD21 85-
48520-01W00 MALE LHT 720# 79-85
48520-41W00 M18 X 1.5 DATSUN PICK UP 4WD 720# 80-83
TE-2405 48521-01W00 INNER R/L DATSUN PICK UP 720# 79-85
MALE RHT
M18 X 1.5
TE-2431 48520-31G25 OUTER R/L  |DATSUN PICK UP 4WD D21#...for/MD21,YD21 85-92

53




48520-7F000 MALE RHT TERRANO/TERRANO é wbD21,vD21 86-93
M16 X 1.5
TE-2435 48570-31G25 INNER R/L DATSUN PICK UP 4WD D21#...for/MD21,YD21 85-92
48520-7F001 MALE LHT TERRANO/TERRANO é wD21,vD21 86-93
M16 X 1.5
TE-2445 48521-01G25 INNER R/L DATSUN PICK UP D21#...for/AD21,CD21,DD21,GD21,FD21 85-
MALE RHT
M18 X 1.5
TE-2451 48520-61G25 OUTER R/L  |DATSUN PICK UP 4WD MD21.YD21 92-97
MALE RHT TERRANO wD21.vD21
M16 X 1.5 PATHFINDER 93-95
TE-2455 48570-61G25 INNER R/L DATSUN PICK UP 4WD MD21.YD21 92-97
MALE LHT TERRANO wD21.vD21
M16 X 1.5 PATHFINDER 93-95
TE-2461 48520-25485 INNER PICK UP 2WD D22 97-
D8520-VK91A MALE RHT FRONTIER D22 4X2 98-00
M18 X 1.5
TE-2465 48521-25485 INNER PICK UP 2WD D22 97-
D8521-VK91A MALE RHT FRONTIER D22 4X2 98-00
M18 X 1.5
TE-2540 48520-10V25 OUTER R/L  |CEDRIC GLORIA Y31#...for/VG20,VG30,RD28..exc/R4 87-
48520-45V25 FEMALE RHT |INFINITI M30 90-92
M14 X 1.5
TE-2551 48520-18V25 OUTER R/L  |CEDRIC GLORIA Y31#...for/CA20,RB20P.RD28..R4 87-
48640-18V25 MALE LHT
M16 X 1.5
TE-2556 48521-18V25 INNER R CEDRIC GLORIA Y31#...for/CA20,RB20P.RD28..R4 87-
MALE RHT
M16 X 1.5
TE-2557 48641-18V25 INNER L CEDRIC GLORIA Y31#...for/CA20,RB20P.RD28..R4 87-
MALE RHT
M16 X 1.5
TE-2600 D8520-1HAOA OUTER L MARCH K11 09-
48640-1HAOA M12 X 1.5
TE-2711 48520-J0126 OUTER R/L  |JUNIOR 140#,N140#,N141# 76-84
MALE LHT
M20 X 1.5
TE-2712 48521-J0126 INNER R/L JUNIOR 140#,N140#,N141# 76-84
MALE RHT
M20 X 1.5
TE-2721 48570-J5100 R ATLAS H40#....for/2t,3t 81-
48570-82100 MALE RHT CONDOR H40#....for/2t,3t 81-
M22 X1.5 CABALL C240#,C340#,C341# 69-81
CLIPPER T660,T40#,C340#,C341# 70-81
BISON C340#,C341# 76-81
L SAFARI 160#,161#.......... LHD 80-87
TE-2722 48580-J5100 L ATLAS H40#....for/2t,3t 81-
48580-82100 MALE LHT CONDOR H40#....for/2t,3t 81-
M22 X 1.5 CABALL C240#,C340#,C341# 69-81
CLIPPER T660,T40#,C340#,C341# 70-81
BISON C340#,C341# 76-81
R SAFARI 160#,161#.......... RHD 80-87
TE-2741 48520-01N25 OUTER R CARAVAN, HOMY E24# 86-88
48641-01N25 INNER L
FEMALE LHT
M16 X 1.5
TE-2742 48640-01N25 OUTERL CARAVAN, HOMY E24# 86-88
48521-01N25 INNER R
FEMALE RHT
M16 X 1.5

54




TE-2750 48520-27N25 OUTER R/L  |CARAVAN, HOMY E24# 88-
48520-VHO025 FEMALE RHT |URVAN VE24......for/P.S. 97-01
M14 X 1.5
TE-2760 48520-3S525 OUTER PICK UP 4WD D22 98-
48520-0W025 FEMALE RHT |TERRANO R50 95-
48520-0P725 M14 X 1.5 INFINITI J30 93-97
48520-0P726 INFINITI Q45 04-06
D8520-0P725 X-TRAIL T30 00-
D8520-VK90A PATHFINDER R50 04-
FRONTIER 01-04
CEDRIC Y32 91-93
AVENIR Wil 99-00
FRONTIER D22 4X4 01-04
TE-2770 48570-35525 OUTER PICK UP 4WD D22 97-
D8570-VK90A FEMALE LHT |FRONTIER D22 4X4 00-04
M14 X 1.5
TE-2780 48520-VB025 OUTER R SAFARI Y61 97-13
M20 X 1.5
TE-2790 48570-VB025 OUTER L SAFARI Y61 97-13
M20 X 1.5
TE-2800 48520-3U025 OUTER R TIIDA Ci11 04-12
D8520-EWO00A M12 X 1.25 VERSA S, SL 07-11
GRAND LIVINA L10N 07-13
TE-2810 48520-JA00A OUTERR ALTIMA L32 07-12
D8520-JA00A M12 X 1.25 MAXIMA 09-
D8520-1AA0A MURANO Z51 08-
D8520-JA80J INFINITI QX70 14-
D8520-1AA1A INFINITI FX35/FX37/FX50 12-13
TE-2820 48520-4F125 OUTER R/L  |MICRA K11 92-97
48520-6F625 FEMALE RHT |MARCH
M12 X 1.25
TE-3703 48520-HA000 OUTER R/L  |VANETTE 2WD S21 99-
M14 X 1.5 BONGO 2WD (MAZDA) 99-
TE-B001 48561-T3025 R ATLAS F22#...for/1t,1.5t 82-
48561-T3001 MALE LHT HOMER,CABSTAR F20#,F21# 76-81
M20 X 1.5 CARAVAN,HOMY F20#,F21#,E22#,E23# 75-86
TE-B002 48571-T3025 L ATLAS F22#...for/1t,1.5t 82-
48571-T3001 MALE RHT HOMER,CABSTAR F20#,F21# 76-81
M20 X 1.5 CARAVAN,HOMY E20#,E21#,E22#,E23# 75-86
TE-B003 48520-2B025 OUTER R/L  |ALTIMA L30 98-01
48520-2B003 FEMALE RHT
48520-47025 M12 X 1.25
48520-BM425
TE-B00O7 48640-7S025 OUTER R ARMADA SE, LE, SE OFF-ROAD 04-
M16 X 1.5 TITAN SE, LE, XE 04-
OUTERL INFINITI QX56 04-10
TE-B008 48520-7S025 OUTER L ARMADA SE, LE, SE OFF-ROAD 04-
M16 X 1.5 TITAN SE, LE, XE 04-
OUTERR INFINITI QX56 04-10
TE-B009 48520-EA025 OUTER L FRONTIER SE, ROAD, LE, XE 05-
OUTERR PATHFINDER XE, SE, LE, SE OFF-ROAD 05-12
M16 X 1.5 XTERRA 05-
TE-BO11 48520-CK025 OUTER R/IL  |QUEST S, SE, SL 04-09
M16 X 1.5
TE-BO13 48520-9Y025 OUTERR TEANA J31 03-08
D8520-9Y025 M14 X 1.5
TE-B014 48640-9Y025 OUTER L TEANA J31 03-08
D8640-9Y025 M14 X 1.5
TE-BO15 48640-CG085 OUTERR INFINITI FX35 , FX45 03-06

55




D8F40-CG80A [M14 X 1.5 07-08
TE-BO16 48520-CG025  |OUTER L INFINITI FX35 , FX45 03-06
D8E20-CG80A  [M14 X 1.5 07-08
TE-BO17 48520-AX602  |OUTER R MICRA K12E 04-07
M14 X 1.5
TE-BO18 48640-AX602  |OUTER L MICRA K12E 04-07
M14 X 1.5
TE-B0O19 D8520-ETO0A  |OUTERR SENTRA 07-12
48520-ETO0A  |[M12 X 1.25
TE-B020 D8640-ETO0A  |OUTERL SENTRA 07-12
48640-ETO0A  |[M12 X 1.25
TE-B021 48520-AX600  |OUTER R MICRA K12E 02-04
M14 X 1.5
TE-B022 48640-AX600  |OUTER L MICRA K12E 02-04
M14 X 1.5
TE-B023 48527-JD01A  |OUTERR QASHQAI J10E 07-
D8E20-JGOOA  [M14 X 1.5 X-TRAIL T31 07-
D8520-JGO0A
D8520-JY00A ROGUE S35 08-13
TE-B024 48647-JD01IA  |OUTER L QASHQAI J10E 07-
D8F40-JGOOA  [M14 X 1.5 X-TRAIL T31 07-
D8640-JGO0A
D8640-JY00A ROGUE S35 08-13
TE-B025 D8520-ENOOA  |OUTERR SERENA C25 06-
M14 X 1.5
TE-B026 D8640-ENOOA  |OUTER L SERENA C25 06-
M14 X 1.5
TE-B027 48520-HA200  |OUTERR/L |VANETTE 4WD s21 99-
M14 X 1.5
S475-32-280 M14 X 1.5 BONGO SK82v 07-
TE-B029 D8640-EB70A  |OUTERR NAVARA D40T 07-
M14 X 1.5 FRONTIER 07-
TE-B030 D8520-EB70A  |OUTERL NAVARA D40T 07-
M14 X 1.5 FRONTIER 07-

56




RACK END

NISSAN
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
RE-2100 48521-70A00 R/L BLUEBIRD U11#...exc/SSSE,SSSES,WOGAN/LH 83-87
48521-D0100 M16 X 1.0 ul12# 87-
48521-70A06 M12 X'1.25 AUSTER,STANZA T11#,T12#,T12Y# 81-
48521-35F00 SUNNY B11#...exc/P.S. 81-85
B12...exc/S.ARABIA,GULF 85-
SUNNY 4WD HNB12,FNB12 85-
LAUREL SPIRIT B11#...exc/P.S. 82-86
B12# 86-
LAUREL SPIRIT 4WD FNB12 87-
PULSAR N12# 82-86
N13#...for/P.S. 86-
PULSAR 4WD HNN13 86-
LANGLEY N12# 82-86
& LIBERTA VILLA N13#...for/P.S. 86-
LANGLEY 4WD HNN13 87-
& LIBERTA VILLA 4WD
PRAIRIE M10# 82-
SUNNY,PULSAR VB11# 82-
& DATSUN AD VAN
RE-2101 48521-3U025 R/L TIIDA Ci11 04-12
M14 X 1.5 VERSA S, SL 07-11
M12 X 1.25 GRAND LIVINA L10N 07-13
CUBE USA 09-
RE-2102 48521-4B000 R/L 200SX 95-98
48521-47001 M14 X 1.5 SENTRA B14X..... for P.S. 95-99
M12 X 1.25 B15U 00-05
RE-2104 48521-9E000 R/L ALTIMA L30 98-01
M14 X 1.5
M12 X'1.25
RE-2105 48521-EA000 R/L PATHFINDER SE,LE,XE 05-12
M20 X 1.0 FRONTIER SE,LE,XE, D40 05-
M16 X 1.5 XTERRA 05-
RE-2106 48521-4N100 R/L SERENA C24 99-05
48521-4N186 M16 X 1.0 00-
M14 X 1.5
RE-2110 48521-P9001 R/L LEOPARD F30#,F31# 80-
48521-W1001 M16 X 1.0 FAIRLADY-Z S130#....for/P.S. 81-83
48521-W1000 M14 X 1.5 Z31# 83-
48521-01F00 LAUREL C32# 84-
48521-01F06 SKYLINE R31# 85-
BLUEBIRD 910...exc/PJ910P(Z18P) 79-83
SILVIA,GAZELLE S12# 83-
RE-2140 48521-35A00 R/L SUNNY B11#...for/P.S. 83-85
48521-35A06 M14 X 1.5 B12#...for/S.ARABIA,GULF 85-
48521-35A26 M12 X 1.25 LAUREL SPIRIT B11#...for/P.S. 82-86
PULSAR,LANGLEY N13#...exc/P.S. 86-
& LIBERTA VILLA
RE-2150 48521-72E00 R/L CEFIRO A31# 88-94
48521-72E06 M16 X 1.0 MAXIMA J30# 88-91
48521-72E08 M14 X 1.5 LAUREL C33# 88-93
48521-71L00 SKYLINE RE32# 89-93
48521-06R05 PRIMERA P10# 90-96
48521-06R06 BLUEBIRD 4WD RNU12 87-
48521-71V06 PRAIRIE 4WD NM11 88-
48521-71V08 JN1E,IN1H 92-94
48521-G5200 VANETTE GC22 88-93

57




VANETTE COACH, VAN C22 88-91
RE-2170 48521-17B00 R/L (FEMALE) [MICRA K10 85-92
48521-17B25 M18 X 1.0 MARCH 82-91
48521-01B25 M12 X'1.25
RE-2180 48521-50Y00 R/L SUNNY B13# 90-
48521-50Y25 M16 X 1.0
48521-50Y26 M12 X 1.25 ALEMERA for MANUAL N15(GA14DE,GA16DE,SR20DE,CD20) 95-
48521-50Y27 SENTRA for MANUAL W/O CLIP 98-99
48521-Y02G0 TSURU &
RE-2190 48521-1M255 R/L ALMERA POWER N15(GA14DE,GA16DE,SR20DE,CD20) 95-00
48521-1M256 M16 X 1.0 PULSAR N15 95-99
48521-1M210 M12 X'1.25 SUNNY/SENTRA B14 94-99
48521-1M225
48521-1M226
RE-2290 48521-Q5601 R/L SENTRA B13# 90-94
48521-Q5200 M16 X 1.5
M12 X 1.25
RE-2300 48521-8H300 R/L X-TRAIL T30 00-07
M16 X 1.0
M14 X 1.5
RE-2500 48521-10V00 R/L CEDRIC GLORIA Y31#..VG20,VG30,RD28..exc/R4 87-
48521-10V06 M16 X 1.0
48521-61V06 M14 X 1.5
48521-10V08 300ZX 90-96
INFINITI M30 90-92
RE-2510 48521-4M500 R/L PULSAR N16 99-11
48521-4M527 M16 X 1.0 ALMERA 00-01
48521-4M528 M14 X 1.5
48521-4M587
48521-4M588
RE-2513 48521-0C005 R/L CEFIRO A32 94-98
48521-0C025 M16 X 1.0 MAXIMA 95-99
48521-40D25 M14 X 1.5
48521-40U25
48521-40U01
RE-2514 48521-0W025 R/L TERRANO R50 95-02
M20 X 1.5 PATHFINDER 96-04
M14 X 1.5 INFINITI QX4 97-03
RE-2520 48521-2Y405 R/L CEFIRO A33 99-02
48521-2Y085 M16 X 1.0 MAXIMA 99-02
48521-2Y025 M14 X 1.5
48521-5Y085
48521-5Y025
RE-2530 48521-7Y000 R/L ALTIMA L31 02-06
48521-8J000 M16 X 1.0 MAXIMA A34 04-08
M14 X 1.5
RE-2540 48521-JA00A R/L ALTIMA L32 07-12
M16 X 1.0
M14 X 1.5
RE-2600 D8521-1HJ0A R/L MARCH K13T 10-
M14 X 1.5 ALMERA 12-
M12 X 1.25
RE-2710 48521-27N00 R/L CARAVAN E24 88-93
48521-27N25 M16 X 1.0 VE24, WE24 93-01
M14 X 1.5
RE-B001 48521-4M485 R/L SUNNY B15.....for/1,500cc 98-04
48521-4M425 M16 X 1.0 SUNNY 4WD B15 98-04
48521-4M426 M12 X 1.25
48521-4M401
48521-6M085 SUNNY B15.....for/1,600cc 98-04

58




48521-6M086
48521-6M025
48521-6M026
RE-B003 48521-0P701 R/L INFINITI J30 92-97
48521-79T00 M16 X 1.0 300ZX 90-96
M14 X 1.5
RE-B005 48521-7J100 R/L BLUE BIRD u13 91-97
48521-7J125 M16 X 1.0 INFINITI G20 99-02
48521-0E000 N14 X 1.5 LAUREL C34 93-97
RE-B007 48521-9Y025 R/L TEANA J31 03-08
M16 X 1.0
M14 X 1.5
RE-B009 48521-7S000 R/L ARMADA SE, LE, SE OFF-ROAD 05-
M20 X 1.0 TITAN SE, LE, XE 04-
M16 X 1.5 INFINITI QX56 JAG0 04-10
RE-BO11 48521-CK000 R/L QUEST V42 04-09
M16 X 1.0
M16 X 1.5
RE-B013 48521-ETO0A R/L SENTRA B16X 07-12
M14 X 1.5
M12 X 1.5
RE-BO15 D8521-JD00B R/L ROGUE S35 08-13
D8521-JGO0A M22 X 1.5 X-TRAIL T31N 09-
M14 X 1.5 T31 07-08
RE-BO17 D8E21-1AA0A R/L MURANO Z51 08-
D8521-1AA0A M16 X 1.0
M14 X 1.5
RE-B019 48521-HA002 R VANETTE(2WD) S21 99-
M18 X 1.5
M14 X 1.5
S47P-32-250 M18 X 1.5 BONGO(2WD) SK22L 99-
M14 X 1.5
RE-B020 48521-HA001 L VANETTE(2WD) S21 99-
M18 X 1.5
M14 X 1.5
S47P-32-240A M18 X 1.5 BONGO(2WD) SK22L 99-
M14 X 1.5
RE-B021 48521-HA003 R VANETTE(4WD) S21 99-
M18 X 1.5
M14 X 1.5
S47S-32-250 M18 X 1.5 BONGO 4WD SK22T 02-
M14 X 1.5 SK82v 07-
RE-B022 48521-HA201 L VANETTE(4WD) S21 99-
M18 X 1.5
M14 X 1.5
S47S-32-240A M18 X 1.5 BONGO 4WD SK22T 02-
M14 X 1.5 SK82v 07-
RE-B023 48521-CB025 R/L MURANO S, SE, SL 05-07
48521-CB026 M16 X 1.0 Z50 04-07
48521-CB027 M14 X 1.5

59




CONTROL ARM

NISSAN
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CA-2220 54500-4F105 LOWERR MARCH K11 92-02
CA-2221 54501-4F105 LOWER L MARCH K11 92-02
CA-2225 54499-U0102 LOWERR BLUEBIRD 510 67-72
CA-2226 54500-U0102 LOWER L BLUEBIRD 510 67-72
CA-2230 54524-2F000 UPPER R PRIMERA UK P11E 96-98
CA-2231 54525-2F000 UPPER L PRIMERA UK P11E 96-98
CA-2232 54524-90J21 UPPER R PRIMERA HB P10E 91-96
CA-2233 54525-90J21 UPPER L PRIMERA HB P10E 91-96
CA-2241 54500-65A00 LOWERR SUNNY B12 86-90
54500-50A00 SENTRA 86-90
PULSAR NX N13 86-90
CA-2242 54501-65A00 LOWER L SUNNY B12 86-90
54501-50A00 SENTRA 86-90
PULSAR NX N13 86-90
CA-2251 54500-52Y70 LOWERR SENTRA B13 90-94
54500-52Y60 NX COUPE B13 90-93
54500-52Y15 SUNNY WAGON Y10X 90-00
54500-52Y10 AD WAGON Y10 90-99
54500-50Y10 PULSAR N14 90-95
54500-69Y10
CA-2252 54501-52Y70 LOWER L SENTRA B13 90-94
54501-52Y60 NX COUPE B13 90-93
54501-52U15 SUNNY WAGON Y10X 90-00
54501-52Y10 AD WAGON Y10 90-99
54501-50Y10 PULSAR N14 90-95
54501-69Y10
CA-2261 54500-0M060 LOWERR SENTRA N15 95-00
54500-0M020 SUNNY B14 94-99
54500-0M010 ALMERA R11 95-00
CA-2262 54501-0M060 LOWER L SENTRA N15 95-00
54501-0M020 SUNNY B14 94-99
54501-0M010 ALMERA R11 95-00
CA-2280 54500-2F500 LOWERR PRIMERA P11 96-02
CA-2281 54501-2F500 LOWER L PRIMERA P11 96-02
CA-2290 54500-90J10 LOWERR PRIMERA HB P10E 91-96
CA-2291 54501-90J10 LOWER L PRIMERA HB P10E 91-96
CA-2311 54499-09S60 LOWERR SKYLINE R30 81-90
54499-01L00 LAUREL C31 80-84
54499-07S00
54499-26L00
CA-2312 54500-09S60 LOWER L SKYLINE R30 81-90
54500-01L00 LAUREL C31 80-84
54500-07S00
54500-26L00
CA-2321 54500-67L00 LOWERR LAUREL C32 84-93
CA-2322 54501-67L00 LOWER L LAUREL C32 84-93
CA-2331 54500-52F00 LOWERR CEFIRO (MAXIMA) A3l 88-94
54500-35F11 LAUREL C33 88-92
SILVIA S13 88-93
180SX RS13 89-98
CA-2332 54501-52F00 LOWER L CEFIRO (MAXIMA) A3l 88-94
54501-35F11 LAUREL C33 88-92
SILVIA S13 88-93
180SX RS13 89-98
CA-2333 54500-41U00 LOWERR CEFIRO (MAXIMA) A32 95-99
54500-41U01 INFINITI 130 96-99

60




54500-41U02

54500-39U10 CEFIRO WAGON WA32 95-99
54500-39U11
CA-2334 54501-41U00 LOWER L CEFIRO (MAXIMA) A32 95-99
54501-39U10 INFINITI 130 96-99
54501-41U01
54501-41U02 CEFIRO WAGON WA32 95-99
54501-39U11
CA-2335 54500-2Y411 LOWERR MAXIMA CA33 98-03
54500-2Y412 INFINITI 130 00-01
54500-5Y720 INFINITI I35 02-04
CA-2336 54501-2Y411 LOWER L MAXIMA CA33 98-03
54501-2Y412 INFINITI 130 00-01
54501-5Y720 INFINITI I35 02-04
CA-2337 54500-0W001 LOWERR TERRANO R50 95-02
54500-0W000 ELGRAND E50 97-02
CA-2338 54501-0W001 LOWER L TERRANO R50 95-02
54501-0W000 ELGRAND E50 97-02
CA-2341 54500-4M400 LOWERR SENTRA B15 98-06
54500-4M410 SUNNY B15 98-06
54500-4M411 AD WAGON Y11 99-08
54500-4M401 BLUEBIRD SYLPHY G10 00-05
54500-95F0A ALMERA G10 00-05
CA-2342 54501-4M400 LOWER L SENTRA B15 98-06
54501-4M410 SUNNY B15 98-06
54501-4M411 AD WAGON Y11 99-08
54501-4M401 BLUEBIRD SYLPHY G10 00-05
54501-95F0A ALMERA G10 00-05
CA-2343 54500-EW000 LOWERR TIIDA Ci11 04-12
54500-EDOOA
54500-EL500
CA-2344 54501-EW000 LOWER L TIIDA Ci1 04-12
54501-EDOOA
54501-EL500
CA-2345 54500-VW000 LOWERR CARAVAN E25 01-12
CA-2346 54501-VW000 LOWER L CARAVAN E25 01-12
CA-2351 54500-1HAOC LOWERR MICRA K13 10-
54500-1HASA
54500-1HASD
54500-1HAGA
54500-1HKOB
54500-1HMOB
CA-2352 54501-1HAOC LOWER L MICRA K13 10-
54501-1HASA
54501-1HASD
54501-1HAGA
54501-1HKOB
54501-1HMOB
CA-2401 54502-01G00 LOWERR DATSUN PICK UP 2WD D21 85-97
54502-01G25 D22 97-02
54502-01G50
54502-01G90
54502-2S400
54502-25485
54502-55G90
54502-92G90
CA-2402 54503-01G00 LOWER L DATSUN PICK UP 2WD D21 85-97
54503-01G25 D22 97-02

54503-01G50
54503-01G90

61




54503-2S400
54503-25485
54503-55G90
54503-92G90

CA-2405 54524-VW100 UPPER R CARAVAN E25 01-12
CA-2406 54525-VW100 UPPER L CARAVAN E25 01-12
CA-2411 54532-01W00 UPPER L DATSUN PICK UP 2WD 720 79-85
54532-25W00
CA-2412 54533-01W00 UPPER R DATSUN PICK UP 2WD 720 79-85
54533-25W00
CA-2428 54526-01G00 UPPER R DATSUN PICK UP 2WD D21 85-97
54526-92G00
CA-2429 54527-01G00 UPPER L DATSUN PICK UP 2WD D21 85-97
54527-92G00
CA-2430 54500-18V01 LOWERR CEDRIC Y31 87-14
GLORIA SY31
CA-2431 54501-18V01 LOWER L CEDRIC Y31 87-14
GLORIA SY31
CA-2432 E4524-25486 UPPER R DATSUN PICK UP 2WD D22 97-02
54524-25486
54524-25485
54524-25400
CA-2433 E4525-25486 UPPER L DATSUN PICK UP 2WD D22 97-02
54525-25486
54525-25485
54525-25400
CA-2434 54500-CC40A LOWERR MURANO Z50 02-08
54500-CC40B
54500-CA010
CA-2435 54501-CC40A LOWER L MURANO Z50 02-08
54501-CC408B
54501-CA010
CA-2436 54524-EB70D UPPER R NAVARA D40T 05-13
CA-2437 54525-EB70D UPPER L NAVARA D40T 05-13
CA-2438 54524-VX100 UPPER R URVAN E25 01-12
CA-2439 54525-VX100 UPPER L URVAN E25 01-12

62




SIDE ROD

NISSAN
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
SR-2201 48510-R8025 R ATLAS F224#...1t,1.5t 82-92
48510-R8000 F23#...1t,1.5t 92-
48510-T3065 HOMER,CABSTAR F20#,F21# 78-81
48510-T3060 CARAVAN,HOMY E21#,E22#,E23# 78-86
48510-T3026
48510-2T025
SR-2202 48520-R8025 L ATLAS F224#...1t,1.5t 82-92
48520-R8000 F23#...1t,1.5t 92-
48520-T3065 HOMER CABSTAR F20#,F21# 78-81
48520-T3060 CARAVAN,HOMY E21#,E22#,E23# 78-86
48520-T3026
48630-2T025
SR-2280 48510-3S525 R/L DATSUN PICK UP D22...for/AWD 97-02
D8510-VK90A FRONTIER 00-04
XTERRA 00-04
SR-2401 48510-B9525 R DATSUN PICK UP 520#,521#,620# 65-79
48510-B9500
48510-B5000
48510-20500
SR-2402 48630-B9525 L DATSUN PICK UP 520#,521#,620# 65-79
48630-B5000
48630-20500
SR-2411 48510-01W00 R/L DATSUN PICK UP 720# 79-85
48630-01W00
SR-2440 48510-31G25 R/L DATSUN PICK UP 4WD D21#...for/MD21,YD21 85-
48510-7F000 TERRANO I R20 KA24E,TD27T 93-
48630-31G25 TERRANO wbD21,vD21 86-
IDLER ARM
NISSAN
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
IA-2432 48530-03W07 LHD DATSUN PICK UP 720# 79-83
48530-03W06
48530-03W05
IA-2462 48530-01G25 LHD DATSUN PICK UP D21#...for/AD21,CD21,DD21,GD21,FD21 85
48530-01G00 FD21
IA-2472 48530-09W10 LHD DATSUN PICK-UP 720# 83-85
PICKUP 720 BASE/ST 80-86
IA-2481 48530-35G25 RHD DATSUN PICK UP 4WD D21#...for/MD21,YD21 85-
TERRANO wbD21,vD21 86-
IA-2482 48530-31G25 LHD DATSUN PICK UP 4WD D21#...for/MD21,YD21 85-97
TERRANO wD21,vD21 86-
PATHFINDER 87-95
IA-2483 48530-35185 LHD DATSUN PICK-UP 2WD D22 97-
CROSS ROD/CENTER LINK
NISSAN
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
DR-2430 48560-J0126 RHD/LHD JUNIOR 140#,N140#,N141# 76-84

63




STABILIZER LINK

NISSAN
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
SB-2300 54618-50Y00 FRONT PULSAR ALMERA N14# N15#(GA14DE,GA16DE,SR20DE,CD20(92-
54618-D5000 M10 X 1.25 SUNNY B13# 90-
54618-D5010 MAXIMA 89-94
54618-4M400 SUNNY 2WD,4WD B15 98-
54618-0B000 ALTIMA 98-01
54618-47000 SENTRA 91-99
ALMERA N16 99-
SB-2310 54618-0E000 FRONT CEFIRO(MAXIMA) A32 94-98
M10 X 1.25
SB-2311 54618-2Y000 FRONT R ALTIMA A33 99-
M10 X 1.25 CEFIRO 99-
MAXIMA 99-03
54618-33P00 300ZX 89-96
INFINITI 130 00-01
INFINITI I35 02-04
SB-2313 54668-2Y000 FRONT L ALTIMA A33 99-
M10 X 1.25 CEFIRO 99-
MAXIMA 99-03
54668-33P00 300ZX 89-96
INFINITI 130 00-01
INFINITI I35 02-04
SB-2318 54668-8J000 FRONT R ALTIMA 02-06
54668-CN011 M12 X 1.25 TEANA 06-
MAXIMA 04-08
SB-2319 54668-CA000 FRONT L MURANO Z50 04-
M12 X 1.25
SB-2320 54618-58Y10 REAR SUNNY B14 90-
54618-58Y20 M10 X 1.25 PREMERA P11 95-
54618-58Y21 BLUEBIRD ul14 96-
54618-58Y60 PREMERA WEGON WP11 95-
PULSAR N14 90-
PRESEA R10 90-
SENTRA 91-94
SB-2321 54618-4N001 FRONT R SERENA C24 99-05
M12 X 1.25
SB-2322 54668-4N001 FRONT L SERENA C24 99-05
M12 X 1.25
SB-2330 56260-60Y60 REAR R/L SUNNY B15 98-04
56260-60Y20 M10 X 1.25 BLUEBIRD ul14 96-01
SB-2340 56261-4F701 FRONT MARCH, MICRA K11 92.7-
56261-4F702 M10 X 1.25
56261-4F710 ALTIMA 93-97
56261-4F725 CEFIRO A32 94-98
56261-0E000 MAXIMA 95-98
56261-0Z800 ALTIMA 98-01
SB-2350 56261-90J01 REAR PRIMERA FP10 91-
56261-50J00 M10 X 1.25 P10# 90-
56261-86J00
56261-86J25
SB-2370 56260-0W001 REAR TERRANO R50 96-
56260-41G11 M10 X 1.25 95-96
PATHFINDER 96-98
SB-2390 54618-0W001 FRONT TERRANO R50 95-01
54618-0W000 M12 X 1.25 INFINITY TRUCK QX4 97-02
54618-3W400 PATHFINDER R51 96-04
SB-2391 54618-8J000 FRONT L ALTIMA 02-06

64




54618-CNO11  |[M12X1.25 |TEANA 06-
MAXIMA 04-08
SB-2392 54618-CA000  |FROTNR MURANO 750 04-
M12 X 1.25
SB-2400 54618-9UC0A  |FRONT RIL |VERSA 07-
54618-JX00A M10 X 1.25  |CUBE 712 09-
54618-1FE0A LATIO N17T 12-
SB-B001 56260-01J10 REAR SAFARI, PATROL Y60# 87-
54618-57C21 FRONT PULSA N14 90-
54618-50J60 M10 X 1.25 |PREMERA P10,W10, FP10 91-96
54618-50J10
54618-50J11
54618-50J20
54618-86J25
54618-90J10
54618-90J11
SB-B003 54618-VBO00  |FRONT RIL |SAFARI 97-07
M12 X 1.25
SB-B005 54618-8H300 FRONT R X-TRAIL T30 00-07
M12 X 1.25
SB-B006 54668-8H300 FRONT L X-TRAIL T30 00-07
M12 X 1.25
SB-B007 54618-9W200  |REAR R TEANA 03-08
M12 X 1.25
SB-B008 54668-9W200  |REAR L TEANA 03-08
M12 X 1.25
SB-B009 54618-CA010  |REARR MURANO 131 03-07
M10 X 1.25  [TEANA 03-
SB-BO11 54618-7S000 FRONTR/L |ARMADA 05-
M12 X 1.25  [TITAN 04-
INFINITI QX56 04-10
SB-B013 56261-7S010 FRONT R XTERRA N50 05-
54618-EB71A  [M12X1.25 |FRONTIER 05-
54618-EA000 NAVARA D40T 07-
54618-EA010 PATHFINDER R51 05-
SB-B014 56261-7S000 FRONT L XTERRA N50 05-
54668-EB71A  [M12X1.25 |FRONTIER 05-
54668-EA000 NAVARA D40T 07-
54668-EA010 PATHFINDER R51 05-
SB-B015 56261-EA000  |REARR/L  |XTERRA N50 05-
M10X 1.25 |[FRONTIER 05-
SB-B017 56261-EA500  |REARR PATHFINDER R51M 05-12
M12 X 1.25
SB-B018 56261-EA510  |REAR L PATHFINDER R51M 05-12
M12 X 1.25
SB-B019 54618-JA000 FRONT R ALTIMA L32 07-13
54618-JD00A  [M12X1.25 |DUARIS J10E
54618-1AA0E QASHQAI
X-TRAIL T31 07-08
ROGUE 08-13
MURANO 11-
SB-B020 54668-JA000 FRONT L ALTIMA L32 07-13
54668-JD00A  [M12X1.25 |DUARIS J10E
54668-1AA0E QASHQAI
X-TRAIL T31 07-08
ROGUE 08-13
MURANO 11-
SB-B021 56261-JA000 REAR R ALTIMA 750 07-13
M10 X 1.25
SB-B023 54618-ETO0A  |FRONTRIL |SENTRA B16X 07-12

65




54618-EN000  [M12X1.25 |SERENA c25 06-
54618-CYO0A JUKE F15 10-
SB-B025 54618-2F010 FRONTR/L |PRIMERA P11E 96-98
M10 X 1.25
SB-B027 54618-AU0O00  |FRONT R PRIMERA P12 01-05
54668-4U000 M10 X 1.25  |ALMERA TINO 00-05
TINO 99-03
SB-B028 54668-AU0O00  |FRONT L PRIMERA P12 01-05
54618-4U000 M10 X 1.25 |ALMERA TINO 00-05
TINO 99-03
SB-B029 54618-1C101 FRONT R SERENA 4WD NC23 91-99
M12 X 1.25  [LARGO 4WD W30 93-99
SB-B030 54668-1C101 FRONT L SERENA 4WD NC23 91-99
M12 X 1.25  [LARGO 4WD W30 93-99
SB-B031 54618-4N010 REARR SERENA C24 99-05
M10 X 1.25
SB-B032 54668-4N010 REAR L SERENA C24 99-05
M10 X 1.25
SB-B033 56261-EQ000  |REARR/L  |X-TRAIL 00-07
M10 X 1.25
SB-B037 54668-CA010  |REAR L MURANO 131 03-07
M10 X 1.25  [TEANA 03-
SB-B039 56261-JA005 REAR L ALTIMA SEDAN 750 07-12
56261-1ADOB  [M10X 1.25 |ALTIMA COUPE 08-13
MURANO 2WD
MAXIMA 09-
SB-B041 56261-1AA0A  |REARR MURANO(AWD) 08-
M10 X 1.25
SB-B042 56261-1AA0B  |REAR L MURANO(AWD) 08-
M10 X 1.25
SB-B043 54618-56S11 FRONT ALTIMA A31 88-
M10 X 1.25  [INFINITI M30 90-92
240SX 89-98

66




CENTER BEARING

NISSAN
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CB-2310 37521-V5225 CEDRIC CA20, Y31, C32 84-87
(CB-2320) 37521-41L.25 STANZA RD28, CA1800 87-
INFINITI M30, 240SX 90-93
LAUREL
37521-Q0125 BLUEBIRD Z18P 76-
37521-W1625 MAXIMA 200SX 82-86
37521-W1025 CEDRIC 430 79-
37521-B0125 GLORIA SD22, 220 79-
37521-W1027 SKYLINE P30 81-
37521-W1085 DATSUN D212WD 85-93
CB-2330 37521-01W25 DATSUN 720 2WD 79-85
37521-01W00
CB-2350 37510-22002 TRUCK Truck Nissan CK20
CB-2360 37510-25002 TRUCK Truck Nissan CK10
CB-2370 37521-06R25 PREIRIE M10 4WD 87-
37521-06R26 PULSAR N14 87-
37521-54C25
CB-2380 37521-33P25 FAIRLADY Z32, 300ZX 89-
CB-2390 37521-40R25 PRAIRIE M11 88-
CB-2400 37521-69800 JUNIOR 1, N140 71-
CABALL C240, C340 76-
CONDOR H40 81-
CB-2410 37521-71L25 LAUREL C33 89-
37521-85L25
37521-85L26
CB-2420 37521-C0400 TRUCK Truck 780, U780L, CK10 69-78
CB-2430 37521-F4025 Datsun D21 (Dana Model) 91-
CB-2440 37521-P0125 SUNNY B110/120/210/310 73-81
37521-P0126 BLUEBIRD 610, 10, 200SX 74-76
37521-Y0125 LAUREL C130L 72-81
37521-Y0126 VIOLET 710, 810 73-81
37521-P0100 CEDRIC 230, 330 71-75
37521-P0110
CB-2470 37521-32G25 DATSUN D21 4WD 85-87
37521-33G25 85-87
37521-36G25 DATSUN BLM, UBL, KLM, KNL, UNL 87-
37521-56G25 DATSUN D21 4WD 90-
37521-57G25 Hard Body
CB-2500 37521-B5000 DATSUN 620, N620, R620

37521-B5001
37521-B9500
37521-B5025

67




BALL JOINT

ISUZU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
BJ-7110 8-94133-798-0 LOWERR/L [GEMINI JT150,JT600.....exc/Turbo 85-89
8-94133-798-1 SPECTRUM/SUNBURST GM 85-89
94133798
BJ-7211 8-94224-550-4 UPPER R/L BIGHORN UBS 81-
8-94224-550-3 PANEL TRUCK UFR 83-87
8-94224-550-2 FARGO WFR 81-
8-94224-550-1 FARGO WFR 81-
8-94224-550-5 FARGO 4WD WES 83-
8-94243-234-0 FASTER KB21,KB22,KB26,KB27 82-
94243234 (CHEVROLET-LUV)
94224550 FASTER 4WD KB41,KB42,KB46,KB47 81-
94472255 (CHEVROLET-LUV)
8-94472-255-0
8-94472-255-2
8-94459-453-3 FASTER TFR,TFS 88-
8-94459-453-2 PANTHER TBR 01-
8-94459-453-4 RODEO 2WD 91-95
8-97940-625-0 RODEO 4WD 91-97
94459453 PASSPORT 2WD 94-95
PASSPORT 4WD 94-95
310,828 OPEL FRONTERA 91-
BJ-7215 8-94452-104-0 LOWERR/L [PANEL TRUCK UFR 83-87
8-94452-104-1
8-94246-475-0 FASTER KB21,KB22,KB26,KB27 82-
8-94246-475-1 (CHEVROLET-LUV)
8-94224-552-1
8-94224-552-2
94224552
94246475
94452104
BJ-7221 8-94374-424-0 UPPER R/L BIG HORN UBS 92-
8-94374-424-1 UBS25
8-94374-424-2 RODEO 2WD 96-04
8-94374-424-4 4WD 98-04
PASSPORT 2WD/4WD 96-02
8-97365-019-0 D-MAX (4X4) 2wWD TFS 03-09
8-98005-826-0 D-MAX TFS85, TFS86 07-
ACURA SLX US ONLY 96-99
BJ-7225 8-94452-107-0 LOWERR/L |BIGHORN UBS 81-
8-94452-107-1
8-94452-106-0 FASTER KB20,KB25 72-81
8-94452-106-1 (CHEVROLET-LUV)
8-94243-236-0
8-94243-236-2
8-94224-551-1 FASTER 4WD KB40,KB41,KB42,KB46,KB47 79-

8-94224-551-2
8-94109-704-1
8-94109-704-2
5-51227-033-0
9-51227-704-0
9-51227-704-1
94020795
94028101
94224551
94243236
94452106

(CHEVROLET-LUV)

68




BJ-7235 8-94452-110-1 [LOWERRI/L |FARGO WFR 81-
8-94452-110-2
8-94226-967-2
94452110

BJ-7255 8-94459-464-2 [LOWERR/L |FASTER TFR,TFS 88-95
8-94459-464-1 PANTHER TBR 01-
8-94459-464-3
8-97940-612-0
94459464

BJ-7260 8-97235-777-0 |UPPERR/L _ |D-MAX (4X2) TFB 02-
8-97365-018-0 03-09

BJ-7265 8-94452-102-0 |LOWERR/L |BIGHORN UBS 86-
8-94452-102-1 TFS 88-
8-94459-465-2 RODEO 2WD 91-04
8-94459-465-1 RODEO 4WD 91-04
94452102 PASSPORT 2WD 94-02
94459465 PASSPORT 4WD 94-02
8-97235-776-0 D-MAX TFB 02-
8-98005-874-0 06-
8-97365-020-0 TROOPER/TROOPER || 87-97
8-98005-875-0

BJ-7306 8-94365-164-0 [LOWERR  |PANTHER TBB 91-

BJ-7307 8-94365-165-0 |LOWERL  |PANTHER TBB 91-

BJ-7310 8-97103-437-0 [LOWERR/L |BIGHORN UBS25 97-

TROOPER 92-02
ACURA SLX US ONLY 96-99

69




TIE ROD END

ISUZU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS

TE-7110 8-94109-041-3 OUTER R/L  |GEMINI JT150,JT600 85-89
8-94109-041-2 FEMALE RHT (I-MARK (FWD) 85-89
8-94109-041-1 M12 X 1.25

TE-7111 9-43150-612-0 R ISUZU BUS BL,BE 73-
9-43150-605-0 MALE RHT ELF TLD,TLG,KS,KT 61-84
9-43150-601-0 M18 X 1.5 ELF ROUTE VAN WHR,WKR 85-
9-43150-053-0
9-43150-038-0

TE-7112 9-43150-613-0 L ISUZU BUS BL,BE 73-
9-43150-606-0 MALE LHT ELF TLD,TLG,KS,KT 61-84
9-43150-602-0 M18 X.15 ELF ROUTE VAN WHR,WKR 85-
9-43150-054-0
9-43150-039-0

TE-7121 5-44352-015-2 R FASTER KB20,KB25 72-81
5-44352-015-0 MALE RHT (CHEVROLET-LUV)
5-44352-015-1 M16 X 1.5
5-44352-011-0
9-44352-639-0
9-44352-070-0
9-44352-602-0
9-44352-629-0
94021476
94025674
94025980

TE-7122 5-44352-016-2 L FASTER KB20,KB25 72-81
5-44352-016-0 MALE LHT (CHEVROLET-LUV)
5-44352-016-1 M16 X 1.5
5-44352-012-0
9-44352-640-0
9-44352-071-0
9-44352-603-0
9-44352-630-0
94021477
94025675
94025981

TE-7130 8-94237-351-1 OUTER R/L  |BIG HORN UBS 81-87
8-94237-351-0 FEMALE RHT |PANEL TRUCK UFR 83-
8-97031-993-0 M14 X 1.5
5-44352-026-0 FASTER KB21,KB22,KB26,KB27 81-
94028225 (CHEVROLET LUV) 81-82
94224701 FASTER 4WD KB40,KB41,KB42,KB46,KB47 79-
94237351 PANTHER TES 00-

TROOPER/TROOPER I 84-86

TE-7141 8-94103-222-2 R ELF NHB,NHN,NHR,NKR,NKN,NKB,NPC 84-
8-94419-608-2 MALE RHT NPN.NPR
94103222 M20 X 1.5
94419608

TE-7142 8-94103-223-2 L ELF NHB,NHN,NHR,HKR,NKN,NKB,NPC 84-
8-94419-609-2 MALE LHT NPN,NPR
94103223 M20 X 1.5
94419609

TE-7151 8-97107-348-0 R ELF NHR, NKR 93-
8-97222-509-0 MALE RHT NPR 99-
8-97142-100-1 M20 X 1.5

8-97039-462-0
8-97107-348-2

70




TE-7152 8-97107-349-0 L ELF NHR, NKR 93-
8-97222-510-0 MALE LHT NPR 99-
8-97142-101-1 M20 X 1.5
8-97039-463-0
8-97107-349-2
TE-7161 8-94459-480-0 R FASTER TFR,TFS 88-
8-94459-480-1 FEMALE RHT |BIGHORN UBS 86-
8-94459-480-2 M14 X 1.5 MU ucs 89-
8-94419-408-0 RODEO 2WD 91-97
8-94419-408-1 RODEO 4WD 91-97
8-97020-953-0 TROOPER LUV 2.3 UBS
8-97020-953-1 PASSPORT 2WD 94-97
8-97940-616-0 PASSPORT 4WD 94-97
8-97956-902-A PANTHER TBR 01-
94419408
94459480
920,373 OPEL FRONTERA 91-
TE-7162 8-94459-481-0 L FASTER TFR,TFS 88-
8-94459-481-1 FEMALE LHT |BIGHORN UBS 86-
8-94459-481-2 M14 X 1.5 MU ucs 89-
8-94419-409-0 RODEO 2WD 91-97
8-94419-409-1 RODEO 4WD 91-97
8-97020-954-0 TROOPER LUV 2.3 UBS
8-97020-954-1 PASSPORT 2WD 94-97
8-97020-954-2 PASSPORT 4WD 94-97
8-97940-617-0 PANTHER TBR 01-
8-97956-903-A
94459481
920,374 OPEL FRONTERA 91-
TE-7401 8-94233-476-1 OUTER R/L  |FARGO WFR 81-
8-94124-586-0 MALE RHT
M16 X 1.5
TE-7405 8-94233-475-1 INNER R/L FARGO WFR 81-
8-94124-585-1 MALE LHT
8-94369-925-0 M16 X 1.5
94233475
TE-7410 8-97304-928-0 OUTER R/L  |D-MAX TFB 02-
8-97304-855-0 M14 X 1.5
TE-P001 1-43150-679-2 R FORWARD FRR,ESR,FDR,FSD,FSR,NRR 90-
MALE RHT
M20 X 1.5
TE-P002 1-43150-680-2 L FORWARD FRR,ESR,FDR,FSD,FSR,NRR 90-
MALE LHT
M20 X 1.5

71




CONTROL ARM

ISUZU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CA-7221 8-94445-550-1 UPPER R FASTER 2WD TFR, TFS 88-93
8-94445-550-0
8-94445-550-2
8-94445-552-0
8-94322-751-1
8-94322-751-2
CA-7222 8-94445-551-1 UPPER L FASTER 2WD TFR, TFS 88-93
8-94445-551-0
8-94445-551-2
8-94445-553-0
8-94322-752-1
8-94322-752-2
CA-7223 8-94246-419-0 LOWERR FASTER 2WD TFR, TFS 88-93
8-94142-147-0
8-94142-147-1
8-94142-147-2
CA-7224 8-94246-420-0 LOWER L FASTER 2WD TFR, TFS 88-93
8-94142-148-0
8-94142-148-1
8-94142-148-2
CA-7410 8-98005-836-0 UPPER R D-MAX 2WD TFB 02-11
CA-7411 8-98005-838-0 UPPER R D-MAX 4WD TFS54 02-11
CA-7415 8-98005-837-0 UPPER L D-MAX 2WD TFB 02-11
CA-7416 8-98005-839-0 UPPER L D-MAX 4WD TFS54 02-11
CA-7420 8-98005-832-0 LOWERR D-MAX 2WD TFB 02-11
CA-7421 8-98005-834-0 LOWERR D-MAX 4WD TFS54 02-11
CA-7425 8-98005-833-0 LOWER L D-MAX 2WD TFB 02-11
CA7426 8-98005-835-0 LOWER L D-MAX 4WD TFS54 02-11

72




RACK END

ISUZU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
RE-7130 8-94217-221-3  |RIL PANEL TRUCK UFR 83-
8-94217-221-2 |M14X 15 FASTER KB21,KB22,KB26,KB27 81-87
8-94217-221-1  |M14 X 1.5 (CHEVROLET-LUV) 81-82
94217221
8-94366-606-0 PANTHER TBB 91-
RE-7160 5-44350-095-3  |RIL BIG HORN UBS 81-87
5-44350-095-2 |M14 X 1.5 FASTER 4WD KB40,KB41,KB42,KB46,KBA47 79-
5-44350-095-1 |M14 X 1.5 (CHEVROLET-LUV) 81-82
94027778
RE-7180 8-97304-851-0 |RIL D-MAX TFB 02-
M14 X 1.5
M14 X 1.5
IDLER ARM
ISUZU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
IA-7201 8-94241-766-0  |RHD FASTER KB21 81-86
8-97028-967-0
8-97028-967-2
8-97039-325-1
IA-7202 8-94241-767-0 |LHD TROOPER UBS 81-
BIG-HORN
IA-7211 8-97106-663-0  |RHD BIG-HORN UBS25 90-
8-97028-969-0
8-97028-971-0
IA-7221 8-97116-048-0  |RHD PANTHER TBR 90-94
8-94366-124-0 01-
8-97175-395-0
STABILIZER LINK
ISUZU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
SB-P001 8-97018-228-2 |FRONT R BIG HORN(TROOPER) UBS 92-02
8-97289-820-0 |M10X1.25 [MU(AMIGO, RODEO ucs 89-
WIZZARD(RODEO) UER 98-
SB-P002 8-97018-227-2  |FRONT L BIG HORN(TROOPER) UBS 92-02
8-97289-819-0 |M10X 125 [MU(AMIGO, RODEO ucs 89-
WIZZARD(RODEO) UER 98-
SB-P003 8-97018-125-2  |REAR RIL BIG HORN(TROOPER) UBS 92-02
M10 X 1.25 |MU(AMIGO, RODEO ucs 89-
WIZZARD(RODEO) UER 98-

73




CENTER BEARING

ISUZU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CB-7110 8-94222-972-0A FASTER KB21 KB26 KB41 81-
CB-7120 8-94440-608-0A FASTER TFB 4*2 88-
CB-7130 8-94482-472-0 RODEO TFS 88-
8-94328-799-0 TFR TFS 4WD 87-
CB-7140 8-94328-800-0 RODEO TFRTFS 2WD 89-
CB-7150 8-97025-752-0 RODEO UCB 2WD 90-
CB-7160 8-97025-753-0 RODEO UCB 4WD 90-
CB-7170 5-37510-007-0 ELF NKR NPR NHR (1D40) 85-
CB-7180 5-37510-008-0 ELF NKR NPR NHR (ID32) 85-
CB-7190 1-37510-035-0 FORWARD SB SC SD 82-
1-37510-091-0
CB-7210 1-37510-105-0 FORWARD FTR FSR 84-
1-37510-074-0
1-37510-088-1
1-37510-102-0
1-37510-104-0
CB-7220 8-97103-546-1 RODEO UCB 4WD

74




BALL JOINT

MITSUBISHI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
BJ-4106 MB109168 LOWER L LANCER-FIORE A155A,A156A 82-83
MIRAGE A151A,A152A,A153A,A155A . A156A,A157A  |80-83
BJ-4107 MB109169 LOWER R LANCER-FIORE A155A,A156A 82-83
MIRAGE A151A,A152A,A153A,A155A . A156A,A157A  |80-83
BJ-4110 MR496792 FRONT PAJERO V65W, V63W, V68W, V73W, V75W, V78W  |99-
4010A099 MONTERO 01-06
4010A015 TRITON KB4T, KB8T, KA4AT 05-
BALL JOINT ONLY
FOR 4010A038/4010A037
BJ-4120 MR496799 FRT LOWER |PAJERO V65W,V63W,V68W,V73W,V75W,V78W 99-
4013A090T R/L MONTERO 01-06
4010A314T TRITON 4WD KBA4T, KB8T 05-
4013A211 L200 KBOT 06-
MR992299 PAJERO SPORT KG4W 09-
ZINGER FOR MR496796/MR496795 05-
FOR 4013A087T/4013A088T
BJ-4310 MB001699 LOWER R/L |GALANT Al112,A114,A115A117 73-76
MB001696 GALANT A121A,A121V,A131A,A122A,A123A 76-83
MB001715 & ETERNA A123V,A142A ,A133A,A161A,A162A,A161V |81-86
MB002588 LANCER A71,A72,A73,A75,A141A A142A,A143A,A144 |73-79
LANCER VAN A72V,A75V,A141V,A142V ,A148V,A149V 77-84
LANCER-CELESTE A72M,A73M,A142M,A144M,A142A,A144A,A1 | 75-80
LANCER-EX A171AA172AA174A 78-87
A175A....exc/NFU,NFG 80-86
MINICAB LO13P, LO13PV, L105P, L105PV 80-84
BJ-4330 MB303374 LOWER R/L  |MIRAGE(CHAMP) C11A,C12A,C13A 83-
MB303375 LANCER-FIORE C15A,C52A,C53A
AW311699 GALANT E12A,E13A,E15A 83-87
MB241883 & ETERNA E31A,E32A,E33A 87-
GALANT E38A,E39A,(FRONT/REAR) 87-
E32A,E33A,E34A,E35A,E37A,E38A 88-93
LANCER C61A,C62A,C63A,C64A,C72A,C73A,C74A  |88-91
CORDIA, TREDIA A211A,A212A,A213A 82-88
CHARIOT D02W,D03W,D05W 83-
MIRAGE C51A,C52A....ALL 87-88
C53A.....exc/P.S.
MIRAGE C53A.....ALL for/turbo 89-
MINICAB U41T,U41P,u41V 90-
MAGNA TM,TN....for AUSTRALIA 85-88
PROTON SAGA C21A 86-91
CARISMA DA2A 95-
BALL JOINT ONLY
FOR MB430350/MB430351
FOR MB369963/MB349964
FOR MB518205/MB518206
FOR MB573093/MB573098
FOR MB518041/MB518042
FOR MB518712/MB518713
FOR MB518960/MB518961
FOR MB860817/MB860818
FOR MB891787/MB891877
FOR MN133618/MN133617
FOR MR179480/MR179479
BJ-4501 MB109585 UPPER R/L DELICA (L300) T100,T120,T121 76-79
MB002476 L031P,L034P,L031PV,L032PV,LO33PW,L035 |79-83
MB002475 L036P,L038P,L063P,L068P,L033PV,L036PV

75




MB112476

LO38PV,L063PV,LO68PV,LO33PW

MB112477 LO35PW,L0O38PW,LO63PW,LP68PW
FORTE (L200) LO21P,L025P 78-80
BJ-4505 MB175544 LOWERRI/L |DELICA (L300) LO31P,L034P,L031PV,L032PV,L033PW,L035 |79-83
MB109588 LO36P,L038P,L063P,L068P,L033PV,L036PV
MB109587 LO38PV,L063PV,L068PV,L033PW
LO35PW,L038PW,LO63PW,LP6SPW
FORTE (L200) LO21P,L025P 78-80
BJ-4511 MB176309 UPPERR/L |PAJERO (MONTERO) L041G,L043G,L044G,L046G,L048G,L049G  |82-
DELICA (L300) LO36P,L038P,L063P,L068P,L033PV 83-86
LO36PV,L038PV,L063PV,L068PV
LO33PW,L035PW,LO38PW,LO63PW,LO68PW
LO36P,L063P.LO39P,L069P 86-
L039G 88-
DELICA (L300) 4WD LO35GV,L037GV,L038GV,L035GW 82-86
LO37GW,L038GW
FORTE (L200) LO21P,L025P 80-
FORTE (L200) 4WD L022G,L026G 80-
FOR MB349475/MB349575
FOR MB244155/MB244156
BJ-4515 MB241818 LOWERRIL |DELICA (L300) LO36P,L038P,L063P,L068P,L033PV 83-86
MB176283 LO36PV,L038PV,L063PV,L068PYV
MB175812 LO33PW,L035PW,L038PW,L063PW,LO68PW
LO36P,L063P.L039P,L069P 86-
FORTE (L200) LO21P,L025P 80-
KO1T,K02T KO4T,K11T K12T,K14T 86-
MR241027 LOWERRI/L |STRADA K64T,K67T 96-98
BJ-4525 MB176308 LOWERRIL |PAJERO (MONTERO) L041G,L043G,L044G, L046G,L048G,L049G  |82-
MB527352 DELICA(L300) 4WD LO35GB,L037GV,L038GV,L035GW, 82-86
MB527351 LO37GW,L038GW
FORTE (L200) 4WD L022G,L026G 80-
K22T,K24T K32T,K34T 86-
DELICA (L300) 4WD P23V,P25V,P23W,P25W 86-
BJ-4531 MB527349 UPPERR/L |DELICA (L300) PO1V,P02V,P05V,P12V,P15V,P03W,PO5W,P |86-
MB527350 DELICA (L300) 4WD P23V,P25V,P23W,P25W 86-
MR241623 DELICA 4WD P23W,P24V,P24W ,P25V,P25W P45V 86-
SPACE GEAR 2WD PA3V,PA4W PA5Y,PASW,PAAW 94-
PB5V,PB5W,PB6W,PCAW PC5W
SPACE GEAR 4WD PD4W,PD5V,PD6W,PD8W,PESW,PF6W,PF
WAGON/VAN FOR MB598547/MB598546 87-90
BJ-4541 MB860829 UPPERR/L |PAJERO (MONTERO) V14V,V23C,V23W V24C V24V V24W 90-04
MB860830 STRADA V24WG V34V VA3W VAW VAAWG
BALL JOINT ONLY
FOR MR296096/MR296095
BJ-4546 MB831038 LOWERR  |PAJERO (MONTERO) V14V,V23C,V23W V24C V24V V24W 90-04
STRADA V24WG V34V V43W VA4W VAAWG
MR296270 MONTERO K96W 95-00
FOR MR296268/MN150412
BJ-4547 MB831037 LOWER L PAJERO (MONTERO) V14V,V23C,V23W V24CV24V,V24W 90-04
STRADA V24WG V34V VA3W VA4W VAAWG
MR296269 MONTERO K96W 95-00
FOR MR296267/MN150411
BJ-E001 MR508130 REAR UPPER |PAJERO V65W V68W,V75W V78W 99-
V63W V73W 00-
MONTERO V73W,V74W V75W, V76W, V78W 00-
FOR MR508132/MR508131
BJ-E003 MR392200 LOWER MINICA H36A,H31A,H32A,H32V,H37A,H37V,H21A  |93-98
3895A021 H21A H22A H22V,H26A H26V,H27A H27V  |88-93

76




TIE ROD END

MITSUBISHI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
TE-4301 MA159984 OUTER R/L  |STARION A182A,A183A 82-
MA169614 MALE LHT GALANT A51,A52,A53,A54,A55,A112,A114,A115, 69-76
MB378704 M14 X 1.5 Al117
MB166982 GALANT A121A,A121V,A122A,A123A,A123V 76-80
MB122782 & ETERNA A131A,A132A,A133A
MB122781 A161A,A162A,A163A,A164A,A166A,A167A |80-84
Al61V,A168V 81-86
LANCER A71,A72,A73,A75,A141A,A142A A143A 73-79
Al44A
LANCER VAN A72V,A7T5V,A141V,A142V,A148V,A149V 77-84
LANCER-EX AL171A,AL72A,A174A,A175A 79-87
LANCER-CELESTE A72M,A73M,A142M,A144M,A142A,A144A 75-80
A146A
FORTE(L200) L021P,L025P 78-
KO1T,K02T,K04T,K11T,K12T,K14T 86-
TE-4302 4422A095T OUTER L TRITON 4X2 KA4T 05-
4422A008T M16 X 1.5
TE-4305 MA159982 INNER R/L GALANT A51,A52,A53,A54,A55,A112,A114,A115,A117 |69-76
MA169613 MALE RHT LANCER A71,A72,A73,A75,A141A,A142A A143A 73-79
M14 X 1.5 Al44A
LANCER VAN A72V,A7T5V,A141V,A142V,A148V,A149V 77-84
LANCER-CELESTE A72M,A73M,A142M,A144M,A142A,A144A 75-80
A146A
TE-4306 MBO076004 INNER R GALANT A121A,A121V,A122A,A123A,A123V 76-80
MBO076664 FEMALE LHT |& ETERNA A131A,A132A,A133A
MB378702 M14 X 1.5 A161A,A162A 80-83
A161V 81-86
LANCER-EX AL71AAL72A,A174A 79-87
Al75A....exc/INFU,NFG 80-86
TE-4307 MBO076003 INNER L STARION A182A,A183A 82-
MB076663 MALE RHT GALANT A121A,A121V,A122A,A123A,A123V 76-80
MB122779 M14 X 1.5 & ETERNA A131A,A132A,A133A
MB166980 A161A,A162A,A163A,A164A ,A166A,A167A |80-84
MB378701 Al61V,A168V 81-86
LANCER-EX A171A,AL72A,A174A,A1T5A 79-87
FORTE(L200) L021P,L025P 78-
KO1T,K02T,K04T,K11T,K12T,K14T 86-
TE-4308 4422A018 OUTER R/L  |OUTLANDER CW5w 07-
4422A002 M14 X 1.5 GF7W 12-
MR491380 OUTLANDER USA CY4A 07-
MR548285 GALANT FORTIS CU2W,CU4w,Cusw 07-
44227052 AIRTREK GA3W 01-
MN161077 RVR GA3W 10-
ASX GA2W 10-
OUTLANDER SPORT Cv4w,CVvswW 12-
TE-4309 MB564853 MALE RHT PICK UP 2WD KO5T,K15T 89-93
MR241031 M16 X 1.5 STRADA K64T,K67T 96-98
TE-4310 MK996332 L CANTER FE5 93-
MK997508 MALE LHT 98-
ML106234 M20 X 1.5
MK309709
TE-4311 MK996333 R CANTER FE5 93-
MK997509 MALE RHT 98-
ML106235 M20 X 1.5
MK309710
TE-4317 MR508135 OUTER L PAJERO V65W, V63W, V73W 99-

77




M16 X 1.5 MONTERO V68W, V78W, V75W 01-06
4422A009T TRITON 4WD KBA4T, KB8T 05-
TE-4318 MR508136 OUTER R PAJERO V65W, V63W, V73W 99-
M16 X 1.5 MONTERO V68W, V78W, V75W 01-06
4422A010T TRITON 4WD KBA4T, KB8T 05-
TE-4321 MB564855 MALE LHT PICK UP 2WD KO5T,K15T 89-93
M16 X 1.5
TE-4330 MN150705 OUTER R/L  |ENDEAVOR XLS, LS, LIMITED, SE 04-11
MN161820 M14 X 1.5 ECLIPSE GS, GT 06-12
GALANT LS, GTS, DE, ES, RALLIART 04-08
TE-4506 MB122011 INNER R FORTE(L200) L021P,LO25P 78-
MB122012 FEMALE LHT KO1T,K02T,K04T,K11T,K12T,K14T 86-
M14 X 1.5
TE-4701 MB166426 OUTER R/L  |LANCER-FIORE A155A,A156A 82-83
MB315629 FEMALE RHT |MIRAGE A151A,A152A,A153A,A155A,A156A 80-83
MB185441 M14 X 1.5 A157A
MB006358 DELICA(L300) T100,T120,T121,L031P.L0O34P 68-82
MB006314 LO31PV,L032PV,LO33PW,LO35PW
MT142181
MB241172 MINICAB LO31P,LO13PV,L015P,LO15PV 80-84
TE-4705 MB166427 INNER R/L DELICA(L300) T100,T120,T121,L031P.L0O34P 68-82
MB076532 FEMALE LHT LO31PV,L032PV,L033PW,LO35PW
MB006359 M14 X 1.5
MB006315
MT142182
MB241207 MINICAB LO31P,LO013PV,L015P,LO15PV 80-84
TE-4710 MB241982 OUTER R/L  |LANCER-FIORE C11A,C12A,C13A,C14A,C18A,C11V 83-85
FEMALE RHT |& MIRAGE C12v,C14v,C32V,C34V,C12W,C14W,C37TW
MB527169 M12 X 1.25 LANCER-FIORE C11A,C12A,C13A,C14A,C18A 86-87
MB597605 & MIRAGE Ci1v,C12v,C14vV,C32V,C34V,C12W 86-
MB598023 C14wW,C37W
MB912076 C51A,C52A,C53A,C61A,C62A,C63A 87-91
MR476457 C64A,C72A,C73A,C74A,C82A,C83A
MR485672 CA1A,CA2A,CA3A,CA4A,CB1A,CB2A 91-
CB3A,CB7A,CC3A,CC4A,CD3A,CD5A,CD7A
CJ4A 95-
LANCER C61A,C62A,C63A,C64A,C72A,C73A,C74A  |88-91
CSs5w 00-
CARISMA DA2A 95-
FTO DE3A 94-
510185 PROTON PERSONA Cco7 95-
PROTON WIRA C11A 00-
PROTON KF,G4CR 92-93
MB489407 PROTON SAGA C21A 86-91
TE-4711 MB241171 OUTER R/L  |PAJERO(MONTERO) L041G,L034G,L044G,L046G,L048G,L049G  [82-
MB315775 MALE LHT DELICA(L300) 4WD LO35GV,L037GV,L038GV,L035GW,L037GW, |82-86
M16 X 1.5 LO38GW
FORTE(L200) 4WD L022G,L026G 80-
K22T,K24T,K32T,K34T 86-
TE-4715 MB241206 INNER R/L PAJERO(MONTERO) L041G,L034G,L044G,L046G,L048G,L049G  [82-
MB315776 MALE RHT DELICA(L300) 4WD LO35GV,L037GV,L038GV,LO35GW,L037GW, |82-86
MR296274 M16 X 1.5 LO38GW
FORTE(L200) 4WD L022G,L026G 80-
K22T,K24T,K32T,K34T 86-
STRADA K64T,K67T 96-98
TE-4721 MB831043 OUTER R/L  |PAJERO V14V,V23C,V23W,V24C,V24W V24WG 90-99
MALE LHT V34V,V43W V44W ,V44WG
MR296275 M16 X 1.5 MONTERO K96W 98-04
STRADA K77T 96-98
TE-4725 MB831044 INNER R/L PAJERO V14V,V23C,V23W,V24C,V24W V24WG 90-99

78




MALE RHT V34V,V43W V44W ,V44WG
M16 X 1.5 MONTERO K96W 98-04
TE-4730 MB527650 OUTER R/L  |DELICA (L300) PO1vV,PO2V,PO5V,P12V,P15V,PO3W 86-
MB864164 FEMALE RHT PO5W,P15W
M14 X1.5 DELICA (L300) 4WD P23V,P25V,P23W,P25W 86-
GTO Z15A, Z16A 90-
TE-4731 MK997628 L CANTER FEG6 95/4-
MK384672 MALE LHT
MC891397 M22 X 1.5
MC891912 96/4
MK309191 98/2
MK309711 98/7
TE-4732 MK997629 R CANTER FEG6 95/4-
MK384673 MALE RHT
MC891398 M22 X 1.5
MC891913 96/4
MK309192 98/2
MK309712 98/7
TE-4733 MR162710 OUTER R/L  |SPACE CEAR PA3V 94-06
MB347599 FEMALE RHT |L300 94-00
M14 X 1.5
TE-4741 MB192430 OUTER R/L  |CORDIA, TREDIA A211A,A212A,A213A 82-
MB564991 FEMALE RHT |CORDIA, TREDIA 4WD A213G,A215G 84-
MB489434 M14 X 1.5 CHARIOT D02W,DO3W,DO5SW 83-
MB192499 CHARIOT 4WD DO8W 86-
MB616286 DELICA (L300) LO36P,L038P,L063P,L068P,LO33PV 82-86
MB573885 LO36PV,LO38PV,L063PV,L068PV
MB912519 LO33PW,L035PW,L038PW,LO63PW,LO68PW
MR508650 LO36P,L063P,LO39P,LP69P 86-
DEBONAIR S11A,S12A 86-
GALANT E12A,E13A,E15A 83-87
& ETERNA ES5A 94-
GALANT E31A,E32A,E33A,E38A,E39A 87-98
EALA 96-00
PAJERO EC7A 00-
DIAMANTE 90-04
INNER R/L MINICAB Ull# 84-
TE-4745 MB288119 OUTER R/L  |DELICA(L300) LO36P,L038P,L063P,L068P,L033PV 82-86
FEMALE LHT LO36PV,LO38PV,L063PV,L068PV
M14 X 1.5 LO33PW,L035PW,L038PW,L063PW,LO68PW
LO36P,L063P,LO39P,LP69P 86-94
INNER R/L MINICAB Ull# 84-90
TE-4751 MR241032 OUTER R/L  |STRADA K64T,K67T 96-98
MALE LHT L200 96-07
M16 X 1.5
TE-4801 MW033301 R CANTER T210,T220,FE#,FC# 73-
MC891648 MALE RHT FE304,FE334,FE349
M20 X 1.5
TE-4802 MWO033300 L CANTER T210,T220,FE#,FC# 73-
MC891647 MALE LHT FE304,FE334,FE349
M20 X 1.5
TE-4811 MB162811 L CANTER FB# 85-
MALE RHT
M20 X 1.5
TE-4812 MB162810 R CANTER FB# 85-
MALE LHT
M20 X 1.5
TE-E001 MC810259 R FUSO TRUCK(4TON) T620,T622,T653 65-84
13501-13600 MALE RHT FK115,FK116,FK215,FK216
13501-13100 M22 X 1.5 FK315,FK316,FK415,FK416,KF425 84-

79




MC805518 FK515,KF516
TE-E002 MC810258 L FUSO TRUCK(4TON) T620,T622,T653 65-84
13501-13500 MALE LHT FK115,FK116,FK215,FK216
13501-13000 M22 X 1.5 FK315,FK316,FK415,FK416,KF425 84-
MC805517 FK515,KF516
TE-E003 4422A038 OUTERR PAJERO V83W 06-
M16 X 1.5
TE-E004 4422037 OUTER L PAJERO V83W 06-
M16 X 1.5

80




RACK END

MITSUBISHI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
RE-4300 MB532281 R/L GALANT E31A,E32A,E33A 87-92
MB501721 M16 X 1.5 E38A,E39A 87-92
MR131856 M14 X 1.5 RVR N13W,N23W ,N28W 91-97
RE-4310 MB315160 R/L GALANT E12A,E13AE15A...exc/P.S. 83-87
MB266152 M16 X 1.5 & ETERNA
MB532657 M14 X 1.5 CORDIA, TREDIA A211A,A212A,A213A 82-
CHARIOT D02W,DO3W,DO5SW 83-
MB350577 R/L GALANT E12A,E13AE15A.....for/P.S. 83-87
M16 X 1.5 & ETERNA
M14 X 1.5 CORDIA, TREDIA 4WD A213G,A215G 84-
CHARIOT 4WD DO8W 86-
DELICA (L300) PO1vV,PO2V,PO5V,P12V,P15V,PO3W 86-
PO5W,P15W...for/P.S.
MB243329 CORDIA, TREDIA A211A,A212A,A213A...for/P.S. 82-
CHARIOT D02wW,D03W,D05...for/P.S. 83-
RE-4320 MB532046 R/L LANCER-FIORE C11A,C12A,C13A,C14A,C18A 83-87
MB347666 M14 X 1.5 & MIRAGE Ci1v,C12v,C14vV,C32V,C34V 83-
M12 X 1.25 C12W,C14W,C37W...exc/P.S.
RE-4340 MB350718 R/L LANCER-FIORE C11A,C12A,C13A,C14A,C18A 83-87
MB501530 M16 X 1.5 & MIRAGE C11v,C12v,C14vV,C32V,C34V 83-
M12 X 1.25 C12w,C14W,C37W...for/P.S.
RE-4360 MR130807 R/L LANCER & MIRAGE CA1A,CA2A,CA3A,CB1A,CB1V,CB2A 91-96
MR297969 M16 X 1.5 CB2V,CB2W,CB3A,CB4A,CB5AR,CB5W
MB910934 M12 X 1.25 CB6A,CB8A,CB8AR,CB8V,CB8W,CC3A
MB910961 CC4A,CD2V,CD3A,CD5A,CD5W,CD8A
CJ4A 95-00
CD8V,CD8W,CD9A,CK1A 96-02
FTO DE3A 94-00
RE-4380 MR510267 R/L PAJERO V65W,V63W,V68W,V73W ,V75W,V78W 99-06
M16 X 1.5 MONTERO 01-06
M16 X 1.5
RE-4390 MB501017 R/L DELICA(L300) 4WD P23V,P25V,P23W,P26W.....for/P.S 86-99
M16 X 1.5
M14 X 1.5
RE-4410 MR594674 R/L GALANT EC7A 00-
M16 X 1.5 EALA 97-00
M14 X 1.5 ECLIPSE 95-99
RE-4420 4410A172T R/L TRITON 4X2 KA4T 05-
M16 X 1.5
M16 X 1.5
RE-4430 MR491358 R/L LANCER CS5A, CS5W 00-09
M16 X 1.5 CS2A 03-
M12 X'1.25
RE-4440 4410A173T R/L TRITON 4X4 KBA4T, KB8T 05-
M16 X 1.5
M16 X 1.5
RE-4700 MB122135 R/L (FEMALE) [LANCER-FIORE A155A,A156A...exc/P.S. 82-83
M18 X 1.5 MIRAGE A151A,A152A,A153A,A155A,A156A 80-83
M14 X 1.5 A157....exc/P.S.
RE-4710 MB532971 R/L DELICA(L300) PO1vV,PO2V,PO5V,P12V,P15V,PO3W 86-99
M17 X 1.0 PO5W,P15W...exc/P.S.
M14 X 1.5
RE-4720 MB553249 R/L LANCER-FIORE C51A,C52A,C53A 87-
M16 X 1.5 & MIRAGE
M12 X'1.25 LANCER C61A,C62A,C63A,C64A,C72A,C73A,C74A  |88-91
RE-4750 MB949343 R/L GALANT E52 93-96

81




MR333166 M16 X 1.5 EA1A EA2A 96-06
MR403872 M14 X 1.5
RE-4760 MR448255 R/L PAJERO 98-07
M16 X 1.5
M14 X 1.5
RE-4770 4422A004 R/L GALANT LS, GTS, DE, ES, RALLIART 04-12
4422A044 M14 X 1.5 ECLIPSE GS, GT 06-12
M14 X 1.5
RE-4780 4422A012 R/L OUTLANDER CW5wW 05-
M14 X 1.5 GALANT FORTIS CY4A 07-
M14 X 1.5 LANCER 08-
RE-E001 PW530031 R/L PROTON WIRA C90 93-
PW550281 M14 X 1.5 PERSONA 300 96-
PW530032 M12 X 1.25 SATRIA 96-
RE-E003 MB532972 R/L DELICA(L300) 4WD P23V,P25V,P23W,P26W.....exc/P.S 86-99
M17 X 1.0
M14 X 1.5
RE-E005 MR333409 R/L LANCER CNSA 96-00
M16 X 1.5
M14 X 1.5
RE-E007 MR403099 R/L LANCER EVOLUTION RS, MR, SE 03-06
M16 X 1.5
M14 X 1.5
RE-E009 MR403100 R/L OUTLANDER LS, XLS, SE, LIMITED 03-06
4422A079 M16 X 1.5 AIRTREK CuU2w,Cu4w 01-05
4422057 M14 X 1.5
RE-EO11 MR151970 R/L SPACE GEAR PA3V, PA4W, PA5V, PASW, PB4W, PB5V 95-05
M16 X 1.5 PB5W, PB6W, PC4W, PC5W
M14 X 1.5
RE-E013 MR244901 R/L CARISMA DA2A 95-01
M16 X 1.5
M12 X 1.25
RE-E015 4422A036 R/L PAJERO V83W 06-
M16 X 1.5
M16 X 1.5
RE-E017 4422A076 R/L OUTLANDER FWD 14-
M14 X 1.5 OUTLANDER SPORT/RVR 11-14
M14 X 1.5 LANCER 11-

82




CONTROL ARM

MITSUBISHI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CA-4302 MR403419 LOWER L LANCER CS5A, CS5W, CS2A 02-10
4013A273 FRONT CONTROL ARM WITH CBM-36
CA-4303 MR403420 LOWERR  |LANCER CSBA, CS5W, CS2A 02-10
4013A274 FRONT CONTROL ARM WITH CBM-36
CA-4304 MR296295 LOWER L GALANT E52 95-
MR325005 FRONT 92-96
MR162579 EA1A 96-00
MR325577 EC7A 00-03
MB912509
MR972465 AVENGER/SEBRING 95-00
CA-4305 MR296296 LOWERR  |GALANT E52 92-96
MR162580 FRONT EA1A 96-00
MR325576 EC7A 00-03
MB912510
MR972466 AVENGER/SEBRING 95-00
CA-4306 MB907164 LOWERR  |MIRAGE 93-96
MB912078 LANCER 92-96
coLT 92-96
CA-4307 MB907163 LOWER L MIRAGE 93-96
MB912077 LANCER 92-96
CoLT 92-96
CA-4308 MB912506 UPPER R GALANT 92-00
MB912508 FRONT
MR162804
CA-4309 MB912505 UPPER L GALANT 92-00
MB912507 FRONT
MR162803
CA-4311 MB109512 LOWER L FORTE (L200) 86-01
FRONT PICK UP 83-96
RAM-50 PICKUP 79-93
CA-4312 MB109513 LOWERR  |FORTE (L200) 86-01
FRONT PICK UP 83-96
RAM-50 PICKUP 79-93
CA-4313 MB809230 LOWER L LANCER CB5
REAR
CA-4314 MB809231 LOWERR  |LANCER CB5
REAR
CA-4321 MB527159 UPPER L FORTE (L200) 86-96
MB860409 FRONT
CA-4322 MB527160 UPPER R FORTE (L200) 86-96
MB860408 FRONT
CA-4323 MR241023 UPPER L FORTE (L200) 96-07
FRONT
CA-4324 MR241024 UPPER R FORTE (L200) 96-07
FRONT
CA-4325 MB349475 LOWER L/R |L300
FRONT
CA-4330 MR491345 LOWER L MIRAGE 93-02
MB809220 REAR LANCER 92-03

83




COLT 92-96
CA-4331 MR491346 LOWERR MIRAGE 93-02
MB809221 REAR LANCER 92-03
COLT 92-96
CA-4332 MR491347 UPPER L MIRAGE 93-02
MB809222 REAR LANCER 92-03
CA-4333 MR491348 UPPER R MIRAGE 93-02
MB809223 REAR LANCER 92-03
CA-4341 MB912511 LOWER L GALANT
MR296289 FRONT
MR162581
MR296319
MR325251
CA-4342 MB912512 LOWERR GALANT
MR296290 FRONT
MR162582
MR296320
CA-4501 MB831036 UPPER L PAJERO 92-03
MR124880
MR296094
MR296096
CA-4502 MB831035 UPPER R PAJERO 92-03
MR124879
MR296093
MR296095
CA-4503 4010A017 UPPER L TRITON(4X2) KA4T 06-
CA-4504 4010A018 UPPER R TRITON(4X2) KA4T 06-
CA-4505 4013A091 LOWER L TRITON(4X2) KA4T 06-
4013A093
CA-4506 4013A092 LOWERR TRITON(4X2) KA4T 06-
4013A094
CA-4507 MB891787 LOWER L
MB518712
CA-4508 MB891788 LOWERR
MB518713
CA-4513 4010A013 UPPER L TRITON(4X4) KB4T 06-
CA-4514 4010A014 UPPER R TRITON(4X4) KB4T 06-
CA-4515 4013A087 LOWER L TRITON(4X4) KB4T 06-
CA-4516 4013A088 LOWERR TRITON(4X4) KB4T 06-

84




IDLER ARM

MITSUBISHI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
IA-4512 MB241423 LHD FORTE(L200) 4WD L022G,L026G 80-86
K22T,K24T,K32T,K34T 86-96
IA-4520 MB241421 RHD/LHD FORTE(L200) L021P,L025P 80-86
MB241422
IA-4531 MB527228 RHD/LHD FORTE(L200) KOIT 86-
K11T,K12T,K14T
IA-4540 MB831042 RHD/LHD PAJERO(MONTERO) V14V, V23C,V23W,V24C,V24W V24WG 90-00
V34V, V43W V44W VA4WG
IA-4701 MB166428 RHD DELICA(L300) L031P,L034P,L031PV,L032PV,L036P,L038P |79-83
LO63P,L068P,L033PV,L036PV,L038PV,L063
LO68PV,L033PW,L035PW,L038PW,LO63PW
IA-4702 MB166429 LHD DELICA(L300) LO31P,L034P,L031PV,L032PV,L036P,L038P |79-83
LO63P,L068P,L033PV,L036PV,L038PV,L063
LO68PV,L033PW,LO35PW,LO38PW,LO63PW
IA-4710 MB241830 RHD/LHD PAJERO(MONTERO) L041G,L043G,L044G,L046G,L048G,L049G  |82-90
MB698532 L141G,L144G,L146G,L149G
IA-4730 MB166425 RHD DELICA(L300) L031P,L034P,L031PV,L032PV,L036P,L038P |79-83
LO63P,L068P,L033PV,L036PV,L038PV,L063
LO68PV,L033PW,L035PW,L038PW,LO63PW
IA-E001 MB241425 RHD FORTE(L200) 4WD L022G,L026G 80-
K22T, K24T, K32T, K34T 86-
PITMAN ARM
MITSUBISHI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
PA-4220 MB241166 RHD/LHD FORTE(L200) L021P,K025P 80-
MB166281 KO1T,KO2T,KOAT,K11T,K12T,K14T 86-
PA-4240 MB241448 RHD/LHD LANCER-EX A171AA172A ALT4A 79-87
MB122396
PA-4320 MB241168 RHD/LHD FORTE(L200)4WD L022G,L026G 80-86
K22T,K24T,K32T,K34T 86-
PA-4330 MB907272 RHD/LHD FORTE(L200) 4WD K22T K24T K327 K34T 95-
MB527227 RHD/LHD FORTE (L200) 4WD 86-91
PA-4510 MB241973 RHD/LHD PAJERO (MONTERO) L041G,L043G,L044G,L046G,L048G,L049G  |83-89
PA-4520 MB598489 RHD/LHD PAJERO(MONTERO) L044G,L049G......for/P.S 89-90
L141G,L144G,L146G,L149G 89-90
PA-4540 MB831040 RHD/LHD PAJERO(MONTERO) V14V, V23V, V23W, V24C, V24W, 90-00
V24WG, V34V, VA3W, VA4W VA4WG
INNER SHAFT
MITSUBISHI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
1S-4501 MB109539 UPPERR/IL  |FORTE(L200) L021P,L025P 78-
MB109586
IS-4511-01  |MB109539-01  |UPPERR/L |PAJERO(MONTERO) L041G,L043G,L044G,L046G,L048G,L049G  |82-
DELICA(L300)4WD LO35GW,L037GW,L038GW,L035GV 82-
LO37GV,L038GV
FORTE(L200)4WD L022G,L026G 80-
K22T,K24T K32T,K34T 86-
IS-E001 MT141247 UPPERR/L  |DELICA T120,7121 76-79

85




STABILIZER LINK

MITSUBISHI
FUJI OEM NO POSITION CAR NAME MODEL YEARS
SB-4300 MB809354 REAR LANCER DE3A, CA4A, CB4A, CC4A, CG4A, CK4K 91-95
M10 X 1.25 CD5A, CM5A, CD9A, CESA
FTO DE3A 94-
SB-4301 4156A014 REAR L OUTLANDER CW5wW 05-
(SB-4301L) M10 X 1.25 GALANT FORTIS CY4A 07-
SB-4302 MB892981 FRONT GALANT E5-A,E7-AE8-8 94-98
4056A026 M10 X 1.25 ECLIPSE D2-A 95-99
EC7A
SB-4303 MR267873 FRONT SPACE GEAR PA3V,PA4W ,PA5V,PASW,PB4W,PB5V, 94-06
M12 X 1.25 PB5W,PB6W,PC4AW,PC5W
SB-4304 MR267875 REAR SPACE GEAR PA3V,PA4W ,PASW,PB4W,PB5W,PB6W 94-06
M12 X 1.25 PD4W,PD6W,PD8W,PESW ,PF6W,PF8W
SB-4305 MR267876 FRONT L PAJERO V24W,V21W,V23C,V23W,V24C,V25C, 92-00
M12 X 1.25 MONTERO V25W,V26C,V26WG,V43W,V45W, V46V,
V46W ,V46WG
SB-4306 MR267877 FRONT R PAJERO V24W,V21W V23C,V23W,V24C,V25C, 92-00
M12 X 1.25 MONTERO V25W,V26C,V26WG,V43W ,V45W, V46V,
V46W,V46WG
SB-4307 MR374521 FRONT L PAJERO V65W, V63W, V73 99-
MB267877 M12 X 1.25 MONTERO V68W, V78W, V75W 01-06
4056A106
SB-4308 MR374522 FRONT R PAJERO V65W, V63W, V73 99-
MB267876 M12 X 1.25 MONTERO V68w, V78W, V75W 01-06
4056A105
SB-4309 MR992309 FRONT L TRITON KB4T 06-
M12 X 1.25
SB-4310 MB518780 REAR LANCER-FIORE C51A, C52A 87-
MB573540 M10 X 1.25 MIRAGE
4056A040 OUTLANDER 03-06
4056A038 LANCER C61A,C62A,C63A,C64A,C72A,C73A,C74A  |88-91
MR139147 AIR TREK cu2w 05-
42420-65D00 GRAND VITARA SE420 99-05
42420-60A00 M10 X 1.25 XL-7 01-06
SB-4313 MR992310 FRONT R TRITON KBAT 06-
M12 X 1.25
SB-4314 MN101368 FRONT R/L  [OUTLANDER CW5W 05-
M10 X 1.25 LANCER 08-
SB-4315 MN184194 REAR R OUTLANDER CW5W 05-
(SB-4301R) M10 X 1.25 GALANT FORTIS CY4A 07-
REAR R/L LANCER 08-
SB-4316 MR589437 FRONT R/L  [GALANT 04-08
M10 X 1.25 ECLIPSE SPYDER 07-12
ECLIPSE COUPE 06-12
ENDEAVOR 04-08
SB-4317 MR316435 FRONT L SPACE RUNNER N84W,N86W,N94W ,N96W 99-
4056A034 M10 X 1.25 SPACE WAGON 02-
GRANDIS, GRANDIS 4WD 98-03
SB-4318 MR316436 FRONT R SPACE RUNNER N84W ,N86W ,N94W ,N96W 99-
4056A035 M10 X 1.25 SPACE WAGON 02-
GRANDIS, GRANDIS 4WD 98-03
SB-4319 MB573043 M10 X 1.25 GALANT, ETERNA E3#A 87-92
(SB-1300) MB892982 GALANT E52,E53,E54,E55 92-
EALA 96-00
SB-E001 MR272116 FRONT R/L  [CARISMA DA2A 95-01
4056A031 M10 X 1.25 LANCER EVOLUTION 94-95
MR131680 FTO DE2A,DE3A 94-00

86




MIRAGE CJ4A,CK4A,CM5A 95-
SB-E003 MR333763 FRONT R GALANT 99-03
M10 X 1.25 ECLIPSE 00-05
STRATUS(DODGE) 01-
SEBRING(CHRYSLER) 01-05
SB-E004 MR297333 FRONT L GALANT 99-03
M10 X 1.25 ECLIPSE 00-05
STRATUS(DODGE) 01-
SEBRING(CHRYSLER) 01-05
SB-E005 MR316369 FRONT L LANCER CN9YA,CP9A,CT9A 96-
M10 X 1.25 MIRAGE CJ4A 95-
FTO DE3A 94-
AIRTREX cuzw 01-
4056A016 M10 X 1.25 LANCER 08-
SB-E006 MR316368 FRONT R LANCER CNOYA,CP9A,CT9A 96-
M10 X 1.25 MIRAGE CJ4A 95-
FTO DE3A 94-
AIRTREX cuzw 01-
4056A015 M10 X 1.25 LANCER 08-
SB-E007 MR418053 REAR R PAJERO V65W, V63W, V73 99-
4056A112 M12 X 1.25 MONTERO V68W, V78W, V75W 01-06
SB-E008 MR418052 REAR L PAJERO V65W, V63W, V73 99-
4056A111 M12 X 1.25 MONTERO V68W, V78W, V75W 01-06
SB-E009 MR403771 REAR LANCER CS5A,CS5W 00-07
4056A037 M10 X 1.25 CS2A 03-07
SB-EO011 MR589336 REAR R/L GALANT 04-08
M10 X 1.25 ECLIPSE SPYDER 07-12
ECLIPSE COUPE 06-12
ENDEAVOR 04-08
SB-E013 MK382985 FRONT R CANTER FE83 02-
M12 X 1.25
SB-E014 MK382984 FRONT L CANTER FE83 02-
M12 X 1.25
SB-E017 MR594340 FRONT R GRANDIS 03-09
M12 X 1.25
SB-E018 MR594339 FRONT L GRANDIS 03-09
M12 X 1.25

87




CENTER BEARING

MITSUBISHI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CB-4100 MB223119 DELICA L200 4WD 96-
MR223119 STRADA L400 K74T
CB-4110 MR165252 SPACE GEAR 4WD 98-
MR165167
CB-4120 MB000076 CUSHION CANTER FE111, FE211 80-
CB-4120A MBO000076A CANTER FE111, FE211 80-
CB-4130 MB154080 PICK UP L200 2WD, L021P, LO25P 79-89
LANCER A161 83-86
LAZOR A162
CB-4140 MB154086 PICK UP L200, K32T, K33T 4WD 80-87
CB-4150 MB154269 LANCER GSR 84-
FORTE 1026G
CB-4160 MB154561 COLT AWD 85-89
CB-4170 MB154706 PICK UP L200, K34T, K35T 4WD 88-95
CB-4180 MB293312A CANTER FE311, FE444 (ID40) 8-
CB-4190 MB505286 COLT PLY WAGON 4WD 85-89
CB-4200 MB505715 COLT AWD 85-89
DODGE PLY FRONT 85-89
CB-4210A MB563234A CANTER FE449 91-
ROSA (ID40)
CB-4220 MB505495 COLT AWD 92-94
MB837388 EAGLE Summit 92-95
2000 GTX 92-93
300 GT 91-95
8TEALTH 92-95
CB-4230 MB837577
CB-4240 MC824410 FUSO FK415, FK515 85-
CB-4250 MC830702A CANTER (ID35)
CB-4260A MC881040A FUSU (320) FM215, (ID55)
CB-4270 MR165048 TALON AWD 95-97
CB-4280 MR661772 DODGE 95-
CB-4290 MB154199 SPACE GEAR DA 4WD 95-
MB000815 90-91
MR305905 98-
CB-4300 MR534949 SPACE GEAR
CB-4310 MB563234 CUSHION CANTER FE449 91-
ROSA (ID40)
CB-4320 MBO000083 SUPPORT CANTER FE111, FE211 80-
CB-4330 MR580647 DELCA

88




BALL JOINT

MAZDA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
BJ-3110 B092-34-550 LOWER R/L  |FAMILIA(323) BD1031,BD1051 80-85
B001-34-550 & LASER(FORD) BF3P,BF5P,BF7P,BFSP,BFTP,BFMP 84-89
BF3V,BF5V,BF7V,BF5W 85-89
FAMILIA,LASER 4WD BF5R,BFMR,BFSR,BWMR 85-89
BJ-3130 B455-34-550 LOWER R/L |FAMILIA BG3P,BG3S,BG5P,BG5S 89-93
E016-34-550 BG6P,BG6S,BG6R,BG6Z
MX3/PRECIDIA BG7P,BG8P,BG8R,BG8S,BG8Z 92-93
BJ-3140 B01A-34-550 LOWER R/L  |FAMILLIA BHALP, BHALS, BHA5P, BHA5S 90-98
B01A-34-550A FAMILLIA(323) BHA8P, BHA8S
BTDA-34-550 MX3/PRECIDIA 94-96
BJ-3200 8173-99-356 LOWER R/L |CAPELLA(626) CB2NS,CB2VS,CB2MS 78-82
8531-99-356 SAVANNA RX-7 SA22C 78-85
FAMILIA(GLC) FAATS,FAATV,FA4US,FA4UV 76-85
FOR 8871-49-310/8871-49-320
BJ-3210 G030-99-356 LOWER R/L |CAPELLA 626 GC6P,GC8P 82-87
MO001-99-356A TELSTAR GCEP,GCFP
GA6B-99-356 PERSONA MAEP,MA8P 90-
GA6B-99-356A CRONOS,MS-6 GE8P,GEEP,GESR 91-
GA6B-99-300E CAPITAL
GA6B-99-350E CREDOS
GAB6A-99-356 MX-6 GEEB,BE5B 91-
E112-99-300C TRIBUTE EPFW,EPEW 05-11
LC62-99-300C EP3W, EPFW 05-06
GA6B-34-300E MPV LW5W 00-
GA6B-34-350E CAPELLA 626 MX6 94-97
G030-34-350B
G030-34-350C 626GE,626GD 91-
G030-34-300B
G030-34-300C 626 G030 98-99
FOR ARM GA2B-34-300,GA2B-34-350 00-02
98-99
00-02
B25D-99-350D MAZDA 323 For ARM B25D-34-350D 98-
C100-99-300B PREMACY CP8W 99-
C100-99-350B PREMACY 4WD CPEW 01-
C145-99-300A For ARM C100-34-300B, C100-34-350B
C145-99-350A For ARM ZZC1-34-310, ZZC1-34-320
BK3P-34-300D AXELA BK3P 03-
BLEFP-34-300 MAZDA3 For ARM B32H-34-300B, B32H-34-350B 04-06
BLEFP-34-350 For ARM B32H-34-300C, B32H-34-350C 09-
BJ-3401 3874-99-354B UPPER R/L LUCE SUA,SUAV,SVA,SVAV 68-73
3874-99-354 PROCEED (COURIER) BUD61,BNA61,BTA67,PE2V6 65-80
0603-99-354A (B1600,B1800) PE2N6-521699~
0603-99-354B (B2000,B2200) PE2N7-326623~
0603-34-540 PE2V7-237305~
D27Z-3049A UDX021-500001~
D77Z-3049A UDY021-500001~
BJ-3405 3874-99-356 LOEWR R/L |LUCE SUA,SUAV,SVA,SVAV 68-73
0603-99-356 PROCEED (COURIER) BUD61,BNA61,BTA67,PE2V6 65-80
0603-34-510 (B1600,B1800) PE2N6-521699~
D27Z-3050A (B2000,B2200) PE2N7-326623~
D77Z-3050A PE2V7-237305~
UDX021-500001~
UDY021-500001~
BJ-3411 UA01-99-354 UPPER R/L PROCEED(COURIER) PE2V6 80-
E17Z-3049A (B1600,B1800) PE2N6-521699~

89




(B2000,B2200)

PE2N7-326623~
PE2V7-237305~
UDX021-500001~
uUDY021-500001~

BJ-3415 UA01-99-356 LOWER R/L |PROCEED(COURIER) PE2V6 80-
E17Z-3050A (B1600,B1800) PE2N6-521699~
(B2000,B2200) PE2N7-326623~
PE2V7-237305~
UDX021-500001~
UDY021-500001~
BJ-3421 8AU1-34-540 UPPERR/IL |PROCEED(COURIER) UB#,UCH#,UD#,UE#, UT# 84-93
UB39-99-354 (B1600,B2000)
(B2200,B2600)
RANGER(FORD) 98-
UH71-34-540 UPPER BT-50 UH71 06-
BJ-3425 8AU2-34-510 LOWER R/L |PROCEED(COURIER) UB#,UCH#,UD#,UE#,UT#... for/2WD 84-93
UB39-99-356 (B1600,B2000)
(B2200,B2600)
UH71-34-550 RANGER(FORD) 98-
BJ-3435 8AU3-34-510 LOWER R/L |PROCEED(COURIER) UC#,UD#,UE#...for/AWD 87-93
(B2600)
UH74-34-550 RANGER(FORD) 98-
3665787 EVEREST(FORD) 03-06
BJ-3520 H001-99-356 LOWERR/L |LUCE HOO1 81-
H2Y0-99-356
BJ-3621 S083-99-354 UPPERR/IL |BONGO SR89V,SREAV,SRE9W, SRFOW,SR29V 83-
SR2AV,SS48V,SS88W,SSF8W,SRE9V
SD89T,SD29T,SD2AT,SDEAT,SSF8V
S47P-34-540A BONGO 4WD SREAM,SS28M,SS88M,SS28R,SS88R, SSES |84-
40110-HAODA BONGO SK82V AWD 07-
40110-HA000 VANETTE(NISSAN) s21 99-
BJ-3625 S083-99-356 LOWERR/L |BONGO SR89V,SREAV,SRE9W, SRFOW,SR29V 83-
S083-34-510 SR2AV,SS48V,SS88W,SSF8W,SREQV
SD89T,SD29T,SD2AT,SDEAT,SSF8V
BONGO 4WD SDEAT,SD2AM,SD2AT,SD29M,SD90T
SREAV,SRSAV,SRS9V,SR2AM
BJ-3627 S4YP-34-55X  |LOWERRIL |BONGO 2WD 99-
BJ-C001 S47S-34-550A |LOWERR/IL |BONGO 4WD SK82V 07-
SK22T 02-
BJ-C003 UR58-34-550 LOWERR/L |BT-50 (4X2) UR56 06-
BJ-C005 UR61-34-550 LOWER R/L |BT-50 (4X4) UR61 06-

90




TIE ROD END

MAZDA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
TE-3120 8AB1-32-280 OUTERRI/L |FAMILIA (323,GLC) BF3P,BF5P,BFMP,BFSP,BFTP,BF7P 84-89
FEMALE RHT |LASER(FORD) BF3V,BF5V,BF7V,BF5W 85-
KB092-32-280 |M12X1.25 |FAMILIA LASER 4WD BF5R,BFMR,BFSR,BWMR 85-
MB092-32-280
TE-3130 8AB2-32-280 OUTERRIL |FAMILIA(323) BG3P,BG3S,BG5P,BG5S,BG6P,BG6S 89-98
B455-32-280 FEMALE RHT [MX3 BG7P,BGSP,BG8S 92-96
M12X1.25 [RX7 BG6R,BG6Z,BG8R,BG8Z...for/4WD 93-95
TE-3150 B037-99-324 OUTERRIL |FAMILIA(323) BD1031, BD1051 80-85
B001-99-324 FEMALE RHT [LASER (FORD)
B001-99-325 M12 X 1.25
TE-3301 0866-99-324B  |OUTERR/L |LUCE LA2VS,LA3VS, LA2WV 72-74
0866-99-324 FEMALE LHT |LUCE-RE LA22S,LA33S,LA33W 72-74
1177-99-324A  [M14 X 1.5 SAVANNA(RX-3) S102A,S102W,S124A,S124W 71-75
1524-99-324 GRAND FAMILIA STC,SU4A,SN3A,SN4A, STCV,SN3AV 71-75
4084-99-324B (808,818) SU4AV
8531-99-324 CAPELLA(626) CB2NS,CB2VS,CB2MS 78-82
FAMILIA (GLC) FAATS,FA4TV,FA4US FA4UV 76-85
TE-3305 8531-99-322A  |INNERR/L _ |CAPELLA(626) CB2NS-169273~ 80-82
8531-99-322 FEMALE RHT CB2VS-160243~
8021-99-322 M14 X 1.5 CB2MS-152904~
SAVANNA RX-7 SA22C 75-85
FAMILIA PRESTO FA3TS-510001~ 75-76
SPCV-300001~
STBV-300001~
FAMILIA(GLC) FAATS,FA4TV,FA4US FA4UV 76-85
FAMILIA TRUCK FA2T55-50001~ 76-79
FA2T65-50001~
TE-3401 3874-99-324 OUTERRIL |PROCEED(COURIER) BUDG61,BNA61,BTA67,PE2N6,PE2V6 65-80
2541-99-324A  [MALE LHT  |(B1600,B1800) PE2N7,PE2V7,UDX021,UDY021
0603-99-325 M16 X 1.5 (B2000,B2200)
0603-99-324 BONGO FPA,FPAH,FPAV 68-77
D27Z-3A131A
D77Z-3A131A
TE-3405 3874-99-322 INNERR/L  |PROCEED(COURIER) BUDG61,BNAG1,BTA67,PE2N6,PE2V6 65-80
2541-99-322A  [MALE RHT  |(B1600,B1800) PE2N7,PE2V7,UDX021,UDY021
0603-99-323 M16 X 1.5 (B2000,B2200)
0603-99-322 BONGO FPA,FPAH,FPAV 68-77
D27Z-3A130A
D77Z-3A130A
TE-3411 UA01-99-324 OUTERRIL |PROCEED(COURIER) PE2V6 80-
E17Z-3A131A  |FEMALE LHT |(B1600,B1800) PE2N6-521699~
M14 X 1.5 (B2000,B2200) PE2N7-326623~
PE2V7-237305~
UDX021-500001~
UDY021-500001~
UB39-99-324 OUTERRIL |PROCEED(COURIER) UB#,UCH,UD# 84-
FEMALE LHT [(B1600,B2000,B2200,B2600 |UE#,UT#...for/2WD
UH71-32-280 M14 X 1.5 RANGER(FORD) 2WD 98-
TE-3415 UA01-99-322 INNERR/L  |PROCEED(COURIER) PE2V6 80-
UA01-99-323 FEMALE RHT [(B1600,B81800) PE2N6-521699~
E17Z-3A130A  [M14 X 1.5 (B2000,B2200) PE2N7-326623~
E17Z-3A130B PE2V7-237305~
UDX021-500001~
UDY21-500001~
UB39-99-322 PROCEED(COURIER) UB#,UCH,UD#,UE#,UT# 84-87
(B1600,B2000,B82200)

91




TE-3421 8AU1-32-280 OUTERRIL |PROCEED(COURIER) 4WD [UC#,UD#,UE# 87-93
FEMALE LHT [(B2600)
UH74-32-280 M14 X 1.5 RANGER(FORD) 4WD 98-
TE-3425 8AU2-32-270 INNERR/L  |PROCEED(COURIER) UB#,UCH#,UD#,UE#,UT# 87-
FEMALE RHT |(B1600,B2000,82200,82600
UH74-32-250 M14 X 1.5 RANGER(FORD) 98-
TE-3430 8AL1-32-280 OUTERRIL |MPV LVEW 89-98
LA01-32-280 FEMALE RHT
M14 X 1.5
TE-3440 8AG1-32-280 OUTERRIL |CAPELLA(626) GDEA(4WS) 87-92
REAR & TELSTAR(FORD)
FEMALE RHT
M14 X 1.5
TE-3521 1175-99-324A  |OUTERR/IL |LUCE(929,929L) LA2VS-167007~ 74-81
FEMALE LHT LA3VS-123144~
M14 X 1.5 LA2VV-167007~
LA4VS,LAAMS
LUCE-RE(RX-4,RX-9) LA22S-332866~ 74-81
LA33S-106182~
LA33W-101178~
LA42S,LA43S
COSMO CD2VC,CD3MC 75-81
COSMO-RE CD22C,CD23C 75-81
SAVANNA(RX-3) S124A-400001~ 75-77
S124W-400001~
GRAND FAMILIA STC-510001~ 75-78
(808,818) STCV-300001~
SN3AV-300001~
SN4A-200001~
TE-3525 1175-99-322A  [INNERR/L _ |LUCE(929,929L) LA2VS-167007~ 74-81
8038-99-322 FEMALE RHT LA3VS-126269~
1175-99-322 M14 X 1.5 LA2VV-120718~
LA4VS,LA4MS
LUCE-RE(RX-4,RX-9) LA22S-332866~ 74-81
LA33S-106182~
LA33W-101178~
LA42S,LA43S
COSMO CD2VC,CD3MC 75-81
COSMO-RE CD22C,CD23C 75-81
CAPELLA(616,618) SNA-501510~ 75-77
CB1VS-200001~
CAPELLA-RE(RX-2) CB12S-200001~ 75-77
SAVANNA(RX-3) S124A-400001~ 75-77
S124W-400001~
GRAND FAMILIA STC-510001~ 75-78
(808,818) STCV-300001~
SN3AV-300001~
SN4A-200001~
TE-3530 1391-99-322 INNERR/L _ |[BONGO BA2T8,BA2U8,BA2N9,BA2S8,BA2S9 77-80
FEMALE RHT BASV8,BA2V9
M14 X 1.5
H001-99-324 OUTERRI/L  |LUCE(929,929L) HBPH8,HBPHE,HBES,HBSHE,HBEP 81-86
8AH1-32-280 HBPS2,HBEJ,HCEP,HCFS,HCSS 86-
LUCE-RE(RX-9) HBSN2,HB3S 81-86
HC3S 86-
COSMO HBPH8,HBPHE,HBES,HBSHE,HBEP,HBPS2 |81-
COSMO-RE HBSN2,HB3S 81-
CAPELLA(626) GC6P,GC8P,GCEP,GCFP 82-87
& TELSTAR(FORD) GD6P,GDSP,GD8S,GDEP,GDES,GDFP 87-

92

GDER(4WD)




GDEA(4WS) 87-
TE-3535 8AG3-32-280 OUTERR/L |CAPELLA(626) GDEA 89-91
F02Z-3A130A  |FEMALE RHT 98-02
8AG4-32-280 M14 X 1.5 CRONOS GE8P,GEEP,GESRAWD) 91-97
GA2A-32-280A PREMACY, MPV 99-06
TE-3601 1391-99-324 OUTERR/L |BONGO BA2T8,BA2U8,BA2N9 BA2S8,BA2S9 77-80
FEMALE LHT BA2V8,BA2V9
M14 X 1.5
TE-3621 S083-99-324 OUTERR/L |BONGO SR89V,SREAV,SRE9W,SRFOW,SR29V 83-
FEMALE RHT SR2AV,SS48V,SS88W,SSF8V, SSF8W
M14 X 1.5 SRE9V,SD89T,SD29T,SD2AT,SDEAT
TE-3630 8AS1-32-240A |OUTERR/L |BONGO 4WD SREAM,SS88M,SE28M,SS28M,SS28R, 84-
8AS1-32-240 M14 X 1.5 SE88M,SS88R,SSESR,SSF8R,SR2AM,
$231-32-240A SSE8W
TE-3631 GJ6E-32-280 OUTERR ATENZA GG3P,GGEP,GGES,GG3S,GYEW,GY3W  |02-
G26A-32-280 M14 X 1.5 MAZDA6 03-08
GJ6E-32-280A
TE-3632 GJ6E-32-290 OUTER L ATENZA GG3P,GGEP,GGES,GG3S,GYEW,GY3W  |02-
G26A-32-290 M14 X 1.5 MAZDAG 03-08
GJ6E-32-290A
BP4L-32-280 OUTERR MAZDA3 BK3P 03-13
M17 X 1.5 MAZDA5 05-
TE-3634 BP4L-32-290 OUTER L MAZDA3 BK3P 03-13
M17 X 1.5 MAZDA5 05-
TE-3701 W023-99-322 R TITAN EVB12-60484~ 77-80
1363-99-322 MALE RHT EXR15-23076~
M18 X 1.5 TA3H1,TA3H4
WEW WEX WEY,WE5 WEF WEF4 WE11T [80-
WEL4,WE14T WE17T
TE-3702 W023-99-323 L TITAN EVB12-60484~ 77-80
1363-99-323 MALE LHT EXR15-23076~
M18 X 1.5 TA3H1,TA3H4
WEW ,WEX,WEY,WE5 WEF WEF4, WE11T [80-
WEL4,WE14T WE17T
TE-C001 ZZP0-32-365A |OUTERR/L  |B2300 98-10
M14 X 1.5 B3000
B4000
TE-C005 EG21-32-280 OUTERR CX-7 ER3P 07-12
EG21-32-280A |M14X 1.5 CX-9 TB 07-
EG21-32-280B
TD11-32-280
TD11-32-280A
TE-C006 EG21-32-290 OUTER L CX-7 ER3P 07-12
EG21-32-290A |[M14X 15 CX-9 TB 07-
EG21-32-290B
TD11-32-290
TD11-32-290A
TE-C007 D521-32-280B  |OUTERR DEMIO 05-
M14 X 1.5
TE-C008 D521-32-290B  |OUTERL DEMIO 05-
M14 X 1.5
TE-C009 GS1D-32-280  |OUTERR MAZDA 6 07-
M14 X 1.5 ATENZA 07-
TE-C010 GS1D-32-290  |OUTERL MAZDA 6 07-
M14 X 1.5 ATENZA 07-
TE-CO11 D651-32-280 OUTERR MAZDA 2 DE5FS 07-
D653-32-280 M14 X 1.5 DEMIO DE3FS 07-
D654-32-280 MAZDA 2 11-
TE-CO12 D651-32-290 OUTER L MAZDA 2 DE5FS 07-
D653-32-290 M14 X 1.5 DEMIO DE3FS 07-

93




D654-32-290 MAZDA 2 11-

TE-C013 UR56-32-250 INNER R/L BT-50 UR56 06-
M14 X 1.5

TE-C015 UR56-32-280 OUTER R/L  |BT-50 4X2 06-
M14 X 1.5

TE-C017 URG61-32-280 OUTER R/L  |BT-50 4X4 URG1 06-
M14 X 1.5

94




RACK END

MAZDA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS

RE-3020 FD01-32-240A  |RI/L SAVANNA RX7 93-95
FD01-32-240 M14 X 1.5 RX7 93-95
FD01-32-240B  [M12 X 1.25

RE-3030 B455-32-24X RIL FAMILIA BG39....exc/P.S 89-95
F1CZ-3280A M16 X 1.0

M12 X 1.25

RE-3110 B038-32-135 RIL FAMILIA(323) BD1031,BD1051.... for/P.S, 80-85

BA29-32-135 M17 X 1.0 LASER(FORD)
M12 X 1.25

RE-3120 HO01-32-240A  |RIL LUCE,LUCE-RE HBPHS,PBPHE,PBSHE,HBPS2,PBEP 81-86
HO001-32-240 M14 X 1.5 (922,929L,RX-4,RX-9) HBES,HBEJ,HBSN2(RE),HB3S(RE)

M14 X 1.5 COSMO,COSMO-RE HBPHS,HBPHE, HBSHE,HBPS2,HBEP 81-
HBES,HBSN2(RE),HB3S(RE)
RE-3150 GA2A-32-240  |R CRONOS GESP 91-97
GA2A-32-250  |L MAZDA 626 93-02
GA2A-32-240A |[M18 X 15 MX6 93-97
M14 X 1.5
RE-3160 LA01-32-115 RIL MPV 2WD 89-95
M17 X 1.0
M14 X 1.5
RE-3190 NA01-32-240 RIL MIATA 90-05
M18 X 1.5 MX-5
M12 X 1.25
RE-3211 B093-32-240 R FAMILIA(323) BF3P,BF5P,BFMP,BFSP,BFTP,BF7P 84-
NA02-32-240 M17 X 1.0 & LASER(FORD)  |.... for/P.S

M12 X 1.25 BF3V,BF5V,BF7V,BF5W...for/P.S. 85-

RE-3212 B093-32-250 L FAMILIA(323) BF3P,BF5P,BFMP,BFSP,BFTP,BF7P 84-
M17 X 1.0 &LASER(FORD)  |..... for/P.S.

M12 X 1.25 BF3V,BF5V,BF7V,BF5W.. for/P.S. 85-

RE-3220 B092-32-240 RIL FAMILIA(323) BF3P,BF5P,BFMP,BFSP,BFTP,BF7P 84-

M14 X 1.5 & LASER(FORD)  |... for/C.G.R.TYPE
M12 X 1.25 BF3V,BF5V,BF7V,BF5W 85-
..... for/C.G.R.TYPE
B094-32-240 FAMILIA(323) BF3P,BF5P,BFMP,BFSP,BFTP,BF7P 84-
& LASER(FORD)  |... for/V.G.R.TYPE
BF3V,BF5V,BF7V,BF5W 85-
..... for/V.G.R.TYPE

RE-3221 G037-32-240C _ |R CAPELLA(626) GC6P,GC8P,GCEP,GCFP....for/P.S. 82-87
G037-32-240B  |[M16 X 1.5 & TELSTAR(FORD)

G037-32-240A  |[M14X 15

RE-3222 G037-32-250C  |L CAPELLA(626) GC6P,GC8P,GCEP,GCFP....for/P.S. 82-87
G037-32-250B  |[M16 X 1.5 & TELSTAR(FORD)

G037-32-250A  |[M14X 15
RE-3230 GJ21-32-240 RIL CAPELLA(626) GDFP,GD6P,GDSP,GD8S,GDEP,GDES 87-
M18 X 1.5 & TELSTAR(FORD) GDER(4WD)
M14 X 1.5 GDEA(4WS) 87-
GJ22-32-240 RIL CAPELLA(626) GDFP,GD6P,GD8P,GDEP,GDES 87-92
M18 X 1.5 & TELSTAR(FORD) GDER(4WD)....for/P.S.
M14 X 1.5
RE-3231 B456-32-24X R FAMILIA BG39....for/P.S 89-
M16 X 1.0
M12 X 1.25

95




RE-3232 B456-32-25X L FAMILIA BG39.....for/P.S 89-
M16 X 1.0
M12 X 1.25
RE-3233 B21H-32-24X R PROTEGE ES, LX, DX 97-98
M14 X 1.5
M12 X 1.25
RE-3234 B21H-32-25X L PROTEGE ES, LX, DX 97-98
M14 X 1.5
M12 X 1.25
RE-3235 B25D-32-240 L PROTEGE MP3, ES, DX, LX 99-03
M16 X 1.0 PREMACY 99-06
M14 X 1.5 MPV 99-06
RE-3236 B25D-32-250 R PROTEGE MP3, ES, DX, LX 99-03
M16 X 1.0 PREMACY 99-06
M14 X 1.5 MPV 99-06
RE-3270 E016-32-250 L FAMILIA BHALP,BHALS,BHA5P,BHA5S,BHASP,BHAS8 |94-
E016-32-24X M16 X 1.0 MX3 4CYL 92-96
M12 X 1.25 |PROTEGE 96-97
RE-3500 S083-32-115 RIL BONGO SR89V,SREAV,SRE9W,SRFOW,SR29V 83-
SA39-32-115 M17 X 1.0 BESTA SR2AV,SS48V,SS88W,SSF8V,SSF8W
M14 X 1.5 SRE9V,SD89T,SD29T,SD2AT,SDEAT
BONGO 4WD SREAM,SS28M,5S88M,SS28R,SS88R,SSES (84-
RE-3510 GJ6E-32-24X RIL ATENZA GG3P,GGEP,GGES,GG3S,GYEW,GY3W 02-
GJ6E-32-240 M18 X 1.5 MAZDA6 03-08
M14 X 1.5
RE-3520 BP4L-32-240 RIL MAZDA3 03-13
M14 X 1.5 MAZDA5 05-
M17 X 1.5
RE-C001 LC62-32-240B  |RIL MPV LX, ES, LX-SV 00-06
M16 X 1.5
M14 X 1.5
RE-C003 EG21-32-240 RIL CX-7 ER3P 07-12
M14 X 1.5
M14 X 1.5
RE-C005 D521-32-240 RIL DEMIO 05-
M16 X 1.0
M14 X 1.5
RE-C007 D651-32-240 RIL MAZDA 2 DE5FS 07-13
D653-32-240 M14 X 1.5 DEMIO DE3FS 11-
M14 X 1.5
RE-C009 TD11-32-240 RIL CX-9 B 07-
TD11-32-240A
RE-C011 GS1D-32-240 RIL MAZDA6 GHEFP 07-
M18 X 1.5 ATENZA 07-
M14 X 1.5

96




CONTROL ARM

MAZDA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CA-3111 B001-34-310C  |LOWERR MAZDA 323 FA4US, FA4UV 79-85
FAMILIA
CA-3112 B001-34-360C  |LOWERL MAZDA 323 FA4US, FA4UV 79-85
FAMILIA
CA-3121 B092-34-310A |LOWERR MAZDA 323 BF3V, BF5V, BF7V, BF5W 86-89
B092-34-310 FAMILIA
CA-3122 B092-34-360A  |LOWERL MAZDA 323 BF3V, BF5V, BF7V, BF5W 86-89
B092-34-360 FAMILIA
CA-3131 B455-34-300 LOWERR MAZDA 323 BG3P, BG3S, BG5P, BG5S, BG6P, BG6S,  |90-94
B455-34-300B FAMILIA BG7P, BG8P, BG8S
CA-3132 B455-34-300 LOWER L MAZDA 323 BG3P, BG3S, BG5P, BG5S, BG6P, BG6S,  |90-94
B455-34-350 FAMILIA BG7P, BG8P, BG8S
CA-3311 H001-49-310 LOWERR MAZDA 929 HBPHS8, HBPHE, HBSHE, HBPS2, HBEP, 82-87
H001-99-310 LUCE HBES, HBEJ
CA-3312 H001-49-320 LOWER L MAZDA 929 HBPHS8, HBPHE, HBSHE, HBPS2, HBEP, 82-87
H001-99-320 LUCE HBES, HBEJ
CA-3330 GJ6A-34-300 LOWERR/L |MAZDA6 GGEP, GGES, GG3P, GG3S, GYEW, GY3W |02-08
GJ6A-34-300A  |(NO.1) ATENZA
GJ6A-34-300B
GJBA-34-300C
GJ6A-34-300D
CA-3333 G030-34-300 LOWER R MAZDA 626 GC6P, GC8P, GCEP, GCFP 83-87
CAPELLA
CA-3334 G030-34-350 LOWER L MAZDA 626 GC6P, GC8P, GCEP, GCFP 83-87
CAPELLA
CA-3335 GJ6A-34-J00 LOWERR MAZDA 6 GGEP, GGES, GG3P, GG3S, GYEW, GY3W [02-08
GJ6A-34-J00B  |(NO.2) ATENZA
GJBA-34-J00C
GJBA-34-J00D
CA-3336 GJBA-34-J50 LOWER L MAZDA 6 GGEP, GGES, GG3P, GG3S, GYEW, GY3W [02-08
GJ6A-34-J50B  |(NO.2) ATENZA
GJBA-34-J50C
GJBA-34-J50D
CA-3337 GJ6A-34-200 UPPER R MAZDA 6 GGEP, GGES, GG3P, GG3S, GYEW, GY3W [02-08
GJ6A-34-200A ATENZA
GJ6A-34-200B
GP9A-34-200
GP9A-34-200A
CA-3338 GJ6A-34-250 UPPER L MAZDA 6 GGEP, GGES, GG3P, GG3S, GYEW, GY3W |02-08
GJ6A-34-250A ATENZA
GJ6A-34-250B
GP9A-34-250
GP9A-34-250A
CA-3349 GJ22-34-300 LOWER R MAZDA 626 GDFP, GD6P, GD8J 88-92
CAPELLA
CA-3350 GJ22-34-350 LOWER L MAZDA 626 GDFP, GD6P, GD8J 88-92
CAPELLA
CA-3351 GA2A-34-300 LOWER R MAZDA 626 CG2SP 93-97
CAPELLA
CA-3352 GA2A-34-350 LOWER L MAZDA 626 CG2SP 93-97
CAPELLA

97




CA-3520 B25D-34-300 LOWER R MAZDA 323 BJFP 98-00
B25D-34-300A FAMILIA
B25D-34-300B
B25D-34-300D

CA-3530 B25D-34-350 LOWER L MAZDA 323 BJFP 98-00
B25D-34-350A FAMILIA
B25D-34-350B
B25D-34-350D

CA-3540 B32H-34-300 LOWER R MAZDA 3 BK3P 03-09
B32H-34-300A AXELA
B32H-34-300B
B32H-34-300C

CA-3550 B32H-34-350 LOWER L MAZDA 3 BK3P 03-09
B32H-34-350A AXELA
B32H-34-350B
B32H-34-350C

CA-3560 GE4T-34-300 LOWER R MAZDA 626 GFEP 97-02
GEA4T-34-300E CAPELLA 97-02
GD7A-34-300B 98-99
GG2A-34-300C 00-02

CA-3570 GE4T-34-350 LOWER L MAZDA 626 GFEP 97-02
GEA4T-34-350E CAPELLA 97-02
GD7A-34-350B 98-99
GG2A-34-350C 00-02

CA-3580 BO1A-34-350 LOWER L MAZDA 323 BHALP, BHALS, BHASP, BHASS, BHASP,  |95-97

FAMILIA BHAB8S
CA-3590 BO1A-34-300 LOWER R MAZDA 323 BHALP, BHALS, BHASP, BHASS, BHASP,  |95-97
FAMILIA BHAB8S

98




IDLER ARM

MAZDA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
IA-3132 UB39-32-320A  [LHD PROCEED(COURIER) UB#,UCH#,UD# UE#,UT# 84-87
UB39-32-320 (B1600,B2000)
(B2200)
IA-3141 UB93-32-320B  |RHD PROCEED (COURIER) UB#, UC#, UD#, UE#, UT# 87-
(B1600, B2000)
UE53-32-320 (B2200, B2600) UF66M 89-
IA-3142 UB39-32-320B  [LHD PROCEED (COURIER) UB#, UC#, UD3, UE#, UT# 87-
UE38-32-320 (B1600, B2000)
(B2299, B2600)
PITMAN ARM
MAZDA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
PA-3410 UB39-32-220 RHD/LHD PROCEED(COURIER) UB#,UCH#,UD#,UE#,UT# 84-87
UB39-32-220A (B1600,B1800) 87-90
(B2200,B2600)
LHD PROCEED G2000,B2200,B2600 86-
PA-3430 UB39-32-220B  |RHD/LHD PROCEED(COURIER) UB#,UC#,UD#,UE#,UT# 90-
(B1600,B2000)
(B2200,B2600)
INNER SHAFT
MAZDA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
1S-3001 0223-34-411 UPPERR/L [LUCE SUA,SVA,SUAV,SVAV 68-73
0603-34-411 PROCEED(COURIER) BUDG61,BNA61,BTA67,PE2V6 65-80
D27Z-3056A (B1600,B1800) PE2N6-521699~

(B2000,B2200)

PE2N7-326623~
PE2V7-237305~
UDX021-500001~
UDY021-500001~

99




STABILIZER LINK

MAZDA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
SB-3101 GA2A-34-150A |[FRONT R 626,CAPELLA CG2SP 93-97
M10 X 1.25 |PROTAGE 95-98
GD1E-34-150 626, MX-6,MIATA 97-02
F151-34-150 MX-5 MIATA 06-
RX-8 04-08
L206-34-150A M10 X 1.25 |CX-7 07-12
L206-34-150B
SB-3102 GA2A-34-170A |FRONT L 626,CAPELLA CG2SP 93-97
M10 X 1.25 |PROTAGE 95-98
GD1E-34-170 626, MX-6,MIATA 97-02
F151-34-170 MX-5 MIATA 06-
RX-8 04-08
L206-34-170A M10 X 1.25 |CX-7 07-12
L206-34-170B
SB-3130 B26R-34-170 FRONT R/IL |MAZDA 323 FH4H 98-00
M10 X 1.25 |PREMACY 99-06
PROTEGE 99-00
SB-3145 BC1D-28-170 REAR PROTEGE,323 95-98
BC1D-28-170A |M10X 1.25 |FAMILIA BHAS5 94-
YL8Z-5K483-AA [FRONT ESCAPE (FORD) 01-03
ECO01-34-150A TRIBUTE EPEW 01-03
EC01-34-150
D651-34-170 MAZDA 2 DE5FS 07-
E112-34-150 DE3FS 11-
DEMIO DE3FS 11-
1A04-34-150 SCRUM DG64V 05-
SB-3170 BP4K-34-170D |FRONT MAZDA 3 HATCHBACK 03-09
BP4K-34-170C  |M10X 1.25 |AXELA 03-
BP4K-34-170B MAZDA 3 2.3L W/TURBO 07-09
BP4K-34-170A MAZDA 5 06-
BP4K-34-170
B37F-34-170A
SB-3181 TD11-34-150A  [FRONT R CX-9 B 07-
M12 X 1.25
SB-3182 TD11-34-170A  [FRONT L CX-9 B 07-
M12 X 1.25
SB-C001 GA2B-28-170A |REAR CRONOS 626,CAPELLA CG2SP 93-97
GA2B-28-170 M10 X 1.25 |MX-6 93-97
GA2B-28-170B
GA2C-28-170B
GD1J-28-170 626, MX-6 97-02
SB-C003 GJ6A-34-150A  [FRONT R ATENZA GG3P,GGEP,GYEW,GY3W,GGEY,GG3Y 02-
GK2A-34-150A |M10 X 1.25 |MAZDA6 03-13
623 97-
SB-C004 GJ6A-34-170A  |FRONT L ATENZA GG3P,GGEP,GYEW,GY3W,GGEY,GG3Y 02-
GK2A-34-170 M10 X 1.25 |MAZDA 6 03-13
623 97-
SB-C005 GJ6A-28-170A  |REAR ATENZA GG3P,GGEP,GYEW,GY3W,GGEY,GG3Y 02-
GJ6A-28-170B  |M10 X 1.25 |MAZDA6 03-08
SB-C007 B30H-28-170B  |REAR R/L PROTEGE FH4H 01-03
M10 X 1.25  |MAZDA 323 00-03
PREMACY CPEW 01-

100




SB-C009 BJOE-28-170 REAR R/L PROTEGE FH4H 99-00
46650-86Z00 M10 X 1.25 |SUZUKI VERONA
30884358 Volvo S40/V40 [Front]
SB-C011 LC62-34-170 FRONT R/L  |MAZDA 323 00-03
LC62-34-170A [M10X 1.25 |PREMACY 01-
LC62-34-170B FAMILIA BJFP 00-
MPV LW5W 00-01
PROTEGE 01-03
SB-C013 B26R-28-170 REAR R/L MAZDA 323 BJFP 98-00
M10 X 1.25 |PREMACY 99-06
FAMILIA 00-
SB-C015 GEA4T-28-170 REAR R/L CAPELLA GFEP 99-
M10 X 1.25
SB-C017 L206-28-170 REAR R/L CX-9 TB 07-
M10 X 1.25
SB-C019 GS1D-34-150 FRONT R MAZDA 6 GHEFP 07-
M10 X 1.25 |ATENZA 07-
SB-C020 GS1D-34-170 FRONT L MAZDA 6 GHEFP 07-
M10 X 1.25 |ATENZA 07-
SB-C021 GS1D-28-170 REAR R/L MAZDA 6 GHEFP 07-13
M10 X 1.25 |ATENZA 07-
SB-C023 BBM2-34-170A [FRONTR/L |MAZDA 3 BLEFP 09-13
B39D-34-170 M10 X 1.25 10-13
42420-62J00 SPLASH(SUZUKI) JB32S 08-
SB-C025 S10H-34-150 FRONT R/L  |BONGO FRIENDEE SGEW, SGLW, SGL5, SG5W, SGLR, SGL3 |96-
M12 X 1.25
SB-C027 KD31-28-170 REAR R CX-5 13-
M10 X 1.25 |MAZDA 3 14-
MAZDA 6 14-
SB-C028 KD31-28-190 REAR L CX-5 13-
M10 X 1.25 |MAZDA 3 14-
MAZDA 6 14-
SB-C029 KD35-34-170 FRONTR/L |[CX-5 13-
M10 X 1.25 |MAZDA 6 14-

101




CENTER BEARING

MAZDA

FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CB-3410 M011-22-560 LUCE SBSHE, HBSN2 81-
CB-3420 M025-22-560 LUCE HBSN2, HBE2 83-
CB-3430 3593-25-300 LUCE 929, LAAMS, LA4VS 79-87
CB-3435 8593-25-300 LUCE 929, LAAMS, LA4VS 79-87
CB-3436 8593-25-300A LUCE 929, LAAMS, LA4VS 79-87
CB-3440 0755-25-310
CB-3460 M046-22-560 LUCE HCEP, HCEP 86-
CB-3470 M054-25-310 LUCE 929 88-91
CB-3480 MO054-25-310A LUCE 929 88-91
CB-3490 P030-25-310 PROCEED UFXO, UFYO B2000, B2200 85-
CB-3500 P030-25-310A PROCEED UFXO, UFYO B2000, B2200 85-
CB-3510 P036-25-310
CB-3520 P036-25-310A
CB-3530 P045-25-310 PROCEED UFXOMI, UFYOMI B2600 85-
CB-3540 P045-25-310A PROCEED UFXOMI, UFYOMI B2600 85-
CB-3550 P047-25-310 PROCEED B2200 90-
CB-3560 P047-25-310A PROCEED B2200 90-
CB-3570 P065-25-310 PROCEED B2600 4WD, B3000 91-
CB-3580 P065-25-310A PROCEED B2600 4WD, B3000 91-
CB-3590 POA4-25-310
CB-3600 WO001-25-310A TITAN T3000, T3500, T4100 84-
CB-3610 W002-25-310 TITAN T3500, T4000, T4100 84-

102




BALL JOINT

FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
BJ-5610 45700-60A00 LOWERR/L |[ESCUDO(VITARA) TAO01(SE416) 88-

45700-60A01

103




TIE ROD END

SUZUKI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
TE-5503 48810-65D00 R GRAND VITARA SE420 99-05
48810-67D00 FEMALE RHT [VITARA 99-04
48810-65D01 M14 X 1.5 XL-7 01-06
TE-5504 48820-65D00 L GRAND VITARA SE420 99-05
48820-67D00 FEMALE RHT [VITARA 99-04
48820-65D01 M14 X 1.5 XL-7 01-06
TE-5505 48810-78A00 OUTERR CARRY VAN 99-
M12 X 1.25
TE-5506 48820-78A00 OUTER L CARRY VAN 99-
M12 X 1.25
TE-5511 48810-79000 R CARRY,EVERY ST30T,ST40T,ST30V,ST40V,ST30B 79-85
MALE RHT  |DAMAS(LABO) ST100 (SL410)
M14 X 1.5 DA71T,DA71V,DA81T,DA71B 85-
CARRY 4WD ST31,ST41,ST31V,ST41V 81-85
DB71T,DB71V 85-
TE-5512 48820-79000 L CARRY,EVERY ST30T,ST40T,ST30V,ST40V,ST30B 79-85
MALE LHT  |DAMAS(LABO) ST100(SL410)
M14 X 1.5 DA71T,DA71V,DA81T,DA71B 85-
CARRY 4WD ST31,ST41,ST31V,ST41V 81-85
DB71T,DB71V 85-
TE-5620 48810-82000 OUTERR/L |CULTUS AA41S AA43S AA53S AB41S AB43S 83-
48810-60B00 FEMALE RHT AB51S,AB53S,AB41V,AB43V
48820-60B00 M12X1.25 |WAGONR MC21S,MC11S...for/4WD 98-
48810-76G00 MC12S...for/2WD&4WD 00-01
MC22S...for/2WD&4WD 00-
WAGON R RR MC21S 98-00
MC12S...for/2WD&4WD 00-01
MC22S...for/2WD&4WD 00-
WAGON R WIDE MA61S,MB61S...for/4WD 97-99
WAGON R PLUS MA63S...for/2WD&4WD 99-01
WAGON R SOLIO MA34S,MA64S 00-
96052290 BALENO SY416 96-
ESTEEM 95-02
91175475 SWIFT 90-95
CHEVROLET SPRINT 85-91
PONTIAC FIREFLY 85-91
AERIO 02-07
TE-5630 48810-83300 OUTERR JIMNY SJ30-1,5J30-2,5J30-3,5J410-3 81-
48810-80000 MALE RHT SJ40,JA51.......... RHD/LHD
48810-60A00 M16 X 1.5
48810-81A01 OUTERR/L |ESCUDO 89-94
M16 X 1.5 SIDEKICK
TE-5631 48810-77E00 OUTERR/L |ESCUDO (VITARA) TALL 95-
MALE RHT
M16 X 1.5 X90 96-98
TE-5632 48820-80001 OUTER L JIMNY SJ30,SJ30-2.......... RHD/LHD 81-
48820-80000 MALE LHT
M16 X 1.5
TE-5640 48810-84000 OUTERR/L |FROVTE,MARUTTI CB71S,CB72S 84-
48810-84001 MALE RHT  |ALTO CAT71V,CA72V 84-
M12X1.25 |ALTO 4WD CC71V,CC72V 84-
WAGON R CT51S,CV51S 97-98

104




TE-5650 48820-77E00 INNER R/L ESCUDO (VITARA) TAO01(SE416), TDO1 88-
MALE LHT TA1l 95-
M16 X 1.5 X90 96-98
TE-5680 48810-60810 OUTERR/L  |SWIFT ZC21S, ZD21S 04-
48810-63J00 M12 X 1.25 APV RS413, RS415 05-
48810-61J00 WAGON R GC415 08-
48810-60J00 SWIFT SPORT ZC31S 05-
48810-58JA0 SPLASH 08-
TE-G001 48810-65J00 OUTER R/L  |GRAND VITARA 06-13
48810-79J01 M14 X 1.5 SX4 07-13
TE-G003 48810-68L00 OUTERR SWIFT ZC72S 10-
M14 X 1.5
TE-G004 48820-68L00 OUTER L SWIFT ZC72S 10-
M14 X 1.5
TE-G005 48810-57L00 OUTERR KIZASHI 09-
M14 X 1.5
TE-G006 48820-57L00 OUTER L KIZASHI 09-
M14 X 1.5

105




RACK END

SUZUKI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
RE-5600 48830-70B00 RIL ALTO 91-
M14 X 1.5 WAGON R 93-98
M12 X 1.25
RE-5610 48830-78000 RIL CERVO SS40C, SS40T 82-
48830-78001 FRONTE $S30,5540,S40F 79-84
ALTO SS30F,SS40V 79-84
ALTO 4WD SS41V 79-84
RE-5620 48830-82000 R/L (FEMALE) |CULTUS AA41S AA43S AA53S AB41S AB43S 83-88
96052292 M14 X 1.5 AB51S,AB53S,AB41V,AB43V
M12 X 1.25
RE-5630 48830-84000 R/L (FEMALE) [FRONTE,MARUTTI CB71S,CB72S 84-
M14 X 1.5 ALTO CAT71V,CA72V 84-
M12X 125 |ALTO 4WD CC71V,CC72V 84-
RE-5640 48830-60B00 RIL (FEMALE) | CULTUS(FORSA) AA34S(SF413),AB34S AF34S,AK34S 90-
M14 X 1.5 SWIFT 1.3/1.6 89-01
M12 X 1.25
RE-5650 48830-60B10 RIL SWIFT 89-94
M17 X 1.0
M12 X 1.25
RE-5660 48830-60G00 RIL BALENO SY416 96-
M14 X 1.5
M12 X 1.25
RE-5670 48830-76G00 RIL (FEMALE) [WAGON R MC22S 98-03
M14 X 1.5 CARRY VAN 99-
M12X 125 |ALTO HA23S 95-
1A00-32-365 AZ WAGON(MAZDA) MJ23S 03-
RE-5680 48830-54G00 RIL AERIO RA21S 01-07
M14 X 1.5 RC51S, RD51S 03-07
M12 X 1.25
RE-5690 48830-61J00 RIL APV GC415 04-
M16 X 1.5
M12 X 1.25
RE-5700 48830-75F01 R/L (FEMALE) |[WAGON 98-03
M14 X 1.5
M12 X 1.25
RE-5710 48830-50G10 RIL SWIFT DLX, GA (P.S)) 95-97
M17 X 1.0
M12 X 1.25
RE-5720 48830-63J00 RIL SWIFT ZC21S, ZD21S 04-
M18 X 1.5 RS413, RS415 05-
M12X1.25 |SWIFT SPORT ZC31S 05-
SPLASH JB32S 08-
RE-5780 48830-68L00 RIL SWIFT ZC72S 10-
M18 X 1.5
M14 X 1.5
RE-G001 48830-65D00 RIL GRAND VITARA SE420 99-05
M16 X 1.0
M14 X 1.5
RE-G003 48830-65J00 RIL GRAND VITARA PREMIUM, XSPORT, LUXURY 06-13
M18 X 1.5
M14 X 1.5

106




RE-G005

48830-67D00

R/L
M14 X 1.5
M14 X 1.5

VITARA

99-04

RE-G007

48830-79J10

L
M16 X 1.0
M14 X 1.5

SX4

YA11S

06-

RE-G008

48830-79J00

R
M16 X 1.0
M14 X 1.5

SX4

YA11S

06-

107




CONTROL ARM

SUZUKI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CA-5500 45200-79001 LOWERR/L |CARRY ST30,ST40 80-85
45200-79002 FRONT
CA-5510 45200-77500 LOWERR/L |CARRY SL413 85-99
FRONT
CA-5520 45200-61J00 LOWERR/L |APV GC415 04-
FRONT
CA-5530 45200-85000 LOWERR/L |CARRY, EVERY DA71,DA81T,DA71V,DA71B 85-99
45200-85001 FRONT
45200-85002
CA-5540 45200-75F00 LOWERR/L |WAGON R MA61S,MB61S 97-
45200-75F10 FRONT WAGON R PLUS MA63S 99-
45200-75F20 KARIMUM SL410R 00-
CA-5550 45200-76G00  |LOWERR/L |ALTO RA410 00-
45200-76G10  |FRONT
45200-76G20
CA-5610 45200-84000 LOWERR/L |ALTO CAT1A 84-88
45200-78002 FRONT CA71V-2,-3,CA72V-2,-3,-4
45200-50E00 (AWD)CD72S-3
45200-69D00 (AWD)CC71V,CC72V-2,-3,-4
45200-69DV0 CULTUS AA41S 83-
P100-28-310 PG6SA
FRONTE CB71S,CB72S-2,-3 84-
CA-5620 45200-82000 LOWERR/L |CULTUS AB51S
FRONT SWIFT 83-88
CA-5650 45201-60B01 LOWERR  |CURTUS SF310 00-
45201-60E01 FRONT SF410 07-
45201-60810 SWIFT 89-94
CA-5660 45202-60B01 LOWER L CURTUS SF310 00-
45202-60E01 FRONT SF410 07-
45202-60810 SWIFT 89-94
CA-5670 46201-60B01 LOWERR  |CURTUS SF310 00-
46201-60E01 REAR SF410 07-
46201-60810 SWIFT 89-94
CA-5780 46202-60B01 LOWER L CURTUS SF310 00-
46202-60E01 REAR SF410 07-
46202-60810 SWIFT 89-94
CA-5690 45201-63G01  |LOWERR _ |BALENO SY413 98-
45201-63G00  |FRONT SY416 96-
45201-60G00
CA-5700 45202-63G01  |LOWER L BALENO SY413 98-
45202-63G00  |FRONT SY416 96-
45202-6GG00
CA-5710 45201-54G01  |LOWERR _ |AERIO RH415 02-
FRONT NEW BALENO RB415
LIANA
CA-5720 45202-54G01 _ |LOWERL _ |AERIO RH415 02-
FRONT NEW BALENO RB415
LIANA
CA-5730 45201-59J00 LOWERR  |AERIO RH415 04-
FRONT NEW BALENO RB415
LIANA

108




CA-5740 45202-59J00 LOWER L AERIO RH415 04-
FRONT NEW BALENO RB415
LIANA
CA-5750 46200-56B00 UPPER R/L SIDEKICK 89-98
46200-50830 REAR ESCUDE TAO1
46200-60A01
CA-5760 45201-63J00 LOWERR SWIFT RS413 09-
FRONT
CA-5770 45202-63J00 LOWER L SWIFT RS413 09-
FRONT
CA-5780 45201-77A10 LOWERR CARRY, EVERY GA413 01-03
FRONT
CA-5790 45202-77A10 LOWER L CARRY, EVERY GA413 01-03
FRONT
CA-5810 45201-55F00 LOWERR CARRY DE51V,VDF51V
FRONT
CA-5820 45202-55F00 LOWER L CARRY DE51V,VDF51V
FRONT
CA-5830 45201-55FA2 LOWERR CARRY DC51T 95-98
FRONT
CA-5840 45202-55FA2 LOWER L CARRY DC51T 95-98
FRONT
CA-5850 45201-56B00 LOWERR SIDEKICK 89-98
FRONT ESCUDE TAO1
CA-5860 45202-56B00 LOWER L SIDEKICK 89-98
FRONT ESCUDE TAO1
CA-5870 45201-65J00 LOWERR GRAND VITARA 06-
45201-78K00 FRONT
CA-5880 45202-65J00 LOWER L GRAND VITARA 06-
45202-78K00 FRONT
CA-5890 45201-79J00 LOWERR SX4 07-
FRONT
CA-5900 45202-79J00 LOWER L SX4 07-
FRONT

109




STABILIZER LINK

SUZUKI
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
SB-5610 46630-60B01 REAR AERIO 02-03
M10 X 1.25 SWIFT 89-94
95-01
ESTEEM 95-02
SB-5620 46630-59J00 REAR AERIO RA21S 03-07
M10 X 1.25 RH415 (1500CC) 04-
RB21S 03-
BALENO RB415 (1500CC) 04-
SB-5630 42420-60A00 FRONT VITARA ET,TA 88-99
M10 X 1.25
SB-5640 42420-59J00 FRONT AERIO RA21S, RH415 (1500CC) 03-07
M10 X 1.25 BALENO RB21S, RB415 (1500CC) 03-
42420-80J00 SX4 06-13
KIZASHI 09-13
SB-5650 42420-61J00 FRONT APV GC415 04-
M10 X 1.25
SB-5660 42420-81A10 FRONT JIMNY 2WD 00-
M10 X 1.25
SB-5670 42420-63J00 FRONT SWIFT ZC21S, ZzD21S 04-
M10 X 1.25 RS413, RS415 05-
SWIFT SPORT ZC31S 05-
SB-5680 42420-65J00 FRONT GRAND VITARA JB420W 06-13
M10 X 1.25
SB-5690 42420-67D00 FRONT ESCUDO TA52 99-04
VITARA 99-04
SB-5710 42420-77A00 FRONT CARRY DAG3T 05-08
SB-5720 42420-77M00 FRONT ELTIGA AVI414 12-
SB-5730 42420-85K00 FRONT WAGON R MH23S 08-
SB-5740 42420-81A00 FRONT JIMNY 4WD 00-
M10 X 1.25

110




BALL JOINT

SUBARU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
BJ-6501 7210-67003 LOWERR/L [LEONE AB2,AB4,AM1,AM2 79-84
7210-67002 AA2,AA4,AP2,AG4,AG6,AX4 84-
7210-67001 LEONE 4WD AB5,AJ5,AM3,AM5 79-84
7210-67000 AA3,AA5,AA7,AL5,AL7,AG5,AP3,AP5,AX7 84-
7210-67004 BRAT 82-87
BJ-6510 21067-GAO50 LOWERR/L [LEGACY BC2,BC3.BC4,BC5 90-
20206-AJ000 FORESTER 11-
IMPREZA 11-
LEGACY 11-
OUTBACK 10-
BAJA 03-06
BJ-6520 7210-67021 LOWERR/L [JUSTY KA5, KA7 84-94
7210-67020 KAG, KA8 (4WD)
7210-67022
TIE ROD END
SUBARU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
TE-6511 31320-GAl01 OUTER R LEONE AA2,AA4,AP2,AG4,AG6,AX4 84-91
31320-GA102 FEMALE RHT |LEONE 4WD AA3,AA5,AA7,AL5,AL7,AG5,AP3 84-91
M14 X 1.5 AP5,AX7
TE-6512 31320-GAl11 OUTER L LEONE AA2,AA4,AP2,AG4,AG6,AX4 84-91
31320-GAl12 FEMALE RHT |LEONE 4WD AA3,AA5,AA7,AL5,AL7,AG5,AP3 84-91
M14 X 1.5 AP5,AX7
TE-6520 34141-AA041 OUTERR/L |IMPREZA 4WD 93-
34141-AC010 FEMALE RHT |LEGACY ¢é, é BRIGHTON,GT,LIMITED,POSTAL,L 94-09
34141-AA042 M14 X 1.5 FORESTER 98-
34141-AC0109E BAJA TURBO,SPORT 03-
B9 TRIBECA 06-
TE-K001 31320-GA190 OUTERR LEGACY BC2 89-93
FEMALE RHT
M14 X 1.5
TE-K002 31320-GA200 OUTER L LEGACY BC2 89-93
FEMALE RHT
M14 X 1.5

111




RACK END

SUBARU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
RE-6540 31310-GA151 R/L LEONE AA2,AA4,AG4,AGE,AXA4...for/P.S. 84-
31310-GA150 M14 X 1.5 LEONE 4WD AA3,AA5,AA7,AL5,AL7,AG5,AX7...for/P.S. 84-
M14 X 1.5 XT 85-87
RE-6560 31310-GA152 R/L LEONE 84-
M14 X 1.5 LEONE 4WD
M12 X 1.25 XT 88-91
RE-6570 34140-AA030 R/L IMPREZA SF5 95-97
34140-AA040 M14 X 1.5 LEGACY 90-97
M14 X 1.5 FORESTER 97-01
RE-K001 34160-AE000 R/L IMPREZA RS, TS,WRX,WRX STI 02-
34160-AE001 M16 X 1.5 FORESTER X, XS, XT 03-
M14 X 1.5 LEGACY BL5 03-
RE-K003 34160-AGO0A R/L LEGACY 2.51,GT 05-09
M18 X 1.5 OURBACK 2.5,R,XT 05-09
M14 X 1.5
RE-K005 34160-XA010 R/L FORESTER SH5 08-
M16 X 1.5 LEGACY 15-
M14 X 1.5 OUTBACK 15-
WRX 15-
STABILIZER LINK
SUBARU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
SB-K001 20470-SA000 FRONT R/L  |[FORESTER 03-
20470-SA001 M10 X 1.25 IMPREZA 02-
LEGACY/OUTBACK 05-09
SB-K003 20470-SA011 REAR R/L FORESTER SG5 02-07
M10 X 1.25
SB-K005 20420-FA020 FRONT R/L  [LEGACY 99-03
M10 X 1.25
SB-K007 20420-KEO00 FRONT R/L  [PLEO 98-09
M10 X 1.25

112




BALL JOINT

DAIHATSU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
BJ-JOO1 43330-87680 LOWERR/L [ROCKY 89-99
TIE ROD END
DAIHATSU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
TE-6103 45047-87381 L DELTA V5#,V7#,Vo#...for/P.S 84-
MALE LHT
M20 X 1.5
TE-6111 45046-87580 IN L/OUT R HIJET S65 81-86
45046-87504 INNER R/L S70 83-
45046-87503 IN L/OUT R S80 86-
FEMALE RHT S88(ZEBRA/1000) 86-
M14 X 1.5 HIJET 4WD S66 82-86
TE-6112 45047-87580 IN L/OUT R HIJET S65 81-86
45047-87504 INNER R/L S70 83-
45047-87503 IN L/OUT R S80 86-
FEMALE LHT S88(ZEBRA/1000) 86-
M14 X 1.5 HIJET 4WD S66 82-86
TE-6200 45046-87701 OUTER R/L |CHARADE G10 77-82
FEMALE RHT
M12 X 1.25
TE-6201 45046-87781 OUTR CHARADE G100,G101 87-92
45046-87782 FEMALE RHT |ESPAS
45046-87783 M12 X 1.25
45046-87784
TE-6202 45047-87781 OUTER L CHARADE G100,G101 87-92
45047-87782 FEMALE RHT |ESPAS
45047-87783 M12 X 1.25
45047-87784
TE-6211 45046-87282 OUTERR CHARADE G11,G26,G30 83-86
45046-87780 FEMALE RHT |COURE,MIRA L70S,L70V 85-
45046-87283 M12 X 1.25 MIRA 4WD L71v 85-
45046-87285 LEEZA L100S,L100V 86-
45046-97203 MIRA L200S,L200V,L300 90-
TE-6212 45047-87280 OUTER L CHARADE G11,G26,G30 83-86
45047-87780 FEMALE RHT |COURE,MIRA L70S,L70V 85-
45047-87281 M12 X 1.25 MIRA 4WD L71v 85-
45047-87282 LEEZA L100S,L100V 86-
45047-97203 MIRA L200S,L200V,L300 90-
TE-6311 45046-87680 R TAFT F2#,F5#,F6#......... RHD/LHD 79-84
45046-87601 MALE RHT RUGGER F7#......... RHD 84-
45046-87303 M20 X 1.5 DELTA V1#,V2# V3# Va# NS# N T#,VO# 77-
TE-6312 45047-87380 L RUGGER F7#......... LHD 84-
45047-87303 MALE LHT DELTA V1#,V2# V3# Va# NS# N T#,VO# 77-
M20 X 1.5
TE-6321 45046-87380 R DELTA V5#,V7#,Vo#...for/P.S 84-
MALE RHT
M20 X 1.5

113




RACK END

DAIHATSU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
RE-6120 45503-87705 R/L CHARADE G100,G101,G102,G112.....exc/P.S. 87-89
M11 X 1.5
M12 X 1.25
RE-6140 45503-87210 R/L MIRA L70S 85-
45503-87208 M11 X 1.5 L70V...ccooiininnne exe/P.S 85-
45503-87215 M12 X 1.25 CUORE 94-98
RE-6150 45503-87711 R/L CHARADE G100,G101,G102,G112.....exc/P.S 89-93
45503-87708 M11 X 1.5
M12 X 1.25
RE-6170 45460-87401 R/L TARUNA F500 99-
45503-87401 M14 X 1.5 TERIOS J100G, J102G 97-
M14 X 1.5 TERIOS KID J122G, J111G, J131G 97-
CANBARA
TERIOS/VIGO J200,J210 06-
RE-JO01 45503-87501 R/L ESPASS So# 95-
M14 X 1.5
M14 X 1.5
RE-J003 45503-97201 R/L SIRION HATCHBACK 99-
M14 X 1.5
M12 X 1.25
CENTER BEARING
DAIHATSU
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CB-6100 37208-87302 DELTA

114




BALL JOINT

HONDA
FUJI OEM NO POSITION CAR NAME MODEL YEARS
BJ-5100 51220-SB0-003 [LOWERR/L |ACCORD,VIGOR CA1,CA2,CA3,CA5 85-89
51220-SB0-023
51220-SE0-003 PRELUDE AB,BAl 82-87
51220-SH3-003 BA4 87-
51220-SE0-000 BA5(4WD)...for/Front Steering 87-
51220-SF1-004 87-
51220-SF1-000 CR-X EF6,EF7 87-
51220-SK7-013 CIvVIC EF1,EF2,EF3,EF4,EF5EY2 87-
51220-SK7-003
BJ-5110 51270-SB0-003 (UPPER R/L PRELUDE AB,BAl 82-87
51270-SB0-013
BJ-5140 51270-SF1-003 (UPPER R/L PRELUDE BA4 87-91
BA5(4WS)...... for/Front Steering 87-91
BJ-5150 51220-TAO-A02 [LOWER ACCORD EX, LX, XE 08-
INSPIRE CP3 08-
ACURA TSX 09-
ACURA TL 09-
BJ-5160 51220-S9A-982 [LOWERR/L |CR-V RD4, RD5 01-06
51220-S9A-020 02-04
51220-S6F-E01 CIVIC EP3, EU3 02-05
51220-S5T-Z00 CIVIC HATCH BACK FOR 51210-S5T-Z00/51215-S5T-Z00 04-05
51220-SCA-000 FOR 51210-S9A-020/51215-S9A-020
51220-SCA-981 FOR 51210-SCA-000/51215-SCA-000
BJ-5200 51220-SD4-023 [LOWER R/L |LEGEND, ACURA KA1,KA2,KA3,KA4 85-91
51220-SD4-013 ARCADIA
51220-SD4-004
51220-SS0-010 PRELUDE BA8 91-96
51220-SS0-901
51220-SL5-003 KA7, KA8 91-96
51220-SW5-J60 INSPIRE UAL1 95-98
BJ-5210 51220-SM4-013 [LOWERR/L |ACCORD CB1,CB2,CB3,CB4 89-93
51220-SM4-003
51220-SM0-003
51220-SM1-A01 ODYSSEY RA1,RA2,RA3,RA4 94-99
51220-SM1-A02 PRELUDE BA5(4WS).....for/Front Steering 87-
51220-S0A-J01 ACCORD CF3,CF4,CF5 97-02
52220-SF1-003
51220-S84-A01 [LOWER R/L |ACCORD INSPIRE UA4,UAS5 98-
51220-S84-A02
51220-S4K-A00 ACCORD SEDAN 98-02
BJ-5230 51220-SR3-003 [LOWERR/L |CIVIC EG4,EG6,EG8,EG9 91-95
51220-S04-003 EK2,EK3,EK4,EJ7 96-99
51220-SR0-A01 CR-V RD1, RD2 95-00
51220-SS0-000 CIVIC CRX,CVCC,DELSOL 93-95
WAGON
BJ-5340 51220-S5A-003 [LOWER R/L |CIVIC EU1,EU2, EU3, EU4 00-
51220-S5A-J10 CIVIC FERIO ES1,ES2,ES3 00-
51220-S5A-J30 CIVIC SEDAN ET2 00-
51220-S5A-J20

115




BJ-5350 51270-SR3-023 [UPPER R/L Clvic EG4,EG6,EG8,EH1 92-
51270-SR3-013 EJ3 96-98
51270-S01-013 EK2,EK3,EK4,EJ7 96-99
51270-S01-023 CIVIC COUPE 96-00
51270-S04-013 CIVIC SEDAN 96-00
51270-S04-023
51270-S84-A01 ACCORD 96-98
51270-S0A-003 CF3,CF4,CF5 97-
51270-S30-003 PRELUDE BB5,8B6,BB7,BB8 97-
51270-S10-020 CR-V B20B,K20A 97-01
51270-SFE-003 ODYSSEY RB1 03-
51270-S3N-003 ACCORD 08-
51270-TA0-A03 INSPIRE CP3 08-

BJ-5370 51220-SNA-A03 [LOWERR CIviC FD1, FD3 05-
51220-SNA-A02 CIVIC COUPE/SEDAN DX, EX, LX 06-11
51220-SNL-TO1 CIVIC HYBRID 06-11

BJ-5380 51230-SNA-A03 [LOWERL ClviC FD1, FD3 05-
51230-SNA-A02 CIVIC COUPE/SEDAN DX, EX, LX 06-11
51230-SNL-TO1 CIVIC HYBRID 06-11

BJ-5390 51220-SDA-A02 [LOWER ACCORD CL7 BALL JOINT ONLY 03-06

ACURA TSX FOR 51210-SDA-A02/51215-SDA-A02 04-05

BJ-FOO1 51270-SE0-043 |REAR UP R/L |ACCORD,VIGOR CA1,CA2,CA3,CA5 85-

BJ-F003 51270-SM4-A04 (UPPERR/L |ACCORD CB1,CB3,CB4,CB5,CD7,CD8 89-

REAR
BJ-FO05 51220-STK-A01 [LOWER CR-V RE3, RE4 06-
ACURA RDX TB1 07-
ACURA MDX 14-

BJ-FOO7 51220-S3V-A01 [LOWER ACURA MDX YD1 For ARM 01-06
51220-S3V-A03 PILOT 51350-S3V-A01/51360-S3V-A01 02-

51220-S3V-Al10

51350-S3V-A03/51360-S3V-A03

116




TIE ROD END

HONDA
FUJI OEM NO POSITION CAR NAME MODEL YEARS
TE-5100 53540-SC2-004 |[OUTERR/L |ACCORD SJ,SM,SV,SY,SZ,AC,AD,CAL,CA2 76-89
53540-SC2-003 [FEMALE RHT CA3,CA5
53540-SB2-013 [M12X1.25 |VIGOR SZ,AD,CA1,CA2,CA3 81-
53540-SB2-003 PRELUDE SN,AB,BA1 78-87
53540-SB0-003 QUINT suU 80-85
53540-SA0-003 QUINT INTEGRA AV,DA1,DA2 85-
53540-SA0-023 BALLADE SS,ST,AJAK 80-86
53540-679-004 CR-X AE,AF AS 83-87
53540-659-003 cIvic SB,SC,SF,SG,SH,SK,SP,SR,ST,SL 72-87
53540-611-010 SS,WD,VC,VE,AG,AH,AK,AT,AJ AU
53540-SB2-002 VJ(PRO),AR(4WD)
53540-SA0-002 CITY AAVF 81-86
53540-634-000 FA(CABRIOLET) 84-86
53540-671-010 TODAY IWI 85-
TN ACTY TA,TB,VD 79-85
TN ACTY 4WD TC-100,TC-105,VH-100,VH-105 83-85
TC,VH 83-
TE-5101 53540-SEL-T01 |OUTER R FIT ARIA GD6,GD7,GD8,GD9 02-
53540-SAA-003 [M12X 125 |FIT GD1,GD2,GD3,GD4 01-
CITY, JAZZ 03-
TE-5102 53541-S5A-003 |OUTERR/L |CIVIC EUL,EU2,EU3,EU4 00-05
FEMALE RHT [CIVIC FERIO EU1,EU2,EU3
M14 X 1.5 CR-V RD4,RD5 01-
TE-5103 53560-SEL-TO1 |OUTER L FIT ARIA GD6,GD7,GD8,GD9 02-
53560-SAA-003 [M12X 125 |FIT GD1,GD2,GD3,GD4 01-
CITY, JAZZ 03-
TE-5104 53560-TF0-003 |OUTER L INSIGHT ZE2 10-
M14 X 1.5 FIT GE6,GE7,GE8,GE9 09-
CITY GM1,GM2 09-
JAZZ GE6,GES,GG1 09-
FREED GB3,GB4 08-
TE-5105 53540-TF0-003 |OUTER R INSIGHT ZE2 10-
M14 X 1.5 FIT GE6,GE7,GE8,GE9 09-
CITY GM1,GM2 09-
JAZZ GE6,GE8,GG1 09-
FREED GB3,GB4 08-
TE-5141 53540-SH3-003 |OUTER R CR-X EF6,EF7 87-
53540-SH3-013 [FEMALE RHT |CIVIC EF1,EF2,EF3,EF4,EF5,EY2 87-
53540-SH3-000 [M14X15  |ACCORD 97-
53540-SHO-A01
53540-SR3-003 |OUTER R cvic EG4,EG6,EG8,EGY 91-
53540-SRO-A01 [FEMALE RHT EK2,EK3,EK4,EJ7 96-98
53540-ST7-003 |[M14 X 1.5 INTEGRA DB6,DB7,DB8,DB9,DC1,DC2 93-
53540-S04-003 EL1-100
53540-S04-013 98-
TE-5142 53560-SH3-003 |OUTER L CR-X EF6,EF7 87-
53560-SH3-013 |FEMALE RHT [CIVIC EF1,EF2,EF3,EF4,EF5,EY2 87-
53560-SH3-000 [M14X15  |ACCORD 97-
53560-SR3-003 [OUTER L cIvic EG4,EG6,EG8,EGY 91-
53560-SRO-A01 [FEMALE RHT EK2,EK3,EK4,EJ7 96-98
53560-ST7-003 |[M14 X 1.5 INTEGRA DB6,DB7,DB8,DB9,DC1,DC2 93-
53560-S04-003 EL1-100
53560-S04-013 98-
TE-5211 53540-SP0-013 |OUTER R ACURA LEGEND KA7, KA8 91-
53540-SP0-023 [FEMALE RHT
M14 X 1.5

117




TE-5212 53560-SP0-013 [OUTERL ACURA LEGEND KA7, KA8 91-
53560-SP0-023 [FEMALE RHT
M14 X 1.5
TE-5260 53540-SNA-A01 [OUTERR CIviC FD1, FD2, FD3 05-11
53540-SNA-A02 [M14 X 1.5 CIVIC COUPE/SEDAN DX, EX, LX 06-11
53540-SNE-A01 CIVIC HYBRID 06-11
53540-SNE-A02
TE-5270 53560-SNA-A01 [OUTER L CIviC FD1, FD2, FD3 05-11
53560-SNA-A02 [M14 X 1.5 CIVIC COUPE/SEDAN DX, EX, LX 06-11
53560-SNE-A01 CIVIC HYBRID 06-11
53560-SNE-A02
TE-5301 53540-SM4-003 (R ACCORD CB1,CB2,CB3,CB4 89-93
53540-SM4-004 |FEMALE RHT
M14 X 1.5
TE-5302 53560-SM4-003 |L ACCORD CB1,CB2,CB3,CB4 89-93
53560-SM4-004 |FEMALE RHT
M14 X 1.5
TE-5311 53540-SV4-003 |[OUTERR ACCORD CD7, CD8, CE1 94-97
53540-SV4-013 (FEMALE RHT |ACURA CL 97-99
53540-SV7-003 [M14 X 1.5
53540-SX0-003 ODYSSEY RA1,RA2,RA3,RA4 94-99
53540-584-A01 INSPIRE UA4,UA5 98-
TE-5312 53560-SV4-003 [OUTERL ACCORD CD7, CD8, CE1 94-97
53560-SV4-013 (FEMALE RHT |ACURA CL 97-99
53560-SV7-003 [M14 X 1.5
53560-SX0-003 ODYSSEY RA1,RA2,RA3,RA4 94-99
53560-S84-A01 INSPIRE UA4,UA5 98-
TE-5320 53540-SDA-A01 [OUTERR ACCORD DX/EX/LX L4(2.4) 03-07
FEMALE RHT |ACCORD WAGON LX/EX V6(3.0) 03-07
M14 X 1.5 INSPIRE CL7,CL8, CL9 04-06
TE-5330 53560-SDA-A01 [OUTERL ACCORD DX/EX/LX L4(2.4) 03-07
FEMALE RHT |ACCORD WAGON LX/EX V6(3.0) 03-07
M14 X 1.5 INSPIRE CL7,CL8, CL9 04-06
TE-5340 53540-TA0-A01 [OUTERR ACCORD cuz 08-
M14 X 1.5 INSPIRE CP3 08-
53560-SMG-003 [OUTER L EURO CIVIC FK17,FK27,FK2# 06-
53560-TR0O-A01 Clvic 11-12
TE-5350 53560-TA0-A01 [OUTERL ACCORD cuz 08-
M14 X 1.5 INSPIRE CP3 08-
53540-SMG-003 [(OUTERR EURO CIVIC FK17,FK27,FK2# 06-
53540-TR0O-A01 Clvic 11-12
TE-5360 53540-S0X-A02 |[OUTERR/L |ODYSSEY 2WD LX/EX V6(3.5) 99-
FEMALE RHT
M14 X 1.5
TE-5370 53540-SHJ-A01 [OUTERR/L |ODYSSEY EX(EXC. TOURING SERIES), LX 05-10
M14 X 1.5
TE-FOO01 53540-SX8-T01 [OUTERR/L |CITY SX8 96-98
53540-SX8-N00 [FEMALE RHT |LOGO 99-02
M12 X 1.25
TE-F003 53540-S3V-A02 |(OUTERR PILOT V6(3.5) 03-08
FEMALE RHT |ACURA MDX YD1 01-06
M14 X 1.5
TE-F004 53560-S3V-A02 [OUTERL PILOT V6(3.5) 03-08
FEMALE RHT |ACURA MDX YD1 01-06
M14 X 1.5
TE-F005 53540-SHJ-A51 [OUTERR/L [ODYSSEY EX(TOURING SERIES), TOURING 05-09
M14 X 1.5
TE-F007 53540-SLN-A01 [OUTERR/L [FIT 07-08
M12 X 1.25
TE-F009 53540-STX-A02 [OUTERR ACURA MDX 07-13

118




M14 X 1.5 PILOT 09-
ACURA ZDX 10-13
53540-TK4-A01 ([M14 X 1.5 ACURATL UA8 09-
53540-TK4-A02
TE-F010 53560-STX-A02 [OUTERL ACURA MDX 07-13
M14 X 1.5 PILOT 09-
ACURA ZDX 10-13
53560-TK4-A01 [M14 X 1.5 ACURATL UA8 09-
53560-TK4-A02
TE-FO11 53540-SFE-003 |[OUTERR ODYSSEY RB1 03-08
M14 X 1.5
TE-F012 53560-SFE-003 [OUTERL ODYSSEY RB1 03-08
M14 X 1.5
TE-F013 53540-SWA-A01 [OUTERR/L |CR-V RE3 07-11
53540-SWA-A02 [M14 X 1.5 CR-Z 11-12
TE-F015 53540-S4X-003 [OUTERR ODYSSEY 99-03
M14 X 1.5
TE-F016 53560-S4X-003 [OUTERL ODYSSEY 99-03
M14 X 1.5

119




RACK END

HONDA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
RE-5100 53521-SA0-003 [R/L ACCORD SY,SZ 81-83
53521-692-003 [M12 X 1.25 CA1,CA2,CA3,CA5 85-89
53521-SE0-951 [M12 X 1.25 VIGOR Sz 81-83
53521-SE0-013 CA1,CA2,CA3,CA5 85-
53521-SE0-003 PRELUDE SN 78-83
53521-SE0-000 QUINT SuU 80-85
BALLADE SS,ST 80-83
CIviC SR,ST,SL,SS,VC,VE,WD 79-83
CITY AA-100,VF-100,AA-120,VA-110 81-84
RE-5160 53521-SH3-003 [R/L CR-X FEG,EF7 87-
M12 X 1.25 ClviC EF1,EF2,EF3,EF4,EF5EY2 87-
M14 X 1.5
RE-5180 53010-SR3-010 [R/L Clvic EG4,EG6,EG8,EG9 91-97
53010-ST0-000 [M12 X 1.25 INTEGRA DB6,DB7,DB8,DB9,DC1,DC2 93-01
53010-ST7-J61 [M14 X 1.5 98-
RE-5190 53010-SVv4-000 [R/L ACCORD CD7, CD8, CE1 94-97
M12 X 1.25 ODYSSEY RA1,RA2,RA3,RA4 94-99
M14 X 1.5 ACURA CL 97-99
RE-5200 53010-S04-000 [R/L Clvic EK2,EK3,EK4,EK5 96-97
53010-S04-J51 [M12 X 1.25 98-00
M14 X 1.5
RE-5210 53521-SM4-013 [R/L ACCORD CB1,CB2,CB3,CB4 89-93
M12 X 1.25
M14 X 1.5
RE-5230 53010-SS0-000 [R/L PRELUDE 92-96
53010-SW5-000 [M14 X 1.25 97-98
M14 X 1.5 ACURA 2.5TL/3.2TL 95-98
RE-5260 53010-S84-A01 [R/L ACCORD V4 98-02
M16 X 1.5 ACURA 3.2CL 01-03
M14 X 1.5 ACURA 3.2TL 99-03
RE-5280 53010-TA0-A01 [R/L ACCORD CP2, CP3 08-12
M20 X 1.5 CS1,CSs2
M14 X 1.5 INSPIRE CP3
RE-5310 53010-SDA-A01 [R/L ACCORD SEDAN DX/EX/LX L4(2.4) 03-07
M18 X 1.5 ACCORD COUPE 4CYL 03-07
M14 X 1.5 ACURA TL / TSX 04-08
RE-5320 53010-S10-000 ([R/L CR-V RD1,RD2 97
53010-S10-003 [M12 X 1.25 RD1 98-01
M14 X 1.5
RE-5330 53010-SEL-003 (R FIT ARIA GD6,GD7,GD8,GD9 05-06
M18 X 1.5 JAZZ GD1,GD3
M12 X 1.25 CITY 02-07
RE-5335 53011-SEL-003 |L FIT ARIA GD6,GD7,GD8,GD9 05-06
M18 X 1.5 JAZZ GD1,GD3
M12 X 1.25 CITY 02-07
RE-5350 53010-SNA-A01 [R/L CIviC FD1, FD2, FD3 05-11
53010-SNE-A01 [M18 X 1.5 CIVIC COUPE/SEDAN DX, EX, LX (1.8L ENGINE) 06-11
M14 X 1.5 CIVIC HYBRID 06-11
RE-5360 53010-S0X-A01 [R/L ODYSSEY 99-01
M14 X 1.5
M14 X 1.5
RE-5370 53010-S0X-A02 [R/L ODYSSEY 02-04
M16 X 1.5
M14 X 1.5
RE-5390 53010-SHJ-A02 [R/L ODYSSEY EX,LX,TOURING 05-10
M16 X 1.5

120




M14 X 1.5

RE-5400 53011-SMG-EO01 (R CIviC FK17 06-11
M20 X 1.5 EURO CIVIC
M14 X 1.5
RE-F001 53010-S87-A01 [R/L ACCORD V6 98-02
M14 X 1.5
M14 X 1.5
RE-F003 53010-S0A-900 [R/L ACCORD CF3, CF4, CF5 97-02
M16 X 1.5
M14 X 1.5
RE-F005 53010-SDB-A01 |[R/L ACCORD SEDAN LX/EX V6(3.0) POWER 03-07
M14 X 1.5 ACCORD COUPE 03-07
M14 X 1.5
RE-F007 53010-S3V-A01 [R/L PILOT V6(3.5) EX,LX 03-08
53010-S3V-A02 ([M18 X 1.5
53010-S9V-A01 [M14 X 1.5 ACURA MDX YD1 01-06
RE-F009 53010-SX8-T00 [R/L CITY 96-98
M12 X 1.25
M12 X 1.25
RE-FO11 53010-SEA-900 [R/L ACCORD HYBRID 05-
M16 X 1.5 ACCORD WAGON CM1,CM2,CM3 03-07
M14 X 1.5 INSPIRE ucC1i 04-06
RE-F013 53010-SAA-JO1 (R FIT GD1,GD3 02-
M16 X 1.0 FIT 4WD GD2,GD4 02-
M12 X 1.25 JAZZ 02-08
RE-F014 53011-SAA-J01 |L FIT GD1,GD3 02-
M16 X 1.0 FIT 4WD GD2,GD4 02-
M12 X 1.25 JAZZ 02-08
RE-F015 53010-S2H-J02 [R/L HR-V GH1 98-06
M14 X 1.5 GH3 99-06
M12 X 1.25 HR-V 4WD GH2, GH4 98-06
RE-FO017 53610-SNB-J01  [R/L CIVIC HYBRID FD1, FD2, FD3 06-11
53610-SNR-A01 [M20 X 1.5 CIVIC COUPE/SEDAN 2.0L ENGINE 06-11
M14 X 1.5
RE-F019 53010-SLN-A00 (R FIT GE 07-08
M18 X 1.5
M12 X 1.25
RE-F020 53011-SLN-A00 |L FIT GE 07-08
M18 X 1.5
M12 X'1.25
RE-F021 53010-STX-A01 [R/L ACURA MDX YD2 07-13
53010-SZN-A01 [M16 X 1.5 ACURA ZDX 10-13
M14 X 1.5
RE-F023 53010-SFE-013 [R/L ODYSSEY RB1 03-08
53010-SFE-003 [M18 X 1.5
M14 X 1.5
RE-F025 53010-SWA-A01 [R/L CR-V RE3 (JAPAN BUILT) 06-11
M20 X 1.5
M14 X 1.5
RE-F027 53010-TF0-003 [R/L INSIGHT ZE2 10-
M18 X 1.5 CITY GM2 09-
M14 X 1.5 FIT GEG6, GE7, GES8, GE9 09-
FIT HYBRID GP1 11-
JAZZ GEG6, GE8, GG1 09-
RE-F029 53610-TL1-GO1 [R/L ACCORD Cu2, Cw2 09-
M18 X 1.5 Cwi, Cw2 08-
M14 X 1.5 ACURA TSX SEDAN 09-
ACURA TSX SPORT 11-
RE-F031 53010-S3N-013 [R/L ODYSSEY 99-03
53010-S3N-003 [M18 X 1.5

121




M14 X 1.5

RE-F033

53010-STK-A01

R/L
M20 X 1.5
M14 X 1.5

ACURA RDX

07-12

RE-F035

53610-TK4-A01

R/L
M18 X 1.5
M14 X 1.5

ACURATL

UA8

09-

RE-F037

53010-SWC-G02

R/L
M16 X 1.0
M14 X 1.5

CR-V

07-11

RE-F039

53010-SYY-003

R/L
M16 X 1.0
M14 X 1.5

FREED

GB3,GB4

08-

RE-F041

53010-TK6-A02

R/L
M16 X 1.0
M14 X 1.5

FIT

GEG6

09-13

122




CONTROL ARM

HONDA
FUJI NO OEM NO POSITION CAR NAME MODEL YEARS
CA-5001 51355-S84-A00 (LOWERR ACCORD CF3, CF4, CF5, CL1, CL3 98-02
CA-5002 51365-S84-A00 [LOWERL ACCORD CF3, CF4, CF5, CL1, CL3 98-02
CA-5003 51355-SM4-030 [(LOWERR ACCORD CB1, CB2, CB3, CB4 89-93
CA-5004 51365-SM4-030 [LOWERL ACCORD CB1, CB2, CB3, CB4 89-93
CA-5005 51350-S5A-030 (LOWERR CIviC EU1, EU2, EU3, EU4 01-05
CA-5006 51360-S5A-030 [LOWERL ClviC EU1, EU2, EU3, EU4 01-05
CA-5007 52350-S04-000 [LOWERR/L |CIVIC EK2, EK3, EK4, EJ7 96-00
REAR
CA-5151 51450-SH3-030 |UPPERR CIviC EF1, EF3, EF4 88-91
51450-SH3-023 CR-X EF6, EF7, EF8 87-92
51450-SH3-020
51450-SH3-010
51450-SH3-000
CA-5152 51460-SH3-030 (UPPERL ClviC EF1, EF3, EF4 88-91
51460-SH3-023 CR-X EF6, EF7, EF8 87-92
51460-SH3-020
51460-SH3-010
51460-SH3-000
CA-5161 51450-SR3-013 |UPPERR CIviC EG4, EG6, EG7, EGS, EGY9, EH1 92-97
51450-SR3-003 ACURA INTEGRA DB6, DB7, DBS, DB9, DC1, DC2 94-97
51450-SR3-023
51450-SR3-A01
51450-SR0-A02
51450-ST7-010
51450-ST7-020
CA-5162 51460-SR3-013 (UPPERL ClviCc EG4, EG6, EG7, EGS8, EGY, EH1 92-97
51460-SR3-003 ACURA INTEGRA DB6, DB7, DBS, DB9, DC1, DC2 94-97
51460-SR3-023
51460-SR3-A02
51460-SR0-A02
51460-ST7-010
51460-ST7-020
CA-5171 51450-S04-013 |UPPERR CIviC EK2, EK3, EK4, EJ7 96-00
51450-S04-023
51450-S01-023
51450-S01-A02
CA-5172 51460-S04-013 (UPPERL ClviC EK2, EK3, EK4, EJ7 96-00
51460-S04-023
51460-S01-023
51460-S01-A02
CA-5173 52390-SM4-A04 |UPPERR ACCORD CB1, CB3, CB4, CB5 89-93
52390-SM4-043 |REAR Ccc7 93-96
52390-SM1-033 CD7, CD8 96-97
52390-SM1-A03 ACURA 2.5TL 95-98
52390-SM1-A04
CA-5174 52400-SM4-A04 (UPPER L ACCORD CB1, CB3, CB4, CB5 89-93
52400-SM4-043 |REAR cc7 93-96
52400-SM1-033 CD7, CD8 96-97
52400-SM1-A03 ACURA 2.5TL 95-98

52400-SM1-A04

123




CA-5175 52390-SR3-000 |[UPPERR CR-V RD1, RD2 95-01
52390-SH3-030 |REAR CIviC EG4, EG6, EG7, EGS, EGY9, EH1 92-97
52390-SK7-A00 INTEGRA DB6, DB7, DBS, DB9, DC1, DC2 93-01
52390-SK7-A01
52390-SK7-010
52390-SR0-A00

CA-5176 52400-SR3-000 (UPPERL CR-V RD1, RD2 95-01
52400-SH3-030 |[REAR CIviC EG4, EG6, EG7, EGS, EGY9, EH1 92-97
52400-SK7-A00 INTEGRA DB6, DB7, DBS, DB9, DC1, DC2 93-01
52400-SK7-A01
52400-SK7-010
52400-SR0-A00

CA-5177 52341-S04-000 [UPPER R/L ClviC EK2, EK3, EK4, EJ7 96-00
52341-S04-A00 |REAR

CA-5180 51350-SDA-A03 [LOWERR ACCORD CL7,CL8, CL9 03-08
51350-SEA-E01

CA-5185 51360-SDA-A03 [LOWERL ACCORD CL7,CL8, CL9 03-08
51360-SEA-E01

CA-5190 51350-SNA-903 [LOWERR ClviC FD1, FD2, FD3 06-08

CA-5195 51360-SNA-903 [LOWER L CIviC FD1, FD2, FD3 06-08

CA-5198 51350-TA0-A01 (LOWERR ACCORD CuU1, Cu2 08-13

CA-5199 51360-TA0-A01 [LOWERL ACCORD Cu1, Cu2 08-13

CA-5241 51351-SB2-013 [LOWERR ClviC AG, AJ, AH, AU, 83-87

CA-5242 51361-SB2-013 [LOWERL CIviC AG, AJ, AH, AU, 83-87

CA-5331 51450-SM4-A03 |UPPERR ACCORD CB1, CB3, CB4, CB5 89-93
51450-SM4-003
51450-SM4-013
51450-SM4-023
51450-SM1-A02
51450-SM1-A03

CA-5332 51460-SM4-A03 (UPPER L ACCORD CB1, CB3, CB4, CB5 89-93
51460-SM4-003
51460-SM4-013
51460-SM4-023
51460-SM1-A02
51460-SM1-A03

CA-5341 51450-SV4-000 |UPPERR ACCORD CD3, CD4, CD5, CD6 94-98
51450-SV4-A00 ODYSSEY RA1, RA2, RA3, RA4 94-99
51450-SV4-040 ACURA 2.2CL/2.3CL/3.0CL 97-99

CA-5342 51460-SV4-000 (UPPERL ACCORD CD3, CD4, CD5, CD6 94-98
51460-SV4-A00 ODYSSEY RAL, RA2, RA3, RA4 94-99
51460-SV4-040 ACURA 2.2CL/2.3CL/3.0CL 97-99

CA-5343 51450-S84-A01 |UPPERR ACCORD CF3, CF4, CF5, CL1, CL3 98-02
51450-S1A-E01 ACURA 3.2CL 01-03

ACURA 3.2TL 99-03

CA-5344 51460-S84-A01 (UPPERL ACCORD CF3, CF4, CF5, CL1, CL3 98-02

51460-S1A-E01 ACURA 3.2CL 01-03
ACURA 3.2TL 99-03

CA-5345 51450-SDA-A01 |UPPERR ACCORD CL7,CL8, CL9 03-08
51450-SDA-A03
51450-SDA-023
51450-SEC-A01 ACURA TSX 04-08

124




CA-5346 51460-SDA-A01 (UPPERL ACCORD CL7, CL8, CL9 03-08
51460-SDA-A03
51460-SDA-023

51460-SEC-A01 ACURA TSX 04-08

CA-5347 51510-TA0-A03 |UPPERR ACURATL 09-14

ACURA TSX 09-14

ACCORD EX, LX, SE CuU1, Cu2 08-12

CA-5348 51520-TA0-A03 (UPPERL ACURATL 09-14

ACURA TSX 09-14

ACCORD EX, LX, SE Cu1, Cu2 08-12

CA-5451 51450-S10-020 |UPPERR CR-V RD1, RD2 95-01

CA-5452 51460-S10-020 (UPPERL CR-V RD1, RD2 95-01

125




STABILIZER LINK

HONDA
FUJINO OEM NO POSITION CAR NAME MODEL YEARS
SB-5110 51320-S04-003 |FRONT CIVIC EK3,EK4 95-01
M10X 1.25 [CR-V RD1,RD2 95-01
SB-5111 51320-S84-A01 |FRONT R ACCORD CF3,CF4,CF5 97-02
51320-S84-A02 [M10X1.25 |INSPIRE UA4,UA5 98-
SB-5112 51321-S84-A01 |FRONT L ACCORD CF3,CF4,CF5 97-02
51321-S84-A02 [M10X1.25 |INSPIRE UA4,UA5 98-
SB-5113 51320-TA0-A01 |FRONT R ACCORD CP2, CP3, CS1, CS2 08-13
M10 X 1.25  [INSPIRE CP3 08-
ACURA TSX 09-
SB-5114 51325-TA0-A01 |FRONT L ACCORD CP2, CP3, CS1, CS2 08-13
M10 X 1.25  [INSPIRE CP3 08-
ACURA TSX 09-
SB-5117 52325-S84-A01 |REAR L ACCORD CF3,CF4,CF5 97-02
M10 X 1.25  [INSPIRE UA4,UA5 98-
52325-SFY-JO01 ACURA TL 04-08
ACCORD HYBRID 05-
SB-5118 52320-S84-A01 |REAR R ACCORD CF3,CF4,CF5 97-02
M10 X 1.25  [INSPIRE UA4,UA5 98-
52320-SFY-JO1 ACURA TL 04-08
ACCORD HYBRID 05-
SB-5119 51320-SNA-A02 |FRONT R CIVIC FD1, FD3 05-11
M10 X 1.25  [CIVIC COUPE/SEDAN 06-11
SB-5120 51321-SNA-A02 |FRONT L CIVIC FD1, FD3 05-11
M10 X 1.25  [CIVIC COUPE/SEDAN 06-11
SB-5123 51320-S5A-003 |FRONT R CIVIC RD4,RD5 01-05
M10X 1.25 [CR-V 02-06
ELEMENT 03-11
ACURA RSX 02-06
SB-5124 51321-S5A-003 |FRONT L CIVIC RD4,RD5 01-05
M10X 1.25 [CR-V 02-06
ELEMENT 03-11
ACURA RSX 02-06
SB-5126 52320-S04-003 |REAR R CIVIC EK4 95-99
M10 X 1.25
SB-5127 52321-S04-003 |REAR L CIVIC EK4 95-99
M10 X 1.25
SB-5129 51320-SDA-A05 |FRONT R ACCORD CL7 04-05
51320-SED-013 [M10X1.25 |ACCORD WAGON CM1, CM2, CM3 03-07
ACURA TL 04-06
SB-5130 51321-SDA-A05 |FRONT L ACCORD cL7 04-05
51321-SED-013 [M10X1.25 |ACCORD WAGON CM1, CM2, CM3 03-07
ACURA TL 04-06
SB-5131 52320-S10-003 |REAR R CR-V RD1,RD2 95-01
M10 X 1.25
SB-5132 52321-S10-003 |REAR L CR-V RD1,RD2 95-01
M10 X 1.25
SB-5134 51320-ST7-003 |FRONT CIVIC EG4, EG6, EG7, EG8, EG9, EH1, EJ3 92-97
M10 X 1.25  [INTEGRA 94-01
SB-5201 52320-TA0-A01 |REAR R ACCORD CP2, CP3, CS1, CS2 08-
M10 X 1.25  [INSPIRE CP3 08-
ACURA TSX 09-

126




SB-5202 52325-TA0-A01 [REAR L ACCORD CP2, CP3, CS1, CS2 08-
M10 X 1.25 INSPIRE CP3 08-
ACURA TSX 09-
SB-5220 51320-SS0-003 [FRONT R/L  |PRELUDE 92-96
M12 X 1.25
SB-5221 51320-S0X-A02 [FRONT ODYSSEY 2WD 99-04
M12 X 1.25
51320-S0X-C01 [FRONT R/L  |PILOT YF1 03-
06513-S0X-A00 [M12 X 1.25 ACURA MDX YD1 01-13
ACURA ZDX 10-13
ODYSSEY 99-04
SB-F001 51320-SEA-E01 [FRONT R ACCORD CL7,CL8,CL9 03-07
51320-SDA-A04 [M10 X 1.25 ACURA TSX 04-08
SB-F002 51321-SEA-EO01 [FRONT L ACCORD CL7,CL8,CL9 03-07
51321-SDA-A04 |M10 X 1.25 ACURA TSX 04-08
SB-F003 51320-STK-A01 [FRONTR/L |CR-V RE3, RE4 08-
51320-TOA-A01 [M12 X 1.25 ACURA RDX TB1 07-11
SB-F005 52320-S5A-013 [REARR CIviC EUS3, ES3 00-05
M10 X 1.25
SB-F006 52321-S5A-013 [REAR L CIviC EUS3, ES3 00-05
M10 X 1.25
SB-F007 52320-S9A-003 [REARR CR-V RD4,RD5 00-05
M10 X 1.25
SB-F008 52321-S9A-003 [REARL CR-V RD4,RD5 00-05
M10 X 1.25
SB-F009 51320-S2H-003 [FRONT R HR-V GH1,GH3 99-06
M10 X 1.25 HR-V 4WD GH2, GH4
SB-F010 51321-S2H-003 [FRONT L HR-V GH1,GH3 99-06
M10 X 1.25 HR-V 4WD GH2, GH4
SB-F011 51320-SEL-TO1 [FRONT R FIT ARIA GD6,GD7,GD8,GD9 02-
M12 X 1.25 CITY GD6,GD7,GD8,GD9 03-
FIT GD1,GD2,GD3,GD4 02-06
SB-F012 51321-SEL-TO1 [FRONT L FIT ARIA GD6,GD7,GD8,GD9 02-
M12 X'1.25 CITY GD6,GD7,GD8,GD9 03-
FIT GD1,GD2,GD3,GD4 02-06
SB-F013 52320-S3V-023 |REARR PILOT YF1 06-08
M10 X 1.25 ACURA MDX YD1 01-06
SB-F014 52325-S3V-013 [REARL PILOT YF1 06-08
52325-S3V-023 [M10 X 1.25 ACURA MDX YD1 01-06
SB-F015 51320-S2G-003 [REARR ACURA RSX 02-06
51320-S2A-003 |[M10 X 1.25 LOGO 99-02
S2000 00-09
SB-F016 51321-S2G-003 [REAR L ACURA RSX 02-06
51321-S2A-003 [M10 X 1.25 LOGO 99-02
S2000 00-09
SB-F017 52320-SNA-A01 [REARR Clvic FD1, FD3 05-
M10 X 1.25 CIVIC COUPE/SEDAN DX, EX, LX 06-
CIVIC HYBRID 06-
ACURA ILX 13-
SB-F018 52321-SNA-A01 [REAR L Clvic FD1, FD3 05-
M10 X 1.25 CIVIC COUPE/SEDAN DX, EX, LX 06-
CIVIC HYBRID 06-
ACURA ILX 13-
SB-F019 51320-SEP-A01 [FRONT R ACURATL 07-
M12 X 1.25

127




SB-F020 51321-SEP-A01 [FRONT L ACURATL 07-
M12 X 1.25
SB-F021 52320-S2H-003 [REARR HR-V GH1,GH3 99-06
M10 X 1.25 HR-V 4WD GH2, GH4
SB-F022 52321-S2H-003 [REAR L HR-V GH1,GH3 99-06
M10 X 1.25 HR-V 4WD GH2, GH4
SB-F023 51320-SAE-TO1 |[FRONT R JAZZ SAE 03-
M12 X 1.25
SB-F024 51321-SAE-TO1 [FRONT L JAZZ SAE 03-
M12 X'1.25
SB-F025 52320-SWA-A01 [REARR CR-V RE3, RE4 08-
M10 X 1.25
SB-F026 52321-SWA-A01 [REARL CR-V RE3, RE4 08-
M10 X 1.25
SB-F027 51320-SAA-J01 [FRONT R FIT GD1 04-08
M10 X 1.25 JAZZ
SB-F028 51321-SAA-JO1 [FRONT L FIT GD1 04-08
M10 X 1.25 JAZZ
SB-F029 51320-SLA-003 [FRONT R FIT GE 07-08
M10 X 1.25
SB-F030 51321-SLA-003 [FRONT L FIT GE 07-08
M10 X 1.25
SB-F031 51320-SMG-EO1 [FRONTR/L |CIVIC 1 FK17 06-
M10 X 1.25
SB-F033 51320-SFE-003 [FRONT R/L  [ODYSSEY RB1 03-08
M10 X 1.25
SB-F035 52320-SFE-013 |[REARR ODYSSEY RB1 03-08
M10 X 1.25
SB-F036 52321-SFE-013 [REARL ODYSSEY RB1 03-08
M10 X 1.25
SB-F037 51320-TF0-003 [FRONTR/L  [FIT GEG6,GE7,GE8,GE9 09-13
51320-TGO-TO1 [M10 X 1.25 CITY GM1,GM2
JAZZ GEG6,GE8,GG1
CR-Z 11-
INSIGHT 10-
SB-F039 52320-STK-A01 |REAR R/L ACURA RDX 07-
M10 X 1.25
SB-F041 51320-SAA-003 [FRONT R FIT GD1 02-06
51320-SAD-PO1 [M10 X 1.25 JAZZ 02-03
SB-F042 51321-SAA-003 [FRONT L FIT GD1 02-06
51321-SAD-PO1 [M10 X 1.25 JAZZ 02-03
SB-F043 52320-S3N-013 |[REAR R/L ODYSSEY RAG 99-03
M10 X 1.25
SB-F045 51320-SYY-003 [FRONTR/L [FREED 08-
M10 X 1.25
SB-F047 51320-SHJ-A02 [FRONT R/L  [ODYSSEY EX, LX, TOURING 05-
M12 X'1.25
SB-F049 51320-S3C-003 [FRONT R VAMOS 99-
M10 X 1.25
SB-F050 51321-S3C-003 [FRONT L VAMOS 99-
M10 X 1.25

128




TOYOTA

>RV | >8>5d >ghEiGeU | >0>8d >GhEiGeU | >8>50 >ghAEiGeU | >0>8d
04435-20010 | BJ-1201 37230-24070 | CB-1570 37230-48010 | CB-1420 43330-02097 | BJ-1225
04435-20011 | BJ-1201 37230-24090 | CB-1570 37230-50011 | CB-1780 43330-06020 | BJ-1235
04436-20030 | BJ-1205 37230-24100 | CB-1580 37230-55H00 | CB-1790 43330-06021 | BJ-1235
04436-20031 | BJ-1205 37230-26010 | CB-1590 43307-20010 | BJ-1201 43330-09051 | BJ-1235
04485-26010 | 1S-1501 37230-26020 | CB-1390 43307-20011 | BJ-1201 43330-09070 | BJ-1225
04485-26020 | 1S-1501 37230-27020 | CB-1430 43308-09010 | BJ-1340 43330-09090 | BJ-1225
04485-30021 | 1S-1501 37230-28010 | CB-1380 43308-09070 | BJ-1340 43330-09140 | BJ-1235
04485-30030 | 1S-1511 37230-30022 | CB-1600 43308-09071 | BJ-1340 43330-09160 | BJ-1410
04485-35010 | 1S-1501 37230-30030 | CB-1610 43308-09080 | BJ-1340 43330-09190 | BJ-1653
04485-35020 | 1S-1511 37230-30040 | CB-1620 43308-09081 | BJ-1340 43330-09200 | BJ-1225
04486-35010 | 1S-1506 37230-30050 | CB-1630 43308-0H010 | BJ-1340 43330-09210 | BJ-1653
04486-35020 | 1S-1506 37230-30060 | CB-1630 43308-12020 | BJ-1100 43330-09220 | BJ-1225
04487-35010 | 1S-1507 37230-30071 | CB-1640 43308-12030 | BJ-1110 43330-09230 | BJ-1225
04487-35020 | 1S-1507 37230-30080 | CB-1640 43308-16010 | BJ-1120 43330-09295 | BJ-1648
37230-0K010 | CB-1850 37230-30090 | CB-1650 43308-16020 | BJ-1120 43330-09330 | BJ-1650
37230-0K011 | CB-1850 37230-30900 | CB-1660 43308-19035 | BJ-1110 43330-09490 | BJ-1648
37230-0K020 | CB-1860 37230-33030 | CB-1400 43308-19176 | BJ-1340 43330-09510 | BJ-1648
37230-0K021 | CB-1860 37230-34010 | CB-1670 43308-20010 | BJ-1205 43330-09560 | BJ-1410
37230-0K030 | CB-1850 37230-34020 | CB-1680 43308-20030 | BJ-1205 43330-09580 | BJ-1650
37230-0K040 | CB-1860 37230-35013 | CB-1690 43308-29015 | BJ-1310 43330-09590 | BJ-1650
37230-12021 | CB-1460 37230-35030 | CB-1350 43308-29115 | BJ-1310 43330-09630 | BJ-A017
37230-12040 | CB-1470 37230-35040 | CB-1700 43308-50035 | BJ-1340 43330-09670 | BJ-1653
37230-12050 | CB-1480 37230-35041 | CB-1700 43308-50065 | BJ-1340 43330-09720 | BJ-A017
37230-12081 | CB-1440 37230-35050 | CB-1310 43308-50095 | BJ-1340 43330-09780 | BJ-A025
37230-12091 | CB-1490 37230-35060 | CB-1800 43310-09015 | BJ-1647 43330-09810 | BJ-1650
37230-12141 | CB-1440 37230-35061 | CB-1800 43310-09030 | BJ-1647 43330-0B020 | BJ-1315
37230-12150 | CB-1490 37230-35070 | CB-1310 43310-0K010 | BJ-1647 43330-19025 | BJ-1130
37230-12151 | CB-1490 37230-35080 | CB-1800 43310-0K040 | BJ-1647 43330-19045 | BJ-1170
37230-14031 | CB-1500 37230-35090 | CB-1810 43310-29015 | BJ-1201 43330-19055 | BJ-1189
37230-14040 | CB-1510 37230-35100 | CB-1800 43310-29025 | BJ-1611 43330-19056 | BJ-1189
37230-14050 | CB-1510 37230-35110 | CB-1710 43310-29065 | BJ-A023 43330-19057 | BJ-1189
37230-14070 | CB-1520 37230-35120 | CB-1720 43310-34030 | BJ-1649 43330-19065 | BJ-1166
37230-20090 | CB-1530 37230-35130 | CB-1820 43310-35061 | BJ-1649 43330-19066 | BJ-1166
37230-20100 | CB-1550 37230-36010 | CB-1450 43310-35071 | BJ-1649 43330-19075 | BJ-1170
37230-20101 | CB-1550 37230-36014 | CB-1450 43310-35081 | BJ-1649 43330-19085 | BJ-1186
37230-20102 | CB-1550 37230-36020 | CB-1320 43310-39016 | BJ-1649 43330-19095 | BJ-1225
37230-20110 | CB-1550 37230-36021 | CB-1320 43310-39025 | BJ-A023 43330-19115 | BJ-1225
37230-20120 | CB-1550 37230-36040 | CB-1450 43310-39045 | BJ-A023 43330-19185 | BJ-1225
37230-20121 | CB-1550 37230-36060 | CB-1321 43310-39085 | BJ-1649 43330-19245 | BJ-A017
37230-21020 | CB-1410 37230-36061 | CB-1321 43310-59025 | BJ-A023 43330-29025 | BJ-1205
37230-22042 | CB-1330 37230-36062 | CB-1321 43310-60010 | BJ-1652 43330-29026 | BJ-1205
37230-22070 | CB-1330 37230-36070 | CB-1730 43310-60020 | BJ-1652 43330-29035 | BJ-1205
37230-22080 | CB-1330 37230-36071 | CB-1730 43310-60030 | BJ-1652 43330-29045 | BJ-1305
37230-22100 | CB-1560 37230-36080 | CB-1321 43310-60040 | BJ-1652 43330-29046 | BJ-1305
37230-22110 | CB-1370 37230-36081 | CB-1321 43310-60050 | BJ-1652 43330-29055 | BJ-1305
37230-22120 | CB-1370 37230-36120 | CB-1321 43310-60060 | BJ-1652 43330-29056 | BJ-1305
37230-22130 | CB-1360 37230-36140 | CB-1740 43310-60070 | BJ-1652 43330-29066 | BJ-1305
37230-22140 | CB-1360 37230-36H00 | CB-1320 43330-02020 | BJ-1225 43330-29085 | BJ-1615
37230-22170 | CB-1360 37230-38010 | CB-1430 43330-02040 | BJ-1225 43330-29095 | BJ-1305
37230-24010 | CB-1360 37230-40031 | CB-1750 43330-29105 | BJ-A001
37230-24020 | CB-1360 37230-42010 | CB-1760 43330-29115 | BJ-1315

129



TOYOTA

>RV | >8>5d >ghEiGeU | >0>8d >GhEiGeU | >8>50 >ghAEiGeU | >0>8d
43330-29125 | BJ-1625 43330-39195 | BJ-1635 43340-19025 | BJ-1187 43340-39485 | BJ-1346
43330-29135 | BJ-1140 43330-39225 | BJ-1415 43340-19065 | BJ-1167 43340-39515 | BJ-1348
43330-29136 | BJ-1140 43330-39235 | BJ-1415 43340-19066 | BJ-1167 43340-39545 | BJ-1651
43330-29137 | BJ-1140 43330-39245 | BJ-1555 43340-29015 | BJ-1205 43340-39575 | BJ-1348
43330-29138 | BJ-1140 43330-39255 | BJ-1635 43340-29025 | BJ-1305 43340-39585 | BJ-A006
43330-29139 | BJ-1140 43330-39265 | BJ-1545 43340-29026 | BJ-1305 43340-39595 | BJ-1348
43330-29145 | BJ-1150 43330-39275 | BJ-1210 43340-29035 | BJ-1305 43340-49015 | BJ-A026
43330-29146 | BJ-1150 43330-39285 | BJ-1235 43340-29036 | BJ-1305 43340-49035 | BJ-A026
43330-29155 | BJ-1625 43330-39295 | BJ-1555 43340-29045 | BJ-1305 43340-59015 | BJ-A014
43330-29165 | BJ-A007 43330-39315 | BJ-1545 43340-29065 | BJ-1615 43340-50016 | BJ-A014
43330-29166 | BJ-A007 43330-39345 | BJ-1210 43340-29075 | BJ-1305 43340-50066 | BJ-A012
43330-29175 | BJ-1315 43330-39355 | BJ-A003 43340-29085 | BJ-1337 43340-50085 | BJ-1337
43330-29185 | BJ-1150 43330-39366 | BJ-A005 43340-29095 | BJ-1315 43340-59135 | BJ-A012
43330-29205 | BJ-1140 43330-39367 | BJ-A005 43340-29105 | BJ-1625 43340-60010 | BJ-1646
43330-29215 | BJ-A001 43330-39415 | BJ-1343 43340-29115 | BJ-A008 43340-60020 | BJ-1646
43330-29225 | BJ-1230 43330-39435 | BJ-1235 43340-29116 | BJ-A008 43350-29015 | BJ-1301
43330-29235 | BJ-1645 43330-39445 | BJ-1555 43340-29135 | BJ-A010 43350-29025 | BJ-1601
43330-29245 | BJ-1315 43330-39466 | BJ-1343 43340-29145 | BJ-1337 43350-29035 | BJ-1311
43330-29265 | BJ-1225 43330-39505 | BJ-A009 43340-29146 | BJ-1337 43350-29036 | BJ-1311
43330-29275 | BJ-1336 43330-39506 | BJ-A009 43340-29155 | BJ-A010 43350-29045 | BJ-1621
43330-29285 | BJ-A009 43330-39535 | BJ-A019 43340-29156 | BJ-A010 43350-29055 | BJ-1621
43330-29295 | BJ-1625 43330-39556 | BJ-A005 43340-29165 | BJ-1337 43350-29056 | BJ-1621
43330-29315 | BJ-1225 43330-39565 | BJ-A003 43340-29175 | BJ-1411 43350-29065 | BJ-1531
43330-29325 | BJ-1230 43330-39585 | BJ-1343 43340-29185 | BJ-1337 43350-29076 | BJ-1311
43330-29326 | BJ-1230 43330-39605 | BJ-1345 43340-29215 | BJ-1411 43350-29085 | BJ-1311
43330-29345 | BJ-A001 43330-39655 | BJ-1347 43340-29355 | BJ-1337 43350-29095 | BJ-1531
43330-29355 | BJ-1336 43330-39775 | BJ-1650 43340-39035 | BJ-1415 43350-39015 | BJ-1501
43330-29356 | BJ-1336 43330-39805 | BJ-1347 43340-39045 | BJ-1415 43350-39016 | BJ-1501
43330-29365 | BJ-A009 43330-39815 | BJ-A005 43340-39075 | BJ-1515 43350-39025 | BJ-1501
43330-29366 | BJ-A009 43330-39825 | BJ-1347 43340-39085 | BJ-1415 43350-39026 | BJ-1601
43330-29375 | BJ-1225 43330-39835 | BJ-1545 43340-39095 | BJ-1415 43350-39035 | BJ-1521
43330-29385 | BJ-1336 43330-49025 | BJ-1230 43340-39125 | BJ-1415 43350-39045 | BJ-1631
43330-29395 | BJ-A015 43330-49055 | BJ-1653 43340-39135 | BJ-1415 43350-39055 | BJ-1501
43330-29405 | BJ-1410 43330-49095 | BJ-A017 43340-39145 | BJ-1525 43350-39065 | BJ-1501
43330-29415 | BJ-1336 43330-49125 | BJ-A025 43340-39175 | BJ-1635 43350-39075 | BJ-1521
43330-29425 | BJ-1653 43330-49165 | BJ-A025 43340-39205 | BJ-1415 43350-39085 | BJ-1631
43330-29515 | BJ-1625 43330-49185 | BJ-A029 43340-39215 | BJ-1415 43350-39105 | BJ-A031
43330-29545 | BJ-1315 43330-49195 | BJ-A017 43340-39225 | BJ-1555 43350-39115 | BJ-1521
43330-29565 | BJ-1342 43330-59015 | BJ-A013 43340-39235 | BJ-1635 43350-39125 | BJ-1521
43330-29575 | BJ-A021 43330-59016 | BJ-A013 43340-39245 | BJ-1545 43350-60010 | BJ-1646
43330-29615 | BJ-1410 43330-59066 | BJ-A011 43340-39275 | BJ-A004 43360-29015 | BJ-1301
43330-39045 | BJ-1515 43330-50085 | BJ-1336 43340-39286 | BJ-A006 43360-29025 | BJ-1601
43330-39055 | BJ-1415 43330-59105 | BJ-1336 43340-39287 | BJ-A006 43360-29035 | BJ-1301
43330-39065 | BJ-1415 43330-59135 | BJ-A011 43340-39325 | BJ-1344 43360-29045 | BJ-1301
43330-39095 | BJ-1415 43330-BZ010 | BJ-A027 43340-39356 | BJ-1344 43360-29055 | BJ-1311
43330-39105 | BJ-1415 43340-09010 | BJ-1411 43340-39395 | BJ-A010 43360-29056 | BJ-1311
43330-39115 | BJ-1415 43340-09040 | BJ-1651 43340-39396 | BJ-A010 43360-29065 | BJ-1621
43330-39135 | BJ-1210 43340-09100 | BJ-1651 43340-39415 | BJ-A020 43360-29075 | BJ-1621
43330-39145 | BJ-1415 43340-09110 | BJ-1651 43340-39436 | BJ-A006 43360-29076 | BJ-1621
43330-39155 | BJ-1415 43340-09140 | BJ-A026 43340-39445 | BJ-A004 43360-39015 | BJ-1501
43330-39165 | BJ-1525 43340-09170 | BJ-1651 43340-39465 | BJ-1344 43360-39016 | BJ-1501

15U



TOYOTA

>RV | >8>5d >ghEiGeU | >0>8d >GhEiGeU | >8>50 >ghAEiGeU | >0>8d
43360-39025 | BJ-1501 45046-02040 | TE-1801 45046-29085 | TE-1711 45046-39255 | TE-1741
43360-39035 | BJ-1601 45046-02070 | TE-1958 45046-29086 | TE-1711 45046-39256 | TE-1741
43360-39045 | BJ-1501 45046-05070 | TE-A053 45046-29105 | TE-1552 45046-39275 | TE-1003
43360-39055 | BJ-1501 45046-06080 | TE-A001 45046-29115 | TE-1531 45046-39285 | TE-1004
43360-39065 | BJ-1501 45046-09090 | TE-1220 45046-29125 | TE-1531 45046-39295 | TE-1005
43360-39075 | BJ-1631 45046-09120 | TE-1121 45046-29135 | TE-1341 45046-39335 | TE-1015
43360-39085 | BJ-1631 45046-09160 | TE-1801 45046-29145 | TE-1370 45046-39355 | TE-1015
43360-39095 | BJ-1352 45046-09190 | TE-1350 45046-29155 | TE-1331 45046-39375 | TE-1531
45040-69040X | TE-1953 45046-09200 | TE-1958 45046-29165 | TE-1241 45046-39385 | TE-1531
45040-69045X | TE-1954 45046-09210 | TE-A019 45046-29185 | TE-1230 45046-39415 | TE-1421
45040-69050X | TE-1961 45046-09230 | TE-1350 45046-29186 | TE-1230 45046-39416 | TE-1421
45040-69055X | TE-1962 45046-09250 | TE-1993 45046-29195 | TE-1270 45046-39426 | TE-A041
45040-69060X | TE-1971 45046-09251 | TE-1993 45046-29205 | TE-1370 45046-39465 | TE-A013
45040-69065X | TE-1972 45046-09260 | TE-1993 45046-29215 | TE-1500 45046-39505 | TE-1800
45040-69070X | TE-1981 45046-09261 | TE-1993 45046-29235 | TE-1651 45046-49095 | TE-A005
45040-69075X | TE-1982 45046-09280 | TE-1994 45046-29255 | TE-1350 45046-49115 | TE-1801
45040-69080X | TE-1991 45046-09281 | TE-1994 45046-29265 | TE-1220 45046-49145 | TE-1653
45040-69085X | TE-1992 45046-09295 | TE-A031 45046-29275 | TE-1251 45046-49195 | TE-A017
45040-69090X | TE-1956 45046-09310 | TE-1994 45046-29285 | TE-1373 45046-49225 | TE-A051
45040-69095X | TE-1957 45046-09330 | TE-1993 45046-29305 | TE-1220 45046-59025 | TE-1121
45040-69100X | TE-1941 45046-09340 | TE-A021 45046-29325 | TE-1550 45046-59026 | TE-1121
45040-69102X | TE-1945 45046-09430 | TE-A023 45046-29335 | TE-1251 45046-59045 | TE-1121
45040-69105X | TE-1942 45046-09540 | TE-1350 45046-29355 | TE-A039 45046-59115 | TE-1350
45040-69107X | TE-1946 45046-09560 | TE-A037 45046-29365 | TE-1261 45046-59195 | TE-1007
45044-29035 | TE-1551 45046-09570 | TE-A035 45046-29375 | TE-1550 45046-59225 | TE-1007
45044-60H04 | TE-1930 45046-09600 | TE-A045 45046-29385 | TE-1550 45046-59255 | TE-1007
45044-60H05 | TE-1929 45046-09610 | TE-1940 45046-29405 | TE-A027 45046-60010 | TE-1904
45044-69075 | TE-1921 45046-09650 | TE-A017 45046-29416 | TE-1009 45046-60011 | TE-1904
45044-69076 | TE-1921 45046-09660 | TE-A053 45046-29425 | TE-A023 45046-60012 | TE-1904
45044-69085 | TE-1922 45046-0F010 | TE-A023 45046-29456 | TE-1002 45046-60013 | TE-1904
45044-69086 | TE-1922 45046-19015 | TE-1331 45046-29515 | TE-A047 45046-60020 | TE-1905
45044-69095 | TE-1930 45046-19065 | TE-1331 45046-29555 | TE-1370 45046-60021 | TE-1905
45044-69097 | TE-1935 45046-19075 | TE-1331 45046-35080 | TE-1571 45046-60022 | TE-1905
45044-69105 | TE-1929 45046-19085 | TE-1331 45046-35H00 | TE-1571 45046-60023 | TE-1905
45044-69115 | TE-1930 45046-19095 | TE-1331 45046-35H01 | TE-1571 45046-60030 | TE-1902
45044-69125 | TE-1929 45046-19105 | SR-1140 45046-36010 | TE-1711 45046-60031 | TE-1902
45044-69135 | TE-1921 45046-19135 | TE-1331 45046-39035 | TE-1711 45046-60032 | TE-1902
45044-69145 | TE-1922 45046-19145 | TE-1331 45046-39037 | TE-1711 45046-60033 | TE-1902
45045-29035 | TE-1552 45046-19165 | TE-1110 45046-39085 | TE-1522 45046-60040 | TE-1906
45045-60010 | TE-1901 45046-19175 | TE-1220 45046-39095 | TE-1711 45046-60042 | TE-1906
45045-60011 | TE-1901 45046-19195 | TE-A003 45046-39105 | TE-1531 45046-60050 | TE-1904
45045-60012 | TE-1901 45046-19205 | TE-1120 45046-39106 | TE-1531 45046-60051 | TE-1904
45045-60013 | TE-1901 45046-19206 | TE-1120 45046-39125 | TE-1531 45046-60052 | TE-1904
45045-69015 | TE-1901 45046-19216 | TE-1120 45046-39135 | TE-1732 45046-60060 | TE-1905
45045-69025 | TE-1912 45046-19265 | TE-1801 45046-39155 | TE-1431 45046-60061 | TE-1905
45045-69035 | TE-1912 45046-19415 | TE-A035 45046-39165 | TE-1531 45046-60062 | TE-1905
45045-69045 | TE-1912 45046-19425 | TE-1940 45046-39175 | TE-1531 45046-60071 | TE-1904
45045-69046 | TE-1912 45046-29055 | TE-1431 45046-39185 | TE-1731 45046-60081 | TE-1905
45045-69055 | TE-1925 45046-29056 | TE-1431 45046-39195 | TE-1441 45046-60H00 | TE-1906
45045-69065 | TE-1939 45046-29065 | TE-1561 45046-39215 | TE-1531 45046-60H05 | TE-1916
45045-69075 | TE-1912 45046-29075 | TE-1331 45046-39235 | TE-1531 45046-69025 | TE-1902

151



TOYOTA

>RV | >8>5d >ghEiGeU | >0>8d >GhEiGeU | >8>50 >ghAEiGeU | >0>8d
45046-69035 | TE-1906 45047-39055 | TE-1523 45401-39145 | PA-1511 45460-29315 | SR-1320
45046-69045 | TE-1904 45047-39065 | TE-1712 45406-19015 | TE-1225 45460-29425 | TE-1909
45046-69055 | TE-1905 45047-39095 | TE-1011 45406-19016 | TE-1225 45460-29435 | TE-A007
45046-69075 | TE-1916 45047-39115 | TE-1732 45406-19025 | TE-1225 45460-39065 | SR-1501
45046-69105 | TE-1913 45047-39155 | TE-1745 45406-19045 | TE-1225 45460-39095 | SR-1510
45046-69115 | TE-1916 45047-39156 | TE-1745 45406-19048 | TE-1225 45460-39096 | SR-1510
45046-69116 | TE-1916 45047-39165 | TE-1011 45406-19055 | TE-1225 45460-39135 | SR-1520
45046-69125 | TE-1923 45047-39175 | TE-1012 45406-19065 | TE-1225 45460-39155 | SR-1510
45046-69126 | TE-1931 45047-39215 | TE-1016 45406-19075 | TE-1225 45460-39215 | SR-1510
45046-69127 | TE-1932 45047-39255 | TE-1422 45406-29035 | TE-1625 45460-39225 | SR-1510
45046-69135 | TE-1931 45047-39256 | TE-1422 45406-29055 | TE-1336 45460-39245 | SR-1520
45046-69155 | TE-1916 45047-39266 | TE-A042 45406-29056 | TE-1336 45460-39305 | SR-1510
45046-69195 | TE-1917 45047-39295 | TE-AO14 45406-29065 | TE-1336 45460-39335 | SR-1520
45046-69205 | TE-1919 45047-49025 | TE-A006 45406-29085 | TE-1625 45460-39355 | SR-1520
45046-69235 | TE-1951 45047-49045 | TE-1802 45406-29095 | TE-1625 45460-39365 | TE-A015
45046-69236 | TE-1951 45047-49075 | TE-1654 45406-29105 | TE-1365 45460-39395 | TE-A015
45046-69245 | TE-A021 45047-49135 | TE-A018 45406-29115 | TE-1535 45460-39455 | TE-A015
45046-8Y001 | TE-1220 45047-49165 | TE-A052 45406-29145 | TE-1635 45460-39485 | SR-1540
45046-B9280 | TE-A049 45047-59025 | TE-1122 45406-29175 | TE-1635 45460-39505 | SR-1520
45046-B9290 | TE-A049 45047-59026 | TE-1122 45406-39065 | TE-1524 45460-39575 | TE-A025
45047-02010 | TE-1802 45047-59035 | TE-1122 45406-39085 | TE-1535 45460-39615 | TE-1909
45047-02030 | TE-1959 45047-59135 | TE-1013 45406-39086 | TE-1535 45460-39635 | TE-1907
45047-05060 | TE-A054 45047-59155 | TE-1013 45406-39095 | TE-1535 45460-39715 | TE-A029
45047-09040 | TE-1122 45047-59165 | TE-1013 45406-39105 | TE-1435 45460-49055 | TE-A043
45047-09050 | TE-1802 45047-60010 | TE-1903 45406-39115 | TE-1535 45460-49075 | TE-A007
45047-09080 | TE-1959 45047-60011 | TE-1903 45406-39125 | TE-1535 45460-59015 | TE-A011
45047-09090 | TE-A020 45047-60012 | TE-1903 45406-39135 | TE-1565 45460-59035 | TE-A025
45047-09125 | TE-A032 45047-60013 | TE-1903 45406-39145 | TE-1435 45460-59055 | TE-A009
45047-09260 | TE-A038 45047-60H01 | TE-1914 45406-39155 | TE-1535 45460-50085 | TE-A033
45047-09270 | TE-A036 45047-69025 | TE-1903 45406-39165 | TE-1565 45460-59115 | TE-A009
45047-09310 | TE-A018 45047-69035 | TE-1914 45406-39175 | TE-1565 45470-09010 | TE-1910
45047-09320 | TE-A054 45047-69065 | TE-1914 45406-39185 | TE-1565 45470-09020 | TE-A044
45047-19075 | TE-A004 45047-69066 | TE-1928 45407-29015 | TE-1337 45470-09030 | TE-A010
45047-19115 | TE-1802 45047-69067 | TE-1928 45407-29016 | TE-1337 45470-09040 | TE-1908
45047-19215 | TE-A036 45047-69085 | TE-1928 45460-09010 | TE-1909 45470-09080 | TE-1908
45047-29025 | TE-1562 45047-69100 | TE-1918 45460-09040 | TE-A009 45470-19035 | SR-1172
45047-29035 | TE-1712 45047-69115 | TE-1920 45460-09050 | TE-1907 45470-19045 | SR-1172
45047-29036 | TE-1712 45047-69145 | TE-1952 45460-09060 | TE-A007 45470-19055 | SR-1172
45047-29045 | TE-1242 45047-69146 | TE-1952 45460-09110 | TE-1907 45470-29085 | SR-1320
45047-29065 | TE-1652 45047-B9230 | TE-A050 45460-09180 | TE-A043 45470-29185 | TE-1910
45047-29075 | TE-1252 45047-B9240 | TE-A050 45460-19105 | SR-1140 45470-39035 | SR-1502
45047-29105 | TE-1252 45401-19066 | PA-1220 45460-19125 | SR-1140 45470-39055 | SR-1520
45047-29115 | TE-A040 45401-19125 | PA-1220 45460-19145 | SR-1230 45470-39085 | SR-1510
45047-29125 | TE-1262 45401-19135 | PA-1220 45460-19165 | SR-1260 45470-39125 | TE-A016
45047-29146 | TE-1010 45401-19175 | PA-1121 45460-19185 | SR-1171 45470-39145 | TE-A016
45047-29195 | TE-A048 45401-35190 | PA-1522 45460-19195 | SR-1171 45470-39165 | TE-A016
45047-35050 | TE-1575 45401-35220 | PA-1522 45460-19205 | SR-1171 45470-39205 | TE-A026
45047-35H00 | TE-1575 45401-35240 | PA-1532 45460-19215 | SR-1140 45470-39215 | TE-1910
45047-35H01 | TE-1575 45401-39116 | PA-1511 45460-29205 | SR-1260 45470-39225 | TE-1908
45047-39025 | TE-1712 45401-39126 | PA-1511 45460-29215 | SR-1510 45470-39255 | TE-A030
45047-39027 | TE-1712 45401-39135 | PA-1511 45460-29225 | SR-1260 45470-49025 | TE-A044

152



TOYOTA

>RV | >8>5d >ghEiGeU | >0>8d >GhEiGeU | >8>50 >ghAEiGeU | >0>8d
45470-59015 | TE-A012 45503-0D080 | RE-1104 45503-29485 | RE-1400 45503-59155 | RE-A061
45470-59035 | TE-A026 45503-0D090 | RE-A059 45503-29515 | RE-A019 45503-8Y001 | RE-1101
45470-59055 | TE-A010 45503-0F010 | RE-A057 45503-29535 | RE-A023 45503-BZ010 | RE-6160
45470-59095 | TE-A034 45503-10020 | RE-1110 45503-29565 | RE-1102 45504-39025 | RE-A049
45470-59135 | TE-A010 45503-12130 | RE-1570 45503-29575 | RE-A039 45504-59015 | RE-A071
45490-19165 | 1A-1222 45503-19015 | RE-1110 45503-29605 | RE-1160 48066-29025 | CA-1564
45490-19175 | 1A-1222 45503-19035 | RE-1130 45503-29615 | RE-1440 48066-29075 | CA-1558
45490-19215 | 1A-1131 45503-19036 | RE-1170 45503-29625 | RE-A001 48066-29215 | CA-1562
45490-29295 | 1A-1222 45503-19045 | RE-1110 45503-29665 | RE-A003 48066-29225 | CA-1562
45490-29305 | 1A-1222 45503-19056 | RE-1180 45503-29755 | RE-A055 48066-34030 | CA-1520
45490-35080 | 1A-1511 45503-19075 | RE-1220 45503-29765 | RE-A063 48066-35030 | CA-1501
45490-35090 | 1A-1511 45503-19116 | RE-1300 45503-29785 | RE-A033 48066-35050 | CA-1511
45490-35100 | 1A-1511 45503-19125 | RE-1170 45503-29795 | RE-A031 48066-35060 | CA-1511
45490-35110 | 1A-1511 45503-19135 | RE-1170 45503-29825 | RE-A029 48066-35080 | CA-1520
45490-35140 | 1A-1522 45503-19155 | RE-1280 45503-29846 | RE-A047 48066-35130 | CA-1511
45490-39086 | 1A-1513 45503-19185 | RE-A005 45503-30070 | RE-A041 48067-29025 | CA-1565
45490-39115 | 1A-1513 45503-19195 | RE-1280 45503-30080 | RE-A043 48067-29075 | CA-1559
45490-39245 | 1A-1552 45503-19205 | RE-1370 45503-35070 | RE-A067 48067-29215 | CA-1563
45490-39255 | 1A-1123 45503-19215 | RE-1340 45503-39015 | RE-1150 48067-29225 | CA-1563
45490-39305 | 1A-1531 45503-19235 | RE-A025 45503-39025 | RE-1160 48067-35050 | CA-1512
45490-39315 | 1A-1532 45503-19255 | RE-1570 45503-39055 | RE-1520 48067-35060 | CA-1512
45490-39325 | 1A-1552 45503-22010 | RE-1120 45503-39065 | RE-A007 48067-35080 | CA-1578
45490-39335 | 1A-1123 45503-29015 | RE-1120 45503-39066 | RE-A007 48067-35081 | CA-1578
45490-39345 | 1A-1123 45503-29016 | RE-1120 45503-39075 | RE-1630 48067-35130 | CA-1512
45490-39355 | 1A-1552 45503-29035 | RE-1351 45503-39095 | RE-1680 48068-02021 | CA-1554
45490-39365 | 1A-1562 45503-29045 | RE-1351 45503-39135 | RE-1520 48068-02190 | CA-1554
45490-39455 | 1A-1124 45503-29065 | RE-1240 45503-39155 | RE-A031 48068-02280 | CA-1540
45490-39456 | 1A-1124 45503-29075 | RE-1160 45503-39225 | RE-A013 48068-05070 | CA-1554
45503-02050 | RE-1570 45503-29095 | RE-1230 45503-39235 | RE-1610 48068-06010 | CA-1331
45503-02060 | RE-1620 45503-29105 | RE-1160 45503-39265 | RE-1610 48068-06040 | CA-1341
45503-02070 | RE-1620 45503-29125 | RE-1120 45503-39275 | RE-1640 48068-06060 | CA-1538
45503-05020 | RE-1660 45503-29135 | RE-1230 45503-39305 | RE-A053 48068-06070 | CA-1542
45503-06080 | RE-1101 45503-29155 | RE-1310 45503-39315 | RE-A051 48068-06080 | CA-1542
45503-09100 | RE-A003 45503-29165 | RE-1420 45503-47030 | RE-1720 48068-06090 | CA-1538
45503-09120 | RE-A011 45503-29185 | RE-1450 45503-49025 | RE-A021 48068-06110 | CA-1544
45503-09220 | RE-1570 45503-29215 | RE-1320 45503-49035 | RE-1690 48068-06150 | CA-1544
45503-09230 | RE-A013 45503-29235 | RE-1390 45503-49055 | RE-A009 48068-07030 | CA-1538
45503-09240 | RE-A011 45503-29245 | RE-1360 45503-49085 | RE-A027 48068-09040 | CA-1548
45503-09250 | RE-A015 45503-29255 | RE-1500 45503-49095 | RE-A021 48068-09230 | CA-1587
45503-09270 | RE-A045 45503-29265 | RE-1350 45503-49125 | RE-A045 48068-0E010 | CA-1542
45503-09290 | RE-A069 45503-29285 | RE-1530 45503-49165 | RE-A017 48068-0K010 | CA-1575
45503-09320 | RE-1590 45503-29295 | RE-1530 45503-52010 | RE-1580 48068-0K040 | CA-1579
45503-09321 | RE-1590 45503-29305 | RE-1450 45503-52060 | RE-A059 48068-10060 | CA-1123
45503-09330 | RE-1590 45503-29335 | RE-1510 45503-52070 | RE-1104 48068-10070 | CA-1123
45503-09331 | RE-1590 45503-29355 | RE-1520 45503-52140 | RE-1104 48068-12110 | CA-1131
45503-09340 | RE-1590 45503-29365 | RE-1340 45503-50015 | RE-1680 48068-12130 | CA-1133
45503-09400 | RE-1620 45503-29385 | RE-1370 45503-59025 | RE-1510 48068-12160 | CA-1313
45503-09420 | RE-1640 45503-29395 | RE-A003 45503-50035 | RE-1510 48068-12180 | CA-1313
45503-09480 | RE-A035 45503-29435 | RE-1440 45503-50045 | RE-1580 48068-12181 | CA-1313
45503-09490 | RE-A037 45503-29445 | RE-A001 45503-59075 | RE-A065 48068-12190 | CA-1313
45503-0B020 | RE-A003 45503-29475 | RE-1430 45503-59145 | RE-A061 48068-12191 | CA-1313

155



TOYOTA

>RV | >8>5d >ghEiGeU | >0>8d >GhEiGeU | >8>50 >ghAEiGeU | >0>8d
48068-12240 | CA-1540 48069-07030 | CA-1539 48069-60030 | CA-1110 48810-05012 | SB-1221
48068-12250 | CA-1540 48069-09040 | CA-1549 48605-35011 | CA-1526 48810-06030 | SB-1231
48068-12260 | CA-1554 48069-09240 | CA-1588 48605-35030 | CA-1506 48810-0K010 | SB-1203
48068-13010 | CA-1554 48069-0E010 | CA-1543 48605-35060 | CA-1516 48810-20010 | SB-1201
48068-16040 | CA-1550 48069-0K010 | CA-1576 48605-35070 | CA-1516 48810-20020 | SB-1221
48068-16060 | CA-1123 48069-0K040 | CA-1580 48605-35080 | CA-1526 48810-22010 | SB-1311
48068-16100 | CA-1550 48069-10060 | CA-1124 48605-35120 | CA-1526 48810-22011 | SB-1311
48068-16120 | CA-1550 48069-10070 | CA-1124 48605-35121 | CA-1526 48810-26020 | SB-A008
48068-19035 | CA-1111 48069-12110 | CA-1132 48605-35180 | CA-1528 48810-28010 | SB-1470
48068-19036 | CA-1201 48069-12130 | CA-1134 48605-35181 | CA-1528 48810-28020 | SB-1470
48068-26130 | CA-1533 48069-12160 | CA-1314 48606-35011 | CA-1527 48810-30010 | SB-A036
48068-26131 | CA-1533 48069-12180 | CA-1314 48606-35030 | CA-1507 48810-30020 | SB-A036
48068-26132 | CA-1533 48069-12181 | CA-1314 48606-35060 | CA-1517 48810-30030 | SB-A036
48068-26160 | CA-1569 48069-12190 | CA-1314 48606-35070 | CA-1517 48810-30070 | SB-A026
48068-28050 | CA-1581 48069-12191 | CA-1314 48606-35080 | CA-1527 48810-30080 | SB-A028
48068-29015 | CA-1311 48069-12240 | CA-1541 48606-35120 | CA-1527 48810-33010 | SB-1231
48068-29045 | CA-1301 48069-12250 | CA-1541 48606-35121 | CA-1527 48810-35020 | SB-1213
48068-29095 | CA-1321 48069-12260 | CA-1555 48606-35180 | CA-1529 48810-44010 | SB-1223
48068-29115 | CA-1251 48069-13010 | CA-1555 48606-35181 | CA-1529 48810-50010 | SB-A012
48068-33010 | CA-1331 48069-16040 | CA-1551 48610-0K010 | CA-1571 48810-50011 | SB-A012
48068-33020 | CA-1331 48069-16060 | CA-1124 48610-0K040 | CA-1573 48810-50020 | SB-A040
48068-33030 | CA-1341 48069-16100 | CA-1551 48610-60030 | CA-1103 48810-53010 | SB-A038
48068-33031 | CA-1341 48069-16120 | CA-1551 | | 48610-60030BJ | BJ-1652 48810-60040 | SB-1203
48068-33050 | CA-1542 48069-19035 | CA-1112 48610-60050 | CA-1583 48820-02030 | SB-1220
48068-33060 | CA-1542 48069-19036 | CA-1202 | | 48610-60050BJ | BJ-1652 48820-02040 | SB-1220
48068-33060 | CA-1544 48069-26130 | CA-1534 48610-60060 | CA-1107 48820-02050 | SB-1220
48068-33070 | CA-1542 48069-26131 | CA-1534 | | 48610-60060BJ | BJ-1652 48820-02070 | SB-1226
48068-35080 | CA-1577 48069-26132 | CA-1534 48610-60070 | CA-1583 48820-05012 | SB-1222
48068-35081 | CA-1577 48069-26160 | CA-1570 48620-60010 | CA-1105 48820-06030 | SB-1232
48068-46011 | CA-1560 48069-28050 | CA-1582 | | 48620-60010BJ | BJ-1646 48820-06040 | SB-1340
48068-49036 | CA-1251 48069-29015 | CA-1312 48620-60020 | CA-1105 48820-06050 | SB-1590
48068-49075 | CA-1251 48069-29045 | CA-1302 | | 48620-60020BJ | BJ-1646 48820-06060 | SB-1590
48068-50015 | CA-1546 48069-29095 | CA-1322 48630-0K010 | CA-1572 48820-06070 | SB-1590
48068-50035 | CA-1546 48069-29115 | CA-1252 48630-0K040 | CA-1574 48820-08020 | SB-A023
48068-50055 | CA-1556 48069-33010 | CA-1332 48630-60010 | CA-1104 48820-0D020 | SB-1560
48068-50095 | CA-1548 48069-33020 | CA-1332 | | 48630-60010BJ | BJ-1652 48820-0D080 | SB-1560
48068-59135 | CA-1548 48069-33030 | CA-1342 48630-60020 | CA-1584 48820-0K010 | SB-1204
48068-60010 | CA-1585 48069-33031 | CA-1342 | | 48630-60020BJ | BJ-1652 48820-0K030 | SB-1205
48068-60030 | CA-1109 48069-33050 | CA-1543 48630-60030 | CA-1108 48820-0K040 | SB-1205
48069-02021 | CA-1555 48069-33060 | CA-1543 | | 48630-60030BJ | BJ-1652 48820-0R010 | SB-1226
48069-02190 | CA-1555 48069-33060 | CA-1545 48630-60040 | CA-1584 48820-20010 | SB-1210
48069-02280 | CA-1541 48069-33070 | CA-1543 48640-60010 | CA-1106 48820-20030 | SB-1202
48069-05070 | CA-1555 48069-46011 | CA-1561 | | 48640-60010BJ | BJ-1646 48820-20040 | SB-1222
48069-06010 | CA-1332 48069-49036 | CA-1252 48640-60020 | CA-1106 48820-20060 | SB-1350
48069-06040 | CA-1342 48069-49075 | CA-1252 | | 48640-60020BJ | BJ-1646 48820-22010 | SB-1312
48069-06060 | CA-1539 48069-50015 | CA-1547 48730-22010 | CA-1253 48820-22011 | SB-1312
48069-06070 | CA-1543 48069-50035 | CA-1547 48730-22020 | CA-1253 48820-22041 | SB-1380
48069-06080 | CA-1543 48069-59055 | CA-1557 48730-22030 | CA-1253 48820-24010 | SB-1335
48069-06090 | CA-1539 48069-59095 | CA-1549 48770-22010 | CA-1239 48820-26020 | SB-A007
48069-06110 | CA-1545 48069-59135 | CA-1549 48790-22010 | CA-1241 48820-26050 | SB-A021
48069-06150 | CA-1545 48069-60010 | CA-1586 48802-52050 | SB-A041 48820-28010 | SB-1475

154




TOYOTA

>GREeeU | >8>5d SGREiecU | >8>50 >GREeeU | >8>5d SGREiecU | >8>50

48820-28030 SB-1475 48830-32040 SB-1305

48820-28050 SB-1340 48830-32050 SB-1225
48820-28060 SB-1340 48830-33010 SB-1215
48820-30010 SB-A035 48830-33040 SB-1580
48820-30020 SB-A036 48830-35010 SB-A009
48820-30050 SB-A035 48830-35020 SB-1500
48820-30090 SB-A025 48830-42010 SB-A033
48820-30100 SB-A027 48830-48010 SB-A005
48820-32010 SB-A043 48830-50010 SB-A013
48820-33010 SB-1300 48830-50020 SB-A013
48820-33020 SB-1232 48830-50030 SB-A015
48820-33040 SB-1590 48830-60030 SB-A001
48820-33070 SB-1590 48830-AF010 SB-A017
48820-34020 SB-1330 48840-0C010 SB-A048
48820-35010 SB-1207 48840-21010 SB-A004
48820-35020 SB-1208 48840-42010 SB-A034
48820-35021 SB-1208 48840-50010 SB-A016

48820-35030 SB-1330
48820-35040 SB-1209
48820-42010 SB-1320
48820-42020 SB-A019
48820-42030 SB-1226
48820-44010 SB-1224
48820-44020 SB-A051
48820-47010 SB-1220
48820-47020 SB-1226
48820-50010 SB-A011
48820-50011 SB-A011
48820-50030 SB-A039
48820-52030 SB-1560
48820-52070 SB-1560
48820-53010 SB-A037
48820-58010 SB-1220
48820-60050 SB-1205
48820-AD010 SB-1330
48820-B0010 SB-A045
48830-06020 SB-1215
48830-06030 SB-A005
48830-06050 SB-A005
48830-06060 SB-1580
48830-06070 SB-1580
48830-0C010 SB-A029
48830-0C020 SB-A047
48830-12050 SB-1325
48830-12060 SB-1250
48830-17070 SB-A031
48830-20010 SB-1250
48830-21010 SB-1305
48830-21020 SB-A003
48830-22041 SB-1355
48830-32010 SB-1250

150



NISSAN

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
37510-72002 | CB-2350 40110-B9500 | BJ-2511 40160-50W01 | BJ-2415 40160-EE500 | BJ-2740
37510-75002 | CB-2360 40110-G3700 | BJ-2151 40160-50W10 | BJ-2415 40160-EE530 | BJ-2740
37521-01W00 | CB-2330 40110-G5100 | BJ-2151 40160-50W25 | BJ-2415 40160-ELO00 | BJ-2740
37521-01W25 | CB-2330 40110-T3060 | BJ-2511 40160-50Y00 | BJ-2250 40160-EN001 | BJ-2740
37521-06R25 | CB-2370 40110-T6000 | BJ-2511 40160-50Y02 | BJ-2250 40160-ET000 | BJ-2740
37521-06R26 | CB-2370 40110-T6025 | BJ-2511 40160-50YOR | BJ-2250 40160-F1700 | BJ-2516
37521-32G25 | CB-2470 40110-V0100 | BJ-2511 40160-50Y10 | BJ-2250 40160-F4200 | BJ-2250
37521-33G25 | CB-2470 40110-VJ200 | BJ-2405 40160-50Y20 | BJ-2250 40160-F4600 | BJ-2725
37521-33P25 | CB-2380 40160-01A00 | BJ-2160 40160-51E00 | BJ-2330 40160-G2500 | BJ-2155
37521-36G25 | CB-2470 40160-01A25 | BJ-2160 40160-52Y00 | BJ-2250 40160-G2525 | BJ-2155
37521-40R25 | CB-2390 40160-01E00 | BJ-2330 40160-52Y10 | BJ-2250 40160-G4010 | BJ-2155
37521-41L25 | CB-2310 40160-01E25 | BJ-2330 40160-52Y20 | BJ-2250 40160-G5100 | BJ-2155
37521-54C25 | CB-2370 40160-01G00 | BJ-2400 40160-52Y60 | BJ-2250 40160-G5400 | BJ-2155
37521-56G25 | CB-2470 40160-01G25 | BJ-2400 40160-55G90 | BJ-2400 40160-H7400 | BJ-2110
37521-57G25 | CB-2470 40160-01G26 | BJ-2400 40160-5C000 | BJ-B003 40160-H7427 | BJ-2110
37521-69800 | CB-2400 40160-01G50 | BJ-2400 40160-5Y720 | BJ-2280 40160-J7500 | BJ-2725
37521-71L25 | CB-2410 40160-01G90 | BJ-2400 40160-60Y00 | BJ-2250 40160-JG000 | BJ-2180
37521-85L25 | CB-2410 40160-01N25 | BJ-2400 40160-60Y10 | BJ-2250 40160-P6525 | BJ-2200
37521-85L26 | CB-2410 40160-0F000 | BJ-2415 40160-60Y20 | BJ-2250 40160-S0104 | BJ-2200
37521-B0125 | CB-2310 40160-0M010 | BJ-2250 40160-60Y60 | BJ-2725 40160-S0105 | BJ-2200
37521-B5000 | CB-2500 40160-0M020 | BJ-2250 40160-67L00 | BJ-2230 40160-S0106 | BJ-2200
37521-B5001 | CB-2500 40160-0W000 | BJ-2550 40160-69C00 | BJ-2725 40160-S0125 | BJ-2200
37521-B5025 | CB-2500 40160-0W025 | BJ-2550 40160-69Y00 | BJ-2250 40160-S0126 | BJ-2200
37521-B9500 | CB-2500 40160-18V00 | BJ-2540 40160-69Y10 | BJ-2250 40160-S0127 | BJ-2200
37521-C0400 | CB-2420 40160-18V01 | BJ-2540 40160-6M000 | BJ-2725 40160-S0128 | BJ-2200
37521-F4025 | CB-2430 40160-1KA0A | BJ-2740 40160-70J00 | BJ-2725 40160-T3060 | BJ-2516
37521-P0100 | CB-2440 40160-1KA0B | BJ-2740 40160-85E00 | BJ-2330 40160-U7000 | BJ-2300
37521-P0110 | CB-2440 40160-27N25 | BJ-2400 40160-86M00 | BJ-2725 40160-VWO000 | BJ-2270
37521-P0125 | CB-2440 40160-25485 | BJ-2400 40160-92G90 | BJ-2400 40160-W5000 | BJ-2120
37521-P0126 | CB-2440 40160-2S601 | BJ-2721 40160-93G00 | BJ-2415 40160-Y02GO | BJ-2250
37521-Q0125 | CB-2310 40160-2S685 | BJ-2721 40160-93G25 | BJ-2415 40161-2Y411 | BJ-2280
37521-V5225 | CB-2310 40160-2S686 | BJ-2721 40160-93G26 | BJ-2415 40161-2Y412 | BJ-2280
37521-W1025 | CB-2310 40160-2Y000 | BJ-2280 40160-9W200 | BJ-2180 40161-48W00 | BJ-2517
37521-W1027 | CB-2310 40160-2Y411 | BJ-2280 40160-9W20C | BJ-2180 40161-48W25 | BJ-2517
37521-W1085 | CB-2310 40160-2Y412 | BJ-2280 40160-9Y000 | BJ-2180 40161-5C000 | BJ-B004
37521-W1625 | CB-2310 40160-31U00 | BJ-2730 40160-97510 | BJ-2721 40161-5Y720 | BJ-2280
37521-Y0125 | CB-2440 40160-3S550 | BJ-2400 40160-A03G0 | BJ-2160 40161-B9500 | BJ-2517
37521-Y0126 | CB-2440 40160-41L00 | BJ-2230 40160-A06G0 | BJ-2160 40161-F1700 | BJ-2517
40110-01G00 | BJ-2511 40160-41U00 | BJ-2730 40160-A8600 | BJ-2300 40161-T3060 | BJ-2517
40110-01G25 | BJ-2511 40160-48W00 | BJ-2516 40160-A8610 | BJ-2300 40161-W5000 | BJ-2120
40110-01G26 | BJ-2511 40160-48W25 | BJ-2516 40160-A8625 | BJ-2300 48510-01W00 | SR-2411
40110-0F000 | BJ-2511 40160-4F100 | BJ-BOOL 40160-AV600 | BJ-2280 48510-20500 | SR-2401
40110-25485 | BJ-2405 40160-4F105 | BJ-BOOL 40160-AV605 | BJ-2280 48510-2T025 | SR-2201
40110-25486 | BJ-2405 40160-4M400 | BJ-2725 40160-AV606 | BJ-2280 48510-31G25 | SR-2440
40110-2S685 | BJ-2405 40160-4M410 | BJ-2725 40160-AV60A | BJ-2280 48510-35525 | SR-2280
40110-2S686 | BJ-2405 40160-4M411 | BJ-2725 40160-AX000 | BJ-B0O5 48510-7F000 | SR-2440
40110-35600 | BJ-2405 40160-4M700 | BJ-2725 40160-B9500 | BJ-2516 48510-B5000 | SR-2401
40110-8B425 | BJ-2405 40160-47011 | BJ-2725 40160-CA010 | BJ-2180 48510-B9500 | SR-2401
40110-8B525 | BJ-2405 40160-50A00 | BJ-2725 40160-CC40A | BJ-2180 48510-B9525 | SR-2401
40110-8B550 | BJ-2405 40160-50325 | BJ-2725 40160-CC40B | BJ-2180 48510-R8000 | SR-2201
40110-92050 | BJ-2405 40160-50W00 | BJ-2415 40160-EDO0A | BJ-2740 48510-R8025 | SR-2201

136




NISSAN

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
48510-T3026 | SR-2201 48520-53M25 | TE-2150 48521-01B25 | RE-2170 48521-50Y00 | RE-2180
48510-T3060 | SR-2201 48520-60Y25 | TE-2206 48521-01F00 | RE-2110 48521-50Y25 | RE-2180
48510-T3065 | SR-2201 48520-61G25 | TE-2451 48521-01F06 | RE-2110 48521-50Y26 | RE-2180
48520-01B25 | TE-2130 48520-6F625 | TE-2820 48521-01G25 | TE-2445 48521-50Y27 | RE-2180
48520-01E00 | TE-2150 48520-71L25 | TE-2206 48521-01N25 | TE-2742 48521-5Y025 | RE-2520
48520-01E25 | TE-2150 48520-72E25 | TE-2270 48521-01W00 | TE-2405 48521-5Y085 | RE-2520
48520-01E26 | TE-2150 48520-73325 | TE-2150 48521-06R05 | RE-2150 48521-61V06 | RE-2500
48520-01G25 | TE-2401 48520-7F000 | TE-2431 48521-06R06 | RE-2150 48521-6M025 | RE-B0O1
48520-01L25 | TE-2211 48520-7F001 | TE-2435 48521-0C005 | RE-2513 48521-6M026 | RE-B0O1
48520-01N25 | TE-2741 48520-7S025 | TE-B008 48521-0C025 | RE-2513 48521-6M085 | RE-B0O1
48520-01W00 | TE-2401 48520-88E25 | TE-2330 48521-0E000 | RE-B0OO5 48521-6M086 | RE-B0O1
48520-02E00 | TE-2150 48520-88E26 | TE-2330 48521-0P701 | RE-B0O3 48521-70A00 | RE-2100
48520-02E25 | TE-2150 48520-8J025 | TE-2206 48521-0W025 | RE-2514 48521-70A06 | RE-2100
48520-02E26 | TE-2150 48520-9Y025 | TE-B013 48521-10V00 | RE-2500 48521-71L00 | RE-2150
48520-0C025 | TE-2206 48520-A0600 | TE-2302 48521-10V06 | RE-2500 48521-71V06 | RE-2150
48520-0E025 | TE-2270 48520-AX600 | TE-B021 48521-10V08 | RE-2500 48521-71V08 | RE-2150
48520-0M025 | TE-2150 48520-AX602 | TE-BO17 48521-17B00 | RE-2170 48521-72E00 | RE-2150
48520-0M085 | TE-2206 48520-BM425 | TE-B003 48521-17B25 | RE-2170 48521-72E06 | RE-2150
48520-0P725 | TE-2760 48520-CB025 | TE-2104 48521-18V25 | TE-2556 48521-72E08 | RE-2150
48520-0P726 | TE-2760 48520-CG025 | TE-BO16 48521-1M210 | RE-2190 48521-79T00 | RE-B003
48520-0W025 | TE-2760 48520-CK025 | TE-BO11 48521-1M225 | RE-2190 48521-7J100 | RE-B005
48520-10V25 | TE-2540 48520-D0100 | TE-2150 48521-1M226 | RE-2190 48521-7J125 | RE-B00S
48520-15U25 | TE-2206 48520-D0125 | TE-2150 48521-1M255 | RE-2190 48521-7S000 | RE-B009
48520-15U26 | TE-2206 48520-D0126 | TE-2150 48521-1M256 | RE-2190 48521-7Y000 | RE-2530
48520-17B25 | TE-2130 48520-E0100 | TE-2342 48521-27N00 | RE-2710 48521-8H300 | RE-2300
48520-18V25 | TE-2551 48520-EA025 | TE-B009 48521-27N25 | RE-2710 48521-8J000 | RE-2530
48520-27N25 | TE-2750 48520-ETO0A | TE-B019 48521-25485 | TE-2465 48521-9E000 | RE-2104
48520-2B000 | TE-2270 48520-G2500 | TE-2303 48521-2Y025 | RE-2520 48521-9Y025 | RE-B0OO7
48520-2B003 | TE-B003 48520-G2525 | TE-2303 48521-2Y085 | RE-2520 48521-A0600 | TE-2306
48520-2B025 | TE-B003 48520-G5101 | TE-2343 48521-2Y405 | RE-2520 48521-CB025 | RE-B023
48520-25485 | TE-2461 48520-G5125 | TE-2343 48521-35A00 | RE-2140 48521-CB026 | RE-B023
48520-31C00 | TE-2342 48520-G5225 | TE-2260 48521-35A06 | RE-2140 48521-CB027 | RE-B023
48520-31G25 | TE-2431 48520-H5025 | TE-2112 48521-35A26 | RE-2140 48521-CK000 | RE-BO11
48520-35F25 | TE-2150 48520-HA000 | TE-3703 48521-35F00 | RE-2100 48521-D0100 | RE-2100
48520-35525 | TE-2760 48520-HA200 | TE-B027 48521-3U025 | RE-2101 48521-E0100 | TE-2343
48520-3U025 | TE-2800 48520-J0126 | TE-2711 48521-40D25 | RE-2513 48521-EA000 | RE-2105
48520-41L00 | TE-2220 48520-JA00A | TE-2810 48521-40U01 | RE-2513 48521-ETO0A | RE-BO13
48520-41L25 | TE-2220 48520-N8425 | TE-2302 48521-40U25 | RE-2513 48521-G2525 | TE-2307
48520-41L26 | TE-2220 48520-Q5601 | TE-2150 48521-4B000 | RE-2102 48521-G5101 | TE-2347
48520-41L27 | TE-2220 48520-R8000 | SR-2202 48521-4M401 | RE-B0O1 48521-G5125 | TE-2347
48520-41W00 | TE-2401 48520-R8025 | SR-2202 48521-4M425 | RE-B0OO1 48521-G5200 | RE-2150
48520-45V25 | TE-2540 48520-T3026 | SR-2202 48521-4M426 | RE-B0OO1 48521-H1001 | TE-2116
48520-4B000 | TE-2150 48520-T3060 | SR-2202 48521-4M485 | RE-B0OO1 48521-H5025 | TE-2116
48520-4B025 | TE-2150 48520-T3065 | SR-2202 48521-4M500 | RE-2510 48521-HA001 | RE-B020
48520-4F125 | TE-2820 48520-U0100 | TE-2302 48521-4M527 | RE-2510 48521-HA002 | RE-B019
48520-47025 | TE-B003 48520-U5200 | TE-2302 48521-4M528 | RE-2510 48521-HA003 | RE-B0O21
48520-50A00 | TE-2150 48520-VB025 | TE-2780 48521-4M587 | RE-2510 48521-HA201 | RE-B022
48520-50A25 | TE-2150 48520-VH025 | TE-2750 48521-4M588 | RE-2510 48521-J0126 | TE-2712
48520-50A26 | TE-2150 48520-VW025 | TE-2106 48521-4N100 | RE-2106 48521-JA00A | RE-2540
48520-50Y25 | TE-2150 48520-W5025 | TE-2112 48521-4N186 | RE-2106 48521-N8425 | TE-2306
48520-53E25 | TE-2250 48520-Y0100 | TE-2342 48521-47001 | RE-2102 48521-P9001 | RE-2110

137




NISSAN

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
48521-Q5200 | RE-2290 48640-A0600 | TE-2303 54500-2F500 | CA-2280 54501-39U10 | CA-2334
48521-Q5601 | RE-2290 48640-AX600 | TE-B022 54500-2Y411 | CA-2335 54501-39U11 | CA-2334
48521-U0100 | TE-2306 48640-AX602 | TE-BO18 54500-2Y412 | CA-2335 54501-41U00 | CA-2334
48521-U5200 | TE-2306 48640-CG085 | TE-BO15 54500-35F11 | CA-2331 54501-41U01 | CA-2334
48521-W1000 | RE-2110 48640-EA025 | TE-2108 54500-39U10 | CA-2333 54501-41U02 | CA-2334
48521-W1001 | RE-2110 48640-ETO0A | TE-B020 54500-39U11 | CA-2333 54501-4F105 | CA-2221
48521-W5025 | TE-2116 48640-G2500 | TE-2302 54500-41U00 | CA-2333 54501-4M400 | CA-2342
48521-Y0100 | TE-2343 48640-G2525 | TE-2302 54500-41U01 | CA-2333 54501-4M401 | CA-2342
48521-Y02G0 | RE-2180 48640-G5101 | TE-2342 54500-41U02 | CA-2333 54501-4M410 | CA-2342
48527-JD01A | TE-B023 48640-G5125 | TE-2342 54500-4F105 | CA-2220 54501-4M411 | CA-2342
48530-01G00 | 1A-2462 48640-H5025 | TE-2113 54500-4M400 | CA-2341 54501-50A00 | CA-2242
48530-01G25 | 1A-2462 48640-JA00A | TE-2190 54500-4M401 | CA-2341 54501-50Y10 | CA-2252
48530-03W05 | 1A-2432 48640-N8425 | TE-2303 54500-4M410 | CA-2341 54501-52F00 | CA-2332
48530-03W06 | 1A-2432 48640-U0100 | TE-2303 54500-4M411 | CA-2341 54501-52U15 | CA-2252
48530-03W07 | 1A-2432 48640-U5200 | TE-2303 54500-50A00 | CA-2241 54501-52Y10 | CA-2252
48530-09W10 | 1A-2472 48640-W5025 | TE-2113 54500-50Y10 | CA-2251 54501-52Y60 | CA-2252
48530-31G25 | 1A-2482 48641-01N25 | TE-2741 54500-52F00 | CA-2331 54501-52Y70 | CA-2252
48530-35G25 | 1A-2481 48641-18V25 | TE-2557 54500-52Y10 | CA-2251 54501-5Y720 | CA-2336
48530-35185 | 1A-2483 48641-A0600 | TE-2307 54500-52Y15 | CA-2251 54501-65A00 | CA-2242
48560-J0126 | DR-2430 48641-G2525 | TE-2306 54500-52Y60 | CA-2251 54501-67L00 | CA-2322
48561-T3001 | TE-BOO1 48641-G5101 | TE-2346 54500-52Y70 | CA-2251 54501-69Y10 | CA-2252
48561-T3025 | TE-BOO1 48641-G5125 | TE-2346 54500-5Y720 | CA-2335 54501-90J10 | CA-2291
48570-31G25 | TE-2435 48641-H1001 | TE-2117 54500-65A00 | CA-2241 54501-95F0A | CA-2342
48570-35525 | TE-2770 48641-H5025 | TE-2117 54500-67L00 | CA-2321 54501-CA010 | CA-2435
48570-61G25 | TE-2455 48641-N8425 | TE-2307 54500-69Y10 | CA-2251 54501-CC40A | CA-2435
48570-82100 | TE-2721 48641-U0100 | TE-2307 54500-90J10 | CA-2290 54501-CC40B | CA-2435
48570-B5000 | TE-2342 48641-U5200 | TE-2307 54500-95F0A | CA-2341 54501-EDOOA | CA-2344
48570-B9500 | TE-2342 48641-W5025 | TE-2117 54500-CA010 | CA-2434 54501-EL500 | CA-2344
48570-B9525 | TE-2342 48647-JD01A | TE-B0O24 54500-CC40A | CA-2434 54501-EW000 | CA-2344
48570-J5100 | TE-2721 54055-HA001 | BJ-3627 54500-CC40B | CA-2434 54501-VW000 | CA-2346
48570-VB025 | TE-2790 54499-01L00 | CA-2311 54500-EDOOA | CA-2343 54502-01G00 | CA-2401
48571-T3001 | TE-B0O2 54499-07S00 | CA-2311 54500-EL500 | CA-2343 54502-01G25 | CA-2401
48571-T3025 | TE-B0O2 54499-09S60 | CA-2311 54500-EW000 | CA-2343 54502-01G50 | CA-2401
48580-82100 | TE-2722 54499-26L00 | CA-2311 54500-U0102 | CA-2226 54502-01G90 | CA-2401
48580-B5000 | TE-2343 54499-U0102 | CA-2225 54500-VW000 | CA-2345 54502-2S400 | CA-2401
48580-B9525 | TE-2343 54500-01L00 | CA-2312 54501-0M010 | CA-2262 54502-25485 | CA-2401
48580-J5100 | TE-2722 54500-07S00 | CA-2312 54501-0M020 | CA-2262 54502-55G90 | CA-2401
48610-EA025 | TE-2108 54500-09S60 | CA-2312 54501-0M060 | CA-2262 54502-92G90 | CA-2401
48630-01W00 | SR-2411 54500-0M010 | CA-2261 54501-0W000 | CA-2338 54503-01G00 | CA-2402
48630-20500 | SR-2402 54500-0M020 | CA-2261 54501-0W001 | CA-2338 54503-01G25 | CA-2402
48630-2T025 | SR-2202 54500-0M060 | CA-2261 54501-18V01 | CA-2431 54503-01G50 | CA-2402
48630-31G25 | SR-2440 54500-0W000 | CA-2337 54501-1HAOC | CA-2352 54503-01G90 | CA-2402
48630-B5000 | SR-2402 54500-0W001 | CA-2337 54501-1HA5A | CA-2352 54503-2S400 | CA-2402
48630-B9525 | SR-2402 54500-18V01 | CA-2430 54501-1HA5D | CA-2352 54503-25485 | CA-2402
48640-01N25 | TE-2742 54500-1HAOC | CA-2351 54501-1HA6A | CA-2352 54503-55G90 | CA-2402
48640-18V25 | TE-2551 54500-1HA5A | CA-2351 54501-1HKOB | CA-2352 54503-92G90 | CA-2402
48640-1HAOA | TE-2600 54500-1HA5D | CA-2351 54501-1HMOB | CA-2352 54524-2F000 | CA-2230
48640-31C00 | TE-2343 54500-1HA6A | CA-2351 54501-2F500 | CA-2281 54524-25400 | CA-2432
48640-3U025 | TE-2180 54500-1HKOB | CA-2351 54501-2Y411 | CA-2336 54524-25485 | CA-2432
48640-7S025 | TE-B007 54500-1HMOB | CA-2351 54501-2Y412 | CA-2336 54524-25486 | CA-2432
48640-9Y025 | TE-BO14 54500-26L00 | CA-2312 54501-35F11 | CA-2332 54524-90J21 | CA-2232

138



NISSAN

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
54524-EB70D | CA-2436 54618-90J11 | SB-B0O1 56261-4F725 | SB-2340 D8E21-1AAOA | RE-BO17
54524-VW100 | CA-2405 54618-9UO0A | SB-2400 56261-50J00 | SB-2350 D8F40-CG80A | TE-BO15
54524-VX100 | CA-2438 54618-9W200 | SB-BOO7 56261-7S000 | SB-B014 D8F40-JGOOA | TE-B024
54525-2F000 | CA-2231 54618-AU000 | SB-B027 56261-7S010 | SB-B013 E4524-25486 | CA-2432
5452525400 | CA-2433 54618-CA000 | SB-2392 56261-86J00 | SB-2350 E4525-25486 | CA-2433
54525-25485 | CA-2433 54618-CA010 | SB-B009 56261-86J25 | SB-2350
54525-25486 | CA-2433 54618-CNO11 | SB-2391 56261-90J01 | SB-2350
54525-90J21 | CA-2233 54618-CYOOA | SB-B023 56261-EA000 | SB-BO15
54525-EB70D | CA-2437 54618-D5000 | SB-2300 56261-EA500 | SB-BO17
54525-VW100 | CA-2406 54618-D5010 | SB-2300 56261-EA510 | SB-B018
54525-VX100 | CA-2439 54618-EA000 | SB-B013 56261-EQ000 | SB-B033
54526-01G00 | CA-2428 54618-EA010 | SB-B013 56261-JA000 | SB-B021
54526-92G00 | CA-2428 54618-EB71A | SB-B013 56261-JA005 | SB-B039
54527-01G00 | CA-2429 54618-EN000 | SB-B023 D0160-0W025 | BJ-2550
54527-92G00 | CA-2429 54618-ETO0A | SB-B023 D8510-VK90A | SR-2280
54532-01W00 | CA-2411 54618-JA000 | SB-B019 D8520-0P725 | TE-2760
54532-25W00 | CA-2411 54618-JD00A | SB-B019 D8520-15U26 | TE-2206
54533-01W00 | CA-2412 54618-JX00A | SB-2400 D8520-1AA0A | TE-2810
54533-25W00 | CA-2412 54618-VBO0OO | SB-B0O3 D8520-1AA1A | TE-2810
54618-0B000 | SB-2300 54668-1AA0E | SB-B020 D8520-1HAOA | TE-2600
54618-0E000 | SB-2310 54668-1C101 | SB-B030 D8520-9Y025 | TE-BO13
54618-0W000 | SB-2390 54668-2Y000 | SB-2313 D8520-CB025 | TE-2104
54618-0W001 | SB-2390 54668-33P00 | SB-2313 D8520-EB70A | TE-B030
54618-1AA0E | SB-B019 54668-4N001 | SB-2322 D8520-ENOOA | TE-B025
54618-1C101 | SB-B029 54668-4N010 | SB-B032 D8520-ETO0A | TE-B019
54618-1FEOA | SB-2400 54668-4U000 | SB-B027 D8520-EW00A | TE-2800
54618-2F010 | SB-B025 54668-8H300 | SB-B006 D8520-JA00A | TE-2810
54618-2Y000 | SB-2311 54668-8J000 | SB-2318 D8520-JA80J | TE-2810
54618-33P00 | SB-2311 54668-9W200 | SB-B00S D8520-JGO0A | TE-B023
54618-3W400 | SB-2390 54668-AU000 | SB-B028 D8520-JYOOA | TE-B023
54618-4M400 | SB-2300 54668-CA000 | SB-2319 D8520-VK90A | TE-2760
54618-4N001 | SB-2321 54668-CA010 | SB-B037 D8520-VK91A | TE-2461
54618-4N010 | SB-B031 54668-CNO11 | SB-2318 D8521-1AA0A | RE-BO17
54618-4U000 | SB-B028 54668-EA000 | SB-B014 D8521-1HJOA | RE-2600
54618-47000 | SB-2300 54668-EA010 | SB-B014 D8521-JD00B | RE-B015
54618-50J10 | SB-B0O1 54668-EB71A | SB-B014 D8521-JGO0A | RE-BO15
54618-50J11 | SB-B0O1 54668-JA000 | SB-B020 D8521-VK91A | TE-2465
54618-50J20 | SB-B0O1 54668-JD00A | SB-B020 D8570-VK90A | TE-2770
54618-50J60 | SB-BOO1 56260-01J10 | SB-B0O1 D8640-1AA0A | TE-2190
54618-50Y00 | SB-2300 56260-0W001 | SB-2370 D8640-1AA1IA | TE-2190
54618-56S11 | SB-B043 56260-41G11 | SB-2370 D8640-9Y025 | TE-BO14
54618-57C21 | SB-B0O1 56260-60Y20 | SB-2330 D8640-EB70A | TE-B029
54618-58Y10 | SB-2320 56260-60Y60 | SB-2330 D8640-ENOOA | TE-B026
54618-58Y20 | SB-2320 56261-0E000 | SB-2340 D8640-ETO0A | TE-B020
54618-58Y21 | SB-2320 56261-0Z800 | SB-2340 D8640-EW00A | TE-2180
54618-58Y60 | SB-2320 56261-1AA0A | SB-B041 D8640-JA00A | TE-2190
54618-7S000 | SB-BO11 56261-1AA0B | SB-B042 D8640-JA80J | TE-2190
54618-86J25 | SB-B0O1 56261-1ADOB | SB-B039 D8640-JGO0A | TE-B024
54618-8H300 | SB-B0O0S5 56261-4F701 | SB-2340 D8640-JYOOA | TE-B024
54618-8J000 | SB-2391 56261-4F702 | SB-2340 D8E20-CG80A | TE-BO16
54618-90J10 | SB-B0O1 56261-4F710 | SB-2340 D8E20-JGOOA | TE-B023

139



ISUZU

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
1-37510-035-0 | CB-7190 8-94224-550-5 | BJ-7211 8-94452-104-0 | BJ-7215 8-97142-100-1 | TE-7151
1-37510-074-0 | CB-7210 8-94224-551-1 | BJ-7225 8-94452-104-1 | BJ-7215 8-97142-101-1 | TE-7152
1-37510-088-1 | CB-7210 8-94224-551-2 | BJ-7225 8-94452-106-0 | BJ-7225 8-97175-395-0 | IA-7221
1-37510-091-0 | CB-7190 8-94224-552-1 | BJ-7215 8-94452-106-1 | BJ-7225 8-97222-509-0 | TE-7151
1-37510-102-0 | CB-7210 8-94224-552-2 | BJ-7215 8-94452-107-0 | BJ-7225 8-97222-510-0 | TE-7152
1-37510-104-0 | CB-7210 8-94226-967-2 | BJ-7235 8-94452-107-1 | BJ-7225 8-97235-776-0 | BJ-7265
1-37510-105-0 | CB-7210 8-94233-475-1 | TE-7405 8-94452-110-1 | BJ-7235 8-97235-777-0 | BJ-7260
1-43150-679-2 | TE-P0O1 8-94233-476-1 | TE-7401 8-94452-110-2 | BJ-7235 8-97289-819-0 | SB-P002
1-43150-680-2 | TE-P002 8-94237-351-0 | TE-7130 8-94459-453-2 | BJ-7211 8-97289-820-0 | SB-P001
310828 BJ-7211 8-94237-351-1 | TE-7130 8-94459-453-3 | BJ-7211 8-97304-851-0 | RE-7180
352828 BJ-7265 8-94241-766-0 | IA-7201 8-94459-453-4 | BJ-7211 8-97304-855-0 | TE-7410
5-37510-007-0 | CB-7170 8-94241-767-0 | 1A-7202 8-94459-464-1 | BJ-7255 8-97304-928-0 | TE-7410
5-37510-008-0 | CB-7180 8-94243-234-0 | BJ-7211 8-94459-464-2 | BJ-7255 8-97365-018-0 | BJ-7260
5-44350-095-1 | RE-7160 8-94243-236-0 | BJ-7225 8-94459-464-3 | BJ-7255 8-97365-019-0 | BJ-7221
5-44350-095-2 | RE-7160 8-94243-236-2 | BJ-7225 8-94459-465-1 | BJ-7265 8-97365-020-0 | BJ-7265
5-44350-095-3 | RE-7160 8-94246-419-0 | CA-7223 8-94459-465-2 | BJ-7265 8-97940-612-0 | BJ-7255
5-44352-011-0 | TE-7121 8-94246-420-0 | CA-7224 8-94459-480-0 | TE-7161 8-97940-616-0 | TE-7161
5-44352-012-0 | TE-7122 8-94246-475-0 | BJ-7215 8-94459-480-1 | TE-7161 8-97940-617-0 | TE-7162
5-44352-015-0 | TE-7121 8-94246-475-1 | BJ-7215 8-94459-480-2 | TE-7161 8-97940-625-0 | BJ-7211
5-44352-015-1 | TE-7121 8-94322-751-1 | CA-7221 8-94459-481-0 | TE-7162 8-97956-902-A | TE-7161
5-44352-015-2 | TE-7121 8-94322-751-2 | CA-7221 8-94459-481-1 | TE-7162 8-97956-903-A | TE-7162
5-44352-016-0 | TE-7122 8-94322-752-1 | CA-7222 8-94459-481-2 | TE-7162 8-98005-826-0 | BJ-7221
5-44352-016-1 | TE-7122 8-94322-752-2 | CA-7222 8-94472-255-0 | BJ-7211 8-98005-832-0 | CA-7420
5-44352-016-2 | TE-7122 8-94328-799-0 | CB-7130 8-94472-255-2 | BJ-7211 8-98005-833-0 | CA-7425
5-44352-026-0 | TE-7130 8-94328-800-0 | CB-7140 8-94482-472-0 | CB-7130 8-98005-834-0 | CA-7421
5-51227-033-0 | BJ-7225 8-94365-164-0 | BJ-7306 8-97018-125-2 | SB-P003 8-98005-835-0 | CA7426
8-94103-222-2 | TE-7141 8-94365-165-0 | BJ-7307 8-97018-227-2 | SB-P002 8-98005-836-0 | CA-7410
8-94103-223-2 | TE-7142 8-94366-124-0 | I1A-7221 8-97018-228-2 | SB-P0O1 8-98005-837-0 | CA-7415
8-94109-041-1 | TE-7110 8-94366-606-0 | RE-7130 8-97020-953-0 | TE-7161 8-98005-838-0 | CA-7411
8-94109-041-2 | TE-7110 8-94369-925-0 | TE-7405 8-97020-953-1 | TE-7161 8-98005-839-0 | CA-7416
8-94109-041-3 | TE-7110 8-94374-424-0 | BJ-7221 8-97020-954-0 | TE-7162 8-98005-874-0 | BJ-7265
8-94109-704-1 | BJ-7225 8-94374-424-1 | BJ-7221 8-97020-954-1 | TE-7162 8-98005-875-0 | BJ-7265
8-94109-704-2 | BJ-7225 8-94374-424-2 | BJ-7221 8-97020-954-2 | TE-7162 920373 TE-7161
8-94124-585-1 | TE-7405 8-94374-424-4 | BJ-7221 8-97025-752-0 | CB-7150 920374 TE-7162
8-94124-586-0 | TE-7401 8-94419-408-0 | TE-7161 8-97025-753-0 | CB-7160 94020795 BJ-7225
8-94133-798-0 | BJ-7110 8-94419-408-1 | TE-7161 8-97028-967-0 | IA-7201 94021476 TE-7121
8-94133-798-1 | BJ-7110 8-94419-409-0 | TE-7162 8-97028-967-2 | IA-7201 94021477 TE-7122
8-94142-147-0 | CA-7223 8-94419-409-1 | TE-7162 8-97028-969-0 | IA-7211 94025674 TE-7121
8-94142-147-1 | CA-7223 8-94419-608-2 | TE-7141 8-97028-971-0 | IA-7211 94025675 TE-7122
8-94142-147-2 | CA-7223 8-94419-609-2 | TE-7142 8-97031-993-0 | TE-7130 94025980 TE-7121
8-94142-148-0 | CA-7224 | | 8-94440-608-0A | CB-7120 8-97039-325-1 | 1A-7201 94025981 TE-7122
8-94142-148-1 | CA-7224 8-94445-550-0 | CA-7221 8-97039-462-0 | TE-7151 94027778 RE-7160
8-94142-148-2 | CA-7224 8-94445-550-1 | CA-7221 8-97039-463-0 | TE-7152 94028101 BJ-7225
8-94217-221-1 | RE-7130 8-94445-550-2 | CA-7221 8-97103-437-0 | BJ-7310 94028225 TE-7130
8-94217-221-2 | RE-7130 8-94445-551-0 | CA-7222 8-97103-546-1 | CB-7220 94103222 TE-7141
8-94217-221-3 | RE-7130 8-94445-551-1 | CA-7222 8-97106-663-0 | IA-7211 94103223 TE-7142
8-94222-972-0A | CB-7110 8-94445-551-2 | CA-7222 8-97107-348-0 | TE-7151 94133798 BJ-7110
8-94224-550-1 | BJ-7211 8-94445-552-0 | CA-7221 8-97107-348-2 | TE-7151 94217221 RE-7130
8-94224-550-2 | BJ-7211 8-94445-553-0 | CA-7222 8-97107-349-0 | TE-7152 94224550 BJ-7211
8-94224-550-3 | BJ-7211 8-94452-102-0 | BJ-7265 8-97107-349-2 | TE-7152 94224551 BJ-7225
8-94224-550-4 | BJ-7211 8-94452-102-1 | BJ-7265 8-97116-048-0 | IA-7221 94224552 BJ-7215

140




ISUZU

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
94224701 TE-7130
94233475 TE-7405
94237351 TE-7130
94243234 BJ-7211
94243236 BJ-7225
94246475 BJ-7215
9-43150-038-0 | TE-7111
9-43150-039-0 | TE-7112
9-43150-053-0 | TE-7111
9-43150-054-0 | TE-7112
9-43150-601-0 | TE-7111
9-43150-602-0 | TE-7112
9-43150-605-0 | TE-7111
9-43150-606-0 | TE-7112
9-43150-612-0 | TE-7111
9-43150-613-0 | TE-7112
94419408 TE-7161
94419608 TE-7141
94419609 TE-7142
9-44352-070-0 | TE-7121
9-44352-071-0 | TE-7122
9-44352-602-0 | TE-7121
9-44352-603-0 | TE-7122
9-44352-629-0 | TE-7121
9-44352-630-0 | TE-7122
9-44352-639-0 | TE-7121
9-44352-640-0 | TE-7122
94452102 BJ-7265
94452104 BJ-7215
94452106 BJ-7225
94452110 BJ-7235
94459453 BJ-7211
94459464 BJ-7255
94459465 BJ-7265
94459480 TE-7161
94459481 TE-7162
94472255 BJ-7211
9-51227-704-0 | BJ-7225
9-51227-704-1 | BJ-7225

141




MITSUBISHI

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
13501-13000 | TE-E002 44220044 RE-4770 MB154086 CB-4140 MB315776 TE-4715
13501-13100 | TE-E001 44227052 TE-4308 MB154199 CB-4290 MB347599 TE-4733
13501-13500 | TE-E002 44220057 RE-E009 MB154269 CB-4150 MB347666 RE-4320
13501-13600 | TE-E001 44227076 RE-EQ17 MB154561 CB-4160 MB349475 CA-4325
3895A021 BJ-E003 44227079 RE-E009 MB154706 CB-4170 MB350577 RE-4310
4010A013 CA-4513 44220095T | TE-4302 MB162810 TE-4812 MB350718 RE-4340
4010A014 CA-4514 510185 TE-4710 MB162811 TE-4811 MB378701 TE-4307
4010A015 BJ-4110 AW311699 BJ-4330 MB166281 PA-4220 MB378702 TE-4306
4010A017 CA-4503 MA159982 TE-4305 MB166425 IA-4730 MB378704 TE-4301
4010A018 CA-4504 MA159984 TE-4301 MB166426 TE-4701 MB489407 TE-4710
4010A099 BJ-4110 MA169613 TE-4305 MB166427 TE-4705 MB489434 TE-4741
4010A314T | BJ-4120 MA169614 TE-4301 MB166428 IA-4701 MB501017 RE-4390
4013A087 CA-4515 MB000076 CB-4120 MB166429 IA-4702 MB501530 RE-4340
4013A088 CA-4516 MBOO0O76A | CB-4120A MB166980 TE-4307 MB501721 RE-4300
4013A090T | BJ-4120 MB000083 CB-4320 MB166982 TE-4301 MB505286 CB-4190
4013A091 CA-4505 MB000815 CB-4290 MB175544 BJ-4505 MB505495 CB-4220
4013A092 CA-4506 MB001696 BJ-4310 MB175812 BJ-4515 MB505715 CB-4200
4013A093 CA-4505 MB001699 BJ-4310 MB176283 BJ-4515 MB518712 CA-4507
4013A094 CA-4506 MB001715 BJ-4310 MB176308 BJ-4525 MB518713 CA-4508
4013A211 BJ-4120 MB002475 BJ-4501 MB176309 BJ-4511 MB518780 SB-4310
4013A273 CA-4302 MB002476 BJ-4501 MB185441 TE-4701 MB527159 CA-4321
4013A274 CA-4303 MB002588 BJ-4310 MB192430 TE-4741 MB527160 CA-4322
4056A015 SB-E006 MB006314 TE-4701 MB192499 TE-4741 MB527169 TE-4710
4056A016 SB-E005 MB006315 TE-4705 MB223119 CB-4100 MB527227 PA-4330
4056A026 SB-4302 MB006358 TE-4701 MB241166 PA-4220 MB527228 IA-4531
4056A031 SB-E001 MB006359 TE-4705 MB241168 PA-4320 MB527349 BJ-4531
4056A034 SB-4317 MB076003 TE-4307 MB241171 TE-4711 MB527350 BJ-4531
4056A035 SB-4318 MB076004 TE-4306 MB241172 TE-4701 MB527351 BJ-4525
4056A037 SB-E009 MB076532 TE-4705 MB241206 TE-4715 MB527352 BJ-4525
4056A038 SB-4310 MB076663 TE-4307 MB241207 TE-4705 MB527650 TE-4730
4056A040 SB-4310 MB076664 TE-4306 MB241421 IA-4520 MB532046 RE-4320
4056A105 SB-4308 MB109168 BJ-4106 MB241422 IA-4520 MB532281 RE-4300
4056A106 SB-4307 MB109169 BJ-4107 MB241423 IA-4512 MB532657 RE-4310
4056A111 SB-E008 MB109512 CA-4311 MB241425 IA-E001 MB532971 RE-4710
4056A112 SB-E007 MB109513 CA-4312 MB241448 PA-4240 MB532972 RE-E003
4156A014 SB-4301 MB109539 1S-4501 MB241818 BJ-4515 MB553249 RE-4720
4410A172T | RE-4420 MB109539-01 |1S-4511-01 MB241830 IA-4710 MB563234 CB-4310

4410A173T | RE-4440 MB109585 BJ-4501 MB241883 BJ-4330 MB563234A | CB-4210A
44227002 TE-4308 MB109586 1S-4501 MB241973 PA-4510 MB564853 TE-4309
44227004 RE-4770 MB109587 BJ-4505 MB241982 TE-4710 MB564855 TE-4321
4422A008T | TE-4302 MB109588 BJ-4505 MB243329 RE-4310 MB564991 TE-4741
4422A009T | TE-4317 MB112476 BJ-4501 MB266152 RE-4310 MB573043 SB-1300
4422A010T | TE-4318 MB112477 BJ-4501 MB267876 SB-4308 MB573540 SB-4310
44227012 RE-4780 MB122011 TE-4506 MB267877 SB-4307 MB573885 TE-4741
44227018 TE-4308 MB122012 TE-4506 MB288119 TE-4745 MB597605 TE-4710
44227036 RE-E015 MB122135 RE-4700 MB293312A | CB-4180 MB598023 TE-4710
44227037 TE-E004 MB122396 PA-4240 MB303374 BJ-4330 MB598489 PA-4520
44227038 TE-E003 MB122779 TE-4307 MB303375 BJ-4330 MB616286 TE-4741
MB122781 TE-4301 MB315160 RE-4310 MB698532 IA-4710

MB122782 TE-4301 MB315629 TE-4701 MB809220 CA-4330

MB154080 CB-4130 MB315775 TE-4711 MB809221 CA-4331

142




MITSUBISHI

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
MB809222 CA-4332 MC891647 TE-4802 MR244901 RE-E013 MR491348 CA-4333
MB809223 CA-4333 MC891648 TE-4801 MR267873 SB-4303 MR491358 RE-4430
MB809230 CA-4313 MC891912 TE-4731 MR267875 SB-4304 MR491380 TE-4308
MB809231 CA-4314 MC891913 TE-4732 MR267876 SB-4305 MR496792 BJ-4110
MB809354 SB-4300 MK309191 TE-4731 MR267877 SB-4306 MR496799 BJ-4120
MB831035 CA-4502 MK309192 TE-4732 MR272116 | SB-E001 MR508130 BJ-E001
MB831036 CA-4501 MK309709 TE-4310 MR296093 CA-4502 MR508135 TE-4317
MB831037 BJ-4547 MK309710 TE-4311 MR296094 | CA-4501 MR508136 TE-4318
MB831038 BJ-4546 MK309711 TE-4731 MR296095 CA-4502 MR508650 TE-4741
MB831040 PA-4540 MK309712 TE-4732 MR296096 CA-4501 MR510267 RE-4380
MB831042 IA-4540 MK382984 SB-E014 MR296269 BJ-4547 MR534949 CB-4300
MB831043 TE-4721 MK382985 SB-E013 MR296270 BJ-4546 MR548285 TE-4308
MB831044 TE-4725 MK384672 TE-4731 MR296274 TE-4715 MR580647 CB-4330
MB837388 CB-4220 MK384673 TE-4732 MR296275 TE-4721 MR589336 | SB-E011
MB837577 CB-4230 MK996332 TE-4310 MR296289 CA-4341 MR589437 SB-4316
MB860408 CA-4322 MK996333 TE-4311 MR296290 CA-4342 MR594339 | SB-E018
MB860409 CA-4321 MK997508 TE-4310 MR296295 CA-4304 MR594340 | SB-E017
MB860829 BJ-4541 MK997509 TE-4311 MR296296 CA-4305 MR594674 RE-4410
MB860830 BJ-4541 MK997628 TE-4731 MR296319 CA-4341 MR661772 CB-4280
MB864164 TE-4730 MK997629 TE-4732 MR296320 CA-4342 MR972465 CA-4304
MB891787 CA-4507 ML106234 TE-4310 MR297333 | SB-E004 MR972466 CA-4305
MB891788 CA-4508 ML106235 TE-4311 MR297969 RE-4360 MR992299 BJ-4120
MB892981 SB-4302 MN101368 SB-4314 MR305905 CB-4290 MR992309 SB-4309
MB892982 SB-1300 MN150705 TE-4330 MR316368 | SB-E006 MR992310 SB-4313
MB907163 CA-4307 MN161077 TE-4308 MR316369 | SB-E005 MT141247 IS-E001
MB907164 CA-4306 MN161820 TE-4330 MR316435 SB-4317 MT142181 TE-4701
MB907272 PA-4330 MN184194 SB-4315 MR316436 SB-4318 MT142182 TE-4705
MB910934 RE-4360 MR124879 CA-4502 MR325005 CA-4304 MWO033300 | TE-4802
MB910961 RE-4360 MR124880 CA-4501 MR325251 CA-4341 MWO033301 | TE-4801
MB912076 TE-4710 MR130807 RE-4360 MR325576 CA-4305 PW530031 | RE-E001
MB912077 CA-4307 MR131680 | SB-E001 MR325577 CA-4304 PW530032 | RE-E001
MB912078 CA-4306 MR131856 RE-4300 MR333166 RE-4750 PW550281 | RE-E001
MB912505 CA-4309 MR139147 SB-4310 MR333409 RE-E005
MB912506 CA-4308 MR151970 | RE-E011 MR333763 | SB-E003
MB912507 CA-4309 MR162579 CA-4304 MR374521 SB-4307
MB912508 CA-4308 MR162580 CA-4305 MR374522 SB-4308
MB912509 CA-4304 MR162581 CA-4341 MR392200 BJ-E003
MB912510 CA-4305 MR162582 CA-4342 MR403099 RE-EQ07
MB912511 CA-4341 MR162710 TE-4733 MR403100 RE-E009
MB912512 CA-4342 MR162803 CA-4309 MR403419 CA-4302
MB912519 TE-4741 MR162804 CA-4308 MR403420 CA-4303
MB949343 RE-4750 MR165048 CB-4270 MR403771 | SB-E009
MC805517 | TE-E002 MR165167 CB-4110 MR403872 RE-4750
MC805518 | TE-E001 MR165252 CB-4110 MR418052 | SB-E008
MC810258 | TE-E002 MR223119 CB-4100 MR418053 | SB-E007
MC810259 | TE-E001 MR241023 CA-4323 MR448255 RE-4760
MC824410 CB-4240 MR241024 CA-4324 MR476457 TE-4710
MC830702A | CB-4250 MR241027 BJ-4515 MR485672 TE-4710
MC881040A | CB-4260A MR241031 TE-4309 MR491345 CA-4330
MC891397 TE-4731 MR241032 TE-4751 MR491346 CA-4331
MC891398 TE-4732 MR241623 BJ-4531 MR491347 CA-4332

143




MAZDA

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
0223-34-411 | 1S-3001 8AG3-32-280 | TE-3535 B32H-34-350 | CA-3550 D654-32-280 | TE-CO11
0603-34-411 | 1S-3001 8AG4-32-280 | TE-3535 B32H-34-350A | CA-3550 D654-32-290 | TE-C012
0603-34-510 | BJ-3405 8AH1-32-280 | TE-3530 B32H-34-350B | CA-3550 D77Z-3049A | BJ-3401
0603-34-540 | BJ-3401 8AL1-32-280 | TE-3430 B32H-34-350C | CA-3550 D77Z-3050A | BJ-3405
0603-99-322 | TE-3405 8AS1-32-240 | TE-3630 B37F-34-170A | SB-3170 D77Z-3A130A | TE-3405
0603-99-323 | TE-3405 8AS1-32-240A | TE-3630 B39D-34-170 | SB-C023 D77Z-3A131A | TE-3401
0603-99-324 | TE-3401 8AU1-32-280 | TE-3421 B455-32-24X | RE-3030 E016-32-24X | RE-3270
0603-99-325 | TE-3401 8AU1-34-540 | BJ-3421 B455-32-280 | TE-3130 E016-32-250 | RE-3270
0603-99-354A | BJ-3401 8AU2-32-270 | TE-3425 B455-34-300 | CA-3131 E016-34-550 | BJ-3130
0603-99-354B | BJ-3401 8AU2-34-510 | BJ-3425 B455-34-300B | CA-3131 E112-34-150 | SB-3145
0603-99-356 | BJ-3405 8AU3-34-510 | BJ-3435 B455-34-350 | CA-3132 E112-99-300C | BJ-3210
0755-25-310 | CB-3440 B001-34-310C | CA-3111 B455-34-350B | CA-3132 E177-3049A | BJ-3411
0866-99-324 | TE-3301 B001-34-360C | CA-3112 B455-34-550 | BJ-3130 E177-3050A | BJ-3415
0866-99-324B | TE-3301 B001-34-550 | BJ-3110 B456-32-24X | RE-3231 E177-3A130A | TE-3415
1175-99-322 | TE-3525 B001-99-324 | TE-3150 B456-32-25X | RE-3232 E177-3A130B | TE-3415
1175-99-322A | TE-3525 B001-99-325 | TE-3150 BA29-32-135 | RE-3110 E177-3A131A | TE-3411
1175-99-324A | TE-3521 BO1A-34-300 | CA-3590 BBM2-34-170A | SB-C023 EC01-34-150 | SB-3145
1177-99-324A | TE-3301 BO1A-34-350 | CA-3580 BC1D-28-170 | SB-3145 EC01-34-150A | SB-3145
1363-99-322 | TE-3701 BO1A-34-550 | BJ-3140 BC1D-28-170A | SB-3145 EG21-32-240 | RE-C003
1363-99-323 | TE-3702 BO1A-34-550A | BJ-3140 BJOE-28-170 | SB-C009 EG21-32-280 | TE-C005
1391-99-322 | TE-3530 B037-99-324 | TE-3150 BK3P-34-300D | BJ-3210 EG21-32-280A | TE-C005
1391-99-324 | TE-3601 B038-32-135 | RE-3110 BLEFP-34-300 | BJ-3210 EG21-32-280B | TE-C005
1524-99-324 | TE-3301 B092-32-240 | RE-3220 BLEFP-34-350 | BJ-3210 EG21-32-290 | TE-C006
1A04-34-150 | SB-3145 B092-34-310 | CA-3121 BP4K-34-170 | SB-3170 EG21-32-290A | TE-C006
2541-99-322A | TE-3405 B092-34-310A | CA-3121 BP4K-34-170A | SB-3170 EG21-32-290B | TE-C006
2541-99-324A | TE-3401 B092-34-360 | CA-3122 BP4K-34-170B | SB-3170 F02Z-3A130A | TE-3535
3593-25-300 | CB-3430 B092-34-360A | CA-3122 BP4K-34-170C | SB-3170 F151-34-150 | SB-3101
3874-99-322 | TE-3405 B092-34-550 | BJ-3110 BP4K-34-170D | SB-3170 F151-34-170 | SB-3102
3874-99-324 | TE-3401 B093-32-240 | RE-3211 BP4L-32-240 | RE-3520 F1CZ-3280A | RE-3030
3874-99-354 | BJ-3401 B093-32-250 | RE-3212 BP4L-32-280 | TE-3633 FD01-32-240 | RE-3020
3874-99-354B | BJ-3401 B094-32-240 | RE-3220 BP4L-32-290 | TE-3634 FD01-32-240A | RE-3020
3874-99-356 | BJ-3405 B21H-32-24X | RE-3233 BTDA-34-550 | BJ-3140 FD01-32-240B | RE-3020
4084-99-324B | TE-3301 B21H-32-25X | RE-3234 C100-99-300B | BJ-3210 G030-34-300 | CA-3333
8021-99-322 | TE-3305 B25D-32-240 | RE-3235 C100-99-350B | BJ-3210 G030-34-300B | BJ-3210
8038-99-322 | TE-3525 B25D-32-250 | RE-3236 C145-99-300A | BJ-3210 G030-34-300C | BJ-3210
8173-99-356 | BJ-3200 B25D-34-300 | CA-3520 C145-99-350A | BJ-3210 G030-34-350 | CA-3334
8531-99-322 | TE-3305 B25D-34-300A | CA-3520 D277-3049A | BJ-3401 G030-34-350B | BJ-3210
8531-99-322A | TE-3305 B25D-34-300B | CA-3520 D277-3050A | BJ-3405 G030-34-350C | BJ-3210
8531-99-324 | TE-3301 B25D-34-300D | CA-3520 D272-3056A | 1S-3001 G030-99-356 | BJ-3210
8531-99-356 | BJ-3200 B25D-34-350 | CA-3530 D27Z-3A130A | TE-3405 G037-32-240A | RE-3221
8593-25-300 | CB-3435 B25D-34-350A | CA-3530 D27Z-3A131A | TE-3401 G037-32-240B | RE-3221
8593-25-300A | CB-3436 B25D-34-350B | CA-3530 D521-32-240 | RE-C005 G037-32-240C | RE-3221
8AB1-32-280 | TE-3120 B25D-34-350D | CA-3530 D521-32-280B | TE-C007 G037-32-250A | RE-3222
8AB2-32-280 | TE-3130 B25D-99-350D | BJ-3210 D521-32-290B | TE-C008 G037-32-250B | RE-3222
8AG1-32-280 | TE-3440 B26R-28-170 | SB-C013 D651-32-240 | RE-C007 G037-32-250C | RE-3222
B26R-34-170 | SB-3130 D651-32-280 | TE-CO11 G26A-32-280 | TE-3631

B30H-28-170B | SB-C007 | | D651-32-290 | TE-CO12 G26A-32-290 | TE-3632

B32H-34-300 | CA-3540 D651-34-170 | SB-3145 GA2A-32-240 | RE-3150

B32H-34-300A | CA-3540 D653-32-240 | RE-C007 | | GA2A-32-240A | RE-3150

B32H-34-300B | CA-3540 D653-32-280 | TE-CO11 GA2A-32-250 | RE-3150

B32H-34-300C | CA-3540 D653-32-290 | TE-CO12 GA2A-32-280A | TE-3535

144




MAZDA

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
GA2A-34-150A | SB-3101 GJBA-34-J50B | CA-3336 M054-25-310A | CB-3480 UE53-32-320 | 1A-3141
GA2A-34-170A | SB-3102 GJBA-34-J50C | CA-3336 MB092-32-280 | TE-3120 UH71-32-280 | TE-3411
GA2A-34-300 | CA-3351 GJBA-34-J50D | CA-3336 NA01-32-240 | RE-3190 UH71-34-540 | BJ-3421
GA2A-34-350 | CA-3352 GJBE-32-240 | RE-3510 NA02-32-240 | RE-3211 UH71-34-550 | BJ-3425
GA2B-28-170 | SB-C001 GJBE-32-24X | RE-3510 P030-25-310 | CB-3490 UH74-32-250 | TE-3425
GA2B-28-170A | SB-C001 GJB6E-32-280 | TE-3631 P030-25-310A | CB-3500 UH74-32-280 | TE-3421
GA2B-28-170B | SB-C001 GJBE-32-280A | TE-3631 P036-25-310 | CB-3510 UH74-34-550 | BJ-3435
GA2C-28-170B | SB-C001 GJB6E-32-290 | TE-3632 P036-25-310A | CB-3520 UR56-32-250 | TE-C013
GAB6A-99-356 | BJ-3210 GJBE-32-290A | TE-3632 P045-25-310 | CB-3530 UR56-32-280 | TE-C015
GA6B-34-300E | BJ-3210 GK2A-34-150A | SB-C003 P045-25-310A | CB-3540 UR58-34-550 | BJ-C003
GA6B-34-350E | BJ-3210 GK2A-34-170 | SB-C004 P047-25-310 | CB-3550 UR61-32-280 | TE-CO17
GA6B-99-300E | BJ-3210 GP9A-34-200 | CA-3337 P047-25-310A | CB-3560 UR61-34-550 | BJ-C005
GA6B-99-350E | BJ-3210 GP9A-34-200A | CA-3337 P065-25-310 | CB-3570 | | wo01-25-310A | CB-3600
GA6B-99-356 | BJ-3210 GP9A-34-250 | CA-3338 P065-25-310A | CB-3580 W002-25-310 | CB-3610
GA6B-99-356A | BJ-3210 GP9A-34-250A | CA-3338 POA4-25-310 | CB-3590 W023-99-322 | TE-3701
GD1E-34-150 | SB-3101 GS1D-28-170 | SB-C021 S083-32-115 | RE-3500 W023-99-323 | TE-3702
GD1E-34-170 | SB-3102 GS1D-32-240 | RE-CO11 S083-34-510 | BJ-3625 | | YL8Z-5k483-AA | SB-3145
GD1J-28-170 | SB-C001 GS1D-32-280 | TE-C009 S083-99-324 | TE-3621 77P0-32-365A | TE-C001
GD7A-34-300B | CA-3560 GS1D-32-290 | TE-C010 S083-99-354 | BJ-3621
GD7A-34-350B | CA-3570 GS1D-34-150 | SB-C019 S083-99-356 | BJ-3625
GE4T-28-170 | SB-C015 GS1D-34-170 | SB-C020 S10H-34-150 | SB-C025
GE4T-34-300 | CA-3560 H001-32-240 | RE-3120 S231-32-240A | TE-3630
GEA4T-34-300E | CA-3560 HO01-32-240A | RE-3120 S47P-34-540A | BJ-3621
GE4T-34-350 | CA-3570 H001-49-310 | CA-3311 S475-34-550A | BJ-C001
GE4T-34-350E | CA-3570 H001-49-320 | CA-3312 S4YP-34-55X | BJ-3627
GG2A-34-300C | CA-3560 H001-99-310 | CA-3311 SA39-32-115 | RE-3500
GG2A-34-350C | CA-3570 H001-99-320 | CA-3312 TD11-32-240 | RE-C009
GJ21-32-240 | RE-3230 H001-99-324 | TE-3530 TD11-32-240A | RE-C009
GJ22-32-240 | RE-3230 H001-99-356 | BJ-3520 TD11-32-280 | TE-C005
GJ22-34-300 | CA-3349 H2Y0-99-356 | BJ-3520 TD11-32-280A | TE-C005
GJ22-34-350 | CA-3350 KB092-32-280 | TE-3120 TD11-32-290 | TE-C006
GJB6A-28-170A | SB-C005 KD31-28-170 | SB-C027 TD11-32-290A | TE-C006
GJB6A-28-170B | SB-C005 KD31-28-190 | SB-C028 TD11-34-150A | SB-3181
GJBA-34-150A | SB-C003 KD35-34-170 | SB-C029 TD11-34-170A | SB-3182
GJBA-34-170A | SB-C004 L206-28-170 | SB-C017 UA01-99-322 | TE-3415
GJB6A-34-200 | CA-3337 L206-34-150A | SB-3101 UA01-99-323 | TE-3415
GJB6A-34-200A | CA-3337 L206-34-150B | SB-3101 UA01-99-324 | TE-3411
GJB6A-34-200B | CA-3337 L206-34-170A | SB-3102 UA01-99-354 | BJ-3411
GJ6A-34-250 | CA-3338 L206-34-170B | SB-3102 UA01-99-356 | BJ-3415
GJB6A-34-250A | CA-3338 LA01-32-115 | RE-3160 UB39-32-220 | PA-3410
GJB6A-34-250B | CA-3338 LA01-32-280 | TE-3430 UB39-32-220A | PA-3410
GJB6A-34-300 | CA-3330 LC62-32-240B | RE-C001 UB39-32-220B | PA-3430
GJBA-34-300A | CA-3330 LC62-34-170 | SB-CO11 UB39-32-320 | 1A-3132
GJB6A-34-300B | CA-3330 LC62-34-170A | SB-CO11 UB39-32-320A | 1A-3132
GJBA-34-300C | CA-3330 LC62-34-170B | SB-CO11 UB39-32-320B | 1A-3142
GJB6A-34-300D | CA-3330 LC62-99-300C | BJ-3210 UB39-99-322 | TE-3415
GJB6A-34-J00 | CA-3335 M001-99-356A | BJ-3210 UB39-99-324 | TE-3411
GJBA-34-J00B | CA-3335 M011-22-560 | CB-3410 UB39-99-354 | BJ-3421
GJBA-34-J00C | CA-3335 M025-22-560 | CB-3420 UB39-99-356 | BJ-3425
GJBA-34-J00D | CA-3335 M046-22-560 | CB-3460 UB93-32-320B | IA-3141
GJB6A-34-J50 | CA-3336 M054-25-310 | CB-3470 UE38-32-320 | 1A-3142

145




SUZUKI

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
42420-59J00 | SB-5640 45202-59J00 | CA-5740 48820-65D00 | TE-5504 48900-63621 | DR-5506
42420-60A00 | SB-5630 45202-60810 | CA-5660 48820-65D01 | TE-5504 48900-63622 | DR-5506
42420-61J00 | SB-5650 45202-60B01 | CA-5660 48820-67D00 | TE-5504 48900-67000 | DR-5500
42420-63J00 | SB-5670 45202-60E01 | CA-5660 48820-68L00 | TE-G004 48900-67001 | DR-5500
42420-65J00 | SB-5680 45202-63G00 | CA-5700 48820-77E00 | TE-5650 48900-67002 | DR-5500
42420-67D00 | SB-5690 45202-63G01 | CA-5700 48820-78A00 | TE-5506 48900-73A00 | DR-5540
42420-77A00 | SB-5710 45202-63J00 | CA-5770 48820-79000 | TE-5512 48900-77300 | DR-5550
42420-77M00 | SB-5720 45202-65J00 | CA-5880 48820-80000 | TE-5632 48900-77500 | DR-5520
42420-80J00 | SB-5640 45202-6GG00 | CA-5700 48820-80001 | TE-5632 48900-79000 | DR-5510
42420-81A00 | SB-5740 45202-77A10 | CA-5790 48830-50G10 | RE-5710 48900-79001 | DR-5510
42420-81A10 | SB-5660 45202-78K00 | CA-5880 48830-54G00 | RE-5680 48900-79010 | DR-5590
42420-85K00 | SB-5730 45202-79J00 | CA-5900 48830-60B00 | RE-5640 48900-79011 | DR-5590
45200-50E00 | CA-5610 45700-60A00 | BJ-5610 48830-60B10 | RE-5650 48900-80000 | DR-5540
45200-61J00 | CA-5520 45700-60A01 | BJ-5610 48830-60G00 | RE-5660 48900-80001 | DR-5540
45200-69D00 | CA-5610 46200-50830 | CA-5750 48830-61J00 | RE-5690 48900-80060 | DR-5545
45200-69DV0 | CA-5610 46200-56B00 | CA-5750 48830-63J00 | RE-5720 48900-80061 | DR-5545
45200-75F00 | CA-5540 46200-60A01 | CA-5750 48830-65D00 | RE-G001 48900-82C00 | DR-5540
45200-75F10 | CA-5540 46201-60810 | CA-5670 48830-65J00 | RE-G003 48900-83300 | DR-5545
45200-75F20 | CA-5540 46201-60B01 | CA-5670 48830-67D00 | RE-G005
45200-76G00 | CA-5550 46201-60E01 | CA-5670 48830-68L00 | RE-5780
45200-76G10 | CA-5550 46202-60810 | CA-5780 48830-70B00 | RE-5600
45200-76G20 | CA-5550 46202-60B01 | CA-5780 48830-75F01 | RE-5700
45200-77500 | CA-5510 46202-60E01 | CA-5780 48830-76G00 | RE-5670
45200-78002 | CA-5610 46630-59J00 | SB-5620 48830-78000 | RE-5610
45200-79001 | CA-5500 46630-60B01 | SB-5610 48830-78001 | RE-5610
45200-79002 | CA-5500 48810-57L00 | TE-G005 48830-79J00 | RE-G008
45200-82000 | CA-5620 48810-58JA0 | TE-5680 48830-79J10 | RE-G007
45200-84000 | CA-5610 48810-60810 | TE-5680 48830-82000 | RE-5620
45200-85000 | CA-5530 48810-60A00 | TE-5630 48830-84000 | RE-5630
45200-85001 | CA-5530 48810-60B00 | TE-5620 48850-60A00 | DR-5560
45200-85002 | CA-5530 48810-60J00 | TE-5680 48850-77E00 | DR-5530
45201-54G01 | CA-5710 48810-61J00 | TE-5680 48870-70A01 | DR-5775
45201-55F00 | CA-5810 48810-63J00 | TE-5680 48870-70A02 | DR-5775
45201-55FA2 | CA-5830 48810-65D00 | TE-5503 48870-70A60 | DR-5776
45201-56B00 | CA-5850 48810-65D01 | TE-5503 48870-70A61 | DR-5776
45201-593J00 | CA-5730 48810-65J00 | TE-G0O1 48870-70A62 | DR-5570
45201-60810 | CA-5650 48810-67D00 | TE-5503 48870-73A00 | DR-5570
45201-60B01 | CA-5650 48810-68L00 | TE-G003 48870-73A00 | DR-5570
45201-60E01 | CA-5650 48810-76G00 | TE-5620 48870-73A60 | DR-5571
45201-60G00 | CA-5690 48810-77E00 | TE-5631 48870-73A61 | DR-5571
45201-63G00 | CA-5690 48810-78A00 | TE-5505 48870-80000 | DR-5580
45201-63G01 | CA-5690 48810-79000 | TE-5511 48870-80001 | DR-5580
45201-63J00 | CA-5760 48810-79J01 | TE-G0O1 48870-80002 | DR-5580
45201-65J00 | CA-5870 48810-80000 | TE-5630 48870-80060 | DR-5881
45201-77A10 | CA-5780 48810-81A01 | TE-5630 48870-80061 | DR-5881
45201-78K00 | CA-5870 48810-82000 | TE-5620 48870-80062 | DR-5881
45201-79300 | CA-5890 48810-83300 | TE-5630 48870-83300 | DR-5776
45202-54G01 | CA-5720 48810-84000 | TE-5640 48900-63620 | DR-5505
45202-55F00 | CA-5820 48810-84001 | TE-5640 48900-63201 | DR-5505
45202-55FA2 | CA-5840 48820-57L00 | TE-G006 48900-63202 | DR-5505
45202-56B00 | CA-5860 48820-60B00 | TE-5620 48900-63620 | DR-5506

146



SUBARU

>eRsicaU | >8>5d >ghsical | >0>5d >eRsicaU | >8>5d >ghsical | >0>5d
20206-AJ000 | BJ-6510 31320-GA101 | TE-6511 34141-AC010 | TE-6520 7210-67020 | BJ-6520
20420-FA020 | SB-K005 31320-GA102 | TE-6511 34160-AE000 | RE-K001 7210-67021 | BJ-6520
20420-KE000 | SB-K007 31320-GA111 | TE-6512 34160-AE001 | RE-K0O1 7210-67022 | BJ-6520
20470-SA000 | SB-K0O1 31320-GA112 | TE-6512 34160-AGO0A | RE-K003
20470-SA001 | SB-K0O1 31320-GA190 | TE-K0O1 34160-XA010 | RE-K005
20470-SA011 | SB-K003 31320-GA200 | TE-K002 7210-67000 | BJ-6501
21067-GA050 | BJ-6510 34140-AA030 | RE-6570 7210-67001 | BJ-6501
31310-GA150 | RE-6540 34140-AA040 | RE-6570 7210-67002 | BJ-6501
31310-GA151 | RE-6540 34141-AA041 | TE-6520 7210-67003 | BJ-6501
31310-GA152 | RE-6560 34141-AA042 | TE-6520 7210-67004 | BJ-6501

DAIHATSU

>eREicaU | >8>5d >ghsical | >0>5d >eREicaU | >8>5d >ghsical | >0>5d
37208-87302 | CB-6100 45046-87680 | TE-6311 45047-87303 | TE-6312 45047-97203 | TE-6212
43330-87680 | BJ-JOO1 45046-87701 | TE-6200 45047-87380 | TE-6312 45460-87401 | RE-6170
45046-87282 | TE-6211 45046-87780 | TE-6211 45047-87381 | TE-6103 45503-87208 | RE-6140
45046-87283 | TE-6211 45046-87781 | TE-6201 45047-87503 | TE-6112 45503-87210 | RE-6140
45046-87285 | TE-6211 45046-87782 | TE-6201 45047-87504 | TE-6112 45503-87215 | RE-6140
45046-87303 | TE-6311 45046-87783 | TE-6201 45047-87580 | TE-6112 45503-87401 | RE-6170
45046-87380 | TE-6321 45046-87784 | TE-6201 45047-87780 | TE-6212 45503-87501 | RE-J001
45046-87503 | TE-6111 45046-97203 | TE-6211 45047-87781 | TE-6202 45503-87705 | RE-6120
45046-87504 | TE-6111 45047-87280 | TE-6212 45047-87782 | TE-6202 45503-87708 | RE-6150
45046-87580 | TE-6111 45047-87281 | TE-6212 45047-87783 | TE-6202 45503-87711 | RE-6150
45046-87601 | TE-6311 45047-87282 | TE-6212 45047-87784 | TE-6202 45503-97201 | RE-J003

147




HONDA

>GAEie U

>0>50

>GREiGeU

>0 >0

>GAEie U

>0>50

>GREiGeU

>0 >0

06513-S0X-A00
51220-S04-003
51220-S0A-J01
51220-S3V-A01
51220-S3V-A03
51220-S3V-Al10
51220-S4K-A00
51220-S5A-003
51220-S5A-J10
51220-S5A-J20
51220-S5A-J30
51220-S5T-Z00
51220-S6F-E01
51220-S84-A01
51220-S84-A02
51220-S9A-020
51220-S9A-982
51220-SB0-003
51220-SB0-023
51220-SCA-000
51220-SCA-981
51220-SD4-004
51220-SD4-013
51220-SD4-023
51220-SDA-A02
51220-SE0-000
51220-SE0-003
51220-SF1-000
51220-SF1-004
51220-SH3-003
51220-SK7-003
51220-SK7-013
51220-SL5-003
51220-SMO0-003
51220-SM1-A01
51220-SM1-A02
51220-SM4-003
51220-SM4-013
51220-SNA-A02
51220-SNA-A03
51220-SNL-TO1
51220-SR0-A01
51220-SR3-003
51220-SS0-000
51220-SS0-010
51220-SS0-901
51220-STK-A01
51220-SW5-J60
51220-TA0-A02
51230-SNA-A02
51230-SNA-A03

SB-5221
BJ-5230
BJ-5210
BJ-F0O07
BJ-F007
BJ-FO07
BJ-5210
BJ-5340
BJ-5340
BJ-5340
BJ-5340
BJ-5160
BJ-5160
BJ-5210
BJ-5210
BJ-5160
BJ-5160
BJ-5100
BJ-5100
BJ-5160
BJ-5160
BJ-5200
BJ-5200
BJ-5200
BJ-5390
BJ-5100
BJ-5100
BJ-5100
BJ-5100
BJ-5100
BJ-5100
BJ-5100
BJ-5200
BJ-5210
BJ-5210
BJ-5210
BJ-5210
BJ-5210
BJ-5370
BJ-5370
BJ-5370
BJ-5230
BJ-5230
BJ-5230
BJ-5200
BJ-5200
BJ-F005
BJ-5200
BJ-5150
BJ-5380
BJ-5380

51230-SNL-TO01
51270-S01-013
51270-S01-023
51270-S04-013
51270-S04-023
51270-S0A-003
51270-S10-020
51270-S30-003
51270-S3N-003
51270-S84-A01
51270-SB0-003
51270-SB0-013
51270-SE0-043
51270-SF1-003
51270-SFE-003
51270-SM4-A04
51270-SR3-013
51270-SR3-023
51270-TAO-A03
51320-S04-003
51320-S0X-A02
51320-S0X-C01
51320-S2A-003
51320-S2G-003
51320-S2H-003
51320-S3C-003
51320-S5A-003
51320-S84-A01
51320-S84-A02
51320-SAA-003
51320-SAA-J01
51320-SAD-PO1
51320-SAE-T01
51320-SDA-A04
51320-SDA-A05
51320-SEA-E01
51320-SED-013
51320-SEL-TO1
51320-SEP-A01
51320-SFE-003
51320-SHJ-A02
51320-SLA-003
51320-SMG-EO1
51320-SNA-A02
51320-SS0-003
51320-ST7-003
51320-STK-A01
51320-SYY-003
51320-TOA-AO01
51320-TAO-A01
51320-TF0-003

BJ-5380
BJ-5350
BJ-5350
BJ-5350
BJ-5350
BJ-5350
BJ-5350
BJ-5350
BJ-5350
BJ-5350
BJ-5110
BJ-5110
BJ-FOO01
BJ-5140
BJ-5350
BJ-FO03
BJ-5350
BJ-5350
BJ-5350
SB-5110
SB-5221
SB-5221
SB-F015
SB-F015
SB-F009
SB-F049
SB-5123
SB-5111
SB-5111
SB-F041
SB-F027
SB-F041
SB-F023
SB-F001
SB-5129
SB-F001
SB-5129
SB-FO011
SB-F019
SB-F033
SB-F047
SB-F029
SB-F031
SB-5119
SB-5220
SB-5134
SB-F003
SB-F045
SB-F003
SB-5113
SB-F037

51320-TGO-TO1
51321-S2A-003
51321-S2G-003
51321-S2H-003
51321-S3C-003
51321-S5A-003
51321-S84-A01
51321-S84-A02
51321-SAA-003
51321-SAA-J01
51321-SAD-PO1
51321-SAE-T01
51321-SDA-A04
51321-SDA-A05
51321-SEA-EO1
51321-SED-013
51321-SEL-TO1
51321-SEP-AO1
51321-SLA-003
51321-SNA-A02
51325-TA0-A01
51350-S5A-030
51350-SDA-A03
51350-SEA-EO1
51350-SNA-903
51350-TAO-A01
51351-SB2-013
51355-584-A00
51355-SM4-030
51360-S5A-030
51360-SDA-A03
51360-SEA-EO1
51360-SNA-903
51360-TAO-A01
51361-SB2-013
51365-584-A00
51365-SM4-030
51450-S01-023
51450-S01-A02
51450-S04-013
51450-S04-023
51450-S10-020
51450-S1A-E01
51450-S84-A01
51450-SDA-023
51450-SDA-A01
51450-SDA-A03
51450-SEC-A01
51450-SH3-000
51450-SH3-010
51450-SH3-020

SB-F037
SB-F016
SB-F016
SB-F010
SB-F050
SB-5124
SB-5112
SB-5112
SB-F042
SB-F028
SB-F042
SB-F024
SB-F002
SB-5130
SB-F002
SB-5130
SB-F012
SB-F020
SB-F030
SB-5120
SB-5114
CA-5005
CA-5180
CA-5180
CA-5190
CA-5198
CA-5241
CA-5001
CA-5003
CA-5006
CA-5185
CA-5185
CA-5195
CA-5199
CA-5242
CA-5002
CA-5004
CA-5171
CA-5171
CA-5171
CA-5171
CA-5451
CA-5343
CA-5343
CA-5345
CA-5345
CA-5345
CA-5345
CA-5151
CA-5151
CA-5151

51450-SH3-023
51450-SH3-030
51450-SM1-A02
51450-SM1-A03
51450-SM4-003
51450-SM4-013
51450-SM4-023
51450-SM4-A03
51450-SR0-A02
51450-SR3-003
51450-SR3-013
51450-SR3-023
51450-SR3-A01
51450-ST7-010
51450-ST7-020
51450-SVv4-000
51450-SV4-040
51450-SV4-A00
51460-S01-023
51460-S01-A02
51460-S04-013
51460-S04-023
51460-S10-020
51460-S1A-E01
51460-S84-A01
51460-SDA-023
51460-SDA-A01
51460-SDA-A03
51460-SEC-A01
51460-SH3-000
51460-SH3-010
51460-SH3-020
51460-SH3-023
51460-SH3-030
51460-SM1-A02
51460-SM1-A03
51460-SM4-003
51460-SM4-013
51460-SM4-023
51460-SM4-A03
51460-SR0-A02
51460-SR3-003
51460-SR3-013
51460-SR3-023
51460-SR3-A02
51460-ST7-010
51460-ST7-020
51460-SV4-000
51460-SV4-040
51460-SV4-A00
51510-TAO-A03

CA-5151
CA-5151
CA-5331
CA-5331
CA-5331
CA-5331
CA-5331
CA-5331
CA-5161
CA-5161
CA-5161
CA-5161
CA-5161
CA-5161
CA-5161
CA-5341
CA-5341
CA-5341
CA-5172
CA-5172
CA-5172
CA-5172
CA-5452
CA-5344
CA-5344
CA-5346
CA-5346
CA-5346
CA-5346
CA-5152
CA-5152
CA-5152
CA-5152
CA-5152
CA-5332
CA-5332
CA-5332
CA-5332
CA-5332
CA-5332
CA-5162
CA-5162
CA-5162
CA-5162
CA-5162
CA-5162
CA-5162
CA-5342
CA-5342
CA-5342
CA-5347




HONDA

>ehREical | >0>88 >ghEieeU | >0>59 >ehREical | >0>58 >gREieeU | >0>59

51520-TA0-A03 | CA-5348 52400-SM4-A04 | CA-5174 53521-SE0-000 | RE-5100 53540-SV4-013 | TE-5311
52220-SF1-003 | BJ-5210 52400-SR0-A00 | CA-5176 53521-SE0-003 | RE-5100 53540-SV7-003 | TE-5311
52320-S04-003 | SB-5126 52400-SR3-000 | CA-5176 53521-SE0-013 | RE-5100 53540-SWA-A01 | TE-FO13
52320-S10-003 | SB-5131 53010-S04-000 | RE-5200 53521-SE0-951 | RE-5100 53540-SWA-A02 | TE-FO013
52320-S2H-003 | SB-F021 53010-S04-J51 | RE-5200 53521-SH3-003 | RE-5160 53540-SX0-003 | TE-5311
52320-S3N-013 | SB-F043 53010-S0A-900 | RE-F003 53521-SM4-013 | RE-5210 53540-SX8-N00 | TE-F001
52320-S3V-023 | SB-F013 53010-S0X-A01 | RE-5360 53540-611-010 | TE-5100 53540-SX8-T01 | TE-FOO01
52320-S5A-013 | SB-F005 53010-S0X-A02 | RE-5370 53540-634-000 | TE-5100 53540-TAO0-A01 | TE-5340
52320-S84-A01 | SB-5118 53010-S10-000 | RE-5320 53540-659-003 | TE-5100 53540-TF0-003 | TE-5105
52320-S9A-003 | SB-F007 53010-S10-003 | RE-5320 53540-671-010 | TE-5100 53540-TK4-A01 | TE-FO09
52320-SFE-013 | SB-F035 53010-S2H-J02 | RE-FO015 53540-679-004 | TE-5100 53540-TK4-A02 | TE-FO09
52320-SFY-JO1 | SB-5118 53010-S3N-003 | RE-F031 53540-S04-003 | TE-5141 53540-TR0O-A01 | TE-5350
52320-SNA-A01 | SB-F017 53010-S3N-013 | RE-F031 53540-S04-013 | TE-5141 53541-S5A-003 | TE-5102
52320-STK-A01 | SB-F039 53010-S3V-A01 | RE-FO07 53540-S0X-A02 | TE-5360 53560-S04-003 | TE-5142
52320-SWA-A01 | SB-F025 53010-S3V-A02 | RE-FO07 53540-S3V-A02 | TE-FO03 53560-S04-013 | TE-5142
52320-TAO0-A01 | SB-5201 53010-S84-A01 | RE-5260 53540-S4X-003 | TE-FO15 53560-S3V-A02 | TE-FO04
52321-S04-003 | SB-5127 53010-S87-A01 | RE-FO01 53540-S84-A01 | TE-5311 53560-S4X-003 | TE-FO16
52321-S10-003 | SB-5132 53010-S9V-A01 | RE-FO07 53540-SA0-002 | TE-5100 53560-S84-A01 | TE-5312
52321-S2H-003 | SB-F022 53010-SAA-J01 | RE-FO013 53540-SA0-003 | TE-5100 53560-SAA-003 | TE-5103
52321-S5A-013 | SB-F006 53010-SDA-A01 | RE-5310 53540-SA0-023 | TE-5100 53560-SDA-A01 | TE-5330
52321-S9A-003 | SB-F008 53010-SDB-A01 | RE-F005 53540-SAA-003 | TE-5101 53560-SEL-T01 | TE-5103
52321-SFE-013 | SB-F036 53010-SEA-900 | RE-FO11 53540-SB0-003 | TE-5100 53560-SFE-003 | TE-F012
52321-SNA-A01 | SB-F018 53010-SEL-003 | RE-5330 53540-SB2-002 | TE-5100 53560-SH3-000 | TE-5142
52321-SWA-A01 | SB-F026 53010-SFE-003 | RE-F023 53540-SB2-003 | TE-5100 53560-SH3-003 | TE-5142
52325-S3V-013 | SB-F014 53010-SFE-013 | RE-F023 53540-SB2-013 | TE-5100 53560-SH3-013 | TE-5142
52325-S3V-023 | SB-F014 53010-SHJ-A02 | RE-5390 53540-SC2-003 | TE-5100 53560-SM4-003 | TE-5302
52325-S84-A01 | SB-5117 53010-SLN-A00 | RE-FO19 53540-SC2-004 | TE-5100 53560-SM4-004 | TE-5302
52325-SFY-JO01 | SB-5117 53010-SNA-AO01 | RE-5350 53540-SDA-A01 | TE-5320 53560-SMG-003 | TE-5340
52325-TA0-A01 | SB-5202 53010-SNE-AO01 | RE-5350 53540-SEL-T01 | TE-5101 53560-SNA-A01 | TE-5270
52341-S04-000 | CA-5177 53010-SR3-010 | RE-5180 53540-SFE-003 | TE-FO11 53560-SNA-A02 | TE-5270
52341-S04-A00 | CA-5177 53010-SS0-000 | RE-5230 53540-SHO-A01 | TE-5141 53560-SNE-A01 | TE-5270
52350-S04-000 | CA-5007 53010-ST0-000 | RE-5180 53540-SH3-000 | TE-5141 53560-SNE-A02 | TE-5270
52390-SH3-030 | CA-5175 53010-ST7-J61 | RE-5180 53540-SH3-003 | TE-5141 53560-SP0-013 | TE-5212
52390-SK7-010 | CA-5175 53010-STK-AO01 | RE-F033 53540-SH3-013 | TE-5141 53560-SP0-023 | TE-5212
52390-SK7-A00 | CA-5175 53010-STX-A01 | RE-F021 53540-SHJ-A01 | TE-5370 53560-SR0-A01 | TE-5142
52390-SK7-A01 | CA-5175 53010-SV4-000 | RE-5190 53540-SHJ-A51 | TE-FO05 53560-SR3-003 | TE-5142
52390-SM1-033 | CA-5173 53010-SW5-000 | RE-5230 53540-SLN-A01 | TE-FOO7 53560-ST7-003 | TE-5142
52390-SM1-A03 | CA-5173 53010-SWA-A01 | RE-F025 53540-SM4-003 | TE-5301 53560-STX-A02 | TE-FO10
52390-SM1-A04 | CA-5173 53010-SWC-G02 | RE-F037 53540-SM4-004 | TE-5301 53560-SV4-003 | TE-5312
52390-SM4-043 | CA-5173 53010-SX8-T00 | RE-F009 53540-SMG-003 | TE-5350 53560-SVv4-013 | TE-5312
52390-SM4-A04 | CA-5173 53010-SYY-003 | RE-F039 53540-SNA-A01 | TE-5260 53560-SV7-003 | TE-5312
52390-SR0-A00 | CA-5175 53010-SZN-A01 | RE-F021 53540-SNA-A02 | TE-5260 53560-SX0-003 | TE-5312
52390-SR3-000 | CA-5175 53010-TAO-AO01 | RE-5280 53540-SNE-A01 | TE-5260 53560-TAO0-A01 | TE-5350
52400-SH3-030 | CA-5176 53010-TF0-003 | RE-F027 53540-SNE-A02 | TE-5260 53560-TF0-003 | TE-5104
52400-SK7-010 | CA-5176 53010-TK6-A02 | RE-F041 53540-SP0-013 | TE-5211 53560-TK4-A01 | TE-FO10
52400-SK7-A00 | CA-5176 53011-SAA-J01 | RE-F014 53540-SP0-023 | TE-5211 53560-TK4-A02 | TE-FO10
52400-SK7-A01 | CA-5176 53011-SEL-003 | RE-5335 53540-SR0-A01 | TE-5141 53560-TR0O-A01 | TE-5340
52400-SM1-033 | CA-5174 53011-SLN-A00 | RE-F020 53540-SR3-003 | TE-5141 53610-SNB-JO01 | RE-FO17
52400-SM1-A03 | CA-5174 53011-SMG-EO1 | RE-5400 53540-ST7-003 | TE-5141 53610-SNR-A01 | RE-FO17

149




If you need any further information,
please feel free to contact us.

http://www.jointfuji.com







